Hydraulic Adapters

FHITYPE fL2PARTNO Tk PAGE
ANIAMBLORIET st 1E 1
METRIC MALE O-RING
90° /A 1| 4 £ O T B T 2% 1E9 2
90°METRIC MALE O-RING
90° /A #IIBSL O B T i 2 2E9 2
90°METRIC MALE O-RING
ORI AMB SO B T T 2 5 4E 3
METRIC MALE O-RING PLUG
AP IBEOT 9 4
METRIC FEMALE FLAT FACE PLUG

N bl . 6E 4
SISO T BB VT 25 et A
METRIC MALE O-RING BULKHEAD
90° /A il SMIE SO P T 25 b e W 4223 6E9 5
90°METRIC MALE O-RING BULKHEAD
DG M L O T BT T 5 7 R 5 1EH 5
METRIC MALE O-RING
45° 5\ il HME ST O T BB PT343 7 2 5 1EH4-0G 6
45°METRIC MALE O-RING/ADJUSTABLE STUD
90° /A il SMIZ £r O 7Y 8 T 2% d4 /T ¥ e o4 7 22 51 1EH9-0G 6
90°METRIC MALE O-RING/ADJUSTABLE STUD
N AME S O T BB TR 55 160° P 4 s ok T 21 4 2 1EM 7
METRIC MALE O-RING/60°SEAT BONDED SEAL
A SMZ SO Bl A 4E T AMEB S 1EN 7
METRIC MALE O-RING/NPT MALE
DN AN SO T B HE S S MIE AL T 8
METRIC MALE O-RING/BSPT MALE
A AMNESORY [ V- T 2% B R 1EW 9
METRIC MALE O-RING/BUTT-WELD TUBE
90° /A Hill FME S O T [ - [ % B N F 1EW9 9
90°METRIC MALE O-RING/BUTT-WELD TUBE
DI HNIZ SO T BB T T 25 P MBS0 4 s 1EZ 10
METRIC MALE O-RING/BSP MALE DIN 3852-2
TYREA
PR 4] PO RSO TR B P T 25 2WE 11
BUTT-WELD TUBE/METRIC FEMALE O-RING
N M SO B - T8 25 4 U3 2k XE 12
METRIC MALE O-RING CROSS
A SMB SO P T B = i AE 12
METRIC MALE O-RING TEE

BE 13

Ox | SMIR SO R/ 22 il A IR ST T e = Je Sk
METRIC MALE O-RING/METRIC FEMALE TEE

W AMRSLOR P/ 2 ] IRECT T = Jl 12k CE 13
METRIC MALE O-RING/METRIC FEMALE TEE



Hydraulic Adapters

K HITYPE ARE5PART NO JR  PAGE
DN AR S O FY BB 1 T 35 350 R w4 i BE R A RS =l AEEH-OG 14
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-

SERIES RUN TEE

I AMESORY B AT 25 F5F M) A A AR A S =08 AEHE-OG 14
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-SERIES BRANCH TEE

90° /A il AME L OFY P 1~ TH 25 i AR 325k AEE6E 15
90°METRIC MALE O-RING BULKHEAD

RUN TEE

I3 il MBS O 2 B~ T 25 i AR 4 < =l

METRIC MALE O-RING BULKHEAD AEGEE 15
BRANCH TEE

WNHIAMBL24 %% 25|45 1%

METRIC MALE 24 1C 16
° T.REDUCERS

INHISMELI24 i 25

N HIAMEZES24 °32 R T 1c 17

METRIC MALE 24°L.T.

AN HIAMES24 °F R 5
METRIC MALE 24°H.T. 1D 17

At SMRL24 °H R BT

METRIC MALE 24°H.T. REDUCERS 1D 18
90° Al AMEL24° 1 R T 169 19
90°METRIC MALE 24°L.T.

90° A il SMERL24° B R 1D9 19
90°METRIC MALE 24°H.T.

NI FIBRL24 1A TSRS 24 *% R 5 2C 20
METRIC FEMALE 24°/METRIC MALE 24°L.T.

I P ERE24 1A T FMRS24 °FE R 5 2D 21

METRIC FEMALE 24°/METRIC MALE 24°H.T.

90° A Il IR L 24°1 ) I AMES24 ° 1% R 5
90°METRIC FEMALE 24°/METRIC MALE 24°L.T. 2C9 22

90° 2 il W IRLL24° A il SMELL24 ° H 25

90°METRIC FEMALE 24°/METRIC MALE 24°H.T. 2D9 22
NN IR 24 °% 25 3c 23
METRIC FEMALE 24°LT.

NN IEZ24 °FE R 5 3D 23
METRIC FEMALE 24°H.T.

NHIRL24°% R4 5k 4C 24
METRIC MALE 24°L.T. PULG

NHIMRL24° FE R 5|35k 4D 24
METRIC MALE 24°H.T. PLUG

NEISMBL24 %% 21 sk 6C 25

METRIC MALE 24°L.T. BULKHEAD

NHISMEL24 ° 8 R 5| ARk
METRIC MALE 24°H.T. BULKHEAD 6D 25

90° Al SMRLL24°%% R A I AR Hz sk

90°METRIC MALE 24°L.T. BULKHEAD 6c9 26



Hydraulic Adapters

KHTYPE 5 PART NO Tk PAGE
90° A Il AME L 24° B R 51 i M2k 6D9 26
90°METRIC MALE 24°H.T. BULKHEAD
NI L AR 8C 27
METRIC LOCK NUT
A NIBL24 * B 9C 28
METRIC FEMALE 24°L.T. PLUG
A IRE24 ° T R s 9D 28
METRIC FEMALE 24°H.T. PLUG
IS BC24 8 R B A 4B SC60° 1N -
METRIC MALE 24°L.T/NPT MALE 60°
AT IMRE24 °F R VAT HEE SMRE60° 1DN 30
METRIC MALE 24°H.T/NPT MALE 60°
90° A il MRS 24°%% R B IAT HEE FMELL60° 1CN9 31
90°METRIC MALE 24°L.T/NPT MALE 60°
90° /A #I AMZLL24° T Z 1A HE 5 HMIZSL60° 1DN9 32
90°METRIC MALE 24°H.T/NPT MALE 60°
ARIIMRE24 e 2 IS B AR AL60° 1cT 33
METRIC MALE 24°L.T./BSPT MALE 60°
INHIAMB LI 24 °T 2 IEHEAS SMIZL60° DT 34
METRIC MALE 24°H.T./BSPT MALE 60°

o e e e . 1CT9 35
90°/A fill MR L 24°%% R 5 [ FLHEE FMERE60
90°METRIC MALE 24°L.T./BSPT MALE 60°
90° A il SMELL24° L HEE HMRL60° E R 51 1DT9 36
90°METRIC MALE 24°/BSPT MALE 60° H.T.
ATHIAMRE24 °%% R Y [TEE MRS 60 HE I 4H A R = 1CB 37
METRIC MALE 24°SEAL L.T./BSP MALEDOUBLE 60°SEAT BONDED
SEAL
INHIAMBRL24 °F R 5 [T R L0 5 60°4E [ 541 & % 1DB 38

METRIC MALE 24°SEALH.T./BSP MALEDOUBLE 60°SEAT
BONDED SEAL

90° Al /MBS 24°%% 251 [FE 8 MRS 60°HEH % & 1CB9 39
90°METRIC MALE 24°L.T./BSP MALE 60°CONE

90° A fill SRS 24° H R H /L IR AL60°HE I 4

90°METRIC MALE 24°H.T./BSP MALE BSP MALE 60°CONE 1DB9 40
INTHIAMRS24 5% 25 T BRSU60° A HE TH Bl 1CB-WD 4l
METRIC MALE 24°L.T./BSP THREAD WITH CAPTIVE SEAL

ATHIAMES 24 © 8 R 5/ GEEMREL60° Py HE T AR S 1DB-WD 42
METRIC MALE 24°H.T./BSP THREAD WITH CAPTIVE SEAL

ANHIIMES24 5% R B[P YMBESLOTY Bl 4t 1CG 43
METRIC MALE 24°L.T./BSP MALE O-RING

N AMNR D24 ° T R HI 5 A MRS O T B 2% 1DG 44
METRIC MALE 24°H.T./BSP MALE O-RING

A5 G MR L 24° %% R 5 T A [r) FE vty 1CG4-0G 45

45°BSP THREAD 24°L.T.ADJUSTABLE STUD.



Hydraulic Adapters

H 3 INDEX
KAl TYPE £ZPART NO Tk PAGE
A5 AR L24° T Z AT A b 1DG4-0G 45
45°BSP THREAD 24°H.T.ADJUSTABLE STUD.
Q0°HERFIRL24 %% Z 41| W] i [l A 1CGO-0G 46
90°BSP THREAD 24°L.T.ADJUSTABLE STUD
90°HAG WELL24 °F Z 51 AT A [T KL 1DG9-0G 46
90°BSP THREAD 24°H.T.ADJUSTABLE STUD.
I SMNZLI24 8 Z Bl F 3 T O TP 35 1cH 47
METRIC MALE 24°L.T./METRIC MALE WITH O-RING
A SMZS24 ° T R FIISMBRL Fi T O TP 5 4 1DH 48
METRIC MALE 24°H.T./METRIC MALE WITH O-RING
. N v 1CH4- 4

450 AHISNBE24 % BRI IR CHa-0G o
45°METRIC MALE 24°L.T.ADJUSTABLE STUD
A5° N\ SMERL24 © 8 FR ) W] A M 1DH4-0G 49
45°METRIC MALE 24°H.T.ADJUSTABLE STUD
90° A il MBS 24°%% 2 51 6] Y 1) H: oy 1CHO-0G 50
90°METRIC MALE 24°L.T.ADJUSTABLE STUD
90° A il ML 24° 1 5 51 T i AL 1DH9-0G 50
90°METRIC MALE 24°H.T.ADJUSTABLE STUD
INHISNEL24 % 25/ 41 1CT 4 & 1c 51
METRIC MALE 24°L.T./JIC 74°CONE SEAL
I BISMESC24 °F /2 1 ICT AR & 1B 52
METRIC MALE 24°H.T./JIC 74°CONE SEAL
INEISMELSI24 © 1% 25111600 P HETH BR 4L & 2 35 4 1CM 53
METRIC MALE 24°L.T./60°CONE BONDED SEAL
I HISNEL24 °% 2 51/160° P HE T E B #e 5 1CM-WD 54
METRIC MALE 24°L.T./60°CONE CAPTIVE SEAL

N _ N . . 55
INEISMZ L4 © T % 51/60° P HE T 4 4 2 1DM
METRIC MALE 24°H.T./60°CONE BONDED SEAL
INEIAMIBEI4 © T 2 51160° Py 4 I Bk i # 2 1DM-WD 55
METRIC MALE 24°H.T./60°CONE CAPTIVE SEAL
A HISNBL24 5 2112 I SMBSLO T B % % 1Co 56
METRIC MALE 24°L.T./SAE MALE O-RING
INISMBL24 ° T 2513 ISR SO P 5 1bo 57
METRIC MALE 24°H.T./SAE MALE O-RING

) o . 1C09-0G 58

90° A I HMBLL24° 5 I3 S MBS I [ Ak i
90°METRIC 24°L.T./SAE MALE ADJUSTABLE STUD
90° /A fll FME £ 24° B 22 41155 il SME ST ) 5 it 1D09-0G 58
90°METRIC 24°H.T./SAE MALE ADJUSTABLE STUD
NHISNBL4 °F ARk 1CW .
METRIC MALE 24°L.T./WELD FITTINGS
A SME L4 T 2 AR 1DW 59

METRIC MALE 24°H.T./WELD FITTINGS



Hydraulic Adapters

K ATYPE 5 PART NO
NHIMRS24°%% 25 G B WA SU60°HE T 2H A % & 2BC-WD
METRIC FEMALE 24°L.T./BSP MALEDOUBLE 60°SEAT BONDED

SEAL

NFIEL24° 8 R 5 /9 IR 4L 60°HE T 4H & % B

METRIC FEMALE 24°H.T./BSP MALEDOUBLE 60°SEAT BONDED 2BD-WD
SEAL

EHNINC TAHEZE I A T N BB S 24°4E O T B 25 3 52 R 4| 230

JIC 74°CONE SEALING/METRIC FEMALE 24°CONE O-RING SEALING

LT.

EHIINC TAHESE I PIIBLI24°HEO T P8 %5 ) B R 51 23D

JIC 74°CONE SEALING/METRIC FEMALE 24°CONE O-RING SEALING

HT.

NHMRS24°%% ZVHEORI B/ E L ORY B & 2GC
METRIC FEMALE 24°L.T.CONE O-RING/BSP MALEO-RING
NHIMRL24° 8 RANHEOMY Bl /L BB OTY B 2 &t 2GD
METRIC FEMALE 24°H.T.CONE O-RING/BSP MALEO-RING

ARG s 1 A RG24 O T B R A1 2MC-WD
METRIC THREAD /METRIC FEMALE24°CONE O-RING SEAL L.T.

> HHIPHE e 2038 a1 o] Y MR 2424 TH O AU P8 25 3 5 R %)) SMD-WD
METRIC THREAD /METRIC FEMALE24°CONE O-RING SEAL H.T. -
WNRMRL24°% K5 [T N IESL 5CB
METRIC MALE 24°L.T./BSP

FEMALE

INFIBEL24° T 51155585 IELL SbB
METRIC MALE 24°H.T./BSP FEMALE

INHIES24°%% R A1 1] N RS 5CM
METRIC MALE 24°L.T./METRIC FEMALE

OB S 24° 5 R A1 1] N RS 5DM
METRIC MALE 24°H.T./METRIC FEMALE

AHIHMEL24 3% F 5| =3 AC
METRIC MALE 24°L.T. TEE

AN AMZL24 °E 251 =38 AD
METRIC MALE 24°H.T. TEE

NN BREL24 ol | ANRLI24 5 R ) =18 BC
METRIC FEMALE 24°/METRIC MALE 24°L.T. TEE

W BRS24 oI AHISMES24 °F R Y1) =18 BD
METRIC FEMALE 24°/METRIC MALE 24°H.T. TEE

WHIAMELI24 o/ 5] N IRS24 5% R =18 cc
METRIC MALE 24°/METRIC FEMALE 24°L.T. TEE

WNHIAMERLI24 o/ i N IRL24 °H R =18 cD
METRIC MALE 24°/METRIC FEMALE 24°H.T. TEE

AISMRLC24 % F IR -
METRIC MALE 24°L.T. CROSS

IR S 24 *F 25U IE XD
METRIC MALE 24°H.T. CROSS

INTHIAMESI24 °F 25 AT Ak 2 S = ACHC-0OG

METRIC MALE 24°L.T.ADJUSTABLE STUD BRADCH TEE

60

61

62

63

63

64

64

65

66

67

67

68

68

69

69

70

70

71

71

72



Hydraulic Adapters

H X INDEX
K% TYPE £ ZPART NO 1% PAGE
INISMEL24 © 8 Z 5T R 4 ADHD-0G 72
METRIC MALE 24°H.T.ADJUSTABLE STUD BRADCH TEE

AHISMZS24 °1% Z 5 R kR S = ACCH-0G 3
METRIC MALE 24°L.T.ADJUSTABLE STUD RUN TEE

A SNES24 ° T 5] R R S =3 ADDH-OG 3
METRIC MALE 24°H.T.ADJUSTABLE STUD RUN TEE

NHIGMRE24 i R BNFEE T [ S =8
METRIC MALE 24°L.T./BSP MALE ADJUSTABLE STUD RUN
TEE

AISMEL24 ° T FFU BRI RN % =58 ADDG-0G 24
METRIC MALE 24°H.T./BSP MALE ADJUSTABLE STUD RUN
TEE

I AMERS24 °%% ZR 515 0 [ A 43 57 =08 ACGC-0G 75
METRIC MALE 24°L.T./BSP MALE ADJUSTABLE STUD
BRANCH TEE

INHIAMBS24 ° 5 2R 55 0 [ A i ) S =08 ADGD-0G 75
METRIC MALE 24°H.T./BSP MALE ADJUSTABLE STUD
BRANCH TEE

ONHII24°15 290 1 ) R VR [ R 2 3 =3 ACCO-0G 76
METRIC MALE 24°L.T./SAE MALE ADJUSTABLE STUD RUN
TEE

I H124° T ARG T R = ADDO-OG
METRIC MALE 24°H.T./SAE MALE ADJUSTABLE STUD RUN
TEE

A24°% F51FE ) TR mA S 2 3 =18 ACOC-0G 77
METRIC MALE 24°L.T./SAE MALE ADJUSTABLE STUD

BRANCH TEE

il 24° 8 Z 3/ S ) TR a4 i 4332 =38 ADOD-0G 77
METRIC MALE 24°H.T./SAE MALE ADJUSTABLE STUD

BRANCH TEE

INHINBE24%% 5 5 [ IBLUB Btk 1CL-B 78
METRIC MALE 24°L.T./BSP BANJO
N THIIREL24° 8 R HE IR LR Rk
METRIC MALE 24°H.T./BSP BANJO
ATHIRL24°%% RIIA FINRSUR BBk 1CL
METRIC MALE 24°L.T./METRIC BANJO

INHIRE024° 5 R P11 RSV IR 1DL 79
METRIC MALE 24°H.T./METRIC BANJO

T AR 790B
BSP BOLT

O RS 700M 80
METRIC BOLT

REBR R RT NL 81
RETAINING NUTS L.T.

REER & RS NS 81
RETAINING NUTS H.T.

FER AT RL 82
CUTTING RING L.T.

FEERY RS 82
CUTTING RING H.T.

=
5

ACCG-0OG 74

76

1DL-B 78

79

80



Hydraulic Adapters

H % INDEX
KAHTYPE

NHIINRLTA G
METRIC MALE 74°CONE

WNHISMRESTA SRk
METRIC MALE 74°CONE PLUG

ANHISMRELTA M AR Sk
METRIC MALE 74°CONE BULKHEAD

90° Al SMEBLL T4 S Mk AR Sk
90°METRIC MALE 74°CONE BULKHEAD

NISMRSITA SN ATHEE SMRA
METRIC MALE 74°CONE/NPT MALE

A5° N HIAMRLSTA SN HEE SRS
45°METRIC MALE 74°CONE/NPT MALE

90° A il SMRLL 7 A SME/ AT HERE SMRLL
90°METRIC MALE 74°CONE/NPT MALE

NHIGMRELTA HMEISHEE SMRAL
METRIC MALE 74°CONE/BSPT MALE

90° Al SMRLL 74 SME/ FEHER SMRLL
90°METRIC MALE 74°CONE/BSPT MALE

NHIGMRELTA HMIEIFEE SMRET60° W HESON f i 41 & e
METRIC MALE 74°CONE/BSP MALE DOUBLE FOR 60°SEAT
BONDED SEAL

NHITASME SRS SMRZLOM
METRIC 74°CONE/BSP MALE O-RING

90° A il 74° 44/ MR ST O Bl M i 7 A

90°METRIC 74°CONE/BSP MALE O-RING ADJUSTABLE STUD

INITAHME 2 i SMRE
METRIC 74°CONE/METRIC MALE

90° Al 74° HMHE/ 23 il SR SUAT e [ A B
90°METRIC 74°CONE/METRIC MALE ADJUSTABLE STUD

INISMREITA AN ) SMRET60° A HE SN S i T 2 15 H o 4

X 5PART NO

1Q

4Q

6Q

6Q9

1QN

1QN4

1QN9

1QT

1QT9

1QB

1QG

1QG9-0G

1QH

1QH9-0G

1QM

METRIC MALE 74°CONE/METRIC MALE DOUBLE FOR 60°SEAT BONDED SEAL

NHISMRLT4 *HMHEISAESMERSIO T
METRIC MALE74°CONE/SAE MALE O-RING

90° Al MRS T 4° HMIEISAESME ST O T ]
90°METRIC MALE74°CONE/SAE MALE O-RING
ADJUSTABLE STUD

90° A ll MR LT A4 HINFEI A 1] N MR ST 7 4° P

90°METRIC MALE 74°CONE/METRIC FEMALE 74°SEAT
NI AMZLT74 °4MNE =38

METRIC MALE 74°CONE TEE

NI AMBETA MR A AR 2 S =38

METRIC MALE74°CONE/ADJUSTABLE STUD BRANCH TEE
INHIAMZZ74 AN AT R AR Y =0

METRIC MALE74°CONE/ADJUSTABLE STUD RUN TEE

1Q0

1Q09-0G

2Q9

AQ

AQHQ-0G

AQQH-0OG

84

85

86

87

88

89

90

91

92

93

93

94

94

95

96

96

97

97

98

98



Hydraulic Adapters

H>KINDEX
KA TYPE f£5PART NO WX  PAGE
H A A HISMEL60° M 1K 99
JIS METRIC MALE60° CONE
90° H A #ll BRSr60° 41 2K9 99
90°JIS METRIC MALE60° CONE
H R 2 fill ZMB S 60° S 1k 4K 100
JIS METRIC MALE60° CONE PLUG
H 2 23 il P8 4 1 4E60° oK 100
JIS METRIC FEMALE 60°SEAT PLUG
H AR | A B £ 60° A1 A £ AMB £ 1KN 101
JIS METRIC MALE 60°CONE/NPT MALE
H A il SMZS60° FMHET A H1] SMZ S 60° % 15 B4 A 14 ] 1KM 101
JIS METRIC MALE60° CONE/METRIC MALE 60° CONE BONDED
SEAL
H A il MR 20 60° /T4 AMR AL 1KT 102

JIS METRIC MALE60°CONE/BSPT MALE
H A2 ] SMREL60° SME 22 i SMRSUE R 51

JIS METRIC MALE60° CONE/METRIC MALE S-SERIES 1KH 102
o A Y o A VAY 18 Yo R

90° H 7/ fill #ME S 60° FMHE /3 il FME S0 AT 1 1) 4 v 1KH9-OG 103

90°JIS METRIC MALE 60°CONE/METRIC ALE ADJUSTABLE STUD

H A< 23 il SMEZE S060° 4N/ T4 AR S ORI ] 104

JIS METRIC MALE 60°CONE/BSP MALE O-RING 1KG

90° FI A A MRG0 AMRBLOT B T VL R IKGE.0G 104

90°JIS MERIC MALE/BSP MALE O-RING ADJUSTABLE STUD

HA A HISMRE60° 41 =8 AK 105
JIS METRIC MALE60° CONE TEE
H A2 ] SMREI60° SMHE/ H A 24 il P SR E060 Py 4 53 32 =38

JIS METRIC MALE6O° CONE/JIS METRIC FEMALE 60°SEAT BK 105
BRANCH TEE

A AT SRS SO BT R B 0 = AKKG.OG
JIS METRIC MALE/BSP MALE O-RING RUN TEE ADJUSTABLE 106
STUD

H AR O il SR ET60° HMHES 22 ] S MRS AT [ A o 3 5 =38 AKKH-OG 107

JIS METRIC MALE 60°CONE/ADJUSTABLE STUD RUN
TEE

2 A 1 S0 MBSO BB R kS 43 <2 =3 AKGK-0G 107
JIS METRIC MALE/BSP MALE O-RING ADJUSTABLE STUD

BRANCH TEE

A A I SIBLL60° S A I SMBLCAT R K3 4 % =38 AKHK-OG 108
JIS METRIC MALE 60°CONE/ADJUSTABLE STUD

BRANCHTEE

ABISMELCTA P v
METRIC MALE 74°CONE SEAT

NHISMRECTA ° A HE TS SMRS
METRIC MALE 74°CONE SEAT/BSPT MALE T 109

H A B4 A MBS 60° 4 Mk
JIS GAS MALE 60°CONE 1S 110

H AR FMBEL60° 7M1 Sk
JIS GAS MALE 60°CONE PLUG 4s 110

109



Hydraulic Adapters

KHTYPE £EPART NO Tk PAGE
H AT PR E60° P AR Sk 9s 111
JIS GAS FEMALE 60°SEAT PLUG

H A 328 SMEBE L 60° Sk i R 1222k 6S 111
JIS GAS MALE 60°CONE BULKHEAD

H A S5 AR 20 60° FMHE /S HE R MRS 1sT 112
JIS GAS MALE 60°CONE/BSPT MALE

45° ] AR e B LL60° S ek e S 1514 13
45°JIS GAS MALE 60°CONE/BSPT MALE

90° H < 35/ MR LL60° YT E4E S SM BT 1ST9 114
90°JIS GAS MALE 60°CONE/BSPT MALE

H A 0 ANB S 60° 4N A HE B AMIB AL 1SN 115
JIS GAS MALE 60°CONE/NPT MALE

45° [ A S SN SL60° 4 M AT HES SMIZ ST 1SN4 116
45°J1S GAS MALE 60°CONE/NPT MALE

90° H A /8 HME S 60° FIMHE /AT 4 & A M 4L 1SN9 117
90°JIS GAS MALE 60°CONE/NPT MALE

H AR FMBESL60° 7T FMER SO R B 1SG 118
JIS GAS MALE 60°CONE/BSP MALE O-RING

90° H AL FME S 60° FMfE /TS FMEZE £060° O [l BT 1 fm) 5 i 1SG9- 118
90°JIS GAS MALE 60°CONE/BSP MALE O-RING ADJUSTABLE STuD ©C

H AT B S60° /M =18 AS 119
JIS GAS FEMALE 60°SEAT TEE

A S A MR L60° SNt/ ] A B8 1 REL60oM Sy 2 =58 BS 119
JIS GAS MALE 60°CONE/JIS GAS FEMALE 60°SEAT BRANCH TEE

B AR K B S MBL60°51 4/ B AR B NIRL60° N E X =8 cs 120
JIS GAS MALE 60°CONE/JIS GAS FEMALE 60°SEAT RUN TEE

BARZEENIRL60° N =1R DS 120
JIS GAS FEMALE 60°SEAT TEE

BAZEE SN RL60°4 M/ EE MRS OB B R A RITIHRS X =& ASGS- 121
JIS GAS MALE 60°CONE/BSP MALEO-RING ADJUSTABLE STUD 0G

BRANCH TEE

B AREEHMEL60°5ME/EEMELORBRIARRIRE X =8 ASSG- 121
JIS GAS MALE 60°CONE/BSP MALEO-RING ADJUSTABLE STUD ENDOG

RUN TEE

B SMEL60 PSR AT 4 & BB 1B 122
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL

45° R ESMRA60 N 1B4 123
45°BSP MALE 60°SEAT

90° & EHMRLI60° P 1B9 124
90°BSP MALE 60°SEAT

4 SMBLI60 PRHEA F IR T 4 A T B H /B AR A60 5 A 8 125
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL /BSP FEMALE 60

°CONE

A5°HE SMBLI60 °RIHE/BEE IR L60° 51 4 2B4 126

45°BSP MALE 60°SEAT/BSP FEMALE 60°CONE



Hydraulic Adapters

B s INDEX
RKHTYPE £EPART NO MR PAGE
90°HE EHMAL60° NAHE/ZEE NIRL60°41 4 2B9 127
90°BSP MALE 60°SEAT/BSP FEMALE 60°CONE
HEENLRL60 4}k 3B 128
BSP FEMALE 60°CONE
45°BEE NIEL60 °Hh ik 3B4 129
45°BSP FEMALE 60°CONE
90° 5 B R L60° 514 389 129
90°BSP FEMALE 60°CONE
HESMEL60 BN A I E A & R E L 4B 130
BSP MALE DOUBLE FOR 60°SEAT OR BONDED SEAL PLUG
EENIRL60 ot gk 9B 130
BSP FEMALE 60°CONE PLUG
B EHMELS60 R IRE K 6B 131
BSP MALE 60°SEAT BULKHEAD
90° B & SMIRL60° M it AR D 6B9 131
90°BSP MALE 60°SEAT BULKHEAD
HERLER 8B
132

BSP LOCK NUT
HEHMRL60 P BN R E 4L T BB S SR 1BT 133
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/BSPT MALE
A5 ESMBL60 R/ B SR 1BT4 134
45°BSP MALE 60°SEAT /BSPT MALE
90° 3 & HMRLL60° P HE/FHE B SMRLL 1BT9 135
90°BSP MALE 60°SEAT /BSPT MALE
HEHMZL60 RN BB T4 A 1 AR S MR 1BN 136
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/NPT MALE
A5°HL B SMRL60 °PHE/ AR HE S SRS 1BN4 137
45°BSP MALE 60°SEAT /NPT MALE
90° B & SV IR L 60° R/ i 4k 5 SR 4L 1BNS 138
90°BSP MALE 60°SEAT /NPT MALE
G HMBL60 PIHESON A IR/ & R A B SMRL0 BB 1BG 139
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/BSPT MALE O-
RING

o (et ° s 1) N s 1BG4- 140
A5°TRESMRLA60 °HE/Z B SMRELL O B Al i M4t i oG
45°BSP MALE 60°SEAT/BSP MALE O-RING ADJUSTABLE STUD
END
90°HE HMRL60° /R ESMELLOR B vl i Mt ik 1BG9- 141
90°BSP MALE 60°SEAT/BSP MALE O-RING ADJUSTABLE STUD 0oG
END
HESMRL60 PRI B T T4 S R B A FI IR S R B 1BH 142
BSP MALE DOUBLE FOR 60°SEAT BONDED SEAL/METRIC MALE
L-SERIES
45° & HIRL60 °PIHE/ 2 I SRS T 5 1BH4-0G 143
45°BSP MALE 60°SEAT/METRIC MALE 0-RING
90° 5 & SV IR L60° PR HE/ 4> I SR LU T 5 1BH9-0G 144

90°BSP MALE 60°SEAT/METRIC MALE 0-RING



Hydraulic Adapters

KATYPE £EPART NO WX PAGE
EEHMRL60 NS N A IRE A S HE BERIICHIRL 74 514 1BJ 145
BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/JIC MALE 74

°CONE

HEENMZL60 "R N AR A A RE H/EFNIICHIES 74 o4t

BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/JIC MALE 74 1BJ 146
°CONE

45° R HMBLI60 °HEZEHIIICHMRL 74 5M 4k 1BJ4 147
45°BSP MALE  60°SEAT/JIC MALE 74°CONE

90°HE 5 51 BRLL60° P /25 1 JI CHMBLL74° V4 1BJ9 148
90°BSP MALE 60°SEAT/JIC MALE 74°CONE

HESMRL60 TR A A IR E 41 S H B E A HISMRL60 © R 1BM 149

HESN AR E A & R H
BSP MALE 60°SEAT DOUBLE 60°SEAT BONDED SEAL
IMETRIC MALE DOUBLE 60°SEAT BONDED SEAL

EESMRAL60 "RHES N A I E 24 & 3 £#/EFISAE 1BO 150
SRS ORI B i F 5
BSP MALE 60°SEAT BONDED SEAL/SAE O-RING BOSS L-
SERIES
HEESMEL60 W R A B EL &SRB HEOE 1BW 151
BSP MALE 60°SEAT BONDED SEAL/BUTT-WELD TUBE
P& /5 RIRLS60° 5V 4 2WB 151
BUTT-WELD TUBE/BSP FEMALE 60°CONE
- o — i) = - Ty [l 1B‘
HESMRL60 P BN RIS 1 H/R B MR LR B WD 152
BSP MALE 60°SEAT BONDED SEAL/BSP MALE CAPTIVE SEAL
B SMTL060 IS A B IR T2 A I /251 I CPR A7 4 ° PR 4 2BJ 153
BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/JIC FEMALE 74
°SEAT
- . X X 2BJ- 154
B SRS T B2 41 JI C PRSI 74 *AE WD
BSP MALE CAPTIVE SEAL/JIC FEMALE 74 °SEAT
HEHEE ML EE NIRL60°4 4 2TB 155
BSPT MALE/BSP FEMALE 60°CONE
45° B SMR LU E E NIRL60° 5 4 2TB4 156
45°BSPT MALE/BSP FEMALE 60°CONE
90° B 4k 1 SRS/ 85 & IR LS60°SM4fE 2TB9 156
90°BSPT MALE/BSP FEMALE 60°CONE
At B SV R R SL60° oM 4 2NB 157
NPT MALE/BSP FEMALE 60°CONE
45O SR 2 B PR L6051 2NB4 158
45°NPT MALE/BSP FEMALE 60°CONE
N N 2NB9

00~ B S ML/ E B PARLI60° M 159
90°NPT MALE/BSP FEMALE 60°CONE

4BN- 160
KB SMRLR A H R A Bk WD
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
KB SR LA B3k 4B- 160
BSP MALE CAPTIVE SEAL PLUG WD

HEEIMRL60 "NHESR AN AIRE A & R /5 ENIRL
BSP MALE DOUBLE FOR 60°SEATBONDED SEAL/BSP FEMALE 5B 161



Hydraulic Adapters

B < INDEX
KATYPE KEPART NO R PAGE
90° & SMBLI60° N4/ E RIBLL 5B9 162
90°BSP MALE 60°SEAT/BSP FEMALE
B SMTL60 PRSI T & TR 2 7 4 1 R 5BN 163
BSP MALE DOUBLE FOR 60°EATBONEDE SEAL/NPT FEMALE
B SMRL60 CPHED A B IR T A A AT A R 58T 163
BSP MALE DOUBLE FOR 60°EATBONEDE SEAL/BSPT FEMALE
B SRR AT B/ R AL EBWD 164
BSP MALE CAPTIVE SEAL/BSP FEMALE
S RSO R Bl R £GB 165
BSP MALE O-RING/BSP FEMALE
B E IR LU B NIRL60° i 7TB 165
BSPT FEMALE/BSP FEMALE 60°CONE
HEERIRAL 7B 166
BSP FEMALE
90° 3 & IR LL 7B9 167
90°BSP FEMALE
HENIRL =58 GB 167
BSP FEMALE TEE
- N — 168
KB SMBL60 T =E AB
BSP MALE 60°SEAT TEE
168

F B HMRL60 SR E IR S Z =8 BB
BSP MALE 60°SEAT/BSP FEMALE 60°CONE BRANCH TEE
HEHMEL60 R ERIRSMEE R =8 CB 169
BSP MALE 60°SEAT/BSP FEMALE 60°CONE RUN TEE
HERNIRLSME=E DB 169
BSP FEMALE 60°CONE TEE
B IRA060 OO/ S MR L60° RS T = EB 170
BSP FEMALE 60°CONE/BSP MALE 60° BRANCH TEE
B RIRL60 5Vl /E B HMRL60° RS X =58 FB 170
BSP FEMALE 60°CONE/BSP MALE 60°BRANCH TEE
A SMRL60 PR S MBI OB BT AR X = ABBC- 1
BSP MALE 60°SEAT/BSP MALEO-RING ADJUSTABLE STUD END
RUN TEE
A s Y ° s S l > W/\ =2 ABGB- 171
HESNRL60 "R/ EEIMEL OB A A FRTIHNT =8 oG
BSP MALE 60°SEAT/BSP MALEO-RINGADJUSTABLE STUD END
BRANCH TEE
- 1T
EHEE SMRLL 172
BSPT MALE

okt f: s N 173
450 FHE B HMRLL 1T4
45°BSPT MALE
90° HHEE HMRLL 119 173
90°BSPT MALE
FOHE S SRS 41 174

BSPT MALE PLUG



Hydraulic Adapters

B s INDEX

KATYPE £EPART NO WX PAGE
BB SRR A LS L N 174
BSPT MALE HOLLOW HEX
PLUG

5T 175
BEHEE SR LA B IR AL
BSPT MALE/BSPT FEMALE 579

176

QO HHE B M IR LU/ BEHE B NIRLL
90°BSPT MALE/BSPT FEMALE 7T 177
BB NIRLL
BSPT FEMALE 779 178
90° HHEE MIRAL
90°BSPT FEMALE GT 178
EHENIRY =@ 179
BSPT FEMALE TEE Al
BB NYR L E
BSPT FEMALE CROSS
HE MRS OB BT HE T RIS 5GT 179
BSP MALE O-RING/BSPT
FEMALE
EHIMHEE MRS 1N 180
NPT MALE
A5° S M HE B SMRLL IN4 181
45°NPT MALE " 181
90° S il frHE B MR 4L
90°NPT MALE

4NN 182
EHI TSN RN AE L
NPT MALE HOLLOW HEX PLUG AN 182
EHl TS S RO K
NPT MALE PLUG 5N 183
S HEE S MR LU HEE NIRLL
NPT MALE/NPT FEMALE 5N4 184
A5°SEHI AL B SMR LU FHE B IR AL
45°NPT MALE/NPT FEMALE SN9 184
90° = H| Fr i B 4MR LU/ HE B IR AL
90°NPT MALE/NPT FEMALE
EH MHEERIRL 7N 185
NPT FEMALE
90° =l Fr it B IRLL 7N9 186
90°NPT FEMALE
SR HEE IR K 9N-CAP 186
NPT FEMALE PLUG
S HISAES MRS ORI/ 51 74 B SMBLL NG 187
NPT MALE/SAE O-RING BOSS

2NU 188

e B S MR L ZEFINPSM IR 4 60°41 i
NPT MALE/NPSM FEMALE 60°CONE



Hydraulic Adapters

B X INDEX
KHTYPE KEPART NO TR PAGE
A5°F74E B MR SU/ERINPSM AR Z60° 51 4E 2NU4 189
45°NPT MALE/NPSM FEMALE 60°CONE
Q0°Fi it B MR LU/ZEFINPSMINERS60° 1 2NU9 190
90°NPT MALE/NPSM FEMALE 60°CONE
£ | SR SO R B/ 25 5 Fr i B IR AL 5GN 191
BSP MALE O-RING/NPT FEMALE
NSRS T B A A PR SHN 192
METRIC MALE L-SERIES/NPT FEMALE
5MN

A SRS B B A AR 192
METRIC MALE WITH BONDED SEAL/NPT
FEMALE 5NO 193
EFI T HEE S R4/ ZEHISAERIREL
NPT MALE/SAE FEMALE
EHISAESM RS ORI B4 R 5!/ 51| i B PR AL 50N 194
SAE O-RING BOSS L-SERIES/NPT FEMALE
BHEE SMALE I HEE IR 5TN 195
BSPT MALE/NPT FEMALE
EHFHEERNRS S ZN 195
NPT FEMALE CROSS
A PR HINPSM I ERLI60° 51 6 [ 196
NPT FEMALE/NPSM FEMALE 60°CONE

o et e — s AN 197
EFMHEENMRL =@
NPT MALE TEE

\ _— GN 197

THEERNIZL =&
NPT FEMALE TEE

‘ JN 198
EFMHEERRIUAHEE MRS =@
NPT FEMALE/NPT MALE BRANCH TEE HN 108
EFAEENRYUAHEENRA TR =8
NPT FEMALE/NPT MALE RUN TEE 13 199
EHIIICHIREL 749 i
JIC MALE 74° CONE 114 200
45°EFIICHMR L7451 4
45°JIC MALE 74° CONE 1J9 200
90°EHIIICHMRL 745V 4
90°JIC MALE 74° CONE
90°EHIJICHMRLL 745V 4 139 200
90°JIC MALE 74° CONE
FEHIIICHMRLTA° S HEIJICTRBREITA° N HE 2) 201
JIC MALE 74°CONE/JIC FEMALE 74°SEAT
A5°ZEHIIICHMIRLI T4 SV IIC BRI T 4° R4 2J4 202
45°JIC MALE 74°CONE/JIC FEMALE 74°SEAT
90° £ HIJICHMRL74° SV HEIICHIIRE 74P 239 203

90°JIC MALE 74°CONE/JIC FEMALE 74°SEAT



Hydraulic Adapters

KRHTYPE £EPART NO TR PAGE
EHIIICRIRLL T 4° R HE 3J 204
JIC FEMALE 74°SEAT

45°£HIJICRIRL74° N HE 3J4 204
45°JIC FEMALE 74°SEAT

90°EHIJICHRIRS74° R HE 3J9 205
90°JIC FEMALE 74°SEAT

EHI1IICHIRLL T4 M3 L 4J 205
JIC MALE 74°CONE PLUG

EHIIICHIRLUZERIIICRBRLL 5 206
JIC MALE/JIC FEMALE

EHIICHIRL 745V T ARk 6J 207
JIC MALE 74°CONE BULKHEAD

45°EH|JICHIRL 7454 L HR =k 6J4 207
45°JIC MALE 74°CONE BULKHEAD

90°ZEFIJICHMBL 74 M HERL HR D=k 6J9 208
90°JIC MALE 74°CONE BULKHEAD

E4|JICHIF

JIC LOCK NUT 8J 208
EHIIICRIRLS74° RHERE K

JIC FEMALE 74°SEAT PLUG 9 209
JICTA° TRIR S 3k

JIC 74°FEMALE PLUG 9J-CAP 209
JICHMRAIT A SV HEIZHE T SR AL 13T 210
JIC MALE 74 °CONE/BSPT MALE

45°JICHMRLLT A 5V 4B S IR AL 1JT4 211
45°JIC MALE 74°CONE/BSPT MALE

90°JICHMBLI 74 oV 4/ HE B SM IR AL 1JT9 212
90°JIC MALE 74°CONE/BSPT MALE

JICHMRLIT74 4V i B SRS 1IN 213
JIC MALE 74°CONE/NPT MALE

A5°JICHMEBLITA 5V Fr B SN ELL 1IN4 214
45°JIC MALE 74°CONE/NPT MALE

90°JICHMELIT4 “VHEIF4HEE S1 B4 1IN9 215
90°JIC MALE 74°CONE/NPT MALE

90°JICHMRL74 *SMHEMNK FHE E SRS LINO-L 16
90°JIC MALE 74°CONE/LONG NPT MALE

90°JICHMERLL74 HME K AR HE B SMRLL 1INO- 217
90°JIC MALE 74°CONE/LONGGER NPT LL

MALE

SEHIIICHMR L7405\ 4/ B IR L60°4 1 2IB 218
JIC MALE 74°CONE/BSP FEMALE 60°CONE

EHIIICHIRL 745\ R B SMELORE 1JG 219

JIC MALE 74°CONE/BSP MALE O-RING



Hydraulic Adapters

B s INDEX
KATYPE

45°E HJICHMRLL 745V B SME L ORI E
45°JIC MALE 74°CONE/BSP MALE O-RING

90°EHIJICHRL 7454 4t/ B S MBSO BB
90°JIC MALE 74°CONE/BSP MALE O-RING

EHIIICHIZL74° 5 HE/IORFSHMR AL
JIC MALE 74°CONE/ORFS MALE

JICHMRLTA SV HEI A FI MRS O BB 3
JIC MALE 74°CONE/ METRIC MALE END O-
RING

45° £ HIJICH RS 74 HV /4 ) S IR S0 R] 1 M1 AT i
45°JIC MALE 74°CONE/METRIC MALEADJUSTABLE STUD END

90°E HIJICHMRLT A4SV HE/ N FI SV R ST T W] 4L i
90°JIC MALE 74°CONE/METRIC MALEADJUSTABLE STUD END

JICHMRBLLT4 “SVHEI X I SMRS60° RHESR AN A ImE H & R B

JIC MALE 74°CONE/METRIC MALE DOUBLEUSE FOR 60°SEAT OR BONDED SEAL

JICHMBLLT4 5V Ak | SR L BT R 3
JIC MALE 74°CONE/METRIC MALE CAPTIVE SEAL

EHIICHMRAT74° M/ SAESMRIUHT ORUE
JIC MALE 74°CONE/SAE O-RING BOSS

EHIIICHIRL 745V HEISAEFME ST ORI
JIC MALE 74°CONE/SAE O-RING BOSS

MK SERIICHR L7441 EISAESMRSCHT OBV
LONG JIC MALE 74°CONE/SAE O-RING BOSS

45°)ICHMIRL 74 o1 4EISAESMR LR ORI
45°JIC MALE 74°CONE/SAE O-RING BOSS

90°JICHHMRLT74 SV HE/SAESIRLH OB
90°JIC MALE 74°CONE/SAE O-RING BOSS

90°EHIIICHMRL T4 SV HEMNMD K SAESMZE LT OB E
90°JIC MALE 74°CONE/LONG SAE O-RING BOSS

HE SRR REE H/IICHMR L7451V 4
BSP MALE CAPTIVE SEAL/JIC MALE 74°CONE

BB MBI CRIR S T4° R4
BSPT MALE/JIC FEMALE 74°SEAT

B SMB L IICRIB S 74° N4
NPT MALE/JIC FEMALE 74°SEAT

HESMELORB/IICHIRL 74 HEE
BSP MALE O-RING/JIC FEMALE 74°CONE

EHISAESRZH O BB/ IIC IR S 74° R 4E
SAE O-RING BOSS/JIC FEMALE 74°SEAT

EOE/ZEHIICHRIRS T4 R
BUTT-WELD TUBE/JIC FEMALE 74°SEAT

SEHIIICHMRALT 45} HE/ T E NIRLL
JIC MALE 74°CONE/BSP FEMALE

HKSPART NO

1JG4-0G

1JG9-0G

1IF

1JH

1JH4-0G

1JH9-0OG

1M

1IM-WD

1J0

1J0

1JO-L

1J04-0G

1J09-0G

1JO9-0OG/L

1BJ-WD

2TJ

2NJ

2GJ

207

2WJ

5JB

TR PAGE

220

221

222

223

224
225

226

227

228

229

229
230
231
232

233

234

235

236

237

237

238



Hydraulic Adapters

B X INDEX
KHTYPE K£EPART NO TR PAGE
EHIIICHM IR L7491 43 4k B IR AL 5JT 239
JIC MALE 74°CONE/BSPT FEMALE
EHIIICH R T4 5V HE A HE B NER AL 5JN 240
JIC MALE 74°CONE/NPT FEMALE
Q0° 24| JICHM IR L7 4° 1A 1R 4 & PRIBE 4L 5JIN9 241

90°JIC MALE 74°CONE/NPT FEMALE
EHINPTHMRLY/EFIJICHRS M T ROk

NPT MALE/JIC MALE 74°CONE BULKHEAD 6N 242
ik B S JIC BB L 74° R 4t INJ 242
NPT FEMALE/JIC FEMALE 74°SEAT

ERIICHIRL 745\ HE =8 Al 243
JIC MALE 74°CONE TEE

EHIICHIRL 74 AE/ZEFICRIRL T4 RNER X =8 BJ 243
JIC MALE 74° CONE/JIC FEMALE BRANCH TEE

EHFINCHIRLE 745 HE/ZEFIICRRL 74 A E R =8 cJ 244
JIC MALE 74° CONE/JIC FEMALE 74°SEAT RUN TEE

EHIICRIEL T4 RHE=E DJ 244
JIC FEMALE 74°SEAT TEE

FEHIICRBEL T4 A ZEHIIICHMEL T4 M D X =8 EJ 245
JIC FEMALE 74° SEAT/JIC MALE 74°CONE BRANCH TEE

EFIIICRIRL 74 RHE/ERIIICHMRE T4 9 il X =@ F3 245
JIC FEMALE 74° SEAT/JIC MALE 74°CONE BRANCH TEE

FEEIICHMEL T4 MM E IMEL DX =R AINJ 246
JIC MALE 74°CONE/NPT MALE BRANCH TEE

EHIIICH IR 74 B MRS E X = AJIN 247
JIC MALE 74°CONE/NPT MALE RUN TEE

EHIICHIEL 74 S T IR L TR =R AJJ6J 248
JIC MALE 74°CONE BULKHEAD RUN TEE

EHIICHIRL 74N T RO D=8 AJ6JJ 248
JIC MALE 74°CONE BULKHEAD BRANCH TEE

FEHIICTMEL T4 NI ENIBL AR =R KINJ 249
JIC MALE 74°CONE/NPT FEMALE BRANCH TEE

4 IICHMRLTA I A S IR E X =8 LJIN 250
JIC MALE 74°CONE/NPT FEMALE RUN TEE

4| JICHMBLT A I I SAESMBLL I OBIB 4 % = i AJOJ-0G 251
JIC MALE 74°CONE/SAE O-RING BOSS BRANCH TEE

EHIJICH IR 749 HEISAESMBELCHFORBEX =8 AJJO-0OG 252
JIC MALE 74°CONE/SAE O-RING BOSS RUN TEE

JICHMRAI74 M R E MRS OB B AR =18 AJGJ-0OG 253
JIC MALE 74°CONE/BSP MALE O-RING BRANCH TEE

JICHMEL 74 S EESMELOREEX =8 AJJIG-0OG 253

JIC MALE 74°CONE/BSP MALE O-RING RUN TEE



Hydraulic Adapters

KATYPE K£EPART NO R PAGE
EHIIICH RS T4 /A HI SMESCRT A R IR E X =8 AJIH-0OG 254
JIC MALE 74°CONE/METRIC MALE ADJUSTABLE STUD END
JICAHIERE NBS500 255
JIC METRIC SLEEVE
JCHHEHE NB300 256
JIC INCH SLEEVE
£HICH OO LSS 00TSUM-NB 256
JIC FLARE TUBE END NUT
£ HORFSIMELORBE T ERH ¥ 257
ORFS MALE O-RING
X 1F4 258
45°FEH|ORFSHMRLIORY B F m % +
45°0RFS MALE O-RING
90° & H|ORFSHMELORE T HE & 1F9 258
90°0ORFS MALE O-RING
EHIORFSHMZELORY BT E % £/ORFSINIRAL 2F 259
ORFS MALE O-RING/ORFS FEMALE
45° £ $|ORFSHMEL ORI B F E £ /ORFS RS 2F4 260
45°0RFS MALE O-RING/ORFS FEMALE
90°%4IORFSHMELLO ! B T EH £/ORFSNELL 2F9 260
90°0ORFS MALE O-RING/ORFS FEMALE
|ORFSHEL
EHIORFSPIIRLL 3F 261
ORFS FEMALE
X HIORFSHMRSOR B F H 2 H4% Sk 4F 261
ORFS MALE O-RING PLUG
EHORFSHMZRL OB BT mE & Hid #R®k 6F 262
ORFS MALE O-RING BULKHEAD
45°H|ORFSHMELIOR B SE i & T #R Dk 6F4 262
45°0RFS MALE O-RING BULKHEAD
90° £ H|ORFSHMEL OB B EEE 1 TRk 6F9 263
90°0ORFS MALE O-RING BULKHEAD
£%|ORFSHIE 8F 264
ORFS LOCK NUT
4| ORFSRIELHE K oF 264
ORFS FEMALE PLUG
- . . . 1FN 265
EHIORFSHMRSOE! B F 2 /il & S MRELL
ORFS MALE O-RING/NPT MALE
‘ . . 1FN4 266
45° K HIORFSHMES ORI B T w2 £/ fn i B SMRLL
45°0RFS MALE O-RING/NPT MALE
1FN9 267
90°E HIORFSH MRS O B 25 HH /A HE B MRS
90°0ORFS MALE O-RING/NPT MALE
1FH 268

EHIORFSHMRLLORY B T w2 /28 Hll s R 4L
ORFS MALE O-RING/METRIC MALE O-RING



Hydraulic Adapters

K ATYPE KEPART NO TR PAGE
45°EHIORFSHMELLOZY BT mE & £/ Hll 4 4R L0 vl A Ml 4+ i 1FH4-0G 269
45°0RFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END
90°E HIORFSHMRLLOEY B T 2 £/40 | 41 bR S0 AT 1 (Rl 4 i 1FH9-0G 269
90°0ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END
EHIORFSHMZL ORI B T & £#/EH| S MRS OB E RS 1FO 270
ORFS MALE O-RING/SAE O-RING BOSS S-SERIES
45° £ H|ORFS HMZ SO R B T [ 5 $1/2 HI SMELH OB B E R 5 1FO4-0G 271
45°0OREFS MALE O-RING/SAE O-RING BOSS S-SERIES

- 1F09-0G 272
90°EH|ORFSHM MRS O BB F w75 £/ FI| 4 MR LU OFY IEIE?F:EIJ
90°ORFS MALE O-RING/SAE O-RING BOSS S-SERIE
X HORFSHMRI ORI E T E# £/ ESMELORE 1FG 273
ORFS MALE O-RING/BSP MALE O-RING
45°FE#H|ORFSHMRLO Y B T [ 25 £/ H B MBS O E 1FG4-0G 274
45°0RFS MALE O-RING/BSP MALE O-RING
90°EH|ORFSHMRELOF B F & 3/ B /MRS O E 1FG9-0G 275
90°0ORFS MALE O-RING/BSP MALE O-RING
EHISAESNRLORE ERFI/ORFS RNIRLL 20F 276
SAE O-RING BOSS S-SERIES/ORFS FEMALE
£H|ORFSIMELOMBE FEHEH RO LI X =8 AFF6F 217
UKRFS VIALE O-RING BULKHEAD RKUN |EE
£4|ORFSHMELORNBEEZ HiTROLH X =18 AF6FF 277
ORFS MALE O-RING BULKHEAD BRANCH TEE
EHORFSIMRIORE T EE H/REMRUORBEEX =& AFFG-0G 278
ORFS MALE O-RING/BSP MALE O-RING RUN TEE
EHIORFSHMEL OB FEEH/RENMEL OB N X =R AFGF-0G 278
ORFS MALE O-RING/BSP MALE O-RING RUN TEE
EHORFSHMELOR B T E & H/ZEFISAESMELHORE A X =8 AFOF-OG 279
ORFS MALE O-RING/SAE O-RING BOSS BRANCH TEE
FEHIORFSHMRLOR BT EH H/EHISAESMRLOHORMBEEX=8E  AFFO-0G 280
ORFS MALE O-RING/SAE O-RING BOSS RUN TEE
EHIORFSHMEL OB E T EE H/AFISMRLAIARMER E X =& AFFH-OG 281
ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END
RUN TEE
S£HIORFSHMBLORETFEE L ASIMBLA AR HAZ=E  AFHF-OG 281
ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END
BRANCH TEE
REIMELGORE 1G 282
BSP MALE O-RING
EEIMRLORE L L 4G 282
BSP MALE O-RING PLUG
HEEZL ORI B ZEHEE SMRAL 1GT 283
BSP MALE O-RING/BSPT MALE
AFISMREUR R IR A AL 4HN 283

METRIC MALE L-SERIES HOLLOW HEX PLUG



Hydraulic Adapters

B XINDEX

KHTYPE £EBPART NO TR PAGE
NHISMRSE RS 1H 284
METRIC MALE L-SERIES
DHITMRSEE R Gk 4H 284
METRIC MALE L-SERIES PLUG
NHISMRES60 RSN AT A S RES M 285
METRIC MALE DOUBLE FOR 60°CONE SEAT BONDED SEAL
NI SMRLI60 CPIHES A 1 A & T M 286
METRIC MALE DOUBLE FOR 60°CONE SEAT BONDED
SEAL PLUG
NSV RS TR B RN A B Sk AMN-WD 286
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG
EHISAESMRLUH ORI 10 287
SAE O-RING BOSS
EHISAESMRLCHT OFY B/ T4 B MR AL 10T 287
SAE O-RING BOSS/BSPT MALE
SAESMRLLH OB El/EHINPSMMABZL60 °oh4E 20U 288
SAE O-RING BOSS /INPSM FEMALE 60°CONE
EFISAESMRLUH OB B 35 3L 40 289
SAE O-RING BOSS PLUG
EHISAESMELHT ORI B N /A M 35k 40N 289
SAE O-RING BOSS HOLLOW HEX PLUG

l Y °©
EHISAESMZEL90° 4} 4t 1p 290
SAE MALE 90°CONE
FEHISAESHERL90° 9 4l 3K Sk ap 290
SAE MALE 90°CONE PLUG
BRI &2 FL 291
L-SERIES SPLIT FLANGE CLAMPS
FERIIFHE =K FS 291
S-SERIES SPLIT FLANGE CLAMPS
BRHNEEESI FL-W 292
L-SERIES WHOLE FLANGE CLAMPS
ERVIEERE =S FS-wW 292
S-SERIES WHOLE FLANGE CLAMPS
NERREXIHRIE 1CFL 293
METRIC MALE BITE TYPE/L-SERIES FLANGE
NHIRSRER /R RTIE 1DFL 293
METRIC MALE BITE TYPE/L-SERIES FLANGE
90° A ISR LRI T/ BB 1CFL9 294
90°METRIC MALE BITE TYPE/L-SERIES FLANGE
0 N FEL R ER/ERFNEZ 1DFL9 294
90°METRIC MALE BITE TYPE/L-SERIES
FLANGE
NHBLREX/ERIES 1DFS 295

METRIC MALE BITE TYPE/S-SERIES
FLANGE



Hydraulic Adapters

B s INDEX
KATYPE K£EPART NO TR PAGE
N FNIELRERX/ERFE= 1DFS9 295
90°METRIC MALE BITE TYPE/S-SERIES FLANGE
EHORFSHIZL OB B FEE H/ZRHE = 1FFL 296
ORFS MALE O-RING/L-SERIES FLANGE
90°EHIORFSHIZL OB B T EZE H/R R FIE 1FFL9 296

90°0ORFS MALE O-RING/L-SERIES FLANGE
EHIORFSHMEL OB B T EEH/ERIIE

ORFS MALE O-RING/S-SERIES FLANGE 1FFS 296
90°EHIORFSHMRL ORI BT EEZE H/ERF|E 1FFS9 297
90°0ORFS MALE O-RING/S-SERIES FLANGE

EFIINCHIRL 745\ 32 2R HI R = 1JFL 297
JIC MALE 74°CONE/L-SERIES FLANGE

45° | IICHMIR L T4 MR R FIE 1JFL4 298
45°JIC MALE 74°CONE/L-SERIES FLANGE

90°ZE HIJICHMRL T4 M2 R FIE 1JFL9 299

90°JIC MALE 74°CONE/L-SERIES FLANGE

EHIICHIBL 749 M EIE R ER
JIC MALE 74°CONE/S-ERIES FLANGE 1FS 300

45°EHIICHTMREL T4 M EIERFNE =

301
45°JIC MALE 74°CONE/S-ERIES FLANGE 1JFS4
o | v, o A | B

90°KMIICHMRL T4 SMIEI R FIE > LIFSS 302
90°JIC MALE 74°CONE/S-ERIES FLANGE
BRRHIEZNEDE 1FLW 303
L-SERIES FLANGE/BUTT-WELD TUBE
BRIE=/NIROE 1ESW 304
S-SERIES FLANGE/BUTT-WELD TUBE
BRRIIE LI L 4FL 305
L-SERIES FLANGE PLUG
FERIEZEL 4ES 305
S-SERIES FLANGE PLUG
BRY|FEELEL 4FL-M 306
L-SERIES FLANGE PLUG

s ) 306
BRI E S 4FS-M

S-SERIES FLANGE PLUG



Hydraulic Adapters

- 1E
AH MRS OB BT EEH
Sy

METRIC MALE O-RING

NN

s
foe 1240 THREADE R~} DIMENSIONS
PART NO. E A s1 L
1E-12 M12x1.5 11 14 28
1E-14 M14x1.5 11 17 28
1E-16 M16x1.5 11 17 28
1E-18 M18x1.5 11 19 28
1E-22 M22x1.5 12 24 32
1E-27 M27x1.5 13 30 35
1E-30 M30x1.5 14 32 38
1E-36 M36x2 16 36 43
1E-39 M39x2 18 41 48
1E-45 M45x2 20 46 53
1E-52 M52x2 22 55 59
1E-60 M60x2 24 65 65
1E-64 M64x2 28 70 73




Hydraulic Adapters

E
%._
= 1E9
7
| | 90° A I SHE O I F )
— 90°METRIC MALE O-RING
A S$1
= I#40  THREADE R <) DIMENSIONS
PART NO. E A S1
1E9-12 M12x1.5 25 11
1E9-14 M14x1.5 27 14
1E9-16 M16x1.5 29 17
1E9-18 M18x1.5 32 19
1E9-22 M22x1.5 37 22
1E9-27 M27x1.5 41 27
1E9-30 M30x1.5 49 33
1E9-36 M36x2 47 33
1E9-39 M39x2 57 44
1E9-45 M45x2 55 44
1E9-52 M52x2 59 55
‘ =
2E9
7 : ST 2R
90° A | HELL O HY P - i1 4% 3=
| | ] 90°METRIC MALE O-RING
A S1
e 14 THREADE R <} DIMENSIONS
PART NO. E F A C S1 S2
2E9-14 M14x1.5 | M14x1.5 29 9 14 19
2E9-16 M16x1.5 | M16x1.5 30 9.5 17 22
2E9-18 M18x1.5 | M18x1.5 33 9.5 19 24
2E9-22 M22x1.5 | M22x1.5 37 10 22 27
2E9-27 M27x1.5 | M27x1.5 41 10.5 27 32
2E9-30 M30x1.5 | M30x1.5 49 11.5 33 36
2E9-36 M36x2 M36x2 47 135 33 41
2E9-39 M39x2 M39x2 57 135 44 46
2E9-45 M45x2 M45x2 55 155 44 55
2E9-52 M52x2 M52x2 59 175 55 60




Hydraulic Adapters

S1

INHIFMRET O B 1 2 e 3k

4E

METRIC MALE O-RING PLUG

o #2240 THREADE R <+ DIMENSIONS
PART NO. E A s1 L
4E-12 M12x1.5 11 14 17
4E-14 M14x1.5 11 17 17
4E-16 M16x1.5 11 17 17
4E-18 M18x1.5 11 19 17
4E-22 M22x1.5 12 24 20
4E-27 M27x1.5 13 30 22
4E-30 M30x1.5 14 32 24
4E-36 M36x2 16 4 28
4E-39 M39x2 18 41 30
4E-45 M45x2 20 46 33
4E-52 M52x2 22 55 37
4E-60 M60X2 24 65 4
4E-64 M64x2 28 70 45




Hydraulic Adapters

S1

2

OE

O3 YIRS T Sk
METRIC FEMALE FLAT FACE

PLUG
C
foe I#4 THREADE X 5F DIMENSIONS
PART NO. E C S
9E-12 M12x1.5 8 14
9E-14 M14x1.5 8 17
9E-16 M16x1.5 8 19
9E-18 M18x1.5 8.5 22
9E-22 M22x1.5 10 27
9E-27 M27x1.5 105 32
9E-30 M30x1.5 11 36
9E-36 M36x2 13 41
9E-39 M39x2 13 46
9E-45 M45x2 15 55
9E-52 M52x2 17 60
L
A B 6 E
| RIS MR SLO MY P T T 5 et B K
% % , METRIC MALE O-RING
BULKHEAD
S1
e 24 THREADE R~} DIMENSIONS
PART NO. E A B S L
6E-12 M12x1.5 11 315 14 48.5
6E-14 M14x1.5 11 325 17 49.5
6E-16 M16x1.5 11 325 17 49.5
6E-18 M18x1.5 11 33 19 50
6E-22 M22x1.5 12 355 24 55
6E-27 M27x1.5 13 37 30 59
6E-30 M30x1.5 14 38 32 62
6E-36 M36x2 16 42 41 70
6E-39 M39x2 18 44 41 74
6E-45 M45x2 20 46 46 79
6E-52 M52x2 22 49 55 86
N AATRET 5%, M AL S /E I0"LN" 4n6E-30LN
In case if you are interested to order the adapter with lock nut,please insert suffix"LN" after our part
NO.,for example 6E-30LN.

-4 -




Hydraulic Adapters

A :g<;§L

6E9

90° 2+ fil| MRS O R ] P 1 e B A 2%k
90°METRIC MALE O-RING

BULKHEAD
R 1240 THREADE| OZ![E(JMEXZ4R) U~} DIMENSIONS
PART NO. E Edfi A B s1
6E9-12 M12x1.5 8x1.9 25 | 445 | 11
6E9-14 M14x1.5 10x1.9 27 | 465 | 14
6E9-16 M16x1.5 11x1.9 29 48 17
6E9-18 M18x1.5 13x1.9 32 50 19
6E9-22 M22x1.5 16x2.4 37 54 22
6E9-27 M27x1.5 18x2.4 41 | 585 | 27
6E9-30 M30x1.5 24x2.4 49 | 615 | 33
6E9-36 M36x2 30x3.1 a7 71 33
6E9-39 M39x2 32x3.1 57 76 44
6E9-45 M45x2 38x3.1 55 81 a4
6E9-52 M52x2 40x3.1 59 86 55
L
- ] 1EH
( A HMRESLORY Pl [ 5
N SMESE R B
g W/ METRIC MALE O-RING
s/
= 24 THREADE U~/ DIMENSIONS
PART NO. E F A B s1 L
1EH-12-10 | M12x1.5| M10x1 11 11 14 28
1EH-14-12 | M14x1.5 | M12x1.5 11 11 17 28
1EH-16-14 | M16x1.5 | M14x1.5 11 11 19 28
1EH-18-16 | M18x1.5 | M16x1.5 11 11 22 29
1EH-22-18 | M22x1.5 | M18x1.5 2 | 11 24 31
1EH-27-22 | M27x1.5 | M22x1.5 13 | 12 30 34
1EH-30-27 | M30x1.5 | M27x1.5 14 13 32 37




Hydraulic Adapters

s2
1EH4-0OG
“% 45°) Hill FMB S O 21 [~ 1 %% s/
| AT R RS
45°METRIC MALE O-
A \s1 RING/ ADJUSTABLE
STUD
R 240 THREADE R s/ DIMENSIONS
PART NO. E F A B | st | 2
1EH4-12- M12x15 | M10x1 20 | 255 | 11 | 14
1EA4-14- M14x15 | M12x15 2 |30 | 14 | 17
1EA4-16- M16x15 | M14x1.5 2 [305 | 17 | 19
1EA4-18- M18x1.5 | M16x15 24 | 34 | 19 | 22
1EA4-22- M22x1.5 | M18xL.5 27 | 38 | 22 | 24
1BHA-27- M27xL5 | M22x1.5 33 | 405 | 27 | 27
TER4-30- M30xL5 | M27xL.5 38 | 48 | 27 | 3
1EA4-36- M36x2 | M33x2 37 |495 | 33 | @
TEH4-39- M39x2 | M33x2 4 | 52 | 44 | @
TBRZ-45- M45x2 | M42x2 41 | 54 | 44 | 50
1ER4-52- M52x2 | M48x2 47 | 585 | 53 | 55
480G
.
s 1EH9-OG
2
7 ‘ 90° A HHill SMELSL O 1P| F- 1H] % £
! ’ A A 3 2 R 5
% 90°METRIC MALE O-
T RING/ ADJUSTABLE
A S1 STUD
R I#4.  THREADE R <f DIMENSIONS
PART NO. E F A | B | st | =2
1EH9-12-10 | M12x15| M10x1 25 | 285 | 11 | 14
1EH9-14-12 | M14xL5 | M12x15 20 [ 332 | 14 | 17
1EHO-16-14 | M16xL5 | M14x15 0 | 36 | 17 | 19
1EH9-18-16 | M18x1.5 | M16xL5 33 | 39 | 19 | 2
1EH9-22-18 | M22xL5 | M18xL5 37 | 44 | 22 | 24
1EH9-27-22 | M27xL5 | M22x15 a1 | a8 | 27 | =3
1EH9-30-27 | M30xL5 | M27x15 a1 | s7 | 27 | @
1EH9-36-33 | M36x2 | M33x2 49 | 605 | 33 | 41
1EH9-39-33 | M3ox2 | M33x2 57 | 64 | 44 | 44
1EHO-45-42 | Md45x2 | M42x2 57 | 675 | 44 | 50
1EHO-52-48 | M52x2 | M48x2 59 | 735 | 55 | 55




Hydraulic Adapters

. : 1EM

NI A MRS ORY Pl T 5 3

60° P 7S 1 ity ] 475 4
%/ 22 METRIC MALE O-RING/
7 60°SEAT BONDED SEAL
o 1240  THREADE R <) DIMENSIONS

PART NO. E F A B s1 L
1EM-14-12 | M14x1.5 | M12x1.5 11 10 17 28
1EM-14 M14x1.5 | M14x1.5 11 11 19 28
1EM-22-16 | M22x1.5 | M16x1.5 1 12 22 30
1EM-22-18 | M22x1.5 | M18x1.5 11 12 24 31
1EM-22 M22x1.5 | M22x1.5 12 14 27 35

A B

1EN
F?j

| W HISMRSTOM Rl /A HE R SRS
METRIC MALE O-RING/NPT MALE

F
S
o 240  THREADE R~ DIMENSIONS
PART NO. E F A B S1 L

1EN-14-04 | M14x1.5| Z1/4" 11 14 17 31
1EN-14-06 | M14x15| Z3/8" 11 14 19 31
1EN-16-04 | M16x1.5| Z1/4" 11 14 17 31
1EN-16-08 | M16x1.5| Z1/2" 11 19 24 38
1EN-18-06 | M18x1.5| Z3/8" 11 14 19 31
1EN-22-08 | M22x1.5| Zz1/2" 12 19 24 39
1EN-24-08 | M24x15| Z1/2" 13 19 30 41
1EN-27-12 | M27x15 | Z3/4" 13 | 195 | 32 425
1EN-30-12 | M30x1.5 | Z3/4" 14 | 195 | 32 435
1EN-36-16 | M36x2 z1" 16 24 41 52
1EN-39-16 | M39x2 71" 18 24 41 54
1EN-45-20 | M45x2 | Z1.1/4" 20 25 46 58
1EN-52-20 | M52x2 | Z1.1/4" 22 25 55 62
1EN-60-24 | M60x2 | Z1.1/2"




Hydraulic Adapters

!‘_

N

|
=

1ET

I HISMRSLOR B/l SMRLL
METRIC MALE O-RING/BSPT

MALE
s1
fee 124 THREADE R~ DIMENSIONS
PART NO. E F A B s1 L
1ET-14-04 | M14x15| ZG1/4" 11 14 17 31
1ET-14-06 | M14x1.5| ZG3/8" 11 14 19 31
1ET-16-04 | M16x1.5| ZG1/4" 11 14 17 31
1ET-16-08 | M16x1.5| ZzG1/2" 11 19 24 38
1ET-18-06 | M18x1.5| ZG3/8" 11 14 19 31
1ET-22-08 | M22x15| ZG1/2" 12 19 24 39
1ET-27-08 | M24x1.5| ZG1/2" 13 19 27 41
1ET-27-12 | M27x15| ZG3/4" 13 | 195 | 32 425
1ET-30-12 | M30x1.5| ZG3/4" 14 | 195 | 32 435
1ET-36-16 M36x2 ZG1" 16 24 41 52
1ET-39-16 M39x2 ZG1 18 24 41 54
1ET-45-20 M45x2 | ZG1.1/4" 20 25 46 58
1ET-52-20 M52x2 | ZG1.1/4" 22 25 55 62
1ET-60-24 M60x2 | ZG1.1/2" 24 25 70 66




Hydraulic Adapters

I 1EW

NSRS ORY B~ 1 B P

< METRIC MALE O-RING/BUTT-WELD
TUBE
S1
= 240  THREADE R~ DIMENSIONS
PART NO. E A B D s1 L
1EW-12-06 | M12x1.5 11 8 6 14 | 25
1EW-14-08 | M14x1.5 11 8 8 17 25
1EW-16-10 | M16x1.5 11 8 10 | 17 25
1EW-18-12 | M18x1.5 11 | 12 | 12 | 19 29
1EW-22-14 | M22x1.5 12 | 12 | 14 | 24 | 32
1EW-27-18 | M27x1.5 13 | 12 | 18 30 | 34
1EW-30-22 | M30x1.5 14 | 14 | 22 | 32 | 38
1EW-36-28 | M36x2 16 | 16 28 | 41 | 44
1EW-39-30 | M39x2 18 | 16 | 30 | 41 | 46
1EW-45-38 | M45x2 20 | 18 | 38 | 46 | 51
1EW-52-42 | M52x2 22 | 18 | 42 | 55 | 55
D
1EW9
7
& | 00° /ISR LCOM B 5 -4
%& 90°METRIC MALE O-
RING/BUTT-WELD
A St TUBE
R 14 THREADE JU <} DIMENSIONS
PART NO. E A B D s1
1EW9-12-06 | M12x1.5 25 | 165 | 6 11
1EW9-14-08 | M14x1.5 29 | 175 | 8 14
1EW9-16-10 | M16x1.5 30 | 195 | 10 | 17
1EW9-18-12 | M18x1.5 33 | 25 | 12 | 19
1EW9-22-14 | M22x1.5 37 | 27 | 14 | 22
1EW9-27-18 | M27x1.5 41 | 295 | 18 27
1EW9-30-22 | M30x1.5 41 | 335 | 22 | 27
1EW9-36-28 | M36x2 47 | 39 28 | 33
1EW9-39-30 | M39x2 57 | 43 | 30 | 44
1EW9-45-38 | M45x2 57 | 475 | 38 | 44
1EW9-52-42 | M52x2 59 | 50 42 | 55




Hydraulic Adapters

1EZ

A INRSCORY [l 1 %

FEE MRS & £

% METRIC MALE O-RING/

st/ BSP MALE
e 124 THREADE R~ DIMENSIONS
PART NO. E F A B S1 L
1EZ-14-04 | M14x1.5 | G1/4"X19 11 12 19 29
1EZ-16-04 | M16x1.5 | G1/4"X19 11 12 19 29
1EZ-16-06 | M16x1.5 | G3/8"X19 11 12 22 30
1EZ-18-06 | M18x1.5 | G3/8"X19 11 12 22 30
1EZ-18-08 | M18x1.5 | G1/2"X14 11 14 27 34
1EZ-22-08 | M22x1.5 | G1/2"X14 12 14 27 35
1EZ-27-08 | M27x1.5 | G1/2"X14 13 14 27 36
1EZ-27-12 | M27x1.5 | G3/4"X14 13 16 32 39
1EZ-30-12 | M30x1.5 | G3/4"X14 14 16 32 40
1EZ-30-16 | M30x15| G1"'X11 14 18 41 44
1EZ-36-16 M36x2 | G1'X11 16 18 41 46

- 10 -




Hydraulic Adapters

S1

.

2WE

FRAEAE 1 ) IR EL O Y [ P 11 4% 3

7 BUTT-WELD TUBE/METRIC FEMALE
O-RING
e 240 THREADE | & 7 4% R~} DIMENSIONS
PART NO. E TUBE C D s1
2WE-06-12 | M12x1.5 0.D.g 8 6 14
2WE-08-14 | M14x15 8 8 8 17
2WE-10-16 | M16x1.5 10 8 10 19
2WE-12-18 | M18x15 12 8.5 12 22
2WE-14-22 | M22x1.5 14 10 14 27
2WE-18-27 | M27x1.5 18 105 | 18 32
2WE-22-30 | M30x1.5 22 11 22 36
2WE-28-36 | M36x2 28 13 28 41
2WE-30-39 | M39x2 30 13 30 46
2WE-38-52 | M52x2 38 17 38 60
2WE-42-52 | M52x2 42 17 42 60
2WE-50-60 | M60x2 50 20 | 50 70
2WE-52-64 | M64x2 52 23 | 52 75

- 11 -




Hydraulic Adapters

-

XE

P SMRETOTY [P [ B P E 2k
METRIC MALE O-RING CROSS

e 24 THREADE R ~f DIMENSIONS
PART NO. E A S1
XE-14 M14x1.5 225 14
XE-16 M16x1.5 24 17
XE-18 M18x1.5 26 19
XE-22 M22x1.5 29 22
XE-27 M27x1.5 32.5 27
XE-30 M30x1.5 355 30
XE-36 M36x2 42 33
XE-39 M39x2 47.5 41
XE-45 M45x2 52.5 46
XE-52 M52x2 57 55
E
:
AE

- )

| f AN LCO MBI T2 =k

| \ | METRIC MALE O-RING TEE

A \st

foe I#4 THREADE JU <} DIMENSIONS
PART NO. E A S1
AE-12 M12x1.5 25 11
AE-14 M14x1.5 27 14
AE-16 M16x1.5 29 17
AE-18 M18x1.5 31 19
AE-22 M22x1.5 34 22
AE-27 M27x1.5 40 27
AE-30 M30x1.5 40 27
AE-36 M36x2 46 33
AE-39 M39x2 57 44

-12 -




Hydraulic Adapters

.
t ? S2
BE
7 i A SMBLIOR B A ]
| BRSPS
\ METRIC MALE O-RING
A \g /IMETRIC FEMALE TEE
o #2240 THREADE R~} DIMENSIONS
PART NO. E F A C S1 S2
BE-12 M12x1.5 | M12x1.5 25 8 11 17
BE-14 M14x1.5 | M14x1.5 27 9 14 19
BE-16 M16x1.5 | M16x1.5 29 9.5 17 22
BE-18 M18x1.5 | M18x1.5 31 9.5 19 24
BE-22 M22x1.5 | M22x1.5 34 10 22 27
BE-27 M27x1.5 | M27x1.5 40 10.5 27 32
BE-30 M30x1.5 | M30x1.5 40 11.5 27 36
BE-36 M36x2 M36x2 46 13.5 33 41
BE-39 M39x2 M39x2 57 135 44 46
i
< CE
i/ A
i A HIAMEBLLOR B Ay
| \ R 0P T =
METRIC MALE O-
A \s1 2 RING
/IMETRIC FEMALE TEE
RE s THREADE N ~ DIMENSIONS
PART NO. E F A C S1 S2
CE-12 M12x1.5 | M12x1.5 25 8 11 17
CE-14 M14x1.5 | M14x1.5 27 9 14 19
CE-16 M16x1.5 | M16x1.5 29 95 17 22
CE-18 M18x1.5 | M18x1.5 31 95 19 24
CE-22 M22x1.5 | M22x1.5 34 10 22 27
CE-27 M27x1.5 | M27x1.5 40 10.5 27 32
CE-30 M30x1.5 | M30x1.5 40 11.5 27 36
CE-36 M36x2 M36x2 46 135 33 41
CE-39 M39x2 M39x2 57 135 44 46

-13 -




Hydraulic Adapters

07,

AEEH-0OG

O il MRS O TR P ~F- 1 55 8 i AMBR AL
A A AR B AR A S =0 METRIC

\ MALE O-RING/
_ METIRC MALE ADJUSTABLE
A °T B STUD S-SERIES RUN
TEE
R I#40  THREADE U~/ DIMENSIONS
PART NO. E F A B s1 S2

AEEH-12-12- M12x1.5| M10x1

25 28.5 11 14

TUUG
AEEH-14-14- M14x1.5 | M12x1.5

27 33.2 14 17

IZ0G
AEEH-16-16- M16x1.5 | M14x1.5

29 36 17 19

4UG
AEEH-18-18- M18x1.5 | M16x1.5

31 39 19 22

TOUG
AEEH-22-22- M22x1.5 | M18x1.5

34 44 22 24

ToUG
AEEH-27-27- M27x1.5 | M22x1.5

40 48 27 27

ZZTG
AEEH-30-30- M30x1.5 | M27x1.5

40 57 27 32

AEEH-36-36- M36x2 | M33x2 46 | 605 | 33 | 41
AEEH-39-30- M39x2 | M33x2 57 | 64 | 44 | a
30U
F
. AEHE-OG
2
%g DN ANE S O T BB 1 TH] %5 35 3 il FNE S
ZI/ A ] [A) AR v E R A4 52 =38 METRIC
! MALE O-RING/
\ METIRC MALE ADJUSTABLE STUD
\_ S-SERIES BRANCH TEE
A SR
= e 40y N s} DIMENSIONS
PART NO. E F A B S1 S2
AEHE-12-10- M12x15| M10x1 25 | 285 | 11 | 14

120G
AEHE-14-12- M14x1.5 | M12x1.5

27 33.2 14 17

1406
AEHE-16-14- M16x1.5 | M14x1.5

29 36 17 19

160G
AEHE-18-16- M18x1.5 | M16x1.5

31 39 19 22

I8UG
AEHE-22-18- M22x1.5 | M18x1.5

34 44 22 24

22005
AEHE-27-22- M27x1.5 | M22x1.5

40 48 27 27

270G
AEHE-30-27- M30x1.5 | M27x1.5

40 57 27 32

300G
AEHE-36-33- M36x2 M33x2 46 60.5 33 41
300G
AEHE-39-33- M39x2 M33x2 57 64 44 41
390G

-14 -



Hydraulic Adapters

2 AEEGE

I
| 90° /A il S MBSO R [V i 2 ik Wi 3k
90°METRIC MALE O-RING BULKHEAD
B RUN TEE
A
o 24 THREADE R~} DIMENSIONS

PART NO. E A B s1
AEE6E-12 | M12x15 25 | 445 | 11
AEE6E-14 | M14x15 27 | 465 | 14
AEE6E-16 | M16x1.5 29 | 48 | 17
AEE6E-18 | M18x15 31 | 50 | 19
AEE6E-22 | M22x15 34 | 54 22
AEE6E-27 | M27xL5 40 | 585 | 27
AEE6E-30 | M30xL.5 40 | 615 | 27
AEE6E-36 | M36x2 46 | 71 33
AEE6E-39 | M39x2 57 | 76 44

AEGEE

2| SR SO T [ 1 [ B AR 73 =
METRIC MALE O-RING

S
)| [ e

—1

BULKHEAD BRANCH
TEE
A A

T, #2247 THREADE R~} DIMENSIONS
PART NO. E A B st

AE6EE-12 | M12x15 25 | 445 | 11

AE6EE-14 | M14x15 27 | 465 | 14

AE6EE-16 | M16x1.5 29 | 48 | 17

AE6EE-18 | M18x1.5 31 | 50 | 19

AEBEE-22 | M22x1.5 34 | 54 | 22

AE6EE-27 | M27x15 40 | 585 | 27

AE6EE-30 | M30x1.5 40 | 615 | 27

AE6EE-36 | M36x2 46 | 71 | 33

AEGEE-39 | M39x2 57 | 76 | 44

- 15 -



Hydraulic Adapters

A - B
— 1C
\%'V ' INRISMBEA IR
] METRIC MALE 24°L.T. REDUCERS
S1
o 240  THREADE | ¥ 74M% TUBE R~/ DIMENSIONS
PART NO. E O0.Dp D A B S1 L
1C-12-14 M12x1.5 | M14x1.5 é é 10 10 14 26
1C-12-16 M12x1.5 | M16x1.5 6 10 10 11 17 27
1C-12-18 M12x1.5 | M18x1.5 6 12 10 11 19 27
1C-14-16 M14x1.5 | M16x1.5 8 10 11 11 17 28
1C-14-18 M14x1.5 | M18x1.5 8 12 11 11 19 28
1C-16-18 M16x1.5 | M18x1.5 10 12 11 11 19 28
1C-16-22 M16x1.5 | M22x1.5 10 15 11 12 24 30
1C-16-26 M16x1.5 | M26x1.5 10 18 11 12 27 33
1C-18-22 M18x1.5 | M22x1.5 12 15 11.5 12 24 31
1C-18-26 M18x1.5 | M26x1.5 12 18 115 12 27 32
1C-18-30 M18x1.5 | M30x2 12 22 11.5 14 32 355
1C-22-26 M22x1.5 | M26x1.5 15 18 12.5 12 27 33
1C-22-30 M22x1.5| M30x2 15 22 125 14 32 36.5
1C-26-30 M26x1.5 | M30x2 18 22 12 14 32 37
1C-26-36 M26x1.5 | M36x2 18 28 12 14 36 37
1C-30-36 M30x2 M36x2 22 28 14 14 36 39
1C-30-45 M30x2 M45x2 22 35 14 16 46 43
1C-33-45 M33x2 M45x2 25 35 16 16 46 45
Fok R B R BRI WS A0S )5 RN, 401" 1C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1C-22-26RN.

- 16 -



Hydraulic Adapters

1C

NIIMNES24°5 25|
METRIC MALE 24°L.T.

S1

e #R4L  THREADE | & 74M% TUBE '~/ DIMENSIONS
PART NO. E 0.Dp A s1 L
1C-12 | M12xL5 6 10 12 26
1C-14 M14x1.5 8 11 14 28
1C-16 M16x1.5 10 11 17 28
1C-18 M18x1.5 12 115 19 29
1C-22 M22x1.5 15 125 24 33
1C-26 M26x1.5 18 12 27 34
1C-30 M30x2 22 14 32 39
1C-36 M36x2 28 16 36 43
1C-45 M45x2 35 16 46 45
1C-52 M52x2 42 16 55 49

L
A A
iml 1D
A HMES24° H R
METRIC MALE 24°H.T.
S1

fRE 1240 THREADE | & 74M% TUBE R s} DIMENSIONS
PART NO. E 0.Dp A S1 L
1D-14 M14x1.5 6 12 14 30
1D-16 M16x1.5 8 12 17 30
1D-18 M18x1.5 10 12 19 30
1D-20 M20x1.5 12 12 22 31
1D-22 M22x1.5 14 14 24 36
1D-24 M24x1.5 16 14 27 38
1D-30 M30x2 20 16 32 43
1D-36 M36x2 25 18 36 a7
1D-42 M42x2 30 20 46 52
1D-52 M52x2 38 22 55 61

BT A R B KRB IR O NSRS 5 RN, 41" 1D-22RN" ([F] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D-22RN. (the same with above)

-17 -




Hydraulic Adapters

A B
1D
\%'V ' INHISMREL24° T R
%\, ] METRIC MALE 24°H.T. REDUCERS
sv/
= I#40  THREADE | #¥/M% TUBE /U ~} DIMENSIONS
PART NO. E O.Dp D A B S1 L
1D-14-16 | M14x15| M16x15| 6 8 12 | 12 | 17 30
1D-14-18 M14x1.5 | M18x1.5 6 10 12 12 19 30
1D-14-20 M14x1.5 | M20x1.5 6 12 12 12 22 32
1D-16-18 M16x1.5 | M18x1.5 8 10 12 12 19 30
1D-16-20 M16x1.5 | M20x1.5 8 12 12 12 22 32
1D-18-20 M18x1.5 | M20x1.5 10 12 12 12 22 32
1D-18-22 M18x1.5 | M22x1.5 10 14 12 14 24 34
1D-18-30 M18x1.5| M30x2 10 20 12 16 32 39
1D-20-22 M20x1.5 | M22x1.5 12 14 12 14 24 34
1D-20-24 M20x1.5 | M24x1.5 12 16 12 14 27 36
1D-20-30 M20x1.5 | M30x2 12 20 12 16 32 39
1D-22-24 M22x1.5 | M24x1.5 14 16 14 14 27 38
1D-24-30 M24x1.5 M30x2 16 20 14 16 32 41
1D-24-36 M24x1.5 M36x2 16 25 14 18 36 43
1D-30-36 M30x2 M36x2 20 25 16 18 36 45
1D-30-42 M30x2 M42x2 20 30 16 20 46 48
1D-36-42 M36x2 M42x2 25 30 18 20 46 50
1D-42-52 M42x2 M52x2 30 38 20 22 55 59
kI R B R E R R BT 5R, B AL S /5 IN"RN", 40" 1D-22-24RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D-22-24RN.

-18 -



Hydraulic Adapters

E
D1

I 1C9

90° Al FMRLL24°%% R 5|

rﬁ”

S\, 90°METRIC MALE 24°L.T.
A s1

=2 #8240 THREADE | & 1"4M2 TUBE U DIMENSIONS
PART NO. E 0.Dp A s1
1C9-12 M12x1.5 6 25 11
1C9-14 M14x1.5 8 29 14
1C9-16 M16x1.5 10 30 17
1C9-18 M18x1.5 12 33 19
1C9-22 M22x1.5 15 37 22
1C9-26 M26x1.5 18 41 27
1C9-30 M30x2 25 41 27
1C9-36 M36x2 28 46 33
1C9-45 M45x2 35 55 44
1C9-52 M52x2 42 59 55

E

D1

I 1D9

\/ 90° A fill SR L 24° L R 5|
90°METRIC MALE 24°H.T.

ﬁ”

A S1

R R4 THREADE | % T4M% TUBE R < DIMENSIONS

PART NO. E D A Sl

1D9-14 M14x1.5 6L 29 14

1D9-16 M16x1.5 8 30 17

1D9-18 M18x1.5 10 33 19

1D9-20 M20x1.5 12 37 22

1D9-22 M22x1.5 14 37 22

1D9-24 M24x1.5 16 33 24

1D9-30 M30x2 20 41 27

1D9-42 M42x2 30 57 44

1D9-52 M52x2 38 59 50
FvE AT R B LR BRI WSS 5 IN"RN", 41"1D9-22RN" (17 L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D9-22RN.(the same with above)

-19 -



Hydraulic Adapters

S2

S1

2C

N N IRS24°1 A i SMR S 245 R G
METRIC FEMALE 24 °/METRIC MALE

24°L.T.
C
e 24 THREADE | & T4M&  TUBE JU <} DIMENSIONS
PART NO. E F O.Dp. C S1 S2
2C-12 M12x1.5 | M12x1.5 é 2 12 17
2C-12-14 M12x1.5 | M14x1.5 6 35 14 19
2C-12-16 M12x1.5 | M16x1.5 6 35 14 22
2C-14 M14x1.5 | M14x1.5 8 35 14 19
2C-14-16 M14x1.5 | M16x1.5 8 35 14 22
2C-14-18 M14x1.5 | M18x1.5 8 35 17 24
2C-16 M16x1.5 | M16x1.5 10 35 17 22
2C-16-18 M16x1.5 | M18x1.5 10 35 17 24
2C-16-22 M16x1.5 | M22x1.5 10 3 22 27
2C-18 M18x1.5 | M18x1.5 12 35 17 24
2C-18-22 M18x1.5 | M22x1.5 12 3 22 27
2C-12-26 M12x1.5 | M26x1.5 6 35 24 32
2C-22-26 M22x1.5 | M26x1.5 15 35 24 32
2C-26 M26x1.5 | M26x1.5 18 35 24 32
2C-26-30 M26x1.5 M30x2 18 45 30 36
2C-26-36 M26x1.5 M36x2 18 4.5 36 41
2C-30 M30x2 M30x2 22 4.5 30 36
2C-30-36 M30x2 M36x2 22 4.5 36 41
2C-30-45 M30x2 M45x2 22 55 46 55
2C-36-45 M36x2 M45x2 28 55 46 55
2C-45 M45x2 M45x2 35 55 46 55
2C-45-52 M45x2 M52x2 35 6.5 55 60
2C-52 M52x2 M52x2 42 6.5 55 60
T R B SRR R AT 18 M A0S 5 IN"RN", 41"2C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 2C-22-26RN.

-20 -




Hydraulic Adapters

S2

S1
2D
W Z \ Al IR SL24°1 A ISR 24° H R 5
' METRIC FEMALE 24°/METRIC MALE
24°H.T.
C

B X4 THREADE |  74M%2 TUBE U~} DIMENSIONS
PART NO. E F O.Dp C S1 S2
2D-14-16 M14x1.5 | M16x1.5 é 35 14 22
2D-14-18 M14x1.5 | M18x1.5 6 3 17 24
2D-14-20 M14x1.5 | M20x1.5 6 3 19 27
2D-16-18 M16x1.5 | M18x1.5 8 3 17 24
2D-16-20 M16x1.5 | M20x1.5 8 3 19 27
2D-16-22 M16x1.5 | M22x1.5 8 25 22 27
2D-18-20 M18x1.5 | M20x1.5 10 3 19 27
2D-18-22 M18x1.5 | M22x1.5 10 25 22 27
2D-20-22 M20x1.5 | M22x1.5 12 25 22 27
2D-16-24 M16x1.5 | M24x1.5 8 35 22 30
2D-18-24 M18x1.5 | M24x1.5 10 35 22 30
2D-20-24 M20x1.5 | M24x1.5 12 35 22 30
2D-20-30 M20x1.5 | M30x2 12 45 30 36
2D-22-24 M22x1.5 | M24x1.5 14 35 22 30
2D-22-30 M22x1.5| M30x2 14 45 30 36
2D-24-30 M24x1.5 | M30x2 16 45 27 36
2D-30-36 M30x2 M36x2 20 35 36 41
2D-30-42 M30x2 M42x2 20 55 41 50
2D-33-42 M33x2 M42x2 22 55 41 50
2D-33-52 M33x2 M52x2 22 7 50 60
2D-42-52 M42x2 M52x2 30 7 50 60

FE N R B SR B IR AT 1, TS AR S 5 IN"RN", 41"2D-22-30RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 2D-22-30RN.

-21 -



Hydraulic Adapters

E
7 S
s 2C9
90° At N IEL24°1
I AHISMEL24 °% 25
90°METRIC FEMALE 24°/
METRIC MALE 24°L.T.
A S1
R ##4  THREADE | & 14M% TUBE U~/ DIMENSIONS
PART NO. E F O.Dp A C S1 S2
2C9-12 M12x1.5 | M12x1.5 é 25 2 11 17
2C9-14 M14x1.5 | M14x1.5 8 29 35 14 19
2C9-16 M16x1.5 | M16x1.5 10 30 35 17 22
2C9-18 M18x1.5 | M18x1.5 12 33 35 19 24
2C9-22 M22x1.5 | M22x1.5 15 37 3 22 27
2C9-26 M26x1.5 | M26x1.5 18 41 35 27 32
2C9-30 M30x2 M30x2 22 41 45 27 36
2C9-36 M36x2 M36x2 28 46 45 33 41
2C9-45 M45x2 M45x2 35 55 55 44 55
2C9-52 M52x2 M52x2 42 59 6.5 55 60
E
2D9
90° 2 il W iR L24°/
fl AHISMEL24 °F 25
90°METRIC FEMALE 24°/
A s1 METRIC MALE 24°H.T.
e 240 THREADE | & T4M% TUBE AN s DIMENSIONS
PART NO. E F D A Cc S1 S2
2D9-14 M14x1.5 | M14x1.5 EJS' 29 3 14 19
2D9-16 M16x1.5 | M16x1.5 8 30 35 17 22
2D9-18 M18x1.5 | M18x1.5 10 33 3 19 24
2D9-20 M20x1.5 | M20x1.5 12 37 3 22 27
2D9-22 M22x1.5 | M22x1.5 14 37 25 22 27
2D9-30 M30x2 M30x2 20 41 4.5 27 36
2D9-36 M36x2 M36x2 25 46 35 33 41
2D9-42 M42x2 M42x2 30 55 55 44 50
2D9-52 M52x2 M52x2 38 59 7 55 60
BT RE R R EE R I ME A S 5 IN"RN", W1"2D9-22RN" (A 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 2D9-22RN.(the same with above)

-22 -



Hydraulic Adapters

S1 S1
3C
|!1| \ AN IRE24°% R Y|

K Y, METRIC FEMALE 24°L.T.

C C
e ¥4 THREADE | & 74M% TUBE <) DIMENSIONS
PART NO. E 0.Dp C s1
3C-12 M12x1.5 ) 2 17
3C-14 M14x1.5 8 35 19
3C-16 M16x1.5 10 35 22
3C-18 M18x1.5 12 35 24
3C-22 M22x1.5 15 3 27
3C-26 M26x1.5 18 35 32
3C-30 M30x2 22 45 36
3C-36 M36x2 28 45 41
3C-45 M45x2 35 55 55
3C-52 M52x2 42 6.5 60

S1 S1
3D

\ JWH \ NI I24024° 5 251

w o METRIC FEMALE 24°H.T.

c| <
e, 4 THREADE | & F4M& TUBE R s DIMENSIONS
PART NO. E O.Dp. C S1
3D-14 M14x1.5 6l 3 19
3D-16 M16x1.5 8 35 22
3D-18 M18x1.5 10 3 24
3D-20 M20x1.5 12 3 27
3D-22 M22x1.5 14 25 27
3D-24 M24x1.5 16 35 30
3D-30 M30x2 20 45 36
3D-36 M36x2 25 35 41
3D-42 M42x2 30 55 50
3D-52 M52x2 38 7 60

-23-




Hydraulic Adapters

A
y—
n 4C
\ INHIBRS24° 5 R A1
METRIC MALE 24°L.T. PULG
S1
=) R4 THREADE | & 74M#  TUBE R~} DIMENSIONS
PART NO. E D A s1 L
4C-12 M12x1.5 6 10 12 16
4C-14 M14x1.5 8 11 14 17
4C-16 M16x1.5 10 11 17 17
4C-18 M18x1.5 12 11.5 19 17.5
4C-22 M22x1.5 15 12,5 24 20
4C-26 M26x1.5 18 12 27 22
4C-30 M30x2 22 14 32 25
4C-36 M36x2 28 16 36 27
4C-45 M45x2 35 18 46 31
4C-52 M52x2 42 19 55 36
L
A
y—

= \ 4D

AHIRLL24° 5 R 515k
METRIC MALE 24°H.T. PLUG

S
e ¥4  THREADE | & 74M2  TUBE R~} DIMENSIONS
PART NO. E O.Dp. A S1 L
4D-14 M14x1.5 61 12 14 18
4D-16 M16x1.5 8 12 17 18
4D-18 M18x1.5 10 12 19 18
4D-20 M20x1.5 12 12 22 19
4D-22 M22x1.5 14 14 24 22
4D-30 M30x2 20 16 32 26
4D-36 M36x2 25 18 36 29
4D-42 M42x2 30 20 46 32
4D-52 M52x2 38 22 55 39
FVE TR R B R RER R B MNEEA S EIN"RN", 41"4D-22RN" ([A |)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 4D-22RN. (the same with above)

- 24 -




Hydraulic Adapters

A s1
6C
L1 =inl
Q2 - AN HISMBLL2A° 5 F U Bk
J METRIC MALE 24°L.T. BULKHEAD

e I#4  THREADE | #74M2 TUBE X~} DIMENSIONS
PART NO. E 0.Dp A s1
6C-12 M12x1.5 6L 10 12
6C-14 M14x1.5 8 11 14
6C-16 M16x1.5 10 11 17
6C-18 M18x1.5 12 115 19
6C-22 M22x1.5 15 125 24
6C-26 M26x1.5 18 12 27
6C-30 M30x2 22 14 32
6C-33 M33x2 25 16 36
6C-45 M45x2 35 18 46
6C-52 M52x2 42 19 55

A S1

6D
%L % %J A AMRES24° B R B ARk
7

METRIC MALE 24°H.T. BULKHEAD

(%e) 840 THREADE | ¥4M% TUBE R~ DIMENSIONS
PART NO. E O.Dp. A S1

6D-14 M14x1.5 61 12 14

6D-16 M16x1.5 8 12 17

6D-18 M18x1.5 10 12 19

6D-20 M20x1.5 12 12 22

6D-22 M22x1.5 14 14 24

6D-24 M24x1.5 16 14 27

6D-30 M30x2 20 16 32

6D-36 M36x2 25 18 36

6D-42 M42x2 30 20 46

6D-52 M52x2 38 22 55
TR E L REREAE B 1 NEEA TS IN"RN 40"6D-22RN"  FF 8 RHT 5%, WHHENS)E
JI"LN", fn"6D-22LN"([F] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D-22LN"(the same with above)

- 25 -



Hydraulic Adapters

E
D1
7 6C9
| |=
| F‘W - 00" A ISMEL 24 RILHH
. o 90°METRIC MALE 24°L.T. BULKHEAD
] 1240 THREADE R <} DIMENSIONS
PART NO. E Bz [TUBE A S1
6C9-12 | M12xL5 6 |°Y 25 11
6C9-14 | M14xL5 8 29 14
6C9-16 | M16xL5 10 30 17
6C9-18 | M18xL5 12 33 19
6C9-22 | M22xL5 15 37 22
6C9-26 | M26x15 18 41 27
6C9-30 M30x2 22 41 27
6C9-36 M36x2 28 46 33
6C9-45 M45x2 35 55 44
6C9-52 M52x2 42 59 55
E
D1
= 6D9

90° /A fill HME L 24° F 22 41 i ik
90°METRIC MALE 24°H.T.

N

t 1 SBlULKHEAD
A
s, 124 THREADE | &¥4M% TUBE ]~ DIMENSIONS
PART NO. E O.Dp. A s1
6D9-14 | M14x15 6L 29 14
6D9-16 M16x1.5 8 30 17
6D9-18 M18x1.5 10 33 19
6D9-20 M20x1.5 12 37 22
6D9-22 M22x1.5 14 37 22
6D9-30 M30x2 20 41 27
6D9-36 M36x2 25 41 27
6D9-42 M42x2 30 55 44
6D9-52 M52x2 38 59 55
FE N FER W RE LR EE R I MG S 5 IN"RN, W1"6D9-22RN" « A 8iEHT5:, EENRTE
J"LN", 71"6D9-22LN"([F] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D9-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D9-22LN"(the same with above)

- 26 -



Hydraulic Adapters

2

8C

RSB R
METRIC LOCK NUT

P i22 THREADE R <+ DIMENSIONS
PART NO. E A st
8C-10 M10x1 6 14
8C-12 M12x1.5 75 17
8C-14 M14x1.5 75 19
8C-16 M16x1.5 75 22
8C-18 M18x1.5 75 24
8C-20 M20x1.5 8 27
8C-22 M22x1.5 8 27
8C-24 M24x1.5 8 30
8C-26 M26x1.5 8 32
8C-27D | M27x1.5 10 32
8C-30 M30x2 10 36
8C-30D | M30x1.5 10 36
8C-36 M36x2 10 41
8C-38 M38x2 10 46
8C-42 M42x2 10 50
8C-45 M45x2 10 55
8C-52 M52x2 10 60

- 27 -




Hydraulic Adapters

S1
9C
I N BRS24°%% R 513k
% METRIC FEMALE 24°L.T. PLUG
C
e X4 THREADE |  74M2  TUBE U~} DIMENSIONS
PART NO. E 0.Dp C s1
9C-12 M12x1.5 61 2 14
9C-14 M14x1.5 8 2 17
9C-16 M16x1.5 10 2 19
9C-18 M18x1.5 12 25 22
9C-22 M22x1.5 15 3 27
9C-26 M26x1.5 18 35 32
9C-30 M30x2 22 35 36
9C-36 M36x2 28 4 41
9C-45 M45x2 35 5 55
9C-52 M52x2 42 6 60
S1
oD
NI RS 24 °F R 513 Sk
= % METRIC FEMALE 24°H.T. PLUG
C
R $#40  THREADE | & 74M%2 TUBE R <) DIMENSIONS
PART NO. E O.Dp. C S1
9D-16 M16x1.5 gl 2 19
9D-18 M18x1.5 10 2 22
9D-20 M20x1.5 12 3 24
9D-22 M22x1.5 14 25 27
9D-24 M24x1.5 16 3 30
9D-30 M30x2 20 35 36
9D-36 M36x2 25 3 41
9D-42 M42x2 30 5 50
9D-52 M52x2 38 6.5 60

-28 -



Hydraulic Adapters

- B
as 1CN
| AISMEL4 R A
22 A S MEZLI60°
7 N\ g METRIC MALE 24°L.T.
/NPT MALE 60°
=2 240 THREADE | #T4Mt TUBE R </ DIMENSIONS
PART NO. E F D A B S1 L
1CN-12-02 M12x1.5 | Z1/8"X27 61 10 10 12 26
1CN-12-04 M12x1.5 | Zz1/4"X18 6 10 14 14 31
1CN-14-04 M14x1.5| Z1/4"X18 8 11 14 14 31
1CN-16-04 M16x1.5 | Z1/4"X18 10 11 14 17 325
1CN-16-06 M16x1.5 | Zz3/8"X18 10 11 14 17 325
1CN-18-04 M18x1.5 | Z1/4"X18 12 115 14 19 315
1CN-18-06 M18x1.5 | Z3/8"X18 12 115 14 19 315
1CN-18-08 | M18x1.5| Z1/2"X14 12 115 19 22 38
1CN-22-08 M22x1.5 | Z1/2"X14 15 125 19 24 39
1CN-22-20 M22x1.5 | 71.1/4"X11.5 15 12.5 25 46 50.5
1CN-26-08 M26x1.5 | Zz1/2"X14 18 12 19 27 40
1CN-26-12 M26x1.5 | Z3/4"X14 18 12 19.5 27 40
1CN-30-08 M30x2 | Z1/2"X14 22 14 19 32 43
1CN-30-12 M30x2 Z3/4"X14 22 14 19.5 32 435
1CN-36-16 M36x2 Z1"X11.5 28 16 24 36 51
1CN-36-20 M36x2 |Z1.1/4"X11.5 28 16 25 46 54
1CN-45-20 M45x2 |Z71.1/4"X11.5 35 18 25 46 56
1CN-52-20 M52x2 |Z1.1/4"X11.5 42 19 25 55 61
1CN-52-24 M52x2 |Z71.1/2"X11.5 42 19 25 55 61
Fk R B R BRI WS A0S 5 I"RN", 41" 1CN-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CN-22-08RN.

-29 -




Hydraulic Adapters

B
an 1DN
| ARIINEL24° F Z I
22 A HEE HMREL60 °©
7 N\ g METRIC MALE 24°H.T.
INPT MALE 60°
=2 240 THREADE | &¥4M# TUBE R <] DIMENSIONS
PART NO. E F D A B S1 L
1DN-14-04 M14x1.5 | Z1/4"X18 61 12 14 14 32
1DN-16-04 M16x1.5 | Z1/4"X18 8 12 14 17 32
1DN-18-04 M18x1.5 | Z1/4"X18 10 12 14 19 32
1DN-18-06 M18x1.5| Zz3/8"X18 10 12 14 19 32
1DN-20-04 M20x1.5 | Z1/4"X18 12 12 14 22 33
1DN-20-06 M20x1.5 | Z3/8"X18 12 12 14 22 33
1DN-20-08 M20x1.5 | Zz1/2"X14 12 12 19 22 38
1DN-22-08 M22x1.5 | Z1/2"X14 14 14 19 24 41
1DN-24-08 M24x1.5 | z1/2"X14 16 14 19 27 42
1DN-30-12 M30x2 Z3/4"X14 20 16 19.5 32 45.5
1DN-36-16 M36x2 Z1"X11.5 25 18 24 36 53
1DN-42-16 M42x2 Z1"X11.5 30 20 24 46 57
1DN-42-20 M42x2 |Z71.1/4"X11.5 30 20 25 46 58
1DN-52-24 M52x2 |Z1.1/2"X11.5 38 22 25 55 64
FAE AT R E R REREPEET 57, MG EA S /5 "RN", 01" 1DN-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DN-22-08RN.

-30 -




Hydraulic Adapters

E
D1
= 1CN9
%' 90° A il SMRL24° %% R 1]
AL FMIZS60 ©
X{_S_L 90°METRIC MALE 24°L.T.
A INPT MALE 60°
R 1240 THREADE HT4ME  TUBE R~} DIMENSIONS
PART NO. E F O.Dp. A B s1

1CN9-12-02 | M12x1.5| Z1/8"X27 61 25 25 11
1CN9-12-04 | M12x1.5| Z1/4"X18 6 27 29 14
1CN9-14-04 | M14x1.5| Z1/4"X18 8 27 29 14
1CN9-16-06 | M16x1.5| Z3/8"X18 10 29 30 17
1CN9-18-04 | M18x1.5| Z1/4"X18 12 33 33 19
1CN9-18-06 | M18x1.5| Z3/8"X18 12 33 33 19
1CN9-18-08 | M18x1.5| Z1/2"X14 12 37 37 22
1CN9-22-06 | M22x1.5| Z3/8"X18 15 37 37 22
1CN9-22-08 | M22x1.5| Z1/2"X14 12 37 37 22
1CN9-26-08 | M26x1.5 | Z1/2"X14 18 41 41 27
1CN9-26-12 | M26x1.5| Z3/4"X14 18 41 41 27
1CN9-30-12 M30x2 Z23/4"X14 22 41 41 27
1CN9-30-16 | M30x2 Z1"X11.5 22 49 49 33
1CN9-36-16 | M36x2 Z1"X11.5 28 46 46 33
1CN9-45-20 M45x2 |Z1.1/4"X11.5 35 55 55 44
1CN9-52-24 M52x2 |Z1.1/2"X11.5 42 57 60 55

Fk R B R BRI 0L WS A0S JE RN, 41" 1CNY-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1CN9-22-08RN.

-31-



Hydraulic Adapters

E
D1
. = 1DN9
%’ 90° A il MR 24° % %41
I HER SR E60°
&_S_L 90°METRIC MALE 24°H.T.
A /NPT MALE 60°
] 124 THREADE 1AM TUBE X~} DIMENSIONS
PART NO. E F O.0p. A B s1

1DN9-14-04 | M14x1.5| Z1/4"X18 61 27 29 14
1DN9-16-04 | M16x1.5| Z1/4"X18 8 29 30 17
1DN9-18-06 | M18x1.5| Z3/8"X18 10 33 33 19
1DN9-20-04 | M20x1.5 | Z1/4"X18 12 37 37 22
1DN9-20-06 | M20x1.5 | Z3/8"X18 12 37 37 22
1DN9-22-06 | M22x1.5| Z3/8"X18 14 37 37 22
1DN9-22-08 | M22x1.5| Z1/2"X14 14 37 37 22
1DN9-24-06 | M24x1.5| Z3/8"X18 16 37 33 24
1DN9-24-08 | M24x1.5| Zz1/2"X14 16 33 37 24
1DN9-30-08 M30x2 Z1/2"X14 20 40 40 27
1DN9-30-12 M30x2 Z3/4"X14 20 40 40 27
1DN9-36-16 M36x2 Z1"X11.5 28 49 49 33
1DN9-42-16 M42x2 Z1"X11.5 30 57 57 44
1DN9-42-20 M42x2 |Z71.1/4"X11.5 30 57 57 44
1DN9-52-20 M52x2 |Z1.1/4"X11.5 38 56 60 55
1DN9-52-24 M52x2 |Z1.1/2"X11.5 38 56 60 55

TR E L REIRERPE B 1 MEEA S 5 I"RN", 20" 1DN9-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1DN9-22-08RN.

-32 -




Hydraulic Adapters

—

e

1CT

NHIAMRL24° 52 751

JHEE HMERLS60°

METRIC MALE 24°L.T./

s/ BSPT MALE 60°
e 24 THREADE HTFH4ME TUBE N s~ DIMENSIONS
PART NO. E F O.DD. A B S1 L
1CT-12-02 M12x1.5 | Z7G1/8"X28 61 10 10 12 26
1CT-12-04 M12x1.5| ZG1/4"X19 6 10 14 14 31
1CT-14-04 M14x1.5 | ZG1/4"X19 8 11 14 14 31
1CT-16-04 M16x1.5 | ZG1/4"X19 10 11 14 17 325
1CT-16-06 M16x1.5 | ZG3/8"X19 10 11 14 17 325
1CT-18-04 M18x1.5 | ZG1/4"X19 12 11.5 14 19 315
1CT-18-06 M18x1.5 | ZG3/8"X19 12 11.5 14 19 315
1CT-18-08 M18x1.5 | ZG1/2"X14 12 11.5 19 22 38
1CT-22-08 M22x1.5 | ZG1/2"X14 15 12.5 19 24 39
1CT-22-20 M22x1.5 | zG1.1/4"X11 15 12.5 25 46 50.5
1CT-26-08 M26x1.5 | Z2G1/2"X14 18 12 19 27 40
1CT-26-12 M26x1.5 | ZG3/4"X14 18 12 19.5 27 40
1CT-30-08 M30x2 | zZG1/2"X14 22 14 19 32 43
1CT-30-12 M30x2 | ZG3/4"X14 22 14 195 32 435
1CT-36-16 M36x2 ZG1"X11 28 16 24 36 51
1CT-36-20 M36x2 | 2G1.1/4"X11 28 16 25 46 54
1CT-45-20 M45x2 | 2G1.1/4"X11 35 18 25 46 56
1CT-52-20 M52x2 | 2G1.1/4"X11 42 19 25 55 61
1CT-52-24 M52x2 | 2G1.1/2"X11 42 19 25 55 61
FAEN T RE KRR PS5, MG EA S /5 "RN", 01"1CT-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

-33-




Hydraulic Adapters

-

st/

e

1DT

NHIAMREL24° H R

JHEE SMIRLI60 ©

METRIC MALE 24°H.T./

BSPT MALE 60°

=2 241 THREADE | #T4M% TUBE R <} DIMENSIONS
PART NO. E F D A B S1 L

1DT-14-04 M14x1.5 | ZG1/4"X19 61 12 14 14 32
1DT-16-04 M16x1.5 | ZG1/4"X19 8 12 14 17 32
1DT-18-04 M18x1.5 | ZG1/4"X19 10 12 14 19 32
1DT-18-06 M18x1.5 | zZG3/8"X19 10 12 14 19 32
1DT-20-04 M20x1.5 | ZG1/4"X19 12 12 14 22 33
1DT-20-06 M20x1.5 | zG3/8"X19 12 12 14 22 33
1DT-20-08 M20x1.5 | zZG1/2"X14 12 12 19 22 38
1DT-22-08 M22x1.5 | ZG1/2"X14 14 14 19 24 41
1DT-24-08 M24x1.5 | ZG1/2"X14 16 14 19 27 42
1DT-30-12 M30x2 | ZG3/4"X14 20 16 195 32 45.5
1DT-36-16 M36x2 ZG1"X11 25 18 24 36 53
1DT-42-16 M42x2 ZG1"X11 30 20 24 46 57
1DT-42-20 M42x2 | zG1.1/4"X11 30 20 25 46 53
1DT-52-24 M52x2 | zG1.1/4"X11 38 22 25 55 64

FVEAN TR R B R BRI WE RS 5 RN, 11" 1CT-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

-34 -




Hydraulic Adapters

1CT9

90° A il ShREL24° %2 R 51

JEHEE FMIRLI60 °©
X{_S;L 90°METRIC MALE 24°L.T./
A BSPT MALE 60°
e 240 THREADE | % F4M% TUBE U ~F DIMENSIONS
PART NO. E F O.0p. A B S1

1CT9-12-02 | M12x1.5| Z7G1/8"X28 61 25 25 11
1CT9-12-04 | M12x1.5| ZzG1/4"X19 27 29 14
1CT9-14-04 | M14x1.5| ZG1/4"X19 8 27 29 14
1CT9-16-06 | M16x1.5| ZG3/8"X19 10 29 30 17
1CT9-18-04 | M18x1.5| Z7G1/4"X19 12 33 33 19
1CT9-18-06 | M18x1.5| Z7G3/8"X19 12 33 33 19
1CT9-18-08 | M18x1.5| zG1/2"X14 12 37 37 22
1CT9-22-06 | M22x1.5| Z7G3/8"X19 15 37 37 22
1CT9-22-08 | M22x1.5| ZG1/2"X14 12 37 37 22
1CT9-26-08 | M26x1.5| ZzG1/2"X14 18 41 41 27
1CT9-26-12 | M26x1.5| ZG3/4"X14 18 41 41 27
1CT9-30-12 M30x2 Z2G3/4"X14 22 41 41 27
1CT9-30-16 M30x2 ZG1"X11 22 49 49 33
1CT9-36-16 M36x2 ZG1"X11 28 46 46 33
1CT9-45-20 M45x2 | zG1.1/4"X11 35 55 55 44
1CT9-52-24 M52x2 | zG1.1/2"X11 42 57 60 55

T R E L RERE R E 1 MIEEA S5 RN, 21" 1CT9-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1CT9-22-08RN.

-35 -




Hydraulic Adapters

E
| D1
1DT9
-
_%%Z{— 90° A il HMRLI24°)
LR SMRL60° H R 5
&_S;L 90°METRIC MALE 24°/
A BSPT MALE 60° H.T.
R 240 THREADE ET4ME TUBE U~} DIMENSIONS
PART NO. E F O.Dp. A B s1
1DT9-14-04 | M14x1.5| Z7G1/4"X19 61 27 29 14
1DT9-16-04 | M16x1.5| ZG1/4"X19 8 29 30 17
1DT9-18-06 | M18x1.5| ZG3/8"X19 10 33 33 19
1DT9-20-04 | M20x1.5| ZG1/4"X19 12 37 37 22
1DT9-20-06 | M20x1.5 | ZG3/8"X19 12 37 37 22
1DT9-22-06 | M22x1.5| ZG3/8"X19 14 37 37 22
1DT9-22-08 | M22x1.5| ZG1/2"X14 14 37 37 22
1DT9-24-06 | M24x1.5| ZG3/8"X19 16 37 33 24
1DT9-24-08 | M24x1.5| zG1/2"X14 16 33 37 24
1DT9-30-08 M30x2 ZG1/2"X14 20 40 40 27
1DT9-30-12 M30x2 Z2G3/4"X14 20 40 40 27
1DT9-36-16 M36x2 ZG1"X11 25 49 49 33
1DT9-42-16 M42x2 ZG1"X11 30 57 57 44
1DT9-42-20 M42x2 | zG1.1/4"X11 30 57 57 44
1DT9-52-20 M52x2 | zG1.1/4"X11 38 56 60 55
1DT9-52-24 M52x2 | zG1.1/2"X11 38 56 60 55
Fk R B R BRI I WS A0S 5 RN, 40" 1DT9-22-08RN'
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DT9-22-08RN.

-36 -




Hydraulic Adapters

- i 1CB
| A BISMBLA T R BN SR
o] B 60° 4 T 401 £ H
< % METRIC MALE 24°SEAL L.T./BSP
J MALE DOUBLE 60°SEAT
s1 BONDED SEAL
e ¥4 THREADE | % T14Mf TUBE U~} DIMENSIONS
PART NO. E F 0.Dp A B s1 L
1CB-12-02 M12x1.5 | G1/8"X28 61 10 10 14 26
1CB-12-04 M12x1.5 | G1/4"X19 6 10 12 19 28
1CB-14-02 M14x1.5 | G1/8"X28 8 11 10 14 27
1CB-14-04 M14x1.5 | G1/4"X19 8 11 12 19 29
1CB-14-06 M14x1.5 | G3/8"X19 8 11 135 22 32
1CB-16-04 M16x1.5 | G1/4"X19 10 11 12 19 29
1CB-16-06 M16x1.5 | G3/8"X19 10 11 135 22 325
1CB-16-08 M16x1.5 | G1/2"X14 10 11 16 27 37
1CB-18-04 M18x1.5 | G1/4"X19 12 11.5 12 19 295
1CB-18-06 M18x1.5 | G3/8"X19 12 115 | 135 22 32
1CB-18-08 M18x1.5 | G1/2"X14 12 11.5 16 27 36
1CB-18-12 M18x1.5 | G3/4"X14 12 115 | 185 32 40
1CB-22-06 M22x1.5 | G3/8"X19 15 125 | 135 22 33
1CB-22-08 M22x1.5 | G1/2"X14 15 12.5 16 27 37
1CB-26-08 M26x1.5 | G1/2"X14 18 12 16 27 37
1CB-26-12 M26x1.5 | G3/4"X14 18 12 18.5 32 415
1CB-30-12 M30x2 G3/4"X14 22 14 18.5 32 425
1CB-36-16 M36x2 G1"X11 28 16 205 41 48.5
1CB-45-20 M45x2 | G1.1/4"X11 35 18 20.5 50 55.5
1CB-52-24 M52x2 | G1.1/2"X11 42 19 23 55 59
FUE AT R B LR BRI I, ME AR5 5 RN, 41" 1CB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN.

-37-




Hydraulic Adapters

- i 1DB
| ABIINRLR4 T R A IRLL
) BRB0°HE I Bl H & % 3
< % METRIC MALE 24°SEALH.T./BSP
J MALE DOUBLE 60 °SEAT
s1 BONDED SEAL
= 24 THREADE |# T4Mt TUBE R~ DIMENSIONS
PART NO. E F D A B S1 L
1DB-14-04 M14x1.5 | G1/4"X19 61 12 12 19 30
1DB-16-04 M16x1.5 | G1/4"X19 12 12 19 30
1DB-16-06 M16x1.5 | G3/8"X19 8 12 135 22 33
1DB-18-04 M18x1.5 | G1/4"X19 10 12 12 19 30
1DB-18-06 M18x1.5 | G3/8"X19 10 12 135 22 33
1DB-18-08 M18x1.5 | G1/2"X14 10 12 16 27 37
1DB-20-04 M20x1.5 | G1/4"X19 12 12 12 22 31
1DB-20-06 M20x1.5 | G3/8"X19 12 12 135 22 33
1DB-20-08 M20x1.5 | G1/2"X14 12 12 16 27 37
1DB-22-08 M22x1.5 | G1/2"X14 14 14 16 27 39
1DB-24-06 M24x1.5 | G3/8"X19 16 14 135 27 36
1DB-24-08 M24x1.5 | G1/2"X14 16 14 16 27 39
1DB-24-12 M24x1.5 | G3/4"X14 16 14 18.5 32 425
1DB-30-12 M30x2 G3/4"X14 20 16 18.5 32 445
1DB-36-16 M36x2 G1"X11 25 18 205 41 50.5
1DB-42-20 M42x2 | G1.1/4"X11 30 20 20.5 50 57.5
1DB-52-24 M52x2 | G1.1/2"X11 38 22 23 55 62
I R B A R E R AR BT 5, WS 05 5 RN, 41" 1DB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

-38 -




Hydraulic Adapters

E
| D1
= 1CB9
T 90°®%IJ9M{%2124%%5H/
YL WAL 60°HE [ % 3
X& 90°METRIC MALE 24°L.T.
B S1 /BSP MALE 60°CONE
= ¥4 THREADE | T74M% TUBE U~} DIMENSIONS
PART NO. E F 0.Dp A B S1
1CB9-12-04 | M12x1.5 | G1/4"X19 61 29 27 14
1CB9-14-04 | M14x15 | G1/4"X19 29 27 14
1CB9-14-06 | M14x1.5 | G3/8"X19 30 29 17
1CB9-16-04 | M16x1.5 | G1/4"X19 10 30 29 17
1CB9-16-06 | M16x1.5 | G3/8"X19 10 30 29 17
1CB9-16-08 | M16x1.5 | G1/2"X14 10 37 37 22
1CB9-18-04 | M18x1.5 | G1/4"X19 12 33 33 19
1CB9-18-06 | M18x1.5 | G3/8"X19 12 33 33 19
1CB9-18-08 | M18x1.5 | G1/2"X14 12 37 37 22
1CB9-22-06 | M22x1.5 | G3/8"X19 15 37 37 22
1CB9-22-08 | M22x15 | G1/2"X14 15 37 37 22
1CB9-26-08 | M26x1.5 | G1/2"X14 18 41 41 27
1CB9-30-12 | M30x2 | G3/4"X14 22 40 40 27
1CB9-36-16 | M36x2 G1"X11 28 46 46 33
1CB9-45-20 | M45x2 | G1.1/4"X11 35 55 55 44
1CB9-52-24 | M52x2 | G1.1/2"X11 42 61 57 55

F I R B R E IR AR 5, WS A0S 5 IN"RN", 41" 1CB9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB9-22-08RN.

-39 -




Hydraulic Adapters

E
| D1
= 1DB9
7 90%%%@%&24@%%/
UEPMRLL60 OHE T 2
X& 90°METRIC MALE 24°H.T./
B St BSP MALE BSP MALE
60°CONE
rE 4. THREADE | % T4M%Z TUBE R <~ DIMENSIONS
PART NO. E F 0.Dp A B S1
1DB9-14-04 | M14x1.5 G1/4"X19 61 29 27 14
1DB9-16-04 | M16x1.5| G1/4"X19 30 29 17
1DB9-16-06 | M16x1.5| G3/8"X19 30 29 17
1DB9-18-04 | M18x1.5| G1/4"X19 10 33 33 19
1DB9-18-06 | M18x1.5| G3/8"X19 10 33 33 19
1DB9-18-08 | M18x1.5| G1/2"X14 10 37 37 22
1DB9-20-04 | M20x1.5| G1/4"X19 12 37 37 22
1DB9-20-06 | M20x1.5 | G3/8"X19 12 37 37 22
1DB9-20-08 | M20x1.5| G1/2"X14 12 37 37 22
1DB9-22-08 | M22x1.5 | G1/2"X14 14 37 37 22
1DB9-24-06 | M24x1.5| G3/8"X19 16 37 33 24
1DB9-24-08 | M24x1.5| G1/2"X14 16 37 33 24
1DB9-24-12 | M24x1.5| G3/4"X14 16 41 41 27
1DB9-30-12 M30x2 G3/4"X14 20 41 41 27
1DB9-36-08 M36x2 G1/2"X14 25 49 49 33
1DB9-36-12 M36x2 G3/4"X14 25 49 49 33
1DB9-36-16 | M36x2 G1"X11 25 49 49 33
1DB9-42-20 M42x2 | G1.1/4"X11 30 55 55 44
1DB9-52-24 | M52x2 | G1.1/2"X11 38 61 57 55
FVEUNTEW R E KRR I MG EA S /5 M"RN", 41" 1DB9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DB9-22-08RN.

- 40 -




Hydraulic Adapters

A B
1CB-WD
AN HIMRS24° %8 R T IRE
60° A HE i i 1
s METRIC MALE 24°L.T./BSP
< THREAD WITH CAPTIVE
S1 SEAL
e #2490 THREADE |%#F4M% TUBE R 5/ DIMENSIONS
PART NO. E F O.Dp A B s1
1CB-12-02wWLQ M12x1.5| G1/8"X28 61 10 10 12
1CB-12-04WQ M12x1.5| G1/4"X19 6 10 12 19
1CB-12-06W0 M12x1.5| G3/8"X19 6 10 135 22
1CB-14-02WLQ M14x1.5| G1/8"X28 8 11 10 14
1CB-14-04W0 M14x1.5| G1/4"X19 8 11 12 19
1CB-14-06WLO M14x1.5| G3/8"X19 8 11 135 22
1CB-16-04W0 M16x1.5| G1/4"X19 10 11 12 19
1CB-16-06WL M16x1.5| G3/8"X19 10 11 135 22
1CB-16-08W0 M16x1.5| G1/2"X14 10 11 16 27
1CB-18-04W0 M18x1.5| G1/4"X19 12 11.5 12 19
1CB-18-06W0 M18x1.5| G3/8"X19 12 115 | 135 22
1CB-18-08WLQ M18x1.5| G1/2"X14 12 11.5 16 27
1CB-22-04WL0 M22x1.5| G1/4"X19 15 125 12 22
1CB-22-06WO M22x1.5| G3/8"X19 15 125 | 135 22
1CB-22-08W0 M22x1.5| G1/2"X14 15 12.5 16 27
1CB-22-12w0 M22x1.5| G3/4"X14 15 125 | 185 32
1CB-26-08W0 M26x1.5| G1/2"X14 18 12 16 27
1CB-26-12W0 M26x1.5| G3/4"X14 18 12 18.5 32
1CB-30-12W0 M30x2 G3/4"X14 22 14 185 32
1CB-36-16W0 M36x2 G1"'X11 28 16 20.5 41
1CB-45-20Ww00 M45x2 | G1.1/4"X11 35 18 20.5 50
1CB-52-24W0 M52x2 | G1.1/2"X11 42 19 23 55
wk R B R R BRI WE A0S R RN, 41" 1CB-22-08 WD/RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08WD/RN.

- 41 -




Hydraulic Adapters

A B

1DB-WD

NI AMZ S 24° B Z 51 [ IR AL
60° A HE THI fire 3 %

> METRIC MALE 24°H.T./BSP
%

THREAD WITH CAPTIVE

SEAL

foe I#40 THREADE |%¥/M% TUBE U~} DIMENSIONS

PART NO. E F D A B S1
1DB-14-04W0 M14x1.5| G1/4"X19 61 12 12 19
1DB-16-04W0 M16x1.5 | G1/4"X19 8 12 12 19
1DB-16-06W0 M16x1.5 | G3/8"X19 8 12 135 22
1DB-18-04W0 M18x1.5 | G1/4"X19 10 12 12 19
1DB-18-06WL M18x1.5| G3/8"X19 10 12 13.5 22
1DB-18-08W0 M18x1.5 | G1/2"X14 10 12 16 27
1DB-20-04W0 M20x1.5 | G1/4"X19 12 12 12 22
1DB-20-06W0 M20x1.5 | G3/8"X19 12 12 13.5 22
1DB-20-08W0 M20x1.5 | G1/2"X14 12 12 16 27
1DB-22-08W0 M22x1.5 | G1/2"X14 14 14 16 27
1DB-24-06W0 M24x1.5 | G3/8"X19 16 14 13.5 27
1DB-24-08W0 M24x1.5| G1/2"X14 16 14 16 27
1DB-24-12W0 M24x1.5 | G3/4"X14 16 14 18.5 32
1DB-30-12W0 M30x2 G3/4"X14 20 16 18.5 32
1DB-42-20W0 M42x2 | G1.1/4"X11 30 20 20.5 50
1DB-52-24W0 M52x2 | G1.1/2"X11 38 22 23 55
eV R R R MR R AT B, UV 761X 5 5 RN, 101" 1 DB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

- 42 -



Hydraulic Adapters

A B
1CG
At IMRL24°% 7R 5]
L HMRSLOBY ] %
%/ METRIC MALE 24°L.T./
BSP MALE O-RING
K= 184 THREADE |%&F4M? TUBE JU < DIMENSIONS
PART NO. E F 0.Dp A B Sil L
1CG-12-02 | M12x15 | G1/8"'x28 | 6% 10 | 9 | 14 25
1CG-12-04 M12x1.5| G1/4"X19 6 10 12 14 28
1CG-14-04 M14x1.5| G1/4"X19 8 11 12 14 29
1CG-14-06 M14x1.5| G3/8"X19 8 11 135 22 32
1CG-14-08 M14x1.5 | G1/2"'X14 8 11 16 27 36
1CG-16-04 M16x1.5 | G1/4"X19 10 11 12 19 29
1CG-16-06 M16x1.5| G3/8"X19 10 11 135 22 32
1CG-16-08 | M16x1.5| G1/2"X14 10 11 16 27 36
1CG-18-06 M18x1.5 | G3/8"X19 12 115 135 22 32
1CG-18-08 M18x1.5 | G1/2"X14 12 115 16 27 36
1CG-22-06 M22x1.5 | G3/8"X19 15 12.5 135 22 33
1CG-22-08 M22x1.5 | G1/2"X14 15 125 16 27 37
1CG-22-12 M22x1.5 | G3/4"X14 15 12.5 18.5 32 41
1CG-26-08 M26x1.5 | G1/2"X14 18 12 16 27 37
1CG-26-12 M26x1.5 | G3/4"X14 18 12 185 32 40.5
1CG-30-12 M30x2 G3/4"X14 22 14 185 32 425
1CG-30-16 M30x2 G1"X11 22 14 20.5 41 46.5
1CG-36-16 M36x2 G1"X11 28 16 20.5 41 485
1CG-45-20 M45x2 | G1.1/4"X11 35 18 20.5 50 55
1CG-52-20 M52x2 | G1.1/4"X11 42 19 20.5 55 56.5
1CG-52-24 M52x2 | G1.1/2"X11 42 19 23 55 59
1CG-52-32 M52x2 G2 42 19 255 70 62.5
FEINFT A R E LR BB B WSS JEINRN", 11" 1CG-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CG-22-08RN.

-43 -




Hydraulic Adapters

A B
1DG
At FMRG24° H R 51/
L HMRSLOBY [l 5
%/ METRIC MALE 24°H.T./
BSP MALE O-RING
=2 #240 THREADE |%® 14Mz TUBE R~} DIMENSIONS
PART NO. E F D A B S1 L
1DG-14-04 M14x1.5 | G1/4"X19 61 12 12 19 30
1DG-16-04 M16x1.5 | G1/4"X19 8 12 12 19 30
1DG-18-04 M18x1.5 | G1/4"X19 10 12 12 19 30
1DG-18-06 M18x1.5 | G3/8"X19 10 12 135 22 33
1DG-20-06 | M20x1.5| G3/8"X19 12 12 135 22 33
1DG-20-08 | M20x1.5| G1/2"X14 12 12 16 27 37
1DG-22-06 M22x1.5 | G3/8"X19 14 14 13.5 24 35
1DG-22-08 M22x1.5 | G1/2"X14 14 14 16 27 39
1DG-24-08 M24x1.5 | G1/2"X14 16 14 16 27 39
1DG-30-12 M30x2 G3/4"X14 20 16 18.5 32 44.5
1DG-36-16 M36x2 G1"X11 25 18 20.5 41 515
1DG-42-16 M42x2 G1"X11 30 20 20.5 46 535
1DG-42-20 M42x2 | G1.1/4"X11 30 20 20.5 50 57.5
1DG-52-24 M52x2 | G1.1/2"X11 38 22 23 55 62
I R B R RE R ET IR, WS NS 5 IN"RN", 41" 1DG-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DG-22-08RN.

- 44 -




Hydraulic Adapters

S2

1CG4-0G
jJiis e

AS° G MR 24°%% R 5 W 1A 1) A ity
45°BSP THREAD 24°L.T.ADJUSTABLE

A (&1 STUD.
e 1240 THREADE | & T4Mz TUBE |. R~} DIMENSIONS
PART NO. E F O.Dp A B S1 S2
1CGA4-12- M12x1.5 | G1/8"X28 6L 20 | 24 | 11 | 14
1CGa-14- M14x1.5 | G1/4"X19 8 22 27 14 19
1CGa-16- M16x15| GL/4"X19 | 10 2 | 27 | 17 | 10
1CGa-16- M16x15| G3/8'X19 | 10 22 [ 30 | 17 | 22
1CGa-18- M18x15| G3/8"X19 | 12 24 | 31 | 19 | 22
1CGa-22- M22x1.5 | G1/2"X14 15 27 36 22 27
1CGa-26- M26x15 | GL/2'X14 | 18 33 |375 | 27 | 27
1CGa-26- M26x1.5 | G3/4"X14 18 33 42 27 32
1CG4-30- M30x2 | G3/4"X14 22 33 | 425 27 32
1CGA4-36- M36x2 | GL'X11 28 37 |445 | 33 | @
1CGA4-45- M45x2 | G1.1/4"X11 35 41 | 505 44 50
200G
S2
1DG4-0G
s
I A5 FNR 24T RSV VFIAE
— 45°BSP THREAD 24°H.T.ADJUSTABLE
A \g STUD.
RE 140 THREADE |#T4Mt TUBE <) DIMENSIONS
PART NO. E F D A B S1 S2
1DG4-14-040F M14x1.5| G1/4"X19 1s 22 27 14 19
1DG4-16- M16x1.5 | G1/4"X19 8 22 27 17 19
1DG4-18- M18x15| G3/8'X19 | 10 24 | 31 | 10 | 22
1DG4-20- M20x1.5 | G3/8"X19 12 27 31 22 22
1DGa-22- M22x15| Gl2'x14 | 14 271 | 36 | 22 | 27
1DG4-30- M30x2 | G3/4"X14 | 20 33 | 425 | 27 | 32
1DG4-36- M36x2 | GL'X11 25 37 | 445 | 33 | 41
1DGA4-42- M42x2 | G1.1/4"X11 30 41 | 475 | 44 50
gﬁin%%%%&%%@%%%Em%,)”JJ%Eﬁ%EJJD"RN",izu"lDG4-22-osoc;/RN"( I 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DG4-22-080G/RN. (the
same with above)

- 45 -



Hydraulic Adapters

F
S —
’ 1CG9-0G
il Q0° HEATIB AL 24°5 Z I AT TR
/_){k 90°BSP THREAD 24°L.T.ADJUSTABLE
N s1 STUD
o #2450 THREADE |% T4M# TUBE |. R < DIMENSIONS
PART NO. E F 0.Dp A B st | 2
1CG9-12- M12x15| Guex2s | 6l 5 | 262 | 11 | 14
1CG3-14- M14x15 | G1/4"X19 8 29 | 313 | 14 | 19
1CG3-16- M16x15 | G1/4"X19 10 30 | 325 | 17 | 19
1CG9-16- M16x1.5 | G3/8"X19 10 30 | 358 | 17 | 22
1CG9-18- M18x15| G3/8"X19 12 33 | 368 | 19 | 22
1CG9-22- M22x15 | G1/2"X14 15 37 | 432 | 22 | 27
1CG3-26- M26x15 | Gl2'x14 | 18 a1 | a6 | 27 | 27
1C53-30- M30x2 | G3/a"x14 | 22 w0 | 52 | 27 | =
1CG3-36- M36x2 | G1'X11 28 46 | 56 | 33 | a1
1CG0-45- M45x2 | G1.1/4"x11| 35 55 | 63 | 44 | 50
1CG3-52- M52x2 | GL/2'x11 | 42 59 | 685 | 55 | 55
220G
F
S =
g 1DG9-0G
7% » ‘ o N N v
( Q0° L ML 24° F R 41 M 1A 1) A4 Uiy
90°BSP THREAD 24°H.T.ADJUSTABLE
A S1 STUD
e 24 THREADE |# T4M# TUBE R~ DIMENSIONS
PART NO. E F D A B st | s2
1DG9-14-040d M14x15| G1/4"X19 6l 29 | 313 14 | 19
1DG9-16- M16x15| G1/4"X19 8 30 | 325 | 17 | 19
1DG9-18- M18x15| G3/8'X19 | 10 33 (368 | 19 | 22
1DG3-20- M20x15| G3/8"x19 | 12 37 | 368 | 22 | 22
1DGS-22- M22x1.5 | G1/2'X14 | 14 37 |32 | 2 | 27
UcUG
1DG9-30- M30x2 | G3/4"X14 20 20 | s2 | 27 | 32
1DG3-36- M36x2 |  G1'X11 25 46 | 56 | 33 | a1
1DGY-42- M42x2 | G1.1/4"x11 | 30 55 | 58 | 44 | 50
ZU0G
BRI F R E A REB AT 07 B RS /5 I"RN", 11" 1DG9-22-080G/RN" ([ L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DG9-22-080G/RN. (the
same with above)

- 46 -



Hydraulic Adapters

1CH

NSRS 24°%8 R 511

7N F i [ O 204 | %
< l%% - METRIC MALE 24°L.T./
J METRIC MALE WITH O-
o RING
=2 240 THREADE | % T-4M% TUBE R I DIMENSIONS
PART NO. E F 0.Dp A B s1 L
1CH-12-10 M12x1.5| M10x1 61 10 85 12 245
1CH-14 M14x1.5 | M14x1.5 11 11 19 28
1CH-14-12 M14x1.5 | M12x1.5 11 11 17 28
1CH-16-14 M16x1.5 | M14x1.5 10 11 11 19 28
1CH-18-14 M18x1.5 | M14x1.5 12 115 11 19 285
1CH-14-18 M14x1.5 | M18x1.5 8 11 11 24 30
1CH-16 M16x1.5 | M16x1.5 10 11 11 22 29
1CH-16-18 M16x1.5 | M18x1.5 10 11 11 24 30
1CH-18-16 M18x1.5 | M16x1.5 12 115 11 22 30
1CH-22-16 M22x1.5 | M16x1.5 12 12.5 11 24 31
1CH-22-18 M22x1.5 | M18x1.5 15 125 11 24 31
1CH-16-22 M16x1.5 | M22x1.5 10 11 12 27 32
1CH-22-20 | M22x1.5 | M20x1.5 15 12.5 12 27 33
1CH-22 M22x1.5 | M22x1.5 12 125 12 27 33
1CH-26-22 M26x1.5 | M22x1.5 18 12 12 27 33
1CH-26 M26x1.5 | M26x1.5 18 12 13 32 35
1CH-26-27 M26x1.5 | M27x2 18 12 13 32 35
1CH-30-22 M30x2 | M22x1.5 22 14 12 32 36
1CH-30-27 M30x2 M27x2 22 14 13 32 37
1CH-30 M30x2 M30x2 22 14 14 36 39
1CH-36-27 M36x2 M27x2 28 16 13 36 40
F I R B R BRI 5, BN S 5 IN"RN", 41" 1CH-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CH-22-08RN.

- 47 -




Hydraulic Adapters

ar
J

1DH

NHSMRL24°H R 51/

MRS f v 7 O Y [ i
METRIC MALE 24 °H.T./
METRIC MALE WITH O-

RING
S1
= X4  THREADE | % 14M%  TUBE U~} DIMENSIONS
PART NO. E F 0.Dp A B s1 L
1DH-14 M14x1.5 | M14x1.5 61 12 11 19 29
1DH-14-12 M14x1.5 | M12x1.5 12 11 17 29
1DH-16-14 M16x1.5 | M14x1.5 12 11 19 29
1DH-18-16 M18x1.5 | M16x1.5 10 12 11 22 30
1DH-20-14 M20x1.5 | M14x1.5 12 12 11 22 30
1DH-20-16 M20x1.5 | M16x1.5 12 12 11 22 30
1DH-20-18 M20x1.5 | M18x1.5 12 12 11 24 31
1DH-20-22 M20x1.5 | M22x1.5 12 12 12 27 33
1DH-24-22 M24x1.5 | M22x1.5 16 14 12 27 35
1DH-30 M30x2 M30x2 20 16 14 36 41
1DH-30-27 M30x2 M27x2 20 16 13 32 39
1DH-36-27 M36x2 M27x2 25 18 13 36 42
FHVE TR E R REERPE BT NEEA S5 RN, 21" 1DH-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DH-22-08RN.

- 48 -




Hydraulic Adapters

S2
T A5 Il MRS 24 2 5 T [ AL g
45°METRIC MALE 24°L.T.ADJUSTABLE
A \st STUD
= 840 THREADE | 74M%  TUBE R~ DIMENSIONS
PART NO. E F O.Dp A B Ss1 S2
1CH4-12- M12x1.5| M10x1 61 20 255 11 14
T0UG
1CH4-14- M14x1.5 | M12x1.5 8 22 30 14 17
12006
1CH4-16- M16x1.5 | M14x1.5 10 22 30.5 17 19
T40G
1CH4-18- M18x1.5 | M16x1.5 12 24 34 19 22
100G
1CH4-22- M22x1.5 | M18x1.5 15 27 38 22 24
I8UG
1CHA4-26- M26x1.5 | M22x1.5 18 33 40.5 27 27
ZZO0G
1CH4-30- M30x2 M27x2 25 33 48 27 32
Z7UG
1CH4-36- M36x2 M33x2 28 37 49.5 33 41
330G
1CH4-45- M45x2 M42x2 35 41 55 44 50
420G
S2
s | -
A5° N il FMESL24° T Z2 51 W] 1 [ AE vig
45°METRIC MALE 24°H.T.ADJUSTABLE
A \s1 STUD
B 24 THREADE | & ¥4M% TUBE JX 5} DIMENSIONS
PART NO. E F O.Dp A B s1 S2
1DH4-14- M14x1.5 | M12x1.5 61 22 30 14 17
iLD\IJ-ﬁ-l& M16x1.5 | M14x1.5 8 22 305 17 19
1DH4-18- M18xL5 | M16x15| 10 24 | 34 | 19 | 22
i%\IJi‘Z-ZO- M20x1.5 | M18x1.5 12 27 37 22 24
i%‘ﬁ“i-m- M24x1.5 | M22x1.5 16 33 40 27 27
fLDLIJi\ZGO- M30x2 M27x2 20 33 48 27 32
1DH4-36- M36x2 | M33x2 | 25 37 |a05 | 33 | a1
56%2-42- M42x2 M42x2 30 41 54 44 50
420G
FUEN TR R E LR BB AT WSS J5 RN, 11" 1DH4-24-220G/RN" ([ L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DH4-24-220G/RN. (the
same with above)

- 49 -




Hydraulic Adapters

=
s —
: 1CH9-0OG
| R Q0° A\ I MIBLL24° 8 R AU LB
){k 90°METRIC MALE 24°L.T. ADJUSTABLE
A S1 STUD
=2 247 THREADE | ¥ T74M# TUBE U~ DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
1CH9-12- M12x1.5 | M10x1 61 25 | 265 | 11 14
1CHY-14- M14x1.5 | M12x1.5 8 29 32 14 17
1CHS-16- M16x1.5 | M14x1.5 10 30 34 17 19
1CHS-18- M18x1.5 | M16x1.5 12 33 36 19 22
1CHG-22- M22x1.5 | M18x1.5 15 37 | 395 | 22 24
1CHG-26- M26x1.5 | M22x1.5 18 41 | 435 | 27 27
TER3-30- M30x2 | M27x2 25 40 50 27 32
TCH3-36- M36x2 | M33x2 28 46 54 33 41
330G
E
S2 =
L 1DH9-0OG
| (1 | 90° A HISMBLL24° T 2 F AT T K3
ﬁ& 90°METRIC MALE 24°H.T. ADJUSTABLE
A | S1 STUD
o 124 THREADE | #T4M& TUBE R~ DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
1DH9-14- M14x15 | M12x15| 6l 29 32 14 17
1DHS-16- M16x1.5 | M14x1.5 8 30 34 17 19
1DHS-18- M18x15 | M16xL5| 10 33 | 3 | 19 | 22
1DH8-20- M20xL5 | M18x15| 12 37 | 37 | 22 | 24
1DHY-22- M22x1.5 | M20x1.5 14 37 40 22 27
1DH3-24- M24x15 | M22x15| 16 37 | 375 | 24 | 27
1DA3-30- M30x2 | M27x2 | 20 41 | 50 | 27 | =32
TDH9-36- M36x2 | M33x2 25 46 54 33 41
“1DR9-420G | Ma2x2 | Ma2x2 | 30 55 | 572 | 44 | 50
o I R B AR EIR R EIT 0L WS 405 5 RN, 41" 1CB-22-08RN" ([ _|)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN. (the same with above)

-50 -



Hydraulic Adapters

1CJ

N HIAMEL24°%2 R B
1ZEH JICTAHE 55 35t

METRIC MALE 24°L.T./

JIC 74°CONE SEAL

fo 24 THREADE | % T74M% TUBE R~} DIMENSIONS
PART NO. E F 0.Dp A B S1 L
1CJ-12-04 | M12x1.5| U7/16"X20 61 10 14 14 30
1CJ-14-04 | M14x1.5| U7/16"X20 11 14 14 31
1CJ-14-06 | M14x1.5| U9/16"X18 11 14 17 31
1CJ-16-06 | M16x1.5| U9/16"X18 10 11 14 17 31
1CJ-18-06 | M18x1.5| U9/16"X18 12 115 | 14 19 315
1CJ-18-08 | M18x1.5| U3/4"X16 12 115 | 167 | 22 35
1CJ-22-08 | M22x1.5| U3/4"X16 15 125 | 167 | 24 37
1CJ-22-10 | M22x1.5| U7/8"X14 15 125 | 195 | 24 40
1CJ-26-10 | M26x1.5| U7/8"X14 18 12 | 195 | 27 40
1CJ-26-12 | M26x1.5 | U1.1/16"X12 18 12 | 195 | 30 415
1CJ-30-12 M30x2 | U1.1/16"X12 22 14 22 32 46
1CJ-36-16 M36x2 | U1.5/16"X12 28 16 23 36 50
1CJ-45-20 M45x2 | U1.5/8"X12 35 18 | 245 | 46 55.5
1CJ-52-20 M52x2 | U1.5/8"X12 42 19 | 245 | 55 60.5
1CJ-52-24 M52x2 | U1.7/8"X12 42 19 | 275 | 55 63.5

HVE TR E L RERE RS T MRS 5 IN"RN", 11"1CJ-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CJ-22-08RN.

-51 -




Hydraulic Adapters

METRIC MALE 24°H.T./

1DJ

I AMEREL24° FE R Y
[ZEH) JICT A K25 45

JIC 74°CONE SEAL

foe 124 THREADE | #T4Mz TUBE R~ DIMENSIONS
PART NO. E F O.Dp. A B s1 L

1DJ-14-04 M14x1.5 | U7/16"X20 61 12 14 14 32
1DJ-16-04 M16x1.5 | U7/16"X20 8 12 14 17 32
1DJ-16-06 M16x1.5 | U9/16"X18 12 14 17 32
1DJ-18-04 M18x1.5 | U7/16"X20 10 12 14 19 32
1DJ-18-06 M18x1.5 | U9/16"X18 10 12 14 19 32
1DJ-20-06 M20x1.5 | U9/16"X18 12 12 14 22 33
1DJ-20-08 M20x1.5 | U3/4"X16 12 12 16.7 22 36
1DJ-22-08 M22x1.5 | U3/4"X16 14 14 16.7 24 38
1DJ-24-08 M24x1.5 | U3/4"X16 16 14 16.7 27 39
1DJ-24-10 M24x1.5 | U7/8"X14 16 14 19.5 30 425
1DJ-30-12 M30x2 | U1.1/16"X12 20 16 22 32 48
1DJ-36-16 M36x2 | U1.5/16"X12 25 18 23 32 52
1DJ-42-20 M42x2 | U1.5/8"X12 30 20 245 46 575
1DJ-52-24 M52x2 | U1.7/8"X12 38 22 275 55 66.5

FVEAN TN R B LR B IR AP A 1 NSRS 5 In"RN", 411D J-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1DJ-22-08RN.

-52-




Hydraulic Adapters

L
* " 1CM
AHIHMRL24° 8 751
160° P 4k T S L £ 4
Z l%/ 7 % METRIC MALE 24 °L.T.
SJ/ 7 /60°CONE BONDED SEAL
e 240 THREADE| i 74M% TUBE U ~F DIMENSIONS
PART NO. E F D A B S1 L
1CM-14-12 M14x1.5 | M12x1.5 81 11 10 17 29
1CM-14-18 M14x1.5 | M18x1.5 8 11 12 24 33
1CM-16-14 M16x1.5 | M14x1.5 10 11 11 19 30
1CM-16-16 M16x1.5 | M16x1.5 10 11 12 22 32
1CM-16-18 M16x1.5 | M18x1.5 10 11 12 24 33
1CM-16-22 M16x1.5 | M22x1.5 10 11 14 27 36
1CM-18-14 M18x1.5 | M14x1.5 12 11.5 11 19 30.5
1CM-18-16 M18x1.5 | M16x1.5 12 11.5 12 22 33
1CM-18-18 M18x1.5 | M18x1.5 12 115 12 24 33
1CM-18-22 M18x1.5 | M22x1.5 12 11.5 14 27 36
1CM-22-16 M22x1.5 | M16x1.5 15 125 12 22 34
1CM-22-18 M22x1.5 | M18x1.5 15 12.5 12 24 34
1CM-22 M22x1.5 | M22x1.5 15 12.5 14 27 37
1CM-26-18 M26x1.5 | M18x1.5 18 12 12 24 34
1CM-26-22 M26x1.5 | M22x1.5 18 12 14 27 37
1CM-30-22 M30x2 | M22x1.5 22 14 14 30 39
1CM-36-33 M36x2 M33x2 28 16 18 41 49
F TN R E KRR BT 1 NS EA S S I"RN", 41" 1CM-18-16RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16RN.

-B53-




Hydraulic Adapters

1CM-WD

NIAMREL24°% R )

% /L 160° A 4 T Bl 5 3 o

X METRIC MALE 24 °L.T./

% 60°CONE CAPTIVE SEAL

e #2240 THREADE | #¥4Mf TUBE R st DIMENSIONS

PART NO. E F [O.Dp A B s1

1CM-14- M14x1.5 | M12x1.5 81 11 10 17

ié“\‘/lII:iB- M16x1.5 | M12x1.5 10 11 10 17

ié“\‘llllzjm- M16x1.5 | M14x1.5 10 11 11 19

1CM-16- M16x1.5 | M18xL5| 10 1 | 12 | 24

i%‘f\‘;l?l& M18x1.5 | M16x1.5 12 115 12 22

"ICM-18WD | M18x15| mM18x15| 12 15 | 12 | 24

1CM-18- M18x1.5 | M22x1.5 12 115 14 27

ia\‘;IUZZ M22x1.5 | M18x1.5 15 12.5 12 24

J-(i.‘gl\l-;l-ZZWD M22x1.5 | M22x1.5 15 12.5 14 27

1CM-26- M26x1.5 | M22x1.5 18 12 14 27

»@g%%%fﬁﬁféﬁﬂ%EWﬁM%Eﬁ%ﬁmmwﬁwxm4&mwmmw

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16WD/RN.

-54 -




Hydraulic Adapters

; i 1DM

AHISMELS24 o 25
160° P T B 4L £ Ha 2 2

7 l%// 2~ METRIC MALE 24°H.T./
60°CONE BONDED SEAL
= R4 THREADE | & 74M%  TUBE <) DIMENSIONS
PART NO. E F D A B S1 L
1DM-14-12 M14x1.5 | M12x1.5 61 12 10 17 30
1DM-16-14 M16x1.5 | M14x1.5 8 12 11 19 31
1DM-18-16 M18x1.5 | M16x1.5 10 12 12 22 33
1DM-20-18 M20x1.5 | M18x1.5 12 12 12 24 34
1DM-20-22 M20x1.5 | M22x1.5 12 12 14 27 37
1DM-24-18 M24x1.5 | M18x1.5 16 14 12 27 37
1DM-24-22 M24x1.5 | M22x1.5 16 14 14 27 39
FAVEUNTHE W R E KRR ETT I MG EA S /5 "RN", 41" 1DM-20-22RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-22RN.

- B 1DM-WD

NHIMRE24° H 2B
160° P4 HE I Bl i

>,
METRIC MALE 24°H.T./
60°CONE CAPTIVE SEAL
froi 240 THREADE | & F4M# TUBE U s} DIMENSIONS
PART NO. E F |ODpD A B S1
1DM-14- M14x1.5 | M12x1.5 61 12 10 17
1DM-16- M16x15| M14x15| 8 12 | 11 | 19
1DM-18- M18x15 | M16xL5| 10 12 | 12 | 2
iB‘f\‘;II:JZO- M20x1.5 | M18x1.5 12 12 12 24
1DM-24- M24x15 | M22x15| 14 14 | 14 | 27
ZZNND
FIFR W R E RRER ARSI I NEEA S5 "RN", 41"1DM-20-18 WD/RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-18WD/RN.

-55-



Hydraulic Adapters

A B
1CO
AtSMEREL24 %% R 5
I3 MRS OB ] % J
% METRIC MALE 24 °L.T./
SAE MALE O-RING
=2 240 THREADE | & 14M% TUBE R I DIMENSIONS
PART NO. E F 0.Dp A B Ss1 L
1C0O-14-04 M14x1.5 | U7/16"X20 81 11 10 14 27
1C0O-16-04 M16x1.5 | U7/16"X20 10 11 10 17 27
1C0O-18-06 M18x1.5 | U9/16"X18 12 115 12 19 29.5
1CO-18-08 M18x1.5 U3/4"X16 12 11.5 12 24 31
1C0O-18-10 M18x1.5 u7/8"X14 12 115 135 27 34
1C0-22-08 M22x1.5 | U3/4"X16 15 125 12 24 32
1C0O-22-10 M22x1.5 u7/8"X14 15 12.5 135 27 35
1C0-22-12 M22x1.5 | U1.1/16"X12 15 125 16 32 385
1C0O-26-08 M26x1.5 | U3/4"X16 18 12 12 27 33
1C0O-26-10 M26x1.5 U7/8"X14 18 12 135 27 34
1C0O-30-08 M30x2 U3/4"X16 22 14 12 32 36
1C0-30-10 M30x2 u7/8"X14 22 14 135 32 375
1C0O-30-12 M30x2 | U1.1/16"X12 22 14 16 32 40
1CO0-30-16 M30x2 | U1.5/16"X12 22 14 17 41 43
1C0O-36-16 M36x2 | U1.5/16"X12 28 16 17 41 45
1C0O-45-16 M45x2 | U1.5/16"X12 35 18 17 46 48
1C0-45-20 M45x2 | U1.5/8"X12 35 18 18 50 53
1C0-52-20 M45x2 | U1.5/8"X12 42 19 18 55 54
FHET W RE R REBEREEET 57 NSRS 5 RN, 11" 1CO-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1CO-22-08RN.

-56 -




Hydraulic Adapters

A B
1DO
AISMZL24° 8 RS
1 HMRESLORY fel 2 1
%/ METRIC MALE 24 °H.T./
SAE MALE O-RING
e #2490 THREADE | F4M%z TUBE R <} DIMENSIONS
PART NO. E F O.Dp. A B S1 L
1DO-16-04 M16x1.5 | U7/16"X20 18 12 10 17 28
1DO-18-06 M18x1.5 | U9/16"X18 10 12 12 19 30
1D0O-20-06 M20x1.5 | U9/16"X18 12 12 12 22 31
1D0O-20-08 M20x1.5 U3/4"X16 12 12 12 24 32
1D0O-24-08 M24x1.5 U3/4"X16 16 14 12 24 34
1D0O-24-10 M24x1.5 U7/8"X14 16 14 13.5 27 36
1D0O-30-08 M30x2 U3/4"X16 20 16 12 32 38
1D0O-30-10 M30x2 uU7/8"X14 20 16 135 32 395
1D0O-30-12 M30x2 | U1.1/16"X12 20 16 16 32 42
1DO-36-16 M36x2 | U1.5/16"X12 25 18 17 41 47
1D0O-42-16 M42x2 | U1.5/16"X12 30 20 17 46 50
1D0-42-20 M42x2 | U1.5/8"X12 30 20 18 50 55
1D0O-52-20 M52x2 | U1.5/8"X12 38 22 18 55 57
BT R R B IR BT 5 S £ XS S5 RN, 41" 1DO-24-08RN”
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DO-24-08RN.

-57 -




Hydraulic Adapters

F
Y 1C0O9-0G
1 )
%
7 90° A | SMREL24°% R
‘ F I 51| HNB ST I Fe A
90°METRIC 24°L.T.
A S1 /ISAE MALE ADJUSTABLE STUD
foe 1240 THREADE | 74M% TUBE R~} DIMENSIONS
PART NO. E F 0.D.p A B s1 S2
1C09-12- M12x1.5 | U7/16"X20 | 6% 25 | 272 | 11 17
1¢03-14- M14x1.5 | U9/16"X18 8 29 | 318 | 14 19
1C0%-16- M16x15 | U9/16'X18 | 10 30 | 333 | 17 | 19
1C03-18- M18x15 | U34"X16 | 12 33 [375] 19 | 24
UguUG
1C09-22- M22x1.5 | U3/4"X16 15 37 | 44 22 27
1C03-22- M22x15 | U7/8"X14 | 15 37 [305 | 22 | 24
1C08-26- M26x1.5 | UL.1/16"X12| 18 a1 | st | 27 | =2
1€08-30- M30x2 |UL.1/16"X12| 22 41 | 535 | 27 | =32
1C03-36- M36x2 |UL5/16"X12| 28 49 | 575 | 33 | @
1C08-45- M45x2 | U1.5/8"X12 35 55 | 63 44 50
1C03-52- M52x2 | U1.7/8"X12 42 59 | 705 | 55 55
240G =
2 1D0O9-0G
f/ 13
Z, o/\ | ﬁl o o
— ‘ 90° A il SR L 24° FH 2 5]
( | I S MESUAT U [ K iy
W 90°METRIC 24°H.T.
A S ISAE MALE ADJUSTABLE STUD
e I#40 THREADE | 4M% TUBE R~} DIMENSIONS
PART NO. E F 0.Dp A B S1 S2
1D09-14-040q M14x15 | U7/16"X20 | 61 29 | 30 14 17
1D09-16- M16x1.5 | U9/16"X18 8 30 | 333 | 17 19
1D03-18- M18x15 | U9/16'X18 | 10 33 [335 | 19 | 19
1D0%-20- M20x15 | U3/4'X16 | 12 37 |375 | 22 | 24
1D0%-24- M24x15 | U7/8'X14 | 16 37 |465 | 24 | 27
1D08-30- M30x2 | UL.1/16'x12| 20 a | s35 | 27 | =
1503-36- M36x2 | U15/16'X12| 25 29 | 575 | 33 | a
1D08-42- Md2x2 | UL5/E'X12 | 30 57 | 595 | 44 | s0
ZU0U0G
T W RE R REIREEE] TR NEERS 5 I"RN", 1"1D09-20-08RN"([F] I)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1D09-20-08RN. (the same with above)

- 58 -



Hydraulic Adapters

D 1CW

7 NHIIMRS24° % R R,
% METRIC MALE 24°L.T./WELD
FITTINGS
S1
=2 24 THREADE | T4M% TUBE R I DIMENSIONS
PART NO. E D D A B D S1 L
1CW-12-06 | M12x1.5 é 62 10 7 10 12 23
1CW-14-08 | M12x1.5 8 8 11 8 12 14 25
1CW-16-10 | M16x1.5 10 10 11 8 14 17 25
1CwW-18-12 | M18x1.5 12 12 11.5 8 16 19 255
1CW-22-15 | M22x1.5 15 15 12.5 10 19 22 30
1CW-26-22 | M26x1.5 18 22 12 10 27 27 32
1CW-30-22 M30x2 22 22 14 12 27 32 37
1CW-30-25 M30x2 22 25 14 12 31 32 37
1CW-36-28 M36x2 28 28 16 12 32 36 39
1CW-45-35 M45x2 35 35 18 14 40 46 45
1CW-52-42 M52x2 42 42 19 16 46 55 52
L
A B
— 1DW
7 At IMRG24° H R MRk
% METRIC MALE 24°H.T./WELD
J FITTINGS
S1
R $240 THREADE | 14Mt TUBE R <) DIMENSIONS
PART NO. E O.DD D A B D S1 L
1DW-14-06 | M14x1.5 é é 12 7 11 14 25
1DW-16-08 | M16x1.5 8 8 12 8 13 17 26
1DW-18-10 | M18x1.5 10 10 12 8 15 19 26
1DW-20-12 | M20x1.5 12 12 12 10 17 22 29
1DW-24-16 | M24x1.5 16 16 14 10 21 27 33
1DW-30-20 M30x2 20 20 16 12 26 32 38
1DW-36-25 M36x2 25 25 18 12 31 41 42
1DW-42-30 M42x2 30 30 20 14 36 46 47
1DW-52-38 M52x2 38 38 22 16 44 55 55
Fk R B R BRI 0L WE A0S 5 RN, 40" 1DW-20-12RN" (] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DW-20-12RN. (the same with above)

- 59 -




Hydraulic Adapters

S2

2BC-WD

NHRE24°%5 R IFEIRLL
60°4fE i 4 A T

I METRIC FEMALE 24°L.T./BSP

MALE DOUBLE 60°SEAT
BONDED SEAL
= g4 THREADE |#&T4M& TUBE U sf DIMENSIONS
PART NO. E F |9-Dp A C S1 S2
2BC-02-12W0 G1/8"X28 | M12x15| ¢l 10 2 14 17
2BC-04-14W0 G1/4"X19 | M14x1.5 8 12 | 35 | 19 19
2BC-04-16W0 G1/4'X19 | M16x1.5| 10 12 | 35 | 19 22
2BC-06-18W0 G3/8'X19 | M18x1.5| 12 135 | 35 | 22 24
2BC-08-22W0 G1/2"X14 | M22x1.5| 15 16 3 27 27
2BC-08-26W0 G1/2'X14 | M26x15| 18 16 | 35 27 32
2BC-12-30W0 G3/4"X14 | M30x2 22 185 | 45 | 32 36
2BC-16-36W0 G1'X11 | M36x2 28 205 | 45 | 4 | 4
2BC-20-45W0 G1.1/4"X11| M45x2 35 205 | 55 | 50 55
2BC-24-52W0 G1.1/2"X11| M52x2 42 23 | 65 | 55 60
S2 A

2BD-WD

[ A HIRL24° B R A [SLE IR

W . 6O°HE ] 4H & %%

7 METRIC FEMALE 24°H.T./BSP

c ﬂ MALE DOUBLE 60°SEAT
BONDED SEAL
e I#4 THREADE |%T4M% TUBE R~} DIMENSIONS

PART NO. E F D A C s1 S2
2BD-04-14W0 G1/4'X19 | M14x15| 6l 12 3 19 19
2BD-04-16W0 G1/4"X19 | M16x1.5 8 12 | 35 | 19 22
2BD-06-18W0 G3/8"X19 | M18x15| 10 135 | 3 22 24
2BD-06-20W0 G3/8"X19 | M20x15| 12 135 | 3 22 27
2BD-08-22W0 G1/2'X14 | M22x1.5| 14 16 | 25 27 27
2BD-08-24W0 G1/2'X14 | M24x15| 16 16 | 35 27 30
2BD-12-30W0 G3/4"X14 | M30x2 20 185 | 45 32 36
2BD-16-36W0 G1'X11 | M36x2 25 205 | 35 41 | M
2BD-20-42W0 G1.1/4"X11| M42x2 30 205 | 55 50 50
2BD-24-52W0 G1.1/2"X11| M52x2 38 23 7 55 60

- 60 -




Hydraulic Adapters

s |

2JC

RMNINC 7AHE R T/ 23 i PR
Zr24°HEOM[E B e R 41
JIC 74°CONE SEALING/METRIC
FEMALE 24°CONE O-RING SEALING

L.T.
fo 24 THREADE |%T4M% TUBE R~} DIMENSIONS
PART NO. E F |O.Dp A C S1 S2
2JC-04-12 | U7/16'X20 | M12x1.5| 6l 14 2 14 17
2JC-04-14 | U7/16"X20 | M14x1.5 14 | 35 |14 19
2JC-05-14 U1/2'X20 | M14x1.5 14 | 35 |14 19
2JC-05-16 U1/2'X20 | M16x1.5 10 14 | 35 |17 22
2JC-06-14 | U9/16"X18 | M14x1.5 8 14 | 35 |17 19
2JC-06-16 | U9/16"X18 | M16x1.5 10 14 | 35 |17 22
2JC-06-18 | U9/16"X18 | M18x1.5 12 14 | 35 17 24
2JC-08-18 U3/4"X16 | M18x1.5 12 16.7 | 35 22 24
2JC-08-22 U3/4"X16 | M22x1.5 15 16.7 3 22 27
2JC-10-22 U7/8"X14 | M22x1.5 15 195 3 24 27
2JC-10-26 U7/8'X14 | M26x1.5 18 195 | 35 27 32
2JC-12-26 | U1.1/16"X12| M26x1.5 18 22 | 35 27 32
2JC-12-30 | U1.1/16"X12| M30x2 22 22 | 45 30 36
2JC-16-36 | U1.5/16"X12| M36x2 28 23 | 45 36 41
2JC-16-45 |U1.5/16"X12| M45x2 35 23 | 55 46 55
2JC-20-45 | U1.5/8"X12 | M45x2 35 245 | 55 46 55
2JC-20-52 | U1.5/8"X12 | M52x2 42 245 | 65 50 60
2JC-24-52 | UL7/8'X12 | M52x2 42 275 | 65 50 60

- 61 -




Hydraulic Adapters

S2

2JD

\ | | KA IIC 74°HE T 5523 ] A 2
JE W/ 7 S04 HEO I B 1 7 7 51
KZ Z, - JIC 74°CONE SEALING/METRIC
c s/

FEMALE 24°CONE O-RING SEALING

H.T.
o 124 THREADE |%&T4M% TUBE R~ DIMENSIONS
PART NO. E F |O.Dp A C s1 S2
2JD-04-14 | U7/16'X20 | M14x15 | el 14 3 14 19
2JD-04-16 | U7/16"X20 | M16x1.5 8 14 | 35 17 22
2JD-04-18 | U7/16"X20 | M18x15| 10 14 3 17 24
2JD-05-18 U1/2"X20 | M18x1.5| 10 14 3 17 24
2JD-06-16 | U9/16"X18 | M16x1.5 8 14 | 35 17 22
2JD-06-18 | U9/16"X18 | M18x1.5| 10 14 3 17 24
2JD-06-20 | U9/16"X18 | M20x1.5 | 12 14 3 19 27
2JD-06-22 | U9/16"X18 | M22x15| 14 14 25 | 22 27
2JD-08-22 U3/4"X16 | M22x1.5| 14 167 | 25 | 22 27
2JD-08-24 U3/4"X16 | M24x15| 16 167 | 35 24 30
2JD-10-30 u7/8"X14 | M30x2 20 195 | 45 30 36
2JD-10-36 u7/8'x14 | M36x2 25 195 | 35 36 41
2JD-12-30 | U1.1/16"X12| M30x2 20 22 | 45 30 36
2JD-12-36 | U1.1/16"X12| M36x2 25 22 | 35 36 41
2JD-16-42 | UL1.5/16"X12| M42x2 30 23 | 55 41 50
2JD-20-42 | U1.5/8"X12 | M42x2 30 245 | 55 46 50
2JD-20-52 | U1.5/8"X12 | M52x2 38 245 | 7 50 60
2JD-24-52 | UL.7/8"X12 | M52x2 38 2715 | 7 50 60

- 62 -



Hydraulic Adapters

S1
[ A

f

==

2GC

NHIRL24° % R 5| HEOR [/
JE RS OMY e
METRIC FEMALE 24°L.T.CONE O-

==

RING/
C BSP MALEO-RING
o 40 THREADE |%®14M% TUBE R <f DIMENSIONS
PART NO. E F D A C s1 S2
2GC-02-12 | G1/8"X28 | M12x15| 61 9 2 14 17
2GC-04-14 | G1/4"X19 | M14x1.5 8 12 | 35 19 19
2GC-04-16 | G1/4"X19 | M16x15| 10 12 | 35 19 22
2GC-06-18 | G3/8"X19 | M18x15| 12 135 | 35 22 24
2GC-08-22 | G1/2'X14 | M22x1.5| 15 16 3 27 27
2GC-08-26 | G1/2"X14 | M26x1.5| 18 16 | 35 27 32
2GC-12-30 | G3/4"X14 | M30x2 22 185 | 45 32 36
2GC-16-36 G1'X11 | M36x2 28 205 | 45 41 41
2GC-20-45 | GL.1/4"X11| MA45x2 35 205 | 55 50 55
2GC-24-52 | GL.1/2"X11| M52x2 42 23 | 65 55 60
S2 S1
[ [ —A

2GD

NHIRE24° H A B IHEOR[E/
JE RS O &
METRIC FEMALE 24°H.T.CONE O-

RING/

c BSP MALEO-RING
e 240 THREADE | ¥4M% TUBE R </ DIMENSIONS
PART NO. E F |0.Dp A C s1 S2
2GD-04-14 | G1/4"X19 | M14ax15| 6l 12 3 19 19
2GD-04-16 | GL/4"X19 | M16x1.5 8 12 | 35 | 19 22
2GD-06-18 | G3/8'X19 | M18x1.5| 10 135 3 22 24
2GD-06-20 | G3/8'X19 | M20x1.5| 12 135 3 22 27
2GD-08-22 | G1/2'X14 | M22x15| 14 16 | 25 27 27
2GD-08-24 | G1/2'X14 | M24x1.5| 16 16 | 35 | 27 30
2GD-12-30 | G3/4"X14 | M30x2 20 185 | 45 | 32 36
2GD-16-36 G1'X11 | M36x2 25 205 | 35 | 41 41
2GD-20-42 | GL.U/4"X11 | M42x2 30 205 | 55 | 50 50
2GD-24-52 | G1.1/2"X11 | M52x2 38 23 7 55 60

- 63 -




Hydraulic Adapters

S2

4

2MC-WD

I HAIREUB R B 2 il A IR E24 ©
HETHOZY [ ik 4 1
METRIC THREAD /METRIC
FEMALE
24°CONE O-RING SEAL L.T.

e i#4r THREADE | #-¥4M%& TUBE R~} DIMENSIONS
PART NO. E F 0.Dp A C S1 S2
2MC-12- M12x1.5 | M14x1.5 81 10 35 17 19
14WD
2MC-14- M14x1.5 | M16x1.5 10 11 35 19 22
I6WD
2MC-16- M16x1.5 | M18x1.5 12 12 35 22 24
L8WD
2MC-18- M18x1.5 | M22x1.5 15 12 3 24 27
Z2Z\WND
2MC-22- M22x1.5 | M26x1.5 18 14 35 27 32
26WD
S2
A
T A IRBLUR S A 5 R C24 ©
27§ O B .1 11 51
z / METRIC THREAD /METRIC
St FEMALE
24°CONE O-RING SEAL H.T.
R R4 THREADE | & 141M% TUBE U~ DIMENSIONS
PART NO. E F D A C S1 S2
2MD-12- M12x1.5 | M14x1.5 61 10 3 17 19
L4WD
2MD-14- M14x1.5 | M16x1.5 8 11 35 19 22
I6WD
2MD-16- M16x1.5 | M18x1.5 10 12 3 22 24
I8WD
2MD-18- M18x1.5 | M20x1.5 12 12 3 24 27
ZUWD
2MD-22- M22x1.5 | M22x1.5 16 14 35 27 30
24WD

- 64 -




Hydraulic Adapters

A
>CB
/; ANINRL24° 5 2 B IR
A METRIC MALE 24°L.T./BSP FEMALE
s/
o ¥4 THREADE | 14M% TUBE R <t DIMENSIONS
PART NO. E F O.Dp A S1
5CB-12-02 M12x1.5 | G1/8"X28 61 10 14
5CB-12-04 | M12x1.5| G1/4"X19 6 10 19
5CB-14-04 M14x1.5 | G1/4"X19 8 11 19
5CB-14-06 M14x1.5 | G3/8"X19 8 11 24
5CB-14-08 M14x1.5 | G1/2"X14 8 11 27
5CB-16-04 M16x1.5 | G1/4"X19 10 11 19
5CB-16-06 M16x1.5 | G3/8"X19 10 11 24
5CB-16-08 M16x1.5 | G1/2"X14 10 11 27
5CB-18-04 M18x1.5 | G1/4"X19 12 115 19
5CB-18-06 M18x1.5| G3/8"X19 12 11.5 24
5CB-18-08 M18x1.5 | G1/2"X14 12 11.5 27
5CB-22-06 M22x1.5 | G3/8"X19 15 12.5 24
5CB-22-08 M22x1.5 | G1/2"X14 15 12.5 27
5CB-26-08 M26x1.5 | G1/2"X14 18 12 27
5CB-30-12 M30x2 G3/4"X14 22 14 36
5CB-36-16 M36x2 G1"X11 28 16 41
5CB-45-20 M45x2 | G1.1/4"X11 35 18 55
5CB-52-24 M52x2 | G1.1/2"X11 42 19 60
AR R R BRI 5 ME 405 J5 RN, 4n"5CB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 5CB-22-08RN.

- 65 -



Hydraulic Adapters

5DB

INHIREI24° H R IIITEAE A RS
METRIC MALE 24°H.T./BSP

7% FEMALE
s/
e 4 THREADE | 14M% TUBE U~} DIMENSIONS
PART NO. E F D A S1

5DB-14-04 M14x1.5 | G1/4"X19 61 12 19
5DB-16-04 M16x1.5 | G1/4"X19 8 12 19
5DB-18-06 M18x1.5| G3/8"X19 10 12 24
5DB-20-06 M20x1.5 | G3/8"X19 12 12 24
5DB-20-08 M20x1.5 | G1/2"X14 12 12 24
5DB-22-08 M22x1.5 | G1/2"X14 14 14 30
5DB-24-08 | M24x15| G1/2"X14 16 14 30
5DB-30-12 M30x2 G3/4"X14 20 16 36
5DB-36-16 M36x2 G1"X11 25 18 41
5DB-42-20 M42x2 | G1.1/4"X11 30 20 55
5DB-52-24 M52x2 | G1.1/2"X11 38 22 60

Fk R B R BRI I WS A0S 5 IN"RN", 401"5DB-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example 5DB-22-08RN.

- 66 -




Hydraulic Adapters

A
S5CM
| AN FIBRL24° 8 RN A ) PHIRAL
% METRIC MALE 24°L.T./METRIC
Y FEMALE
s/
R ##40  THREADE| & T4Mt TUBE R~ DIMENSIONS
PART NO. E F 0.Dp A s1
5CM-12-10 | M12x1.5| Mioxi | 6l 10 14
5CM-14-12 M14x1.5 | M12x1.5 8 11 17
5CM-16-14 M16x1.5 | M14x1.5 10 11 19
5CM-18-16 M18x1.5 | M16x1.5 12 11.5 22
5CM-22-18 M22x1.5 | M18x1.5 15 12.5 24
5CM-26-22 M26x1.5 | M22x1.5 18 12 30
5CM-30-26 M30x2 | M26x1.5 22 14 32
5CM-36-33 M36x2 M33x2 28 16 41
5CM-45-42 M45x2 M42x2 35 18 55
5CM-52-48 M52x2 M48x2 42 19 60
A
T SDM
| AR E024° 8 211 ] RS
% METRIC MALE 24°H.T./METRIC
A FEMALE
s/
= RAL ®T74ME TUBE R ~I DIMENSIONS
PART NO. E F O0.Dp A S1
5DM-14-12 M14x1.5 | M12x1.5 61 12 17
5DM-16-14 M16x1.5 | M14x1.5 8 12 19
5DM-18-16 M18x1.5 | M16x1.5 10 12 22
5DM-20-18 M20x1.5 | M18x1.5 12 12 24
5DM-22-20 M22x1.5 | M20x1.5 14 14 27
5DM-24-22 M24x1.5 | M22x1.5 16 14 30
5DM-30-27 M30x2 | M27x1.5 20 16 36
5DM-36-33 M36x2 M33x2 25 18 41
5DM-42 M42x2 M42x2 30 20 55
5DM-52-48 M52x2 M48x2 38 22 60
FUE T R B LR BRI MBS J5 RN, 41"5DM-20-18RN"([A L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 5DM-20-18RN. (the same with above)

- 67 -



Hydraulic Adapters

E
| b3 |
I Q C
J
Nii | R o
N AMZL24°%% 22 %)) =il
\ METRIC MALE 24°L.T. TEE
A \ﬂA
e I#4 THREADE | & ¥4M& TUBE R~} DIMENSIONS
PART NO. E B1Dp2,D03 A s1
AC-12 M12x1.5 6 23 11
AC-14 M14x1.5 8 27 14
AC-16 M16x1.5 10 29 17
AC-18 M18x1.5 12 32 19
AC-22 M22x1.5 15 33 22
AC-26 M26x1.5 18 40 27
AC-30 M30x2 22 40 27
AC-36 M36x2 28 46 33
E
| D3 |
T/ Q D
;
ﬁf ﬂj

At FMREL24° H R 51 =il

\ METRIC MALE 24°H.T. TEE
A \&A

e 40 THREADE | T 4M%& TUBE AN s~ DIMENSIONS

PART NO. E Bip2,03 A s1

AD-14 M14x1.5 6 27 14

AD-16 M16x1.5 8 29 17

AD-18 M18x1.5 10 32 19

AD-20 M20x1.5 12 33 22

AD-22 M22x1.5 14 33 22

AD-24 M24x1.5 16 33 24

AD-30 M30x2 20 40 27

AD-33 M33x2 22 46 33

AD-42 M42x2 30 57 44
BVE TR E LR EIRRHRE R B, M £S5 RN, @1"AD-22RN" (A L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example AD-22RN. (the same with above)

- 68 -




Hydraulic Adapters

%,
BC
— Nl R S24 °F ) il FMEZ
jx L foa F A=
; METRIC FEMALE
\ 24°/METRIC MALE
A Sty 24°L.T. TEE
ez 22y THREADE | &-F4M% TUBE R <} DIMENSIONS
PART NO. E F 0.Dp D A C s1 S2
BC-12 M12x1.5 | M12x1.5 61 62 23 2 11 17
BC-14 M14x1.5 | M14x1.5 8 8 27 35 14 19
BC-16 M16x1.5 | M16x1.5 10 10 29 35 17 22
BC-18 M18x1.5 | M18x1.5 12 12 32 35 19 24
BC-22 M22x1.5 | M22x1.5 15 15 33 3 22 27
BC-26 M26x1.5 | M26x1.5 18 18 40 35 27 32
BC-30 M30x2 M30x2 22 22 40 45 27 36
BC-36 M36x2 M36x2 28 28 46 4.5 33 41
F
N7

BD

T Ar( A R4 A A
| |

LL24°E A=l
METRIC FEMALE
24°/METRIC MALE

,
) |/
@

A A 24°H.T. TEE
foE 220 THREADE | % 74M% TUBE R~ DIMENSIONS
PART NO. E F O.Dp. D A C S1 S2
BD-14 M14x1.5 | M14x1.5 61 62 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 35 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 25 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 35 24 30
BD-30 M30x2 M30x2 20 20 40 4.5 27 36
BD-36 M36x2 M36x2 25 25 46 35 33 41
BD-42 M42x2 M42x2 30 30 57 55 44 50
B R R E KRBT 57 TS A5 5 0 RN, 40"BD-22RN" (7] )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example BD-22RN. (the same with above)

- 69 -



Hydraulic Adapters

e

CC

N AMELL24° 1~ A
IRAT24° 82 R 51| =38

\ METRIC MALE
A \g 2 24°/METRIC FEMALE
24°L.T. TEE
=2 240 THREADE | & 14M% TUBE JU <} DIMENSIONS
PART NO. E F 0.Dp D A C S1 S2
CC-12 M12x1.5 | M12x1.5 61 62 23 2 11 17
CC-14 M14x1.5 | M14x1.5 8 8 27 35 14 19
CC-16 M16x1.5 | M16x1.5 10 10 29 35 17 22
CC-18 M18x1.5 | M18x1.5 12 12 32 35 19 24
CC-22 M22x1.5 | M22x1.5 15 15 33 3 22 27
CC-26 M26x1.5 | M26x1.5 18 18 40 35 27 32
CC-30 M30x2 M30x2 22 22 40 4.5 27 36
CC-36 M36x2 M36x2 28 28 46 45 33 41
E
D2
] CD
g -
*“Tf/ %H AN HMREST24°1 3 1l N
{ | - W24 F A =3
\ METRIC MALE
A \g 2 24°/METRIC FEMALE
24°H.T. TEE
r5 24 THREADE | &F4M% TUBE N s DIMENSIONS
PART NO. E F O.Dp. D A C s1 S2
BD-14 M14x1.5 | M14x1.5 61 62 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 35 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 25 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 35 24 30
BD-30 M30x2 M30x2 20 20 40 45 27 36
BD-36 M36x2 M36x2 25 25 46 35 33 41
BD-42 M42x2 M42x2 30 30 57 55 44 50
BT R E R R BRI ET 57 NSRS 5 I"RN", 1"BD-22RN" (7] )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example BD-22RN. (the same with above)

- 70 -




Hydraulic Adapters

XC

INHISMERS24 % 241 DY i
METRIC MALE 24°L.T. CROSS

A

e %4  THREADE | % T4M% TUBE R <} DIMENSIONS
PART NO. E 0.Dp A S
XC-12 M12x1.5 6 23 11
XC-14 M14x1.5 8 27 14
XC-16 M16x1.5 10 29 17
XC-18 M18x1.5 12 32 19
XC-22 M22x1.5 15 33 22
XC-26 M26x1.5 18 40 27
XC-30 M30x2 22 40 27
XC-33 M33x2 25 46 33

XD

WNHIIMERS24° H R 41 )Y i
METRIC MALE 24°H.T. CROSS

A

=2 24 THREADE | # 14M% TUBE R <} DIMENSIONS

PART NO. E O.Dp A S1

XD-14 M14x1.5 6 27 14

XD-16 M16x1.5 8 29 17

XD-18 M18x1.5 10 32 19

XD-20 M20x1.5 12 32 19

XD-22 M22x1.5 14 33 22

XD-24 M24x1.5 16 33 24

XD-30 M30x2 20 40 27

XD-33 M33x2 22 46 33

XD-42 M42x2 30 57 44
VTR E & RERERRE BT NIEEA S5 RN, 21" XD-22RN"([A]_£D
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example XD-22RN. (the same with above)

-71 -



Hydraulic Adapters

F
> ACHC-0OG
ﬁf/ Iy ORISR SL24H R AT RS 4 3 =3
: METRIC MALE
A \S_lA 24°L. T.ADJUSTABLE
STUD BRADCH TEE
R 240 THREADE | 7*4M% TUBE O R~ DIMENSIONS
PART NO. E F |0Dp ORING | A B s1 )
ACHC-12-10- M12x1.5 | M10x1 6l 8.1x1.6 23 | 265 | 11 14
12006
ACHC-14-12- M14x1.5 | M12x1.5 8 9.3x2.4 27 32 14 17
14006
ACHC-16-14- M16x1.5 | M14x1.5| 10 11.3x2.4 | 29 | 34 17 19
100G
ACHC-18-16- M18x1.5 | M16x1.5| 12 133x2.4 | 32 | 36 19 22
180G
ACHC-22-18- M22x1.5 | M18x1.5| 15 153x2.4 | 33 | 395 | 22 24
ZZ00G
ACHC-26-22- M26x15 | M22x15| 18 19.3x2.4 | 40 | 435 | 37 27
Z00U G
IACHC-30-27- M30x2 | M27x2 22 23.5x3 40 50 27 32
SUOG
ACHC-36-33- M36x2 | M33x2 28 29.5x3 46 54 33 41
360G
E
~ ADHD-0G
ju Iy ABISMBL24° B AT R % =il
X METRIC MALE
A | \siA 24°H.T.ADJUSTABLE
STUD BRADCH TEE
e X2  THREADE | 14Mf  TUBE O] R~} DIMENSIONS
PART NO. E F O.Dp O-RING | A B S1 S2
ADHD-14-12- M14x15 | M12x1.5| 6l 9.3x2.4 27 32 14 17
ADHD-16-14- | M16x15 | M14x15| 8 113x24 | 29 | 34 | 17 | 19
ADHD-18-16- | M18x15 | M16x15| 10 133x24 | 32 | 36 | 19 | 22
ADHD-20-18- | M20x15 | M18x15| 12 153x24 | 33 | 37 | 22 | 24
ADUD-24-22- | M24x1.5 | M22x15| 16 193x24 | 33 | 375 | 24 | 27
ADHD-30-27- M30x2 | M27x2 | 20 235x3 | 40 | 50 | 27 | =2
ADHD-36-33- M36x2 | M33x2 | 25 205x3 | 46 | 54 | 33 | 41
ADHD-42-42- Ma2x2 | Ma2x2 | 30 3853 | 57 |572 | 44 | s0
4006
FVE TR RE KRBT I WETE18S 5 0 "RN", W"ADHD-20-180G/RN" ([F] )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADHD-20-180G/RN. (the same with above)

-72 -



Hydraulic Adapters

E
D1
. ACCH-0G
2
/4 Z [
(* I 2 NSRS 24°%% 22 %)) A]
&JWT W [ A 2 S 08
\ METRIC MALE 24°L.T.
A S1 B ADJUSTABLE STUD RUN
TEE
e R4 THREADE |8 1°4M% TUBE O U~} DIMENSIONS
PART NO. E F O.Dp O-RING | A B S1 S2
ACCH-12-12- M12x15 | M10x1 6l 8.1x1.6 23 | 265 11 14
ACCH-14-14- | M14x15 | Mi2x15| 8 93x24 | 27 | 32 | 14 | 17
ACCH-16-16- M16x1.5 | M14x1.5 10 11.3x2.4 | 29 34 17 19
ACCH-18-18- | M18x15| M16x15| 12 13324 | 32 | 36 | 19 | 22
ACCH-22-22- M22x1.5 | M18x1.5 15 15.3x24 | 33 | 395 22 24
ACCH-26-26- | M26x15 | M22x15| 18 193x2.4 | 40 | 435 | 27 | 27
ACCH-30-30- M30x2 | M27x2 | 22 235x3 | 40 | 50 | 27 | 32
ACCH-36-36- M36x2 | M33x2 | 28 295x3 | 46 | 54 | 33 | 41
330G
E
D1
. ADDH-0OG
2
7
Fﬁ 2 INHIAMRL24° 8 22 %)) A]
b W A T S =0
\ METRIC MALE 24°H.T.
A S1 g ADJUSTABLE STUD RUN
TEE
e #2240 THREADE [#14M% TUBE O7%i[E R <) DIMENSIONS
PART NO. E F O.Dp O-RING | A B s1 S2
ADDH-14-14- M14x1.5 | M12x1.5| 61 9.3x2.4 27 32 14 17
ADDH-16-16- | M16x15 | M14x15| 8 113x24 | 29 | 34 | 17 | 19
ADDH-18-18- | M18x15| M16x15| 10 133x24 | 32 | 36 | 19 | 22
ADDH-20-20- | M20x15 | Misx15| 12 153x24 | 33 | 37 | 22 | 24
ADDH-24-24- | M24x15 | M22x1.5| 16 193x24 | 33 | 375 | 24 | 27
ADDH-30-30- M30x2 | M27x2 | 20 235x3 | 40 | 50 | 27 | 22
ADDH-36-36- M36x2 | M33x2 | 25 295x3 | 46 | 54 | 33 | a1
ADDH-42-42- Ma2x2 | Md2x2 | 30 3853 | 57 | 572 | 44 | s0
3200
BRI R E AR E R ET 17 GRS /5 II"RN", 41" ADDH-20-20-180G/RN" ([q] 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADDH-20-20-180G/RN. (the same with above)

-73-



Hydraulic Adapters

E
D
1 ACCG-0G
s2
7 / ' A BISMREA RS
| &Hﬂj ISER AT R 350 =
N METRIC MALE 24 °L.T.
A $1 g /BSP MALE ADJUSTABLE STUD RUN
TEE
SR 84 THREADE |&74M% TUBE /R ~F DIMENSIONS
PART NO. E F 0.D.p A B S1 S2
ACCG-12-12- M12x1.5 | G1/8"X28 6L 23 | 262 | 11 14
ACCG-14-14- M14x1.5 | G1/4"X19 8 27 | 313 | 14 17
ACCG-16-16- M16x1.5 | G1/4"X19 10 29 | 325 | 17 19
ACCG-18-18- M18x1.5 | G3/8"X19 12 32 | 368 | 19 22
ACCG-22-22- M22x1.5 | G1/2"X14 15 33 | 432 | 22 24
ACCG-26-26- M26x1.5 | G1/2"X14 18 33 | 465 | 27 27
ACCG-30-30- M30x2 | G3/4"X14 22 40 52 27 32
ACCG-36-36- M36x2 G1"X11 28 46 56 33 41
160G
E
D
3} ADDG-0OG
77 / % Nl el
i M]D P AT R % =
\ METRIC MALE 24°H.T.
A S1 g /BSP MALE ADJUSTABLE STUD RUN
TEE
o 124 THREADE |&7T4M% TUBE R~ DIMENSIONS
PART NO. E F O.D.p A B S S2
ADDG-14-14- M14x1.5 | G1/4"X19 6l 27 | 313 | 14 19
ADDG-16-16- | M16x15 | G1/4"X19 8 20 | 325 | 17 | 19
ADDG-18-18- | M18xL5 | G3/8"X19 10 2 |38 | 19 | 22
ADDG-20-20- | M20x15 | G3/8"X19 12 33 | 368 | 22 | 22
ADDG-22-22- | M22x15 | Gl2'X14 | 14 38 | 432 | 22 | 27
ADDG-24-24- M24x1.5 | G1/2"X14 16 33 44 24 27
ADDG-30-30- M30x2 | G3/4"X14 20 40 52 27 32
ADDG-36-36- M36x2 G1"X11 25 46 56 33 41
ADDG-42-42- M42x2 | GL.14"X11 | 30 57 | 58 | 44 | 50
fﬁgm%%%ER%E%E%EWﬁM%Eﬁ%ﬁmﬂwm%mmaumommmw<EL>
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADDG-20-20-060G/RN.(the same with above)

-74 -



Hydraulic Adapters

W
%

ACGC-0OG

NfIINRL24°5 25
T8 AT AR 3 ) 3 =i
METRIC MALE 24°L.T.

A \s1 A /BSP MALE ADJUSTABLE STUD BRANCH
TEE
fo #24r THREADE | 14M# TUBE JU_ I DIMENSIONS

PART NO. E F  |oDp Al B [ st] s
ACGC-12-02- | M12x15| GL/8"X28 ) 23 | 262 | 11 | 14
ACGC-14-04- | M14x15| GL/A4"X19 8 27 (313 | 14 | 19
ACGC-16-04- | M16x1.5| GU4X19 | 10 20 | 325 | 17 | 19
ACGC-18-06- | Mi8x15| G3/g"x19 | 12 2 [368 | 19 | 22
ACGC-22:08- | M22x15| Gl2'x14 | 15 33 (432 | 22 | 27
ACGC-26-08- | M26x1.5| G214 | 18 33 | 465 | 27 | 27
ACGC-30-12- M30x2 | G3/4"X14 | 22 w0 | 52 | 27 | =
ACGC-36-16- M36x2 | GL'X11 28 46 | 56 | 33 | 41
360G

.
7 N Do AN S24° T 751
jul i SR RT IR A X =
. METRIC MALE 24°H.T.
A \st A /BSP MALE ADJUSTABLE STUD BRANCH
TEE
s 24 THREADE | T4M# TUBE }]i < DIMENSIONS

PART NO. E F  |oDD A B | sI | s
ADGD-14-04- | M14x15| G1/4'x19 | 6L 27 | 313 ] 14 | 10
ADGD-16-04- | M16x15 | G1/4"X19 8 29 | 325 | 17 | 19
ADGD-18-06- | M18x15 | G3/8"x19 10 2 [368 | 19 | 2
ADGD-20-06- | M20xL5 | G3/8"X19 12 33 | 368 | 22 | 2
ADGD-22-08- | M22x15 | Gl/2'x14 | 14 38 432 | 2 | 27
ADGD-24-08- | M24x15| G1/2'X14 16 33 | a4 | 24 | 27
ADGD-30-12- M30x2 | G3/4"X14 | 20 40 | 52 | 27 | 32
ADGD-36-16- M36x2 | G1'X11 25 46 | s6 | 33 | 4
ADGD-42-20- M42x2 | GLUAX11| 30 57 | s8 | 44 | s0

400G

F A E R E KRR TT 1, WAL S S RN, 41"ADGD-20-06-200G/RN" ([ )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADGD-20-06-200G/RN.(the same with above)

- 75 -




Hydraulic Adapters

2 ACCO-0G
i %/%%_ | A bl24°5 751

( 'b:H I AT R A S =3
H([] METRIC MALE 24°L.T.
A S1 B /SAE MALE ADJUSTABLE STUD RUN
TEE
B ¥4 THREADE | T4M2 TUBE U~} DIMENSIONS
PART NO. E F ODp A B s1 S2
ACCO-12-12- | M12x15 | U7/16"'X20 | ¢l 23 | 272 | 11 | 17
ACCO-14-14- | M14x15 | U9/16"X18 8 27 | 318 | 14 | 19
ACCO-16-16- | M16xL5 | U9/16"X18 | 10 20 | 333 ] 17 | 19
ACCO-18-18- | M18x1.5| U3/4"X16 12 32 | 375 | 19 | 24
ACCO-22-22- | M22x15| U7/8'x14 | 15 33 | 4 | 22 | 27
ACCO-26-26- | M26x15 |UL1/16'X12| 18 40 | 51 | 27 | =
ACCO-30-30- M30x2 |UL1/16"X12| 22 40 | 535 | 27 | 32
ACCO-36-36- M36x2 | UL5/16"X12| 28 46 | 575 | 33 | 41
160G
E
D1
= ADDO-0G
7 .
ﬁ/f 24 % IAil24° T A5
%ﬂil (3 R A S =0
\ METRIC MALE 24°H.T.
A S1 8 /SAE MALE ADJUSTABLE STUD RUN
TEE
e W40 THREADE | F/M% TUBE R~} DIMENSIONS
PART NO. E F O.D.p A B S1 S2
ADDO-14-14- | M14x15| U7/16'X20 | 6! 27 | 30 | 14 | 17
ADDO-16-16- | M16xL15| U9/16"X18 | 8 29 | 333 | 17 | 19
ADDO-18-18- | M18xL5| U9/16"X18 | 10 2 [ 35| 19 | 19
ADDO-20-20- | M20xL5| U3/4"x16 | 12 33 | 375 | 22 | 24
ADDO-22-22- | M22x15| U7/8'x14 | 14 38 | a4 | 2 | 27
ADDO-24-24- | M24x15| U7/8"X14 | 16 33 | 465 | 24 | 27
ADDO-30-30- M30x2 | U1.1/16"X12| 20 40 | 535 | 27 | 32
ADDO-36-36- M36x2 | U1.5/16'X12| 25 46 | 575 | 33 | a1
ADDO-42-42- Ma2x2 | ULE8™X12 | 30 57 | 595 | 44 | 50
gﬁﬁu%%%éﬁ%@%%&%ﬂ B B AN S S I"RN", f1"ADDO-20-20-080G/RN" ([7]_E)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example ADDO-20-20-080G/RN.(the same with above)

-76 -



Hydraulic Adapters

ACOC-0G

Ai24°%% 5]

I RT P AE B ) 5 =3
METRIC MALE 24°L.T.

\s1, /SAE MALE ADJUSTABLE STUD BRANCH
TEE

= 840 THREADE |®T4M%f TUBE R~} DIMENSIONS

PART NO. E F 0DD Al B [ st s
ACOC-12-04- | M12x15 | U7/16"x20 | 6L 23 272 | 11 | 17
ACOC-14-06- | M14x15| U9/ie'x18 | 8 27 | 318 | 14 | 19
ACOC-16-06- | M16x15| U9/16'X18 | 10 20 | 333 | 17 | 19
ACOC-18-08- | M18x15| U3M4'X16 | 12 2 [ 375 | 19 | 24
ACOC-22-10- | M22x15| U7/8"X14 | 15 33 | a4 | 22 | 27
ACOC-26-12- | M26x15 |UL1/16'X12| 18 40 | 51 | 27 | 3
ACOC-30-12- M30x2 |ULL/16"X12| 22 4 | 535 | 27 | 32
ACOC-36-16- M36x2 |UL5/16"X12| 28 46 | 575 | 33 | 41
360G

.
s2 ADOD-0G
sz,// — INHil24° 5 22 4]
T IRy AT R 4 =
- METRIC MALE 24°H.T.
NEACH J/SAE MALE ADJUSTABLE STUD BRANCH
TEE
o 40 THREADE | ¥4M%f TUBE R <) DIMENSIONS

PART NO. E F O.Dp A B S1 S2
ADOD-14-04- | M14x15| U7/16'X20 | 6! 27 | 30 | 14 | 17
ADOD-16-06- | M16x1.5 | U9/16'X18 | 8 20 [333 | 17 | 19
ADOD-18-06- | M18xL5 | U9/16'X18 | 10 32 [ 335 ] 190 | 19
ADOD-20-08- | M20x15 | U3/4'X16 | 12 33 375 | 22 | 24
ADOD-22-10- | M22x1.5| U7/8'X14 | 14 33 | a4 | 22 | 27
ADOD-24-10- | M24xL5 | U7/8"X14 | 16 33 | 465 | 24 | 27
ADOD-30-12- M30x2 |UL1/16"X12| 20 40 | 535 | 27 | =32
ADOD-36-16- M36x2 | UL.5/16"X12| 25 46 | 575 | 33 | @
ADOD-42-20- M42x2 | UL5/8"'X12 | 30 57 | 595 | 44 | 50

above)

170G
Fok TR B R BRI WS 405 J5 RN, 41" ADOD-20-08-200G/RN" ([ )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is

necessary to insert suffix"RN" arter our part NO.,for example ADOD-20-08-200G/RN. ( the same with

-77 -




Hydraulic Adapters

. A
i 1CL-B
- ] | -
Y N HBREL24°% R A IFEMREUB Ak
g METRIC MALE 24°L.T./BSP BANJO
=2 240 THREADE | #T4M2 TUBE | m /it R I DIMENSIONS
PART NO. E 0.Dp BOLT A d D H
1CL-12-B02 | M12x1.5 61 720B-02 10 9.9 22 16
1CL-14-B04 | M14x1.5 8 720B-04 11 133 24 15
1CL-16-B04 | M16x1.5 10 720B-04 11 133 24 15
1CL-18-B06 | M18x1.5 12 720B-06 | 115 | 16.7 29 20
1CL-22-B08 | M22x1.5 15 720B-08 | 12.5 21 38 25
1CL-26-B08 | M26x1.5 18 720B-08 12 21 38 25
1CL-30-B12 M30x2 22 720B-12 14 26.5 46 31
N A
1DL-B
AU;%\ NHRS24° B RIS IR SR
4 METRIC MALE 24°H.T./BSP BANJO
=2 240  THREADE | F4M: TUBE | mfjizfe U I DIMENSIONS
PART NO. E 0.Dp BOLT A d D H
1DL-14-B04 | M14x1.5 61 720B-04 12 13.3 24 15
1DL-16-B04 | M16x1.5 8 720B-04 12 13.3 24 15
1DL-18-B06 | M18x1.5 10 720B-06 12 16.7 29 20
1DL-20-B06 | M20x1.5 12 720B-06 12 16.7 29 20
1DL-22-B08 | M22x1.5 14 720B-08 14 21 38 25
1DL-24-B08 | M24x1.5 16 720B-08 14 21 38 25
1DL-30-B12 M30x2 20 720B-12 16 26.5 46 31
BT R B N R E R R T T, S /2405 5 I "RN", 41" 1DL-20-BO6/RN" ([ 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DL-20-B06/RN. (the same with above)

-78 -



Hydraulic Adapters

\ A
H 1CL
il )
2 INHIIRS24 R A IR A K
) METRIC MALE 24°L.T./METRIC BANJO

fro 1224 THREADE | & T4M% TUBE i R s DIMENSIONS
PART NO. E 0.Dp BOLT A d ] H
1CL-12-10 | M12x1.5 6l 700M-10 | 10 10 22 13
1CL-14-12 | M14x1.5 8 700M-12 | 11 12 22 12
1CL-16-14 | M16x1.5 10 700M-14 | 11 14 24 14
1CL-18-16 | M18x1.5 12 700M-16 | 115 | 16 28 18
1CL-22-18 | M22x1.5 15 700M-18 | 125 | 18 36 22
1CL-26-22 | M26x1.5 18 700M-22 | 12 22 46 30

A
BN 1DL
J N THIMRL24°H R HIRSUB RS,
METRIC MALE 24°H.T./METRIC
BANJO
d

e ¥4 THREADE | & 74M% TUBE i e U~} DIMENSIONS
PART NO. E D BOLT A d D H
1DL-14-12 M14x1.5 6L 700M-12 | 12 12 22 12
1DL-16-14 M16x1.5 8 700M-14 | 12 14 24 14
1DL-18-16 M18x1.5 10 700M-16 | 12 16 28 18
1DL-20-18 M20x1.5 12 700M-18 | 12 18 36 22
1DL-22-18 M22x1.5 14 700M-18 | 14 20 36 22
1DL-24-22 M24x1.5 16 700M-22 | 14 22 46 30

FVEAN T R B LR BRSO WS EA S F RN, 41"1DL-22-18RN" ([F] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is
necessary to insert suffix"RN" arter our part NO.,for example 1DL-22-18RN. (the same with above)

- 79 -



Hydraulic Adapters

C A
720B
Y| BRI
BSP BOLT
S1
o 1240 THREADE R~ DIMENSIONS
PART NO. E A B C s1
720B-02 | G1/8"-28 295 | 48 5 14
720B-04 | G1/4"-19 285 6 6 19
720B-06 | G3/8"-19 385 9 7 22
720B-08 | G1/2"-14 44 13 | 85 27
720B-10 | G5/8"-14 485 | 15 10 30
720B-12 | G3/4"-14 56 18 10 32
720B-16 G1"-11 685 | 22 | 125 | 41
C A
N BHRIE R
METRIC BOLT
S1
R 1240 THREADE ' <F DIMENSIONS
PART NO. E A B C s1
700M-10 M10x1 19 5 6 14
700M-12 M12x1.5 24 6 6 17
700M-14 M14x1.5 26 8 7 19
700M-16 M16x1.5 28 9 7.5 22
700M-18 M18x1.5 32 11 8 24
700M-22 M22x1.5 39 14 9 27
700M-26 M26x1.5 45 18 10 32
700M-30 M30x2 51 2 | 1 38

-80-




Hydraulic Adapters

—/—

S1

NL

RERR RS

\Z RETAINING NUTS L.T.
e ¥4 THREADE | # 74M%  TUBE U~} DIMENSIONS
PART NO. E 0.Dp d S
NL-12 M12x1.5 6l 6 | 1%4
NL-14 M14x1.5 8 8 17
NL-16 M16x1.5 10 10 19
NL-18 M18x1.5 12 12 22
NL-22 M22x1.5 15 15 27
NL-26 M26x1.5 18 18 32
NL-30 M30x2 22 22 36
NL-33 M33x2 25 25 | 41
NL-36 M36x2 28 28 | 4
NL-52 M52x2 42 42 60

S1
ﬁL
— NS
REIZELE R

\Z RETAINING NUTS H.T.
fr 20  THREADE | & T4M% TUBE U~} DIMENSIONS
PART NO. E O.Dp d S
NS-14 M14x1.5 6l 6 | 17
NS-16 M16x1.5 8 8 19
NS-18 M18x1.5 10 10 22
NS-20 M20x1.5 12 12 24
NS-22 M22x1.5 14 14 27
NS-24 M24x1.5 16 16 30
NS-30 M30x2 20 20 36
NS-36 M36x2 25 25 | 46
NS-52 M52x2 38 38 60

-81-




Hydraulic Adapters

RL

KER RS
N7 CUTTING RING L.T.

RE B T4ME TUBE
PART NO. 0.Dp
RL-06 6l
RL-08 8
RL-10 10
RL-12 12
RL-15 15
RL-18 18
RL-22 22
RL-28 28
RL-35 35
RL-42 42
RS
REHRY
CUTTING RING H.T.
o H¥HME TUBE
PART NO. 0.Dp
RS-06 6l
RS-08 8
RS-10 10
RS-12 12
RS-14 14
RS-16 16
RS-20 20
RS-25 25
RS-30 30
RS-38 38

-82-



Hydraulic Adapters

K 7/ a
s/

1Q

K SMES 745 M
METRIC MALE 74°CONE

B I#40  THREADE U~} DIMENSIONS
PART NO. E A B s1 L
1Q-10 M10x1 12 12 12 30
1Q-12 M12x1.5 16 16 14 38
1Q-14 M14x1.5 17 17 17 40
1Q-16 M16x1.5 18 18 17 42
1Q-18 M18x1.5 18 18 19 42
1Q-22 M22x1.5 195 | 195 | 24 47
1Q-24 M24x1.5 20 20 | 27 49
1Q-27 M27x1.5 20 20 | 30 49
1Q-30 M30x1.5 23 23 | 32 56
1Q-30X2 M30x2 26 26 | 32 62
1Q-33 M33x2 26 26 | 36 63
1Q-36 M36x2 26 26 | 36 63
1Q-39 M39x2 26 26 | 4 64
1Q-42 M42x2 285 | 285 | 46 70
1Q-45 M45x2 285 | 285 | 46 70

-83-




Hydraulic Adapters

S1

4Q

NSRS A HMERS K
METRIC MALE 74°CONE PLUG

B 24, THREADE R~} DIMENSIONS
PART NO. E A s1 L
4Q-10 M10x1 12 12 18
4Q-12 M12x1.5 16 14 22
4Q-14 M14x1.5 17 17 23
4Q-16 M16x1.5 18 17 24
4Q-18 M18x1.5 18 19 24
4Q-22 M22x1.5 195 24 27
4Q-24 M24x1.5 20 27 29
4Q-27 M27x1.5 20 30 29
4Q-30 M30x1.5 23 32 33
4Q-30E M30x2 26 32 36
4Q-33 M33x2 26 36 37
4Q-36 M36x2 26 36 37
4Q-39 M39x2 26 4 38
4Q-42 M42x2 285 46 415
4Q-45 M45x2 285 46 415

-84 -




Hydraulic Adapters

6Q

a T
«2 ; NISMRET 4 SR B
METRIC MALE 74°CONE
BULKHEAD
S1
fRE 140  THREADE R <) DIMENSIONS
PART NO. E A B s1 L
6Q-10 M10x1 12 34 12 52
6Q-12 M12x1.5 16 38 14 60
6Q-14 M14x1.5 17 40 17 63
6Q-16 M16x1.5 18 41 17 65
6Q-18 M18x1.5 18 43 19 67
6Q-22 M22x1.5 195 | 44 24 71
6Q-24 M24x1.5 20 45 27 74
6Q-27 M27x1.5 20 48 30 77
6Q-30 M30x1.5 23 53 32 86
6Q-33 M33x2 26 55 36 92
6Q-36 M36x2 26 56 36 93
6Q-39 M39x2 26 58 41 96
6Q-42 M42x2 285 | 59 46 100.5
6Q-45 M45x2 285 | 60 46 101.5
LN R AR B, WAE AE A5 5 I LN, 116 Q-18LN;
Remark:In case if you are interested to order the adapter with lock nut,please insert
suffix"LN"after our part NO.,for example 6Q-18LN.

-85 -




Hydraulic Adapters

609

90° Al FMELL 7 A S AR 4 Sk
90°METRIC MALE 74°CONE
BULKHEAD

o IH4r  THREADE

PART NO. E

R s} DIMENSIONS

A B S1

6Q9-12 M12x1.5

25 56 11

6Q9-14 M14x1.5

29 56 14

6Q9-16 M16x1.5

30 58 17

6Q9-18 M18x1.5

33 62 19

6Q9-22 M22x1.5

37 64 22

6Q9-27 M27x1.5

40 72 27

6Q9-30 M30x1.5

40 72 27

6Q9-33 M33x2 49 82 33
6Q9-36 M36x2 46 82 33
6Q9-39 M39x2 57 88 44
6Q9-42 M42x2 57 88 44
6Q9-45 M45x2 55 96 50

F BN T ARET 07, B AE A S JE N LN", n6Q9-18LN;
Remark:In case if you are interested to order the adapter with lock nut,please insert
suffix"LN"after our part NO.,for example 6Q9-18LN.

- 86 -




Hydraulic Adapters

A B
— 10N
i
/w | | DN SNRLTT A° S A 4 SN
% W METRIC MALE 74°CONE/NPT MALE
ST
=2 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1 L

10QN-12-02 M12x1.5 71/8"X27 16 10 14 32
10QN-12-04 M12x1.5 Z1/4"X18 16 14 14 36
10QN-14-02 M14x1.5 71/8"X27 17 10 17 33
10QN-14-04 M14x1.5 Z1/4"X18 17 14 17 37
1QN-16-04 M16x1.5 71/4"X18 18 14 17 38
1QN-16-06 M16x1.5 Z3/8"X18 18 14 17 38
10QN-18-04 M18x1.5 71/4"X18 18 14 19 38
10QN-18-06 M18x1.5 Z3/8"X18 18 14 19 38
1QN-18-08 M18x1.5 Z1/2"X14 18 19 22 44
1QN-22-06 M22x1.5 Z3/8"X18 19.5 14 24 41

10QN-22-08 M22x1.5 Z1/2"X14 19.5 19 24 46
1QN-27-06 M27x1.5 Z3/8"X18 20 14 30 43
10QN-27-08 M27x1.5 Z1/2"X14 20 19 30 48
1QN-27-12 M27x1.5 Z3/4"X14 20 19.5 30 48.5
1QN-27-16 M27x1.5 Z1"X11.5 20 24 36 55
1QN-30-12 M30x2 Z3/4"X14 23 19.5 32 525
1QN-33-12 M33x2 Z3/4"X14 26 19.5 36 56.5
1QN-36-16 M36x2 Z1"X11.5 25 24 41 61
10QN-39-16 M39x2 Z1"X11.5 26 24 41 62
1QN-45-16 M45x2 Z1"X11.5 28.5 24 46 65.5
10QN-45-20 M45x2 |Z1.1/4"X11.5 28.5 25 46 66.5
10QN-45-24 M45x2 |Z1.1/2"X11.5 28.5 25 50 70.5
10QN-52-20 M52x2 |Z1.1/4"X11.5 30 25 55 72

-87 -



Hydraulic Adapters

N 1QN4

A5° A SNEREUT A S MHEIAT HEAE SPIRAL
45°METRIC MALE 74°CONE/NPT

A S1 MALE
fee 124 THREADE R <} DIMENSIONS
PART NO. E F A B s1
1QN4-12-02 | M12x1.5| Z1/8"X27 20 20 11
1QN4-14-02 | M14x1.5| Z1/8"X27 22 22 14
1QN4-14-04 | M14x1.5| Z1/4"X18 22 22 14
1QN4-16-06 | M16x1.5| Z3/8"X18 22 22 17
1QN4-18-06 | M18x1.5| Z3/8"X18 24 24 19
1QN4-22-08 | M22x1.5| Z1/2"X14 27 27 22
1QN4-27-08 | M27x1.5| Z1/2"X14 33 33 27
1QN4-27-12 | M27x1.5| Z3/4"X14 33 33 27
1QN4-30-12 | M30x1.5 | Z3/4"X14 37 37 33
1QN4-36-16 | M36x2 | Z1"X11.5 37 37 33
1QN4-39-16 | M39x2 | Z1"X11.5 40 40 44
1QN4-42-20 | M42x2 |Z1.1/4"X11.5 40 40 44

- 88 -



Hydraulic Adapters

60°

1QON9

—
} 90° A Il MRS T 4° HMFE AT HEE MRS
| 90°METRIC MALE 74°CONE/NPT
A % MALE

e 140  THREADE <) DIMENSIONS
PART NO. E F A B s1
1QN9-12-02 | M12x1.5 | Z1/8"X27 25 25 | 11
1QN9-12-04 | M12x1.5 | Z1/4"X18 29 27 | 14
1QN9-14-02 | M14x1.5 | Z1/8"X27 29 27 | 14
1QN9-14-04 | M14x1.5 | Z1/4"X18 29 27 | 14
1QN9-16-04 | M16x1.5 | Z1/4"X18 30 28 | 17
1QN9-16-06 | M16x1.5 | Z3/8"X18 30 28 | 17
1QN9-16-08 | M16x1.5 | Z1/2"X14 37 37 22
1QN9-18-04 | M18x1.5| Z1/4"X18 33 33 19
1QN9-18-06 | M18x1.5 | Z3/8"X18 33 33 19
1QN9-22-06 | M22x1.5 | Z3/8"X18 37 37 22
1QN9-22-08 | M22x1.5 | Z1/2"X14 37 37 22
1QN9-27-08 | M27x1.5 | Z1/2"X14 41 | 4 27
1QN9-27-12 | M27x1.5 | Z3/4"X14 41 41 27
1QN9-27-16 | M27x1.5 | Z1'X11.5 49 49 33
1QN9-30-12 | M30x1.5 | Z3/4"X14 40 40 27
1QN9-36-16 | M36x2 | Z1"X11.5 46 46 33
1QN9-39-16 | M39x2 | Z1"X11.5 57 57 44
1QN9-42-20 | M42x2 |Z1.1/4"X11.5 57 57 44
1QN9-45-16 | M45x2 | Z1'X11.5 55 55 44
1QN9-45-20 | M45x2 |Z1.1/4"X11.5 55 55 44
1QN9-45-24 | M45x2 |Z1.1/2"X11.5 60 57 55

-89 -



Hydraulic Adapters

il —— 1QT

KN HIHNRET A SMESEHEE SMREL

) |
N /MM METRIC MALE 74°CONE/BSPT MALE
s

=) i24; THREADE R~ DIMENSIONS
PART NO. E F A B st L

1QT-12-02 | M12x15| R1/8"X28 16 | 10 | 14 32
1QT-12-04 | M12x15| R1/4"X19 16 | 14 | 14 36
1QT-14-02 | M14x15| R1/8"X28 17 | 10 | 17 33
1QT-14-04 | M14x15| RL/4"X19 17 | 14 | 17 37
1QT-16-04 | M16x15| R1/4"X19 18 | 14 | 19 38
1QT-16-06 | M16x15| R3/8"X19 18 | 14 | 19 38
1QT-18-04 | M18x15| RL/4"X19 18 | 14 | 19 38
1QT-18-06 | M18x15| R3/8"X19 18 | 14 | 19 38
1QT-18-08 | M18x15| R1/2"X14 18 | 19 | 22 44
1QT-22-06 | M22x15| R3/8"'X19 195 | 14 | 24 41

1QT-22-08 | M22x15| R1/2"X14 195 | 19 | 24 46
1QT-27-06 | M27x15| R3/8"X19 20 | 14 | 30 43
1QT-27-08 | M27x15| R1/2"X14 20 | 19 | 30 48
1QT-27-12 | M27x15 | R3/4"X14 20 | 195 | 30 485
1QT-27-16 | M27x15| R1'X11 20 | 24 | 36 55
1QT-30-12 | M30x2 | R3/4"X14 23 | 195 | =2 525
1QT-33-12 | M33x2 | R3/4"'X14 26 | 195 | 36 56.5
1QT-36-16 | M36x2 | R1'X11 5 | 24 | 4 61
1QT-39-16 | M39x2 | R1'X11 26 | 24 | 4 62
1QT-45-16 | M45x2 | R1'X11 285 | 24 | 46 65.5
1QT-45-20 | M45x2 | R1.1/4"X11 285 | 25 | 46 66.5
1QT-45-24 | M45x2 | R1.1/2°X11 285 | 25 | 50 705
1QT-52-20 | M52x2 | R1.1/4°X11 30 | 25 | 55 72

-90 -



Hydraulic Adapters

60°

I —
] 1QT9
| 90° il SMREBLT 4° SR TR FMRLL
90°METRIC MALE 74°CONE/BSPT
A S1 MALE
o #240 THREADE R <+ DIMENSIONS
PART NO. E F A B S1
1QT9-12-02 | M12x1.5| R1/8"X28 25 25 11
1QT9-12-04 | M12x1.5| R1/4"X19 29 27 14
1QT9-14-02 | M14x1.5| R1/8"X28 29 27 14
1QT9-14-04 | M14x1.5| R1/4"X19 29 27 14
1QT9-16-04 | M16x1.5| R1/4"X19 30 28 17
1QT9-16-06 | M16x1.5| R3/8"X19 30 28 17
1QT9-16-08 | M16x1.5| R1/2"X14 37 37 22
1QT9-18-04 | M18x1.5 | Z1/4"X19 33 33 19
1QT9-18-06 | M18x1.5 | R3/8"X19 33 33 19
1QT9-22-06 | M22x1.5| R3/8"X19 37 37 22
1QT9-22-08 | M22x1.5| R1/2"X14 37 37 22
1QT9-27-08 | M27x1.5| R1/2"X14 41 41 27
1QT9-27-12 | M27x1.5| R3/4"X14 41 41 27
1QT9-27-16 | M27x1.5 R1"X11 49 49 33
1QT9-30-12 | M30x1.5 | R3/4"X14 40 40 27
1QT9-36-16 M36x2 R1"X11 46 46 33
1QT9-39-16 M39x2 R1"X11 57 57 44
1QT9-42-20 M42x2 | R1.1/4"X11 57 57 44
1QT9-45-16 M45x2 R1"X11 55 55 44
1QT9-45-20 M45x2 | R1.1/4"X11 55 55 44
1QT9-45-24 M45x2 | R1.1/2"X11 60 57 55

-91 -




Hydraulic Adapters

A B 1 Q B
AH WNHIHMERELT 4 AT SMERLL
) o 60° PN HE BN A iy [ 4H & V%

% g METRIC MALE 74°CONE/BSP MALE

_S_'I/ DOUBLE FOR 60 °SEAT BONDED

SEAL

fRE 1240 THREADE R <) DIMENSIONS
PART NO. E F A B s1 L

1QB-12-02 | M12x1.5| G1/8'X28 16 10 14 32
1QB-14-04 | M14x15| G1/4"X19 17 12 19 35
1QB-16-06 | M16x1.5| G3/8"X19 18 | 135 | 22 39
1QB-18-06 | M18x1.5| G3/8"X19 18 | 135 | 22 39
1QB-22-08 | M22x1.5| G1/2"'X14 195 | 16 27 44
1QB-24-10 | M24x1.5| G5/8"X14 20 | 175 | 30 46.5
1QB-27-12 | M27x1.5| G3/4"X14 20 | 185 | 32 48.5
1QB-30-12 | M30x1.5| G3/4"X14 23 | 185 | 32 515
1QB-30E-12 | M30x2 | G3/4"X14 26 | 185 | 32 545
1QB-33-16 M33x2 | G1'X11 26 | 205 | 4 58.5
1QB-39-16 M39x2 | G1'X11 26 | 205 | 41 58.5
1QB-45-20 M45x2 | G1.1/4"X11 285 | 205 | 50 66

-92-




Hydraulic Adapters

A B
T 1QG
) INHITA NSRS SRS O ]
METRIC 74°CONE/BSP MALE O-RING
St
foe 220 THREADE R~ DIMENSIONS
PART NO. E F A B Sl L
1QG-14-04 | M14x15 | G1/4"X19 17 12 17 35
1QG-16-06 | M16x1.5 | G3/8"X19 18 | 135 | 22 39
1QG-18-06 | M18x1.5| G3/8"X19 18 | 135 | 22 39
1QG-18-08 | M18x1.5 | G1/2"X14 18 16 27 43
1QG-22-08 | M22x1.5| G1/2"X14 195 | 16 27 44
1QG-27-12 | M27x15| G3/4"X14 20 | 185 | 32 485
1QG-30-12 | M30xL5 | GB3/4"X14 23 | 185 | 32 51.5
1QG-39-16 | M39x2 | GI1'X11 26 | 205 | 41 58.5
1QG-45-20 | M45x2 | G1.1/4"X11 285 | 205 | 50 66
F
= = 1QG9-0G
90° A il 74°H1ME/
G SRS O Bl T i [ A
\ 1N 90°METRIC 74°CONE/
A S1 BSP MALE O-RING ADJUSTABLE
STUD
fro 840  THREADE R~ DIMENSIONS
PART NO. E F A B s1 S2
1QG9-14- M14x1.5 | G1/4"X19 27 | 313 | 14 19
1QG9-16- M16x1.5| G3/8"X19 29 | 358 | 17 22
10G5-18-060 5 M18x15 | G3/8"X19 32 | 368 | 19 22
1QG9-18- M18x15| G1/2'X14 32 | 432 | 19 27
10G-22- M22x1.5| G1/2'X14 37 | 432 | 22 | 27
10Gb-27- M27x15 | G3/4"X14 41 | 493 | 27 | 32
10G3-30- M30x1.5 | G3/4"X14 40 | 52 27 | 32
14G3-30- M39x2 | G1'X11 57 | 58 | 44 | 41
10G3-45- M45x2 | G1.1/4"X11 55 63 | 44 | 50
200G

-03-



Hydraulic Adapters

< 1QH

W74 G FIAMREL

N METRIC 74°CONE/METRIC MALE
s1
o i24 THREADE R <+ DIMENSIONS
PART NO. E F A B s1 L
1QH-14-12 | M14x1.5 | M12x1.5 17 | 11 | 17 34
1QH-16-14 | M16x1.5 | M14x1.5 18 | 11 | 19 35
1QH-18-16 | M18x1.5 | M16x1.5 18 | 11 | 22 36
1QH-22-18 | M22x1.5 | M18x1.5 195 | 11 | 24 38
1QH-27-22 | M27x15 | M22x1.5 20 | 12 | 27 4
1QH-30-27 | M30x15 | M27x1.5 23 | 13 | 32 46
1QH-33-27 | M33x2 | M27x1.5 26 | 13 | 32 49
F

=y = 1QH9-0G

90° A il 74° 41/
O MR SR I 1) b g
,__\,< 90°METRIC 74°CONE/
A S1 METRIC MALE ADJUSTABLE
STUD
et 24 THREADE R <} DIMENSIONS

PART NO. E F A B s1 )

1QH9-14- M14x1.5 | M12x1.5 27 | 32 | 14 17

10M3-16- M16x1.5 | M14x1.5 29 | 355 | 17 19

10M3-18- M18x1.5 | M16x1.5 32 | 3 | 19 22

1OMG-22- M22x1.5 | M18x1.5 37 | 395 | 22 24

1OH9-27- M27x1.5 | M22x1.5 41 | 435 | 27 27

TOM3-30- M30x1.5 | M27x1.5 40 50 27 32

TOM8-33- M33x2 | M27x1.5 49 | 52 33 32

TOM3-36- M36x2 | M33x2 49 | 54 33 41

TOMD-39- M39x2 | M33x2 57 | 572 | 44 | 4

TOHD-45- M45x2 | M42x2 55 61 | 44 | 50
420G

-94 -



Hydraulic Adapters

1

) |
A
J

10M

WHISNERELITA HME A I SMERS
60° A HE SIS A i 1 20 6 2
METRIC MALE 74°CONE/METRIC

MALE

DOUBLE FOR 60°SEAT BONDED

s1
SEAL
fo 240 THREADE R~ DIMENSIONS
PART NO. E F A B S1 L
1QM-12 M12x1.5 | M12x1.5 16 10 17 34
1QM-14 M14x1.5 | M14x1.5 17 11 19 36
1QM-14-12 | M14x1.5| M12x15 17 10 17 35
1QM-14-16 | M14x1.5| M16x1.5 17 12 22 38
1QM-16 M16x1.5 | M16x1.5 18 12 22 39
1QM-16-14 | M16x1.5 | M14x1.5 18 11 19 37
1QM-18 M18x1.5 | M18x1.5 18 12 24 40
1QM-18-16 | M18x1.5| M16x1.5 18 12 22 39
1QM-22 M22x1.5 | M22x1.5 195 | 14 27 445
1QM-22-18 | M22x1.5| M18x1.5 195 | 12 24 39

-905 -




Hydraulic Adapters

- B 1Q0
AH INHISMRET A S
) SAESMREZLOT! el
% METRIC MALE74°CONE/
SAE MALE O-RING
foe 240  THREADE R~ DIMENSIONS
PART NO. E F A B s1 L
1Q0-16-06 | M16x1.5 | U9/16"X18 18 | 12 | 17 36
1Q0-18-08 | M18x15 | U3/4"X16 18 12 | 22 37
1Q0-22-10 | M22x1.5| U7/8'X14 195 | 135 | 27 42
1Q0-27-12 | M27x1.5 | U1.1/16"X12 20 | 16 | 32 46
1Q0-30-12 | M30x1.5 | U1.1/16"X12 23 | 16 | 32 49
1Q0-33-16 | M33x2 |U1.5/16"X12 26 | 17 | 41 55
1Q0-39-16 | M39x2 |U1.5/16"X12 26 | 17 | 41 55
1Q0-42-20 | M4d2x2 | U1.5/8"X12 285 | 18 | 50 63.5
E
2 % 1Q09-0G
.% ‘ 90° L il SMRLL 7 4° S/
SAESMRZIOR ]
){/ 90°METRIC MALE74°CONE/
] SAE MALE O-RING ADJUSTABLE
A S STUD
e #2240  THREADE U ~I DIMENSIONS
PART NO. E F A B St | s2
1Q09-16- M16x1.5 | U9/16"X18 30 | 318 | 17 | 19
1009-18- M18x1.5 | U3/4"X16 37 | 368 | 22 | 24
1009-22- M22x15 | U7/8"X14 37 | 4 | 22 | 27
1Q0%-27- M27x1.5 | U1.1/16"X12 4 | 51 | 27 | 32
1G03-30- M30x1.5 | U1.1/16"X12 40 | 53 | 27 | 32
1009-33- M33x2 |U1.5/16"X12 49 | 545 | 33 | 4
1003-39- M39x2 |U1.5/16"X12 49 | 595 | 44 | 41
1309-42- M42x2 | U1.5/8"X12 49 | 59 | 44 | 50
200G

- 96 -




Hydraulic Adapters

209

] | 90° Al MRELT 41 4E/
L NIRST4° A HE
90°METRIC MALE

\-gr 74°CONE/METRIC
FEMALE 74 °SEAT

e I#4  THREADE /U~ DIMENSIONS
PART NO. E A C s1 s2
2Q9-14 M14x1.5 29 9 14 | 19
2Q9-16 M16x1.5 30 | 95 | 17 22
2Q9-18 M18x1.5 33 | 95 | 19 24
2Q9-22 M22x1.5 37 10 2 | 27
2Q9-27 M27x1.5 41 | 105 | 27 | 32
2Q9-30 M30x1.5 40 | 115 | 27 | 36
2Q9-33 M33x2 49 | 145 | 33 | 41
2Q9-36 M36x2 46 | 135 | 33 | 41
2Q9-39 M39x2 57 | 135 | 44 | 46
2Q9-45 M52x2 55 | 155 | 44 | 55
E

st A
y _ <
(> wm <> ABISMRETASE =i
RE 5]
\I_" MLI\ETRIC MALE 74°CONE TEE

A A
) I#4  THREADE U~} DIMENSIONS
PART NO. E A S
AQ-14 M14x1.5 27 114
AQ-16 M16x1.5 29 17
AQ-18 M18x1.5 32 19
AQ-22 M22x1.5 33 22
AQ-27 M27x1.5 40 27
AQ-30 M30x1.5 40 27
AQ-33 M33x2 49 33

-97-



Hydraulic Adapters

S
L2

)
s

L

AQHOQ-0OG

RHISMREL 745 M
R e A 3 2 S =3
METRIC MALE74°CONE/

A \§1 A ADJUSTABLE STUD
BRANCH TEE
o #24 THREADE O#![E R I DIMENSIONS
PART NO. E F ORING | A B | st | s
AQHQ-14-12- | M14xL5 | M12x15 93x24 | 27 | 32 | 14 | 17
AQHO-16-14- | M16xL5 | M14xL5 113x2.4 | 29 | 355 | 17 | 19
AQHO-18-16- | M18xL5 | M16xL5 13324 | 32 | 36 | 19 | 22
AQHO-22-18- | M22xL5 | M18xL5 153x2.4 | 33 | 395 | 22 | 24
AQHQ-27-22- | M27xL5 | M22x1.5 193x2.4 | 40 | 435 | 27 | 27
AQHQ-30-27- | M30x1.5 | M27xL.5 235x3 | 40 | 50 | 27 | 32
AQHO-33-27- M33x2 | M27x1.5 235x3 | 49 | 52 | 33 | 32
AQHO-36-33- M36x2 | M33x2 295x3 | 46 | 54 | 33 | 41
AQHO-39-33- M39x2 | M33x2 295x3 | 57 | 572 | 44 | 41
S906G
E
7P
S AQQH-0OG
)| e
A RIMELTA SN
\ L A 9 3 S
METRIC MALE74°CONE/
x St—p ADJUSTABLE STUD
RUN TEE
e 240 THREADE Ol R = DIMENSIONS
PART NO. E F ORING | A B | s1 | s
AQQH-14-14- | M14x15 | M12xL5 93x2.4 | 27 | 32 | 14 | 17
AQOU-16-16- | M16x1.5 | M14x15 113x2.4 | 29 | 355 | 17 | 19
AQOL-18-18- | M18X1.5 | M16xL5 133x2.4 | 32 | 36 | 19 | 22
AQQW-22-22- | M22x1.5 | M18x15 153x2.4 | 33 | 395 | 22 | 24
AQOL-27-27- | M27x1.5 | M22x1.5 193x2.4 | 40 | 435 | 27 | 27
AQON-30-30- | M30XL5 | M27x15 235x3 | 40 | 50 | 27 | 32
AQOL-33-33- M33x2 | M27x1.5 235x3 | 49 | 52 | 33 | 32
AQOLH-36-36- M36x2 | M33x2 295x3 | 36 | 54 | 33 | 41
AQOL-39-39- M39x2 | M33x2 295x3 | 57 | 572 | 44 | 41

330G

- 08 -




Hydraulic Adapters

1K

H A2 1l SR S60° 5 M

%z % JIS METRIC MALE60° CONE
st/
o 220 THREADE ' < DIMENSIONS
PART NO. E A B S1 L
1K-14 M14x1.5 17 17 17 40
1K-16 M16x1.5 18 18 17 42
1K-18 M18x1.5 18 18 19 42
1K-20 M20x1.5 20 20 22 47
1K-22 M22x1.5 20 20 24 48
1K-24 M24x1.5 215 21.5 27 52
1K-30 M30x1.5 26 26 32 62
1K-33 M33x1.5 30 30 36 71
1K-36 M36x1.5 33 33 41 78
1K-42 M42x1.5 36 36 46 85
="
@— 2K9
90° H A il R4 60° 41
90°JIS METRIC MALE60° CONE
A S1
fo 240 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
2K9-14 M14x1.5 | M14x1.5 29 12 14 19
2K9-16 M16x1.5 | M16x1.5 30 9.5 17 22
2K9-18 M18x1.5 | M18x1.5 33 11 19 24
2K9-22 M22x1.5 | M22x1.5 37 14 22 27
2K9-24 M24x1.5 | M24x1.5 37 135 24 32
2K9-30-24 M30x1.5 | M24x1.5 40 135 27 32
2K9-30 M30x1.5 | M30x1.5 40 20 27 36
2K9-33 M33x1.5 | M33x1.5 49 20.5 33 41

- 99 -




Hydraulic Adapters

4K

HA 2 il S MRS60° /MR Sk
JIS METRIC MALE60° CONE PLUG

St

= I#20  THREADE R~} DIMENSIONS
PART NO. E A s1 L

4K-14 M14x1.5 17 14 23

4K-16 M16x1.5 18 17 24

4K-18 M18x1.5 18 19 24

4K-20 M20x1.5 20 22 27

4K-22 M22x1.5 20 24 28

4K-24 M24x1.5 215 27 30

4K-30 M30x1.5 26 32 36

4K-33 M33x1.5 30 36 41

S2
/2
7
% A Al AR HE60°
JIS METRIC FEMALE 60 °SEAT
4 PLUG

e I#2  THREADE U~} DIMENSIONS
PART NO. E C S1 S2

9K-14 M14x1.5 12 19 19

9K-16 M16x1.5 95 | 19 22

9K-18 M18x1.5 1 24 24

9K-22 M22x1.5 14 27 27

9K-24 M24x1.5 135 | 32 32

9K-30 M30x1.5 20 36 36

9K-33 M33x1.5 205 | 41 41

- 100 -



Hydraulic Adapters

A B
T IH T 1KN
) | H A 23 il S MR SL60° F1E/ A 4E AR S
% JIS METRIC MALE 60°CONE/NPT
MALE
F
S1
B 4. THREADE ] s} DIMENSIONS
PART NO. E F A B s1 L
1KN-14-04 | M14x1.5 | Z1/4"X18 17 14 14 37
1KN-14-06 | M14x1.5| Zz3/8"X18 17 14 17 37
1KN-16-06 | M16x1.5| Z3/8"X18 18 14 17 38
1KN-18-06 | M18x1.5| Z3/8"'X18 18 14 19 38
1KN-20-06 | M20x1.5 | Z3/8"X18 20 14 22 41
1KN-22-06 | M22x1.5 | Z3/8"X18 20 14 24 | 42
1KN-22-08 | M22x1.5| Z1/2'X14 20 19 24 | 47
1KN-24-12 | M24x1.5 | Zz3/4"X14 215 | 195 | 27 50
1KN-30-12 | M30x1.5 | Z3/4"X14 26 | 195 | 32 | 555
1KN-33-16 | M33x1.5| Z1'X115 30 | 24 36 65
1KN-36-20 | M36x1.5 |Z1.1/4"X11.5 33 | 25 46 71
1KN-42-24 | M42x1.5 |Z1.1/2"'X11.5 36 | 25 50 78
L
: : 1KM
-
l H A A il SMRSL60° 4 M/
| AAHISMBRLI60°5 4 B4 7 e
4y, 72 JIS METRIC MALE60° CONE/
% ’ METRIC MALE 60° CONE BONDED
/ SEAL
s1
B BALL R <} DIMENSIONS
PART NO. TEHREADE F A B s1 L
1KM-14-12 | M14x1.5 | M12x15 17 10 17 35
1KM-14 M14x15 | M14x1.5 17 11 19 36
1KM-22-16 | M22x1.5 | M16x1.5 20 12 22 41
1KM-22-18 | M22x1.5 | M18x1.5 20 12 24 | 42
1KM-22 M22x1.5 | M22x1.5 20 14 27 45

- 101 -



Hydraulic Adapters

A B
iNinEE 1KT
H AR 2 il SMRESL60 /el SRS
N JIS METRIC MALE60°CONE/BSPT
MALE
F
S1
= 124 THREADE R <F DIMENSIONS
PART NO. E F A B s1 L
1KT-14-04 | M14x1.5| R1/4"X19 17 14 | 17 37
1KT-16-06 | M16x1.5| R3/8"X19 18 14 | 19 38
1KT-18-06 | M18x1.5| R3/8"X19 18 14 | 19 38
1KT-22-06 | M22x1.5| R3/8"X19 20 14 24 | 42
1KT-22-08 | M22x1.5| R1/2"X14 20 19 | 24 | 47
1KT-30-12 | M30xL.5 | R3/4"X14 26 | 195 | 32 | 555
1KT-33-16 | M33x1.5| R1"X11 30 | 24 36 | 65
1KT-36-20 | M36x1.5 | R1.1/4"X11 33 | 25 46 | 71
1KT-42-24 | M42x15 | R1.1/2"X11 36 | 25 50 | 78
L
i B 1KH
|
H A il S MR SL60° S HHES
277 NHIAMRLUE 25
JIS METRIC MALEG60°
% CONE/METRIC MALE
S-SERIES
S1
R 240 THREADE R~ DIMENSIONS
PART NO. E F A B s1 L
1KH-14-12 | M14x15 | M12x15 17 11 17 34
1KH-14 M14x1.5 | M14x1.5 17 11 19 34
1KH-16-14 | M16x1.5 | M14x15 18 11 19 35
1KH-18-14 | M18x1.5 | M14x1.5 18 11 19 35
1KH-18-16 | M18x1.5 | M16x1.5 18 11 22 36
1KH-18-20 | M18x1.5 | M20x1.5 18 12 27 39
1KH-20-18 | M20x1.5 | M18x1.5 20 | 11 24 39
1KH-22-20 | M22x1.5 | M20x1.5 20 | 12 27 41
1KH-24-20 | M24x1.5 | M20x1.5 215 | 12 27 42
1KH-24-22 | M24x15 | M22x1.5 215 | 12 27 42
1KH-30-27 | M30x1.5 | M27x1.5 26 | 13 32 49

-102 -




Hydraulic Adapters

B

1KH9-0OG

90° H A A il #MEL60° 4P E/

PR SMREUAT R [
/ _){& 90°JIS METRIC MALE 60°CONE/
METRIC ALE ADJUSTABLE
A = STUD
1o 240 THREADE O R ~I DIMENSIONS

PART NO. E F ORING| A B s1 | s2

1KH9-14- M14x1.5 | M12x1.5 9.3x24 | 27 [335 | 14 | 17

"1KH9-1406G | M14x15 | M14x1.5 11.3x2.4 | 27 | 345 | 14 | 19

1KH9-16- M16x1.5 | M14x1.5 11.3x24 | 29 | 355 | 17 | 19

1KHS-18- M18x1.5 | M14x15 11.3x24 | 32 | 375 | 19 | 19

1KFS-18- M18x1.5 | M16x1.5 133x2.4 | 32 | 395 | 19 | 22

1KHS-18- M18x1.5 | M20x1.5 173x24 | 37 | 44 | 22 | 27

1KHS-20- M20x1.5 | M18x1.5 153x2.4 | 37 | 425 | 22 | 24

1KHS-22- M22x1.5 | M20x1.5 173x24 | 37 | 455 | 22 | 27

1KHS-24- M24x1.5 | M20x1.5 17.3x24 | 37 | 471 | 24 | 27

1KHS-24- M24x1.5 | M22x1.5 193x24 | 37 | 47 | 24 | 27

1KF18-30- M30x1.5 | M27x1.5 235x3 | 40 | 57 | 27 | 32

“'IKFI9-330G | M33x1.5 | M33x15 295x3 | 49 | 59 | 33 | 41

1KH9-36- M36x1.5 | M33x1.5 295x3 | 46 | 605 | 33 | 41
330G

- 103 -




Hydraulic Adapters

- : 1KG
— |
H A A HIFMEREI60 oM E
JEE HMRIIOA! ]
4 %%/ JS METRIC MALE
- 60°CONE/ BSP MALE
O-RING
S1
foe I#40 THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1KG-14-04 M14x1.5| G1/4"X19 17 12 19 35
1KG-14-06 M14x1.5| G3/8"X19 17 135 22 38
1KG-16-06 M16x1.5 | G3/8"X19 18 135 22 39
1KG-18-06 M18x1.5| G3/8"X19 18 135 22 39
1KG-22-08 M22x1.5 | G1/2"X14 20 16 27 45
1KG-30-12 M30x1.5 | G3/4"X14 26 18.5 32 54.5
1KG-33-12 M33x1.5 | G3/4"X14 30 185 36 59.5
1KG-33-16 M33x1.5 G1"'X11 30 205 41 62.5
F
S2 —
| =3 1KG9-0OG
y
‘ 90° H A A il SMELL60°/
W _5{/ S AR SO Pl 1T U 1 A
90°JIS MERIC MALE/
A St BSP MALE O-RING ADJUSTABLE
STUD
RE 1240 THREADE JA I DIMENSIONS
PART NO. E F A B S1 S2
1KG9-14- M14x1.5| G1/4"X19 29 31.3 14 19
gﬁ%3-14- M14x1.5| G3/8"X19 30 35.8 17 22
g&%kgj-lﬁ- M16x1.5| G3/8"X19 30 35.8 17 22
L{%Lég-l& M18x1.5| G3/8"X19 33 37 19 22
EK%B-ZZ- M22x1.5 | G1/2"X14 37 43.2 22 27
8&%3-24- M24x1.5 | G1/2"X14 37 46 24 27
kJJ.ﬁ(()Bng-24- M24x1.5 | G3/4"X14 41 49.3 27 32
iﬁ%%-so- M30x1.5 | G3/4"X14 40 53 27 32
iﬁ%S-SS- M33x1.5 G1"X11 49 53 33 41
i&%3-42- M42x1.5 | G1.1/4"X11 57 59 44 50
200G

- 104 -



Hydraulic Adapters

E

i

N

/|| | s

AK

e I A BIAMBAC60°5 b =3
- %IESEMETRIC MALEG60° CONE
A \st A
] 140 THREADE U~/ DIMENSIONS
PART NO. E A s1
AK-14 M14x1.5 27 14
AK-16 M16x1.5 29 17
AK-18 M18x1.5 32 19
AK-22 M22x1.5 33 22
AK-24 M24x1.5 33 24
AK-30 M30x1.5 40 27
AK-33 M33x1.5 49 33
F S2
| t BK
2 % 7 H A A 42 S160° 4 Mk
H A i N BRET60 A HE 7y 52 =3
v JIS METRIC MALE60° CONE/
\s1 JIS METRIC FEMALE 60°SEAT BRANCH
A A TEE
e I#4 THREADE JU <} DIMENSIONS
PART NO. E F A C s1 S2
BK-14 M14x1.5 | M14x1.5 27 12 14 19
BK-16 M16x1.5 | M16x1.5 29 | 95 | 17 22
BK-18 M18x1.5 | M18x1.5 32 11 19 24
BK-22 M22x1.5 | M22x1.5 33 14 22 27
BK-24 M24x1.5 | M24x1.5 33 | 135 | 24 | 32
BK-30 M30x1.5 | M30x1.5 40 20 | 27 | 36
BK-33 M33x1.5 | M33x1.5 49 | 205 | 33 | 4

- 105 -




Hydraulic Adapters

AKKG-0OG

H A A | MRS S5 Mg
j \ lL LO T 8 6 =
R \5_1 o JIS METRIC MALE/BSP MALE O-
RING RUN TEE ADJUSTABLE
STUD
e 220  THREADE U~} DIMENSIONS
PART NO. E F A B s1 | s2
AKKG-14-14- | M14x15| GL/4"X19 27 | 313 | 14 | 19
AKKG-14-14- | M14xL5| G3/8"X19 29 | 358 | 17 | 22
AKKG-16-16- | M16x1.5| G3/8"X19 29 | 358 | 17 | 22
AKKG-18-18- | M18x1.5| G3/8"X19 2 | 37 | 19 | 22
AKKG-22-22- | M22xL5 | G1/2"X14 33 | 432 | 22 | 27
AKKG-24-24- | M24xL5 | GL/2"X14 33 | 46 | 24 | 27
AKKG-24-24- | M24x15| G3/4"X14 40 | 493 | 27 | 32
AKKG-30-30- | M30xL15| G3/4"X14 40 | 53 | 27 | 32
AKKG-33-33- | M33x15| G1°X11 49 | 53 | 33 | 41

100G

- 106 -




Hydraulic Adapters

E

@Td

%

| »
m(
H

AKKH-0OG

HAR A I SMERS60 2 il A1
WREC AT [ A o S 0l
JIS METRIC MALE

A 60°CONE/ ADJUSTABLE
B STUD RUN TEE
s 24 THREADE ORI ]I ~f DIMENSIONS
PART NO. E F ORING| A | B | st | s
AKKH-14-14- | M14xL5 | M12x15 9324 | 27 | 335 | 14 | 17
T AKKH-140G | M14x15 | M14xL5 113x2.4 | 27 | 345 | 14 | 19
AKKH-16-16- | M16x15 | M14x15 113x24 | 29 | 355 | 17 | 19
AKKF-18-18- | M18xL5 | M16xL5 133x2.4 | 32 | 395 | 19 | 22
AKKH-18-18- | M18x1.5 | M20xL5 17324 | 33 | 44 | 22 | 27
AKKH-20-20- | M20xL5 | M18x1.5 153x24 | 33 | 425 | 22 | 24
AKKH-22-22- | M22x1.5 | M20xL.5 17.3x24 | 33 | 455 | 22 | 27
AKKH-24-24- | M24x15 | M20xL.5 173x2.4 | 33 | 47 | 24 | 27
AKKH-24-24- | M24x15 | M22x1.5 193x24 | 33 | 47 | 24 | 27
AKKH-30-30- | M30xL5 | M27xL5 235x3 | 40 | 57 | 27 | =2
“""AKKH-330G | M33x1.5 | M33x1.5 205x3 | 49 | 59 | 33 | 41
AKKH-36-36-330[GM36x1.5 | M33x1.5 205x3 | 46 | 605 | 33 | 41
F
= AKGK-OG
Y
= 2 A AR A1 48
SO Fl my 1A [ #4352 =3
\ JIS METRIC MALE/BSP MALE O-
A \& R RING ADJUSTABLE STUD
BRANCH TEE
re J24  THREADE ] <} DIMENSIONS
PART NO. E F Al B | st s
AKGK-14-04- | M14x15| GL/4"X19 27 | 313 | 14 | 10
AKGK-14-06- | M14x15| G3/8'X19 20 | 358 | 17 | 22
AKGK-16-06- | M16x15| G3/8'X19 20 | 358 | 17 | 22
AKGK-18-06- | M18xL5| G3/8'X19 2 | 37 | 19 | 2
AKGK-22-08- | M22x15| G1/2'14 33 | 432 | 22 | 27
AKGK-24-08- | M24xL5| G1/2'X14 33 | 46 | 24 | 27
AKGK-24-12- | M24x15| G314 40 | 493| 27 | 32
AKGK-30-12- | M30xL5| G3/4'x14 40 | 53 | 27 | 32
AKGK-33-16- | M33x15| GIX11 49 | 53 | 33 | a4

330G

- 107 -




Hydraulic Adapters

S2

AKHK-OG

H A il SMERELI60 HMHES 23 il S
WRSL AT ) e i o S =3

\ JIS METRIC MALE
\& 60°CONE/ ADJUSTABLE
A A
STUD BRANCHTEE
R 124 THREADE fo%itl R <+ DIMENSIONS
PART NO. E F ORING| A B | s1 | s2
AKHK-14-12- | M14x15 | M12x15 93x24 | 27 | 335 | 14 | 17
TTAKHK-140G | M14x1.5 | M14x15 11324 | 27 | 345 | 14 | 19
AKHK-16-14- | M16x15 | M14x1.5 113x24 | 29 | 355 | 17 | 19
AKHK-18-14- | M18x15 | M14x15 113x24 | 32 | 375 | 19 | 19
AKHK-18-16- | M18x15 | M16x15 133x2.4 | 32 | 395 | 19 | 22
AKHK-18-20- | M18x15 | M20x15 173x24 | 33 | 44 | 2 | 27
AKHK-20-18- | M20x1.5 | M18x1.5 153x2.4 | 33 | 425 | 22 | 24
AKHK-22-20- | M22x1.5 | M20x1.5 173x24 | 33 | 455 | 22 | 27
AKHK-24-20- | M24x1.5 | M20x1.5 173x2.4 | 33 | 47 | 24 | 27
AKHK-24-22- | M24x1.5 | M22x1.5 193x24 | 33 | 47 | 24 | 27
AKHKR-30-27- | M30x15 | M27x15 235x3 | 40 | 57 | 27 | 32
SUUG

AKHK-330G | M33x1.5 | M33x1.5 295x3 | 49 | 59 | 33 | a1

- 108 -




Hydraulic Adapters

1@ A

wl

1V

D | A ELTA
% D 7A BA74° N HETH
METRIC FEMALE 74°CONE SEAT
o 24 E THREADE R~ ~F DIMENSIONS
PART NO. E A S L
1v-14 M14X1 5 8 14 22
1V-16 M16X1 S 85 17 23
1v-18 M18X1 5 85 19 23
1v-22 M22X1°5 9 24 26
1v-27 M27X1 5 85 30 26
1v-30 M30X1 5 8 32 26
1V-36 M36X2 9 41 30
1V-39 M39X2 9 41 30
1V-45 M45X2 9 46 31
1v-52 M52x2 9 55 35
1V-64 M6 4X2 19 65 41

1VT

W HISMRELT A P HETH SEHEE SMRL
METRIC FEMALE 74°CONE SEAT/BSPT

A 22 E THREADE R ~f DIME@SIONS

PARTNO. | w141 5 F A 8 14 28
1VT-14-04 M1BX1 5 2G1/4"-19 35 14 19 28 5
1VT-18-06 M22%1 5 ZG3/8"-19 9 19 24 36
1VT-22-08 M30X1 5 ZG1/2"-14 8 195 32 375
1VT-30-12 M39X2 7G3/4"-14 24 a1 45
1VT-39-16 M45X2 ZG1"11 g 46 47
1VT-45-20 MS2X2 7G1.1/4"-11 25 55 51
1VT-52-24 MEAX2 ZG1.1/2"-11 el 39 65 58
1VT-64-32 zG2"-11 2

- 109 -




Hydraulic Adapters

i

i

2 s
s/

1S

H A 928 SMRLI60°4 1M
JIS GAS MALE 60°CONE

e I#40 THREADE U~} DIMENSIONS
PART NO. E A s1 L
1S-04 G1/4"X19 15 14 36
1S-06 G3/8"X19 16 17 38
1S-08 G1/2"X14 19 22 45
1S-12 G3/4"X14 23 30 55
1S-16 G1"X11 25 36 61
1S-20 G1.1/4"X11 29 46 71
1S-24 G1.1/2"X11 30 50 77
1S-32 G2'X11 35 70 88

L
A
mimi 4S5
H A9 SR AL60° HMHER: Sk
JIS GAS MALE 60°CONE PLUG
s1

e %4  THREADE R~} DIMENSIONS
PART NO. E A s1 L
45-04 G1/4"X19 15 14 21
4S-06 G3/8"X19 16 17 22
43-08 G1/2"'X14 19 22 26
48-12 G3/4"X14 23 30 32
4S-16 G1"X11 25 36 36
4S-20 G1.1/4"X11 29 46 42
4s-24 G1.1/2"X11 30 50 47
48-32 G2'X11 35 70 53




Hydraulic Adapters

B

9S

HARTE A IRE060° A #E K
JIS GAS FEMALE 60°SEAT PLUG

C
fo W24 THREADE R~ DIMENSIONS
PART NO. E c Sil S2

9s-04 G1/4"X19 8 17 19

9S-06 G3/8"X19 8.5 19 22

9s-08 G1/2"X14 10.5 22 27

9s-12 G3/4"X14 14 32 32

9S-16 G1"X11 14.5 36 41

9S-20 G1.1/4"X11 16 50 50

9s-24 G1.1/2"X11 18 55 55

9s-32 G2"X11 24 70 70

L
A B
(R T 05
\ H A4 HMESI60°4ME I Az Sk
[//% Z JIS GAS MALE 60°CONE
J BULKHEAD
s1
] I#4 THREADE JU <} DIMENSIONS
PART NO. E A B S1 L

6S-04 G1/4"X19 15 32 19 53

6S-06 G3/8"X19 16 36 22 59

6S-08 G1/2"X14 19 40 27 68

6S-12 G3/4"X14 23 41 32 74

6S-16 G1"X11 25 45 41 82
VBN A R B, TS AE LS S5 N "LN", 216 S-04LN,;
Remark:In case if you are interested to order the adapter with lock nut,please insert
suffix"LN"after our part NO.,for example 6S-04LN.

-111 -




Hydraulic Adapters

B

1

=

—

) |
& %

1ST

H A48 HMRL60° S ML HERE S MRS

JIS GAS MALE 60°CONE/BSPT MALE

e I#40 THREADE JU <} DIMENSIONS
PART NO. E F A B s1 L
1ST-04 G1/4"X19 | R1/4"X19 15 14 | 17 35
1ST-04-02 G1/4"X19 | R1/8"X28 15 10 17 31
1ST-04-06 G1/4"X19 | R3/8"X19 15 14 | 19 35
1ST-04-08 Gl/4"X19 | R1/2"'X14 15 19 22 41
1ST-06 G3/8"X19 | RS3/8"X19 16 14 | 19 36
1ST-06-04 | G3/8"X19 | R1/4"X19 16 14 | 19 36
1ST-06-08 | G3/8"X19 | R1/2"X14 16 19 22 42
1ST-08 G1/2"X14 | R1/2"X14 19 19 22 45
1ST-08-04 | G1/2"X14 | RL/4"X19 19 14 22 40
1ST-08-06 G1/2'X14 | R3/8"X19 19 14 22 40
1ST-08-12 G1/2'X14 | R3/4"X14 19 | 195 | 27 475
1ST-12 G3/4"X14 | R3/4"X14 23 | 195 | 30 51.5
1ST-12-08 G3/4"X14 | R1/2"'X14 23 | 19 30 51
1ST-12-16 G3/4"X14 R1"X11 23 24 | 36 58
1ST-16 G1"X11 R1"X11 25 24 | 36 60
1ST-16-12 G1'X11 | R3/4"X14 25 | 195 | 36 55.5
1ST-20 G1.1/4"X11 | R1.1/4"X11 29 25 | 46 67
1ST-24 G1.1/2"X11 | R1.1/2"X11 30 25 | 50 68
1ST-32 G2'X11 R2"X11 35 29 | 70 81

-112 -




Hydraulic Adapters

1ST4

45° H ATLE HMELI60°
ANHEITERE T AMIZ S
45°JIS GAS MALE 60°
CONE/BSPT MALE

o 247 THREADE R <} DIMENSIONS
PART NO. E F A B s1
1ST4-04 G1/4"X19 | R1/4"X19 22 | 22 | 14
1ST4-04-02 | G1/4"X19 | R1/8"X28 22 | 22 | 14
1ST4-04-06 | G1/4"X19 | R3/8"X19 2 | 22 | 17
1ST4-04-08 | G1/4"X19 | R1/2"'X14 27 | 271 | 22
1ST4-06 G3/8"X19 | R3/8"X19 2 | 22 | 17
1ST4-06-04 | G3/8"X19 | R1/4"X19 2 | 22 | 17
1ST4-06-08 | G3/8"X19 | R1/2"X14 27 | 27 | 22
1ST4-08 G1/2'X14 | R1/2"X14 27 | 271 | 22
1ST4-08-06 | G1/2"X14 | R3/8"X19 27 | 27 | 22
1ST4-12 G3/4"X14 | R3/4"X14 33 | 33 | 27
1ST4-12-08 | G3/4"X14 | R1/2"X14 33 | 33 | 27
1ST4-16 G1"X11 R1"X11 37 | 37 | 33
1ST4-16-12 G1'X11 | R3/4"X14 37 | 37 | 33
1ST4-20 | G1.1/4"X11 | R1.1/4"X11 2 | 40 | 44
1ST4-24 | G1.1/2"X11 | R1.1/2"X11 47 | a7 | s3
1ST4-32 G2"X11 R2"X11 55 | 55 | 65

- 113 -




Hydraulic Adapters

60°

Y

F

1ST9

90° H A gL #MZEL60°

~<H g& HMEEIIEHE S SMIRSL
— 90°JIS GAS MALE 60°
A 51 CONE/BSPT MALE
R 14 THREADE X <} DIMENSIONS
PART NO. E F A B S1
1ST9-04 G1/4"X19 R1/4"X19 29 27 14
1ST9-04-02 G1/4"X19 R1/8"X28 29 27 14
1ST9-04-06 G1/4"X19 R3/8"X19 29 30 17
1ST9-06 G3/8"X19 R3/8"X19 30 28 17
1ST9-06-04 G3/8"X19 R1/4"X19 30 28 17
1ST9-06-08 G3/8"X19 R1/2"X14 37 37 22
1ST9-08 G1/2"X14 R1/2"X14 37 37 22
1ST9-08-06 G1/2"X14 R3/8"X19 37 37 22
1ST9-08-12 G1/2"X14 R3/4"X14 41 41 27
1ST9-12 G3/4"X14 R3/4"X14 41 41 27
1ST9-12-08 G3/4"X14 R1/2"X14 41 41 27
1ST9-12-16 G3/4"X14 R1"X11 49 49 33
1ST9-16 G1"X11 R1"X11 49 49 33
1ST9-20 G1.1/4"X11 | R1.1/4"X11 57 57 44
1ST9-24 G1.1/2"X11 | R1.1/2"X11 57 57 48
1ST9-32 G2"X11 R2"X11 66 63 65

-114 -




Hydraulic Adapters

1SN

H A48 HMRL60° S MIE/AT HEE S MRS

. % 22 JIS GAS MALE 60°CONE/NPT MALE
F
S1

RE 12240  THREADE R <F DIMENSIONS

PART NO. E F A B S1 L

1SN-04 G1/4"X19 Z1/4"X18 15 14 17 35
1SN-04-02 G1/4"X19 Z1/8"X27 15 10 17 31
1SN-04-06 G1/4"X19 Z3/8"X18 15 14 19 35
1SN-04-08 G1/4"X19 Z1/2"X14 15 19 22 41

1SN-06 G3/8"X19 Z3/8"X18 16 14 19 36
1SN-06-04 G3/8"X19 Z1/4"X18 16 14 19 36
1SN-06-08 G3/8"X19 Z1/2"X14 16 19 22 42

1ST-08 G1/2"X14 Z1/2"X14 19 19 22 45
1SN-08-04 G1/2"X14 Z1/4"X18 19 14 22 40
1SN-08-06 G1/2"X14 Z3/8"X18 19 14 22 40
1SN-08-12 G1/2"X14 Z3/4"X14 19 195 27 475

1SN-12 G3/4"X14 Z3/4"X14 23 195 30 515
1SN-12-08 G3/4"X14 Z1/2"X14 23 19 30 51
1SN-12-16 G3/4"X14 Z1"X11.5 23 24 36 58

1SN-16 G1"X11 Z1"X11.5 25 24 36 60
1SN-16-12 G1"X11 Z3/4"X14 25 195 36 55.5

1SN-20 G1.1/4"X11 | 21.1/4"X11.5 29 25 46 67

1SN-24 G1.1/2"X11 |Z1.1/2"X11.5 30 25 50 68

1SN-32 G2"X11 Z2"X11.5 35 29 70 81

-115-




Hydraulic Adapters

1SN4

45° H ATLE HMELI60°
ANHEIAR HE R AMIRSL
45°JIS GAS MALE 60°
CONE/NPT MALE

= 124 THREADE R <} DIMENSIONS
PART NO. E F A B s1
1SN4-04 Gl/4"X19 | Z1/4"X19 22 22 | 14
1SN4-04-02 | GL1/4"X19 | Z1/8"X27 22 22 | 14
1SN4-04-06 | G1/4"X19 | Z3/8"X18 22 22 | 17
1SN4-04-08 | G1/4"X19 | Z1/2"X14 27 27 | 22
1SN4-06 G3/8"X19 | Z3/8"X18 22 22 | 17
1SN4-06-04 | G3/8"X19 | Z1/4"X19 22 22 | 17
1SN4-06-08 | G3/8"X19 | Z1/2"X14 27 27 | 22
1SN4-08 G1/2'X14 | Z1/2"X14 27 27 | 22
1SN4-08-06 | G1/2'X14 | Z3/8"X18 27 27 | 22
1SN4-12 G3/4"X14 | Z3/4"X14 33 | 33 27
1SN4-12-08 | G3/4"X14 | Z1/2"X14 33 | 33 27
1SN4-16 G1'X11 | Z1"X11.5 37 | 37 33
1SN4-16-12 G1'X11 | Z3/4"X14 37 | 37 33
1SN4-20 | G1.1/4"X11 |Z1.1/4"X11.5 4 | 40 | 44
1SN4-24 | G1.1/2"X11 |Z1.1/2"X11.5 41 | 47 | 53
1SN4-32 G2'X11 | Z2'X115 55 | 55 65

- 116 -




Hydraulic Adapters

60°

Y

F

1SN9

90° H A gL #MZEL60°

\(H XL AN HEE SMERLL
] 90°JIS GAS MALE 60°
A $1 CONE/NPT MALE
e 1240 THREADE .~} DIMENSIONS
PART NO. E F A B s1
1SN9-04 Gl/4"X19 | Z1/4"X18 29 27 | 14
1SN9-04-02 | G1/4"X19 | Z1/8"X27 29 27 | 14
1SN9-04-06 | G1/4"X19 | Z3/8"X18 29 | 30 | 17
1SN9-06 G3/8"X19 | Z3/8"X18 30 28 | 17
1SN9-06-04 | G3/8"X19 | Z1/4"X18 30 28 | 17
1SN9-06-08 | G3/8"X19 | Z1/2"X14 37 | 37 22
1SN9-08 G1/2'X14 | Z1/2"X14 37 | 37 22
1SN9-08-06 | G1/2'X14 | Z3/8"X18 37 | 37 22
1SN9-08-12 | G1/2'X14 | Z3/4"X14 41 | 41 | 27
1SN9-12 G3/4"X14 | Z3/4"X14 41 | 41 | 27
1SN9-12-08 | G3/4"X14 | Z1/2"X14 4 | 41 | 27
1SN9-12-16 | G3/4"X14 | Z1'X115 49 | 49 | 33
1SN9-16 G1'X11 | Z1"X115 49 | 49 | 33
1SN9-20 | G1.1/4"X11|Z1.1/4"X11.5 57 | 57 | 44
1SN9-24 | G1.1/2"X11|Z1.1/2"X11.5 57 | 57 | 48
1SN9-32 G2'X11 | Z2"X11.5 66 63 | 65

- 117 -




Hydraulic Adapters

i B 156G
/ﬂ - s 55 S IZ AL 60° 5k
P HMRSOMY
\ g | IS GAS MALE
J 60°CONE/BSP
MALE O-RING
S1
R 240  THREADE R <) DIMENSIONS
PART NO. E F A B s1 L
1SG-04 GU/4"X19 | G1/4"X19 15 12 19 33
1SG-06 G3/8"X19 | G3/8"X19 16 | 135 | 22 37
1SG-08 Gl/i2'X14 | G1/2"'X14 19 16 27 44
1SG-12 G3/4"X14 | GB3/4"X14 23 | 185 | 32 515
1SG-16 G1"X11 G1"X11 25 | 205 | 41 57.5
1SG-20 G1.1/4"X11 | G1.1/4"X11 29 | 205 | 50 66.5
1SG-24 G1.1/2"X11 | G1.1/2"X11 30 23 55 70
1SG-32 G2"X11 G2"X11 35 | 255 | 70 785
F
2 1SG9-0G
—
1
y 90° H AL E SMRL60°F M/
(2 ST S MRA60 ° O el 8 4] 3
W } 90°JIS GAS MALE 60°CONE/
— BSP MALE O-RING ADJUSTABLE
A S1 STUD
B 124 THREADE U~} DIMENSIONS
PART NO. E F A B s1 S2
1SG9-040G | GL/4"X19 | G1/4"X19 29 | 313 | 14 19
1SG9-060G | G3/8'X19 | G3/8"X19 30 | 358 | 17 22
1SG9-080G | G1/2'X14 | G1/2"X14 37 | 432 | 22 27
1SG9-120G | G3/4"X14 | G3/4"X14 41 | 493 | 27 32
1SG9-160G | G1"X11 G1"X11 49 53 33 41
1SG9-200G | G1.1/4"X11 | G1.1/4"X11 57 59 44 | 50
1SG9-240G | G1.1/2"X11 | G1.1/2"X11 57 65 48 55

- 118 -



Hydraulic Adapters

v

ﬁ

AS

5 Hrs, e X .
H A& SMRE60° 4 M =38
\/ \ JIS GAS FEMALE 60°SEAT TEE
Ll \ | 1
A \st A
= 1240 THREADE ' <f DIMENSIONS
PART NO. E F A s1
AS-04 Gl/4"X19 | G1/4"X19 27 14
AS-06 G3/8"'X19 | G3/8"X19 29 17
AS-08 G1/2'X14 | G1/2"X14 33 22
AS-12 G3/4"X14 | G3/4"X14 40 27
AS-16 G1"X11 G1"X11 49 33
S2
| Ok i
7 BS
o H A S48 SR EL60° 4 Mk
H AT NWIRZI60eNHESD X =8
\k p JIS GAS MALE 60°CONE/
\ JIS GAS FEMALE 60°SEAT BRANCH
A \st TEE
foe I#4 THREADE '~} DIMENSIONS
PART NO. E F A C s1 S2
BS-04 G1/4"X19 | G1/4"X19 27 8 14 19
BS-06 G3/8'X19 | G3/8"X19 29 | 85 17 22
BS-08 G1/2'X14 | G1/2"X14 33 | 105 | 22 27
BS-12 G3/4'X14 | G3/4"X14 40 14 27 32
BS-16 G1"X11 G1"X11 49 | 145 | 33 41

-119 -




Hydraulic Adapters

E

— )

gs

C

ey
. 7%,
o E S
X e A SMRELE0AME 1 ST
N A PIRL60° Ay HE = il JIS GAS
MALE 60 °CONE/
JIS GAS FEMALE 60°SEAT RUN
TEE
o 40  THREADE U~/ DIMENSIONS
PART NO. E F A C S1 S2
CS-04 G1/4"X19 G1/4"X19 27 8 14 19
CS-06 G3/8"X19 G3/8"X19 29 8.5 17 22
CS-08 G1/2"X14 G1/2"X14 33 10.5 22 27
CS-12 G3/4"X14 G3/4"X14 40 14 27 32
CS-16 G1"X11 G1"X11 49 14.5 33 41
E S2
|~
. . DS
W"
v

H A S P IREL60° Py #E — 38
JIS GAS FEMALE 60°SEAT TEE

e 124 THREADE R~} DIMENSIONS
PART NO. E F C s1 S2
DS-04 Gl/4"X19 | G1/4"X19 8 14 19
DS-06 G3/8"X19 | G3/8"X19 85 | 17 22
DS-08 Gl/2'X14 | G1/2'X14 105 | 22 | 27
DS-12 G3/4"X14 | G3/4"X14 14 27 | 32
DS-16 G1"X11 G1"X11 145 | 33 | 41

- 120 -




Hydraulic Adapters

= ASGS-0OG
% ’
’ oo FI A/ SR EC60° S M 1378 51
WAL O T | P i) A 3 73 5 =3
J k JIS GAS MALE 60°CONE/BSP MALE
‘\3_1 O-RING ADJUSTABLE STUD
A A BRANCH TEE
e 1240 THREADE R~} DIMENSIONS
PART NO. E F A B s1 S2
ASGS-040G| G1/4"X19 | G1/4"X19 27 | 313 | 14 19
ASGS-060G| G3/8'X19 | G3/8"X19 29 | 358 | 17 22
ASGS-080G| G1/2'X14 | G1/2"'X14 33 | 432 | 22 27
ASGS-120G| G3/4"X14 | G3/4"X14 4 | 493 | 27 32
ASGS-160G| G1"X11 G1"X11 49 | 545 | 33 41
ASGS-200G| G1.1/4"X11 | G1.1/4"X11 57 59 44 50
E
i ASSG-OG
/ .
H ARG SMRST60° 41 /55 41
{ — SRLCOT M AT L % =
\_ JIS GAS MALE 60°CONE/BSP MALE
X S O-RING ADJUSTABLE STUD END
RUN TEE
5 B4 THREADE J\ I DIMENSIONS
PART NO. E F A B s1 S2
ASSG-040G| G1/4"X19 | G1/4"X19 27 31 14 19
ASSG-060G| G3/8'X19 | G3/8"X19 29 | 355 | 17 22
ASSG-080G| G1/2'X14 | G1/2"X14 33 | 435 | 22 27
ASSG-120G| G3/4"X14 | G3/4"X14 40 | 495 | 27 32
ASSG-160G| G1"X11 G1"X11 49 | 545 | 33 41
ASSG-200G| G1.1/4"X11 | G1.1/4"X11 57 59 44 50

-121 -



Hydraulic Adapters

A B 1 B
B HMERS60° 4 HE
BN A T2 A R
% BSP MALE DOUBLE FOR
i 60°SEAT BONDED SEAL

R 140  THREADE '~/ DIMENSIONS
PART NO. E F A B S1 L

1B-02 G1/8"X28 G1/8"X28 10 10 14 26
1B-02-04 G1/8"X28 G1/4"X19 10 12 19 28
1B-02-06 G1/8"X28 G3/8"X19 10 135 22 315
1B-02-08 G1/8"X28 G1/2"X14 10 16 27 34

1B-04 G1/4"X19 G1/4"X19 12 12 19 30
1B-04-06 G1/4"X19 G3/8"X19 12 135 22 33
1B-04-08 G1/4"X19 G1/2"X14 12 16 27 36
1B-04-10 G1/4"X19 G5/8"X14 12 175 30 38.5

1B-06 G3/8"X19 G3/8"X19 135 135 22 35
1B-06-08 G3/8"X19 G1/2"X14 135 16 27 375
1B-06-10 G3/8"X19 G5/8"X14 135 175 30 40
1B-06-12 G3/8"X19 G3/4"X14 135 18.5 32 42

1B-08 G1/2"X14 G1/2"X14 16 16 27 40
1B-08-10 G1/2"X14 G5/8"X14 16 175 30 425
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 32 44

1B-10 G5/8"X14 G5/8"X14 175 175 30 44
1B-10-12 G5/8"X14 G3/4"X14 175 18.5 32 46
1B-10-16 G5/8"X14 G1"X11 175 20.5 41 50

1B-12 G3/4"X14 G3/4"X14 18.5 185 32 47
1B-12-16 G3/4"X14 G1"X11 185 20.5 41 49
1B-12-20 G3/4"X14 | G1.1/4"X11 18.5 20.5 50 56

1B-16 G1"X11 G1"X11 20.5 20.5 41 53
1B-16-20 G1"X11 G1.1/4"X11 20.5 20.5 50 57
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 55 60

1B-20 G1.1/4"X11 | G1.1/4"X11 20.5 20.5 50 58
1B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 23 55 61

1B-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63
1B-24-32 G1.1/2"X11 G2"X11 23 255 70 66

1B-32 G2"X11 G2"X11 255 25.5 70 69

-122 -




Hydraulic Adapters

L,

N

1B4

[&&Z
A5°HLAE HIMERSI60° A HE
G 45°BSP MALE 60°SEAT
A S1
fRE 1240 THREADE R <f DIMENSIONS
PART NO. E F A B s1
1B4-02-04 G1/8"X28 | G1/4"X19 22 22 | 14
1B4-04 G1/4"X19 | G1/4"X19 22 22 | 14
1B4-04-06 G1/4"X19 | G3/8"X19 22 22 17
1B4-06 G3/8"X19 | G3/8"X19 2 | 22 17
1B4-06-08 G3/8'X19 | G1/2"X14 27 27 22
1B4-08 G1/2'X14 | G1/2"'X14 27 27 22
1B4-08-12 G1/2'X14 | G3/4"X14 33 33 27
1B4-10 G5/8"X14 | Gb/8"X14 27 27 22
1B4-10-12 G5/8'X14 | G3/4"X14 33 33 27
1B4-12 G3/4"X14 | G3/4"X14 33 33 27
1B4-12-16 G3/4"X14 G1'X11 37 | 37 33
1B4-16 G1"X11 G1"X11 37 | 37 33
1B4-16-20 G1'X11 | G1.1/4"X11 40 | 40 a4
1B4-20 G1.1/4"X11 | G1.1/4"X11 40 | 40 a4
1B4-20-24 | G1.1/4"X11 | G1.1/2"X11 41 | 47 53
1B4-24 G1.1/2"X11 | G1.1/2"X11 47 47 53
1B4-32 G2"X11 G2'X11 55 | 55 65

- 123 -




Hydraulic Adapters

E Y

T 1B9

ot ‘
| 90° Y HMRELL60° Py 4
| % 90°BSP MALE 60°SEAT
A S

= 14 THREADE JU <} DIMENSIONS
PART NO. E F A B s1
1B9-02-04 G1/8"'X28 | G1/4"X19 27 29 | 14
1B9-04 G1/4"X19 | GL/4"X19 29 27 | 14
1B9-04-06 G1/4"X19 | G3/8"X19 28 | 30 | 17
1B9-06 G3/8"'X19 | G3/8"X19 30 | 28 | 17
1B9-06-08 G3/8"X19 | G1/2"X14 37 | 37 22
1B9-08 G1/2'X14 | G1/2"X14 37 | 37 22
1B9-08-12 G1/2'X14 | G3/4"X14 41 | 41 | 27
1B9-10 G5/8"X14 | Gb5/8"X14 37 | 37 22
1B9-10-12 G5/8"X14 | G3/4"X14 4 | 41 | 27
1B9-12 G3/4"X14 | G3/4"X14 41 | 41 27
1B9-12-16 G3/4"X14 G1"X11 49 | 49 33
1B9-16 G1'X11 G1'X11 49 | 49 33
1B9-16-20 G1'X11 | G1.1/4"X11 57 | 57 44
1B9-20 G1.1/4"X11 | G1.1/4"X11 57 | 57 44
1B9-20-24 | G1.1/4"X11| G1.1/2"X11 57 | 57 | 48
1B9-24 G1.1/2"X11 | G1.1/2"X11 57 | 57 | 48
1B9-32 G2'X11 G2'X11 66 | 63 65

- 124 -




Hydraulic Adapters

N»n

2B

DU SMREL60° N HESI S M T AL &
e BHIE WIRE60 °H1E
BSP MALE DOUBLE FOR
60°SEAT BONDED SEAL /BSP
FEMALE 60 °CONE

R i24;  THREADE R I DIMENSIONS
PART NO. E F A cC | st | s
2B-02 G1/8'X28 | G1/8"X28 10 | 55 | 14 | 14
2B-02-04 G1/8"X28 | G1/4"X19 10 | 55 | 14 | 19
2B-04 Gl/4"X19 | GL/4"X19 12 | 55 | 19 | 19
2B-04-06 Gl/4"X19 | G3/8"X19 12 | 65 | 19 | 22
2B-04-08 GL/A"X19 | GL/2"X14 12 8 | 19 | 27
2B-06 G3/8"X19 | G3/8"X19 135 | 65 | 22 | 22
2B-06-08 G3/8'X19 | GL/2"X14 135 | 8 | 22 | 27
2B-06-10 G3/8"X19 | G5/8"X14 135 | 105 | 22 | 30
2B-08 Gl/i2'X14 | GL/2"X14 16 8 | 27 | 27
2B-08-06 Gl/2'X14 | G3/8"X19 16 | 65 | 27 | 27
2B-10 G5/8"X14 | G5/8"X14 175 | 105 | 30 | 30
2B-10-08 G5/8"X14 | G1/2"X14 175 | 8 | 30 | 27
2B-10-12 G5/8'X14 | G3/4"X14 175 | 115 | 30 | 32
2B-12 G3/4"X14 | G3/4"X14 185 | 115 | 32 | 32
2B-12-10 G3/4"X14 | GB5/8"X14 185 | 105 | 32 | 30
2B-12-16 G3/4'X14 | G1'X11 185 | 115 | 32 | 41
2B-16 G1'X11 G1"X11 205 | 115 | 41 | 41
2B-16-12 GI'X11 | G3/4"X14 205 | 115 | 41 | 32
2B-16-20 GI'X11 | G1.1/4"X11 205 | 12 | 41 | 50
2B-20 GL.1/4"X11 | G1.1/4"X11 205 | 12 | 50 | 50
2B-20-16 | GLLA"X11| G1'X11 205 | 115 | 50 | 41
2B-20-24 | GL.1/4"X11 | GL1.1/2"X11 205 | 13 | 50 | 55
2B-24 GL.1/2"X11 | G1.1/2"X11 23 | 13 | 55 | 55
2B-32 G2"X11 G2'X11 255 | 16 | 70 | 70

-125 -




Hydraulic Adapters

2B4

A5° L HMREZ60° N HE/
T N IES60°MiE
45°BSP MALE 60°SEAT/
BSP FEMALE

60°CONE
=) 1224 THREADE R~} DIMENSIONS
PART NO. E F A C S1 | S2
2B4-04 G1/4"X19 | GL/4"X19 22 | 55 14 19
2B4-04-06 | G1/4"X19 | G3/8"X19 22 | 65 17 22
2B4-06 G3/8'X19 | G3/8"X19 22 | 65 17 22
2B4-06-04 | G3/8"'X19 | G1/4"X19 22 | 55 17 19
2B4-08 Gl/2"X14 | G1/2"'X14 27 8 22 | 27
2B4-08-06 | G1/2'X14 | G3/8'X19 27 | 65 2 | 22
2B4-10 G5/8"X14 | G5/8"X14 27 | 105 | 22 | 30
2B4-10-08 | Gb5/8"'X14 | G1/2'X14 27 8 22 | 27
2B4-12 G3/4"X14 | G3/4"X14 33 115 | 27 | 32
2B4-16 G1"X11 G1"X11 37 |115 | 33 | 41
2B4-20 G1.1/4"X11 | G1.1/4"X11 40 | 12 44 | 50
2B4-24 G1.1/2"X11 | G1.1/2"X11 47 | 13 53 | 55
2B4-32 G2'X11 G2'X11 55 | 16 65 | 70

- 126 -




Hydraulic Adapters

F

1

S2

| G

o

2B9

90°JLE HMESL60° N #E/

L NIRE60 *HhE
A 90°BSP MALE 60°SEAT/
A s1 BSP FEMALE
60°CONE
foe 240  THREADE R~/ DIMENSIONS
PART NO. E F A C Si S2
2B9-02 G1/8"X28 | G1/8"X28 23 | 55 | 11 | 14
2B9-04 GL/4"X19 | G1/4"X19 29 | 55 | 14 | 19
2B9-04-06 | G1/4"X19 | G3/8"X19 30 | 65 | 17 22
2B9-06 G3/8"'X19 | G3/8"X19 30 | 65 | 17 22
2B9-06-04 | G3/8'X19 | G1/4"X19 30 | 55 | 17 19
2B9-08 Gl/2'X14 | G1/2"X14 37 8 22 | 27
2B9-08-06 | G1/2'X14 | G3/8"X19 37 | 65 | 22 | 22
2B9-10 G5/8"X14 | G5/8"X14 37 105 | 22 | 30
2B9-10-08 | GB5/8'X14 | G1/2"X14 37 8 22 | 27
2B9-12 G3/4"X14 | G3/4"X14 41 | 115 | 27 | 32
2B9-16 G1"X11 G1'X11 49 115 | 33 | 41
2B9-20 G1.1/4"X11 | G1.1/4"X11 57 | 12 44 | 50
2B9-24 G1.1/2"X11 | G1.1/2"X11 57 | 13 | 48 | 55
2B9-32 G2'X11 G2'X11 66 | 16 65 | 70

-127 -




Hydraulic Adapters

S1

S2

>

3B

S A IREL60° S ME

K2 BSP FEMALE 60°CONE

A
e 240 THREADE J  <F DIMENSIONS
PART NO. E F A C s1 S2
3B-02 G1/8'X28 | G1/8"X28 55 | 55 | 14 14
3B-02-04 G1/8'X28 | G1/4"X19 55 | 55 | 14 19
3B-04 Gl4"X19 | G1/4"X19 55 | 55 | 19 19
3B-04-06 Gl/4"X19 | G3/8"X19 55 | 65 | 19 22
3B-04-08 Gl/4"X19 | Gl1/2"X14 55 8 19 27
3B-06 G3/8"X19 | G3/8"X19 65 | 65 | 22 22
3B-06-08 G3/8'X19 | G1/2"X14 6.5 8 22 27
3B-08 G1l/2'X14 | G1/2"X14 8 8 27 27
3B-08-10 Gl/2"X14 | Gb/8"X14 8 | 105 | 27 30
3B-08-12 G1/2'X14 | G3/4"X14 8 | 115 | 27 32
3B-10 G5/8'X14 | Gb/8"X14 105 | 105 | 30 30
3B-10-12 G5/8'X14 | G3/4"X14 105 | 11.5 | 30 32
3B-12 G3/4"X14 | G3/4"X14 115 | 115 | 32 32
3B-12-16 G3/4"X14 G1'X11 115 | 115 | 32 41
3B-16 G1'X11 G1"X11 115 | 115 | 41 41
3B-16-20 G1'X11 | G1.1/4"X11 115 | 12 41 50
3B-20 G1.1/4"X11 | G1.1/4"X11 12 12 50 50
3B-24 G1.1/2"X11 | G1.1/2"X11 13 13 55 55
3B-32 G2'X11 G2"X11 16 16 70 70

-128 -




Hydraulic Adapters

3B4

45° T IR S60° 4 MiE
45°BSP FEMALE 60°CONE

rE 240 THREADE R~} DIMENSIONS
PART NO. E C | S1 | s2
3B4-02 G1/8"X28 55 | 11 | 14
3B4-04 G1/4"X19 55 | 11 | 19
3B4-06 G3/8"X19 65 | 17 | 22
3B4-08 G1/2"X14 8 19 | 27
3B4-10 G5/8"X14 105 | 22 | 30
3B4-12 G3/4"X14 115 | 27 | 32
3B4-16 G1"X11 115 | 33 | 41
3B4-20 G1.1/4"X11 12 | 44 | 50
3B4-24 G1.1/2"X11 13 50 | 55
3B4-32 G2'X11 16 65 | 70
E
s

— 7 3B9

—==

T =N b
lﬁ -

90° S N RL60° HMiE
90°BSP FEMALE 60°CONE
S
1
e 1240  THREADE '~/ DIMENSIONS
PART NO. E C S1 S2
3B9-02 G1/8"X28 55 11 14
3B9-04 G1/4"X19 55 11 19
3B9-06 G3/8"X19 6.5 17 22
3B9-08 G1/2"X14 8 19 27
3B9-10 G5/8"X14 105 | 22 30
3B9-12 G3/4"X14 115 | 27 32
3B9-16 G1"X11 115 | 33 41
3B9-20 G1.1/4"X11 12 44 50
3B9-24 G1.1/2"X11 13 50 55
3B9-32 G2"X11 16 65 70

- 129 -



Hydraulic Adapters

A
Q 4B
JLE HMRSI60° N HEBS
i 17 FH 25 B8 42k
BSP MALE DOUBLE FOR 60°
s SEAT OR BONDED SEAL PLUG
= 240 THREADE R~ DIMENSIONS
PART NO. E A S1 L
4B-02 G1/8"X28 10 | 14 | 16
4B-04 G1/4"X19 12 | 19 | 18
4B-06 G3/8"X19 135 | 22 | 21
4B-08 G1/2'X14 16 | 27 | 24
4B-10 G5/8"X14 175 | 30 | 27
4B-12 G3/4"X14 185 | 32 | 28
4B-16 G1"X11 205 | 41 | 32
4B-20 G1.1/4"X11 205 | 50 | 37
4B-24 G1.1/2"X11 23 | 55 | 40
4B-32 G2'X11 255 | 70 | 43
S1

>

="

9B

TEE IR0 S MERE Sk
BSP FEMALE 60°CONE PLUG

yel
R %40 THREADE ' <F DIMENSIONS
PART NO. E s1
9B-04 G1/4"X19 55 17
9B-06 G3/8"X19 22
9B-08 G1/2"X14 27
9B-10 G5/8"X14 8.5 27
9B-12 G3/4"X14 32
9B-16 G1"X11 11 38
9B-20 G1.1/4"X11 11 50
9B-24 Gl.1/2"X11 12 55
9B-32 G2"X11 15 70

- 130 -




Hydraulic Adapters

A B 6 B
| YR SMEL60° P IR Sk
Z iz BSP MALE 60°SEAT BULKHEAD
%
R 1240 THREADE U~/ DIMENSIONS
PART NO. E A B S1 L
6B-02 G1/8"X28 10 33 14 49
6B-04 G1/4"X19 12 35 19 53
6B-06 G3/8"X19 135 | 35 22 56
6B-08 G1/2"X14 16 39 27 63
6B-10 G5/8"X14 175 | 40 30 | 675
6B-12 G3/4"X14 185 | 42 32 70
6B-16 G1"X11 205 | 50 41 83
6B-20 G1.1/4"X11 205 | 52 50 | 89.5
6B-24 G1.1/2"X11 23 55 55 95
6B-32 G2"X11 255 | 55 70 | 985
ok I AR T 57, ME ARG S J I LN", 116B-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please insert suffix""LN"after
our part NO.,for example 6B-12LN.

E

1

6B9

y
i |
I 90°HL i HMRAr60° P HEIT ARk
_\U 90°BSP MALE 60°SEAT BULKHEAD
A S
5 240 THREADE JU I DIMENSIONS
PART NO. E A B s1
6B9-04 G1/4"X19 29 51 14
6B9-06 G3/8"X19 30 | 535 | 17
6B9-08 G1/2"X14 37 | 585 | 22
6B9-12 G3/4"X14 41 64 27
6B9-16 G1"X11 49 71 33
VRN A R B, TS AE AL S S5 N LN", 416B9-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please insert suffix"LN"after
our part NO.,for example 6B9-12LN.

-131 -




Hydraulic Adapters

8B

SR IRSRE

BSP LOCK NUT

o 24 THREADE R ~f DIMENSIONS
PART NO. E A s1
8B-02 G1/8"X28 55 14
8B-04 G1/4"X19 6.5 19
8B-06 G3/8"X19 7 22
8B-08 G1/2"X14 9 27
8B-10 G5/8"X14 9 30
8B-12 G3/4"X14 105 32
8B-16 G1"X11 105 41
8B-20 G1.1/4"X11 105 50
8B-24 G1.1/2"X11 105 55
8B-32 G2'X11 105 70

-132 -




Hydraulic Adapters

- ] 1BT
L HMRSI60° P HE B A I T
A BB B HE R SMIR AT
¢ %/ BSP MALE DOUBLE FOR
60 °SEAT BONDED
st 2 SEAL/BSPT MALE
e 40  THREADE R~/ DIMENSIONS
PART NO. E F A B Sl L
1BT-02 G1/8"X28 R1/8"X28 10 10 14 26
1BT-02-04 G1/8"X28 R1/4"X19 10 14 14 30
1BT-04 G1/4"X19 R1/4"X19 12 14 19 32
1BT-04-02 G1/4"X19 R1/8"X28 12 10 19 28
1BT-04-06 G1/4"X19 R3/8"X19 12 14 19 32
1BT-06 G3/8"X19 R3/8"X19 135 14 22 35
1BT-06-04 G3/8"X19 R1/4"X19 135 14 22 35
1BT-06-08 G3/8"X19 R1/2"X14 135 19 22 41
1BT-08 G1/2"X14 R1/2"X14 16 19 27 45
1BT-08-06 G1/2"X14 R3/8"X19 16 14 27 40
1BT-08-12 G1/2"X14 R3/4"X14 16 19.5 27 45
1BT-10-08 G5/8"X14 R1/2"X14 17.5 19 30 45
1BT-10-12 G5/8"X14 R3/4"X14 17.5 19.5 30 47
1BT-12 G3/4"X14 R3/4"X14 18.5 195 32 48
1BT-12-08 G3/4"X14 R1/2"X14 18.5 19 32 47
1BT-12-16 G3/4"X14 R1"X11 18.5 24 36 53
1BT-16 G1"X11 R1"X11 20.5 24 41 58
1BT-16-12 G1"X11 R3/4"X14 205 | 195 41 53
1BT-16-20 G1"X11 R1.1/4"X11 20.5 25 46 59
1BT-20 G1.1/4"X11 | R1.1/4"X11 20.5 25 50 62
1BT-20-16 G1.1/4"X11 R1"X11 20.5 24 50 61
1BT-20-24 G1.1/4"X11 | R1.1/2"X11 20.5 25 50 62
1BT-24 G1.1/2"X11 | R1.1/2"X11 23 25 55 65
1BT-24-16 G1.1/2"X11 R1"X11 23 24 55 61
1BT-24-20 G1.1/2"X11 | R1.1/4"X11 23 25 55 65
1BT-24-32 G1.1/2"X11 R2"X11 23 29 65 69
1BT-32 G2"X11 R2"X11 255 29 70 72
1BT-32-24 G2"X11 R1.1/2"X11 255 25 70 68

- 133 -




1BT4

(&
| 45° BEPHMRLTB0° Iy HE HHERS SMRLL
45°BSP MALE 60°SEAT /BSPT MALE
e 1240 THREADE R <) DIMENSIONS
PART NO. E F A B S1
1BT4-02 G1/8"X28 R1/8"X28 17 17 11
1BT4-04 G1/4"X19 R1/4"X19 22 22 14
1BT4-04-06 G1l/4"X19 R3/8"X19 22 22 17
1BT4-06 G3/8"X19 R3/8"X19 22 22 17
1BT4-06-04 G3/8"X19 R1/4"X19 22 22 17
1BT4-06-08 G3/8"X19 R1/2"X14 27 27 22
1BT4-06-12 G3/8"X19 R3/4"X14 33 33 27
1BT4-08 G1/2"X14 R1/2"X14 27 27 22
1BT4-08-06 G1/2"X14 R3/8"X19 27 27 22
1BT4-08-12 G1/2"X14 R3/4"X14 33 33 27
1BT4-10-08 G5/8"X14 R1/2"X14 27 27 22
1BT4-10-12 G5/8"X14 R3/4"X14 33 33 27
1BT4-12 G3/4"X14 R3/4"X14 33 33 27
1BT4-12-08 G3/4"X14 R1/2"X14 33 33 27
1BT4-12-16 G3/4"X14 R1"X11 37 37 33
1BT4-16 G1'X11 R1"X11 37 37 33
1BT4-16-12 G1"X11 R3/4"X14 37 37 33
1BT4-16-20 G1"X11 | R1.1/4"X11 40 40 44
1BT4-20 G1.1/4"X11 | R1.1/4"X11 40 40 44
1BT4-20-16 | G1.1/4"X11 R1"X11 40 40 44
1BT4-20-24 | G1.1/4"X11 | R1.1/2"X11 47 47 52
1BT4-24 G1.1/2"X11 | R1.1/2"X11 47 47 52
1BT4-24-20 | G1.1/2"X11 | R1.1/4"X11 47 47 52
1BT4-24-32 | G1.1/2"X11 R2"X11 55 55 65
1BT4-32 G2"X11 R2"X11 55 55 65
1BT4-32-24 G2"X11 | R1.1/2"X11 55 55 65

- 134 -



Hydraulic Adapters

] 1BT9

90° S SMIRLL60° Py HE/FLHE T FMREL
90°BSP MALE 60°SEAT /BSPT MALE

m=ry

A St
R 124 THREADE U~} DIMENSIONS
PART NO. E F A B s1
1BT9-02 G1/8"X28 | R1/8"X28 25 25 | 11

1BT9-02-04 | G1/8'X28 | R1/4"X19 27 29 | 14
1BT9-04 G1/4"X19 | R1/4"X19 29 27 | 14

1BT9-04-02 | G1/4"X19 | R1/8"X28 29 27 | 14

1BT9-04-06 | G1/4"X19 | R3/8"X19 29 | 30 | 17
1BT9-06 G3/8"X19 | R3/8"X19 30 29 | 17

1BT9-06-04 | G3/8'X19 | R1/4"X19 30 29 | 17

1BT9-06-08 | G3/8'X19 | R1/2"X14 37 | 37 22
1BT9-08 Gl/2'X14 | R1/2"X14 37 | 37 22

1BT9-08-06 | G1/2"X14 | RS3/8"X19 37 | 37 22

1BT9-08-12 | G1/2'X14 | R3/4"X14 41 | 4 | 27

1BT9-10-08 | G5/8'X14 | R1/2"X14 41 | 41 | 27

1BT9-10-12 | G5/8'X14 | R3/4"X14 41 | 41 | 27
1BT9-12 G3/4"X14 | R3/4"X14 41 | 41 | 27

1BT9-12-08 | G3/4"X14 | R1/2'X14 41 | 41 | 27

1BT9-12-16 | G3/4"X14 R1"X11 49 | 49 | 33
1BT9-16 G1"X11 R1"X11 49 | 49 | 33

1BT9-16-12 G1'X11 | R3/4"X14 49 | 49 | 33

1BT9-16-20 G1'X11 | R1.1/4"X11 57 | 57 | 44
1BT9-20 | G1.1/4"X11 | R1.1/4"X11 57 | 57 | 44

1BT9-20-16 | G1.1/4"X11| R1"X11 57 | 57 | 44

1BT9-20-24 | G1.1/4"X11 | R1.1/2"X11 57 | 57 | 48
1BT9-24 | G1.1/2"X11 | R1.1/2"X11 57 | 57 | 48

1BT9-24-20 | G1.1/2"X11 | R1.1/4"X11 57 | 57 | 48

1BT9-24-32 | GL.1/2"X11| R2"X11 66 66 | 65
1BT9-32 G2"X11 R2"X11 66 66 | 65

1BT9-32-24 G2'X11 | R1.1/2"X11 66 66 | 65

- 135 -




Hydraulic Adapters

- ] 1BN
S AMBLL0° Py HE S F SR
H A B B AR A MIESL
: BSP MALE DOUBLE FOR
60 °SEAT BONDED
1 F SEAL/NPT MALE
e 247 THREADE R </ DIMENSIONS
PART NO. E F A B S1 L
1BN-02 G1/8"X28 21/8"X27 10 10 14 26
1BN-02-04 G1/8"X28 Z1/4"X18 10 14 14 30
1BN-04 G1/4"X19 Z1/4"X18 12 14 19 32
1BN-04-02 G1/4"X19 21/8"X27 12 10 19 28
1BN-04-06 G1/4"X19 Z3/8"X18 12 14 19 32
1BN-06 G3/8"X19 Z3/8"X18 135 14 22 35
1BN-06-04 G3/8"X19 Z1/4"X18 13.5 14 22 35
1BN-06-08 G3/8"X19 Z1/2"X14 13.5 19 22 41
1BN-08 G1/2"X14 Z1/2"X14 16 19 27 45
1BN-08-06 G1/2"X14 Z3/8"X18 16 14 27 40
1BN-08-12 G1/2"X14 Z3/4"X14 16 195 27 45
1BN-10-08 G5/8"X14 Z1/2"X14 17.5 19 30 45
1BN-10-12 Gb5/8"X14 Z3/4"X14 175 19.5 30 47
1BN-12 G3/4"X14 Z3/4"X14 18.5 19.5 32 48
1BN-12-08 G3/4"X14 Z1/2"X14 18.5 19 32 47
1BN-12-16 G3/4"X14 Z1"X11.5 18.5 24 36 53
1BN-16 G1"X11 Z1"X11.5 20.5 24 41 58
1BN-16-12 G1"X11 Z3/4"X14 20.5 19.5 41 53
1BN-16-20 G1"X11 |Z1.1/4"X11.5 20.5 25 46 59
1BN-20 G1.1/4"X11 | Z71.1/4"X11.5 20.5 25 50 62
1BN-20-16 G1.1/4"X11 Z1"X11.5 20.5 24 50 61
1BN-20-24 G1.1/4"X11 [ Z1.1/2"X11.5 20.5 25 50 62
1BN-24 G1.1/2"X11 | Z1.1/2"X11.5 23 25 55 65
1BN-24-20 G1.1/2"X11 | Z21.1/4"X11.5 23 25 55 65
1BN-24-32 G1.1/2"X11 Z2"X11.5 23 29 65 69
1BN-32 G2"X11 Z2"X11.5 255 29 70 72
1BN-32-24 G2"X11 |Z1.1/2"X11.5 255 25 70 68

- 136 -




Hydraulic Adapters

1BN4

7
| 45 S REO0° P e AT I
45°BSP MALE 60°SEAT /NPT MALE
o 240 THREADE R </ DIMENSIONS
PART NO. E F A B s1
1BN4-04 G1/4"X19 | Z1/4"X18 22 | 22 | 14
1BN4-04-02 | G1/4"X19 | Z1/8"X27 22 | 22 | 14
1BN4-06 G3/8"X19 | Z3/8"X18 22 | 22 | 17
1BN4-06-04 | G3/8"X19 | Z1/4"X18 22 | 22 | 17
1BN4-06-08 | G3/8"X19 | Z1/2"X14 27 | 27 | 22
1BN4-06-12 | G3/8'X19 | Z3/4"X14 33 | 33 | 27
1BN4-08 Gl/2"'X14 | Z1/2"X14 27 | 27 | 22
1BN4-08-06 | G1/2'X14 | Z3/8"X18 21 | 271 | 22
1BN4-12 G3/4"X14 | Z3/4"X14 33 | 33 | 27
1BN4-12-08 | G3/4"X14 | Z1/2"X14 33 | 33 | 27
1BN4-12-16 | G3/4"X14 | Z1"X115 37 | 37 | 33
1BN4-16 G1'X11 | Z1"X11.5 37 | 37 | 33
1BN4-16-12 G1'X11 | Z3/4"X14 37 | 37 | 33
1BN4-20 | GL.1/4"X11 | 71.1/4"X11.5 4 | 40 | 44
1BN4-24 | G1.1/2"X11 |Z1.1/2"X11.5 47 | 47 | 52
1BN4-32 G2'X11 | Z2"'X115 55 | 55 | 65

- 137 -




Hydraulic Adapters

60°

K

90°BSP MALE 60°SEAT /NPT MALE

1BN9

90°J& 5 HMERLI60° A HE/MT HEE FMERLSL

A S1
e 1240 THREADE U~/ DIMENSIONS
PART NO. E F A B s1
1BN9-04 GUA"X19 | Z1/4"X18 29 27 | 14

1BN9-04-02 | G1/4"X19 | Z1/8"X27 29 27 14
1BN9-06 G3/8'X19 | Z3/8"X18 30 29 17

1BN9-06-04 | G3/8"X19 | Z1/4"X18 30 29 17

1BN9-06-08 | G3/8'X19 | Z1/2"X14 37 37 22

1BN9-06-12 | G3/8"X19 | Z3/4"X14 41 41 27
1BN9-08 Gl/2'X14 | Z1/2"X14 37 37 22

1BN9-08-06 | G1/2'X14 | Z3/8"X18 37 37 22
1BN9-12 G3/4"X14 | Z3/4"X14 41 4 27

1BN9-12-08 | G3/4"X14 | Z1/2"X14 41 41 27

1BN9-12-16 | G3/4"X14 | Z1"X11.5 49 49 33
1BN9-16 G1'X11 | Z1"X115 49 49 33

1BN9-16-12 G1'X11 | Z3/4"X14 49 49 33
1BN9-20 | G1.1/4"X11 | Z1.1/4"X11.5 57 57 44
1BN9-24 | G1.1/2"X11 |Z1.1/2"X11.5 57 57 48
1BN9-32 G2'X11 | Z2"X115 66 66 65

- 138 -




Hydraulic Adapters

- ] 1BG
L HMREI60° A HE BN A S
G BB B SR SMRSLO AL
% \//%( Z BSP MALE DOUBLE FOR
60°SEAT BONDED
/ SEAL/BSPT MALE O-RING
S1
RE 22 THREADE R <} DIMENSIONS
PART NO. E F A B S1 L
1BG-02 G1/8"X28 G1/8"X28 10 9 14 25
1BG-04 G1/4"X19 G1/4"X19 12 12 19 30
1BG-04-06 G1/4"X19 G3/8"X19 12 135 19 315
1BG-06 G3/8"X19 G3/8"X19 135 135 22 35
1BG-06-04 G3/8"X19 G1/4"X19 135 12 22 335
1BG-06-08 G3/8"X19 G1/2"X14 135 16 27 39.5
1BG-08 G1/2"X14 G1/2"X14 16 16 27 42
1BG-08-06 G1/2"X14 G3/8"X19 16 135 27 39.5
1BG-08-12 G1/2"X14 G3/4"X14 16 18.5 27 445
1BG-10-08 G5/8"X14 G1/2"X14 17.5 16 30 43.5
1BG-12 G3/4"X14 G3/4"X14 18.5 18.5 32 47
1BG-12-08 G3/4"X14 G1/2"X14 18.5 16 32 445
1BG-16-08 G1"X11 G1/2"X14 20.5 16 41 485
1BG-16 G1"X11 G1"X11 205 | 205 41 53
1BG-16-12 G1"X11 G3/4"X14 205 | 185 41 51
1BG-20 G1.1/4"X11 | G1.1/4"X11 205 | 205 50 58
1BG-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63

- 139 -




Hydraulic Adapters

S 1BG4-0G

s A5 SMREL60° P 4t/
\ B HZ SO B TR R
~ 45°BSP MALE 60°SEAT/BSP
A \g MALE O-RING ADJUSTABLE STUD
END
R 1240 THREADE R~ DIMENSIONS

PART NO. E F A | B | st | =2
1BG4-040G| GL4"X19 | GL/A4"X19 2 | 28 | 14 | 19
1BG4-04- GLA™X19 | G3/8"X19 2 | 30 | 17 | 22
1BGA-04- GUA™X19 | G1/2'X14 27 | 36 | 22 | 27
“IBG4-060G | G3/8'X19 | G3/8"X19 2 | 30 | 17 | 22
1BG4-06- G3/8"X19 | G1/2'X14 27 | 36 | 22 | 27
“1BG4-080G | GL2'X14 | Gl/2'X14 27 | 36 | 22 | 27
1BG4-120G| G3/4"X14 | G3/4"X14 33 | 4 | 27 | 32
1BG4-12- G3/4'X14 | GL'X11 37 | 4 | 3| &
"1BG4-160G| G1X11 GL'X11 37 | 4 | B3| &
1BG4-200G | GLU4"X11| GL.U/4"X11 40 | 475 | a4 | 50
1BGA4-240G| GL.1/2'X11| GL.1/2"X11 47 | 515 | 52 | 55

- 140 -



Hydraulic Adapters

= i 1BG9-0OG
|

<<|/ 90° =& AMRELL60° N HE/
G AME SO B8 ] A i
—X& 90°BSP MALE 60°SEAT/BSP
A S1 MALE O-RING ADJUSTABLE STUD
END
e 240 THREADE K ~f DIMENSIONS

PART NO. E F A B | S | s2
1BG9-040G| GL/4"X19 | GL/4"X19 20 | 315 | 14 | 19
1BG9-04- GLA4'X19 | G3/8"X19 30 368 | 17 | 2
“1BG9-060G | G3/8"X19 | G3/8"X19 30 | 368 | 17 | 22
1BG9-06- G3/8'X19 | G1/2"X14 37 432 | 22 | 27
"1BG9-080G | Gl/2'X14 | GL/2'X14 37 | 432 | 22 | 27
1BG9-08- GL2'X14 | G3/4"X14 41 | 493 | 27 | =
“1BG0-120G | G3/4"X14 | G3/4"X14 41 | 493 | 27 | =32
1BG9-12- G34'X14 |  G1'X11 49 | 53 | 33 | &
"1BG9-160G | GI'X1l G1'X11 49 | 53 | 33 | 4
1BG9-20- GLUAX11| GI'X11 57 | 58 | 44 | 41
TIBG9-200G | GL1/4"X11| G1.1/4"X11 57 | 58 | 44 | 50
1BG9-240G | GL.1/2'X11| GL.1/2'X11 57 | 63 | 48 | 55

- 141 -



Hydraulic Adapters

S1

1BH

T HMRSL60° 3 HE BN i i ]

W& BN HIINREURE R

BSP MALE DOUBLE FOR
60°SEAT BONDED SEAL/METRIC

MALE L-SERIES

o #2240 THREADE R <+ DIMENSIONS
PART NO. E F A B st L
1BH-02-10 | G1/8"X28 M10x1 10 | 11 | 14 27
1BH-02-12 | G1/8"X28 | M12x15 10 | 11 | 14 27
1BH-04-12 | GL/4"X19 | M12x1.5 12 | 11 | 19 29
1BH-04-14 | G1/4"X19 | M14x15 12 | 11 | 19 29
1BH-04-16 | G1/4"X19 | M16x15 12 | 11 | 19 29
1BH-06-14 | G3/8"X19 | M14x15 135 | 11 | 22 325
1BH-06-16 | G3/8"X19 | M16x1.5 135 | 11 | 22 325
1BH-06-18 | G3/8"X19 | M18x15 135 | 11 | 22 325
1BH-08-18 | G1/2'X14 | M18x15 16 | 11 | 27 37
1BH-08-22 | GL/2'X14 | M22x15 16 | 12 | 27 38
1BH-10-22 | G5/8"X14 | M22x15 175 | 12 | 30 39.5
1BH-12-16 | G3/4"X14 | M16x1.5 185 | 11 | 32 39.5
1BH-12-22 | G3/4"X14 | M22x15 185 | 12 | 32 4055
1BH-12-27 | G3/4"X14 | M27x15 185 | 13 | 32 415
1BH-16-27 G1'X11 | M27x15 205 | 13 | 4 455

- 142 -




Hydraulic Adapters

1BH4-0OG

Q{ A5° G AMEL60° Py HE/
| AISMR SR R
- 45°BSP MALE 60°SEAT/
A \ﬂ METRIC MALE O-
RING
o i24r  THREADE R~ DIMENSIONS

PART NO. E F A B st | s2
1BH4-02- G1/8"'X28 |  M10x1 20 | 235 | 11 | 14
1B714-02- G1/8'X28 | M12x1.5 20 | 275 | 11 | 17
16F14-04- G1/4"X19 | M12x1.5 22 | 283 | 14 | 17
18714-04- G1/4"X19 | M14x1.5 22 | 283 | 14 | 19
1BFI4-04- G1/4"X19 | M16x1.5 22 | 293 | 17 | 22
1BFI4-06- G3/8"X19 | M14x15 22 | 288 | 17 | 19
1BHI4-06- G3/8'X19 | M16x1.5 22 | 203 | 17 | 22
1BF14-06- G3/8"X19 | M18x1.5 25 | 31 | 19 | 24
1BF14-08- G1/2'X14 | M18x1.5 27 | 333 | 22 | 24
1BR4-08- G1/2'X14 | M22x15 33 | 333 | 27 | 27
1BR14-10- G5/8'X14 | M22x1.5 33 |33 | 27 | 27
18R14-12- G3/4"X14 | M22x15 33 |35 | 27 | 27
1BRd-12- G3/4"X14 | M27x15 33 | 395 | 27 | 32
18RI 16- GI'X11 | M27x15 37 | 405 | 33 | 32
270G

- 143 -




Hydraulic Adapters

S2

;%Mﬁr

1BH9-0OG

< 90° T SMRLL60° A HE/
NHISHREUR R
90°BSP MALE 60°SEAT/
s METRIC MALE 0-RING
=2 R4 THREADE R~} DIMENSIONS

PART NO. E F A B s1 | s2
1BH9-02- G1/8"X28 M10x1 25 | 265 | 11 | 14
1BFIS-02- G1/8'X28 | M12x15 25 | 305 | 11 | 17
18H19-04- G1/4"X19 | M12x15 29 | 32 | 14 | 17
1BF15-04- G1/4"X19 | M14x15 29 | 325 | 14 | 19
1BFIS-04- G1/4"X19 | M16x15 30 | 348 | 17 | 22
1BF1S-06- G3/8'X19 | M14x1.5 30 | 34 | 17 | 19
1BH9-06- G3/8"X19 | M16x15 30 | 348 | 17 | 22
1BF1S-06- G3/8'X19 | M18x1.5 33 | 37 | 19 | 24
1BFIS-08- G1/2'X14 | M18x1.5 37 | 395 | 22 | 24
1B73-08- G1/2'X14 | M22x15 40 | 402 | 27 | 27
1BH9-10- G5/8'X14 | M22x15 40 | 402 | 27 | 27
1615-12- G3/4"X14 | M22x15 40 | 435 | 27 | 27
TBRS-12- G3/4"X14 | M27x15 40 | 485 | 27 | 32
1BHIS-16- G1'X11 | M27x15 49 | 52 | 33 | 32
270G

- 144 -




Hydraulic Adapters

- - 1BJ

YL AMERSL60° PN HESK 7S A i 11 2H.
\ B B ] I CAMEACT 40 S
% 7 BSP MALE DOUBLE FOR

60 °SEAT BONDED SEAL/JIC
MALE 74 °CONE

S1

re 24, THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
1BJ-02-04 G1/8'X28 | U7/16"X20 10 | 14 | 14 | 30
1BJ-02-05 G1/8'X28 | U1/2"X20 10 | 14 | 14 | 30
1BJ-02-06 G1/8"X28 | U9/16"X18 10 | 14 | 14 | 30
1BJ-04 G1/4"X19 | U7/16"X20 12 | 14 | 19 | 32
1BJ-04-05 G1/4"X19 | U1/2"X20 12 | 14 | 19 | 32
1BJ-04-06 G1/4"X19 | U9/16"X18 12 | 14 | 19 | 32
1BJ-04-08 G1/4"X19 | U3/4"X16 12 | 167 | 19 | 37
1BJ-04-10 G1/4"X19 | U7/8"X14 12 | 195 | 22 | 395
1BJ-06 G3/8"X19 | U9/16"X18 135 | 14 | 22 | 35
1BJ-06-04 G3/8"X19 | U7/16"X20 135 | 14 | 22 | 35
1BJ-06-05 G3/8"X19 | U1/2"X20 135 | 14 | 22 | 35
1BJ-06-08 G3/8"X19 | U3/4"X16 135 | 167 | 22 | 38
1BJ-06-10 G3/8'X19 | U7/8"X14 135 | 195 | 22 | 41
1BJ-06-12 G3/8"X19 | U1.1/16"X12 135 | 22 | 30 | 445
1BJ-08 G1/2'X14 | U3/4"X16 16 | 167 | 27 | 42
1BJ-08-04 G1/2"X14 | U7/16"X20 16 | 14 | 27 | 40
1BJ-08-05 G1/2"X14 | U1/2"X20 16 | 14 | 27 | 40
1BJ-08-06 G1/2'X14 | U9/16"X18 16 | 14 | 27 | 40
1BJ-08-10 G1/2'X14 | U7/8"X14 16 | 195 | 27 | 455
1BJ-08-12 G1/2'X14 |U1.1/16"X12 16 | 22 | 30 | 47
1BJ-08-16 G1/2"X14 | U1.5/16"X12 16 | 23 | 36 | 50
1BJ-10 G5/8"X14 | U7/8"X14 175 | 195 | 30 | 46
1BJ-10-08 G5/8'X14 | U3/4"X16 175 | 167 | 30 | 43
1BJ-10-12 G5/8"X14 | U1.1/16"X12 175 | 22 | 30 | 485
1BJ-10-16 G5/8"X14 | U1.5/16"X12 175 | 23 | 36 | 515
1BJ-12 G3/4"X14 | U1.1/16"X12 185 | 22 | 32 | 50
1BJ-12-06 G3/4"X14 | U9/16"X18 185 | 14 | 32 | 42
1BJ-12-08 G3/4"X14 | U3/4"X16 185 | 167 | 32 | 46
1BJ-12-10 G3/4"X14 | U7/8"X14 185 | 195 | 32 | 49

- 145 -



Hydraulic Adapters

e T
R 1240 THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
1BJ-12-16 | G3/4"X14 |UL1.5/16"X12 185 | 23 | 36 | 52
1BJ-12-20 | G3/4"X14 | U1.5/8"X12 185 | 245 | 46 | 56
1BJ-16 G1"'X11 |U1.5/16"X12 205 | 23 | 41 | 56
1BJ-16-08 G1"'X11 | U3/4"X16 205 | 167 | 41 | 49
1BJ-16-10 G1'X11 | U7/8"X14 205 [ 195 | 41 | 52
1BJ-16-12 G1'X11 |U1.1/16"X12 205 | 22 | 41 | 54
1BJ-16-20 G1"'X11 | U1.5/8"X12 205 | 245 | 46 | 595
1BJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 245 | 50 | 62
1BJ-20-12 | G1.1/4"X11 | U1.1/16"X12 205 | 22 | 50 | 59
1BJ-20-16 | G1.1/4"X11 | U1.5/16"X12 205 | 23 | 50 | 60
1BJ-20-24 | G1.1/4"X11 | U1.7/8"X12 205 | 275 | 50 | 65
1BJ-24-16 | G1.1/2"X11 |U1.5/16"X12 23 | 23 | 55 | 63
1BJ-24-20 | G1.1/2"X11 | U1.5/8"X12 23 | 245 | 55 | 64
1BJ-24 G1.1/2"X11 | UL.7/8"X12 23 | 275 | 55 | 67
1BJ-24-32 | G1.1/2"X11 | U2.1/2"X12 23 | 34 | 65 | 74
1BJ-32 G2'X11 | U2.1/2"X12 255 | 34 | 70 | 77
1BJ-32-24 G2'X11 | UL.7/8"X12 255 [ 275 | 70 | 71

- 146 -




Hydraulic Adapters

1BJ4

A5° YL HMZL60° P HE/
L JICHMELLT4° b1
45°BSP MALE 60°SEAT/

A s1 JIC MALE 74°CONE
= 1240 THREADE R <) DIMENSIONS
PART NO. E F A B S1
1BJ4-04 G1/4"X19 U7/16"X20 22 22 14
1BJ4-04-05 G1/4"X19 U1/2"Xx20 22 22 14
1BJ4-04-06 G1/4"X19 U9/16"X18 22 22 14
1BJ4-06 G3/8"X19 U9/16"X18 22 22 17
1BJ4-06-08 G3/8"X19 U3/4"X16 25 25 19
1BJ4-08 G1/2"X14 U3/4"X16 27 27 22
1BJ4-08-10 G1/2"X14 U7/8"X14 27 27 22
1BJ4-10 G5/8"X14 U7/8"X14 33 33 27
1BJ4-12 G3/4"X14 |U1.1/16"X12 33 33 27
1BJ4-16 G1"X11 |U1.5/16"X12 37 37 33
1BJ4-16-20 G1"X11 U1.5/8"X12 40 40 44
1BJ4-20 G1.1/4"X11 | U1.5/8"X12 40 40 44
1BJ4-24 G1.1/2"x11 | UL1l.7/8"X12 47 47 53
1BJ4-32 G2"X11 U2.1/2"X12 55 55 65

- 147 -




Hydraulic Adapters

F
e 1BJ9
J
< 90°TL/E FMRLL60° A HE/
% S IICHMERLT4 °F HE
A 90°BSP MALE 60°SEAT/
A s1 JIC MALE 74°CONE
=) 24 THREADE R~} DIMENSIONS
PART NO. E F A B s1
1BJ9-04 G1/4"X19 | U7/16"X20 27 29 | 14
1BJ9-04-05 | GL/4"X19 | U1/2"X20 27 29 | 14
1BJ9-04-06 | G1/4"X19 | U9/16"X18 27 29 | 14
1BJ9-06 G3/8"X19 | U9/16"X18 29 | 30 | 17
1BJ9-06-08 | G3/8"X19 | U3/4"X16 33 | 33 | 19
1BJ9-08 G1/2"X14 | U3/4"X16 37 | 37 22
1BJ9-08-10 | G1/2'X14 | U7/8"X14 37 | 37 22
1BJ9-10 G5/8"X14 | U7/8"X14 4 | 40 | 27
1BJ9-12 G3/4"X14 |U1.1/16"X12 4 | 40 | 27
1BJ9-16 G1'X11 |U1.5/16"X12 49 | 49 33
1BJ9-16-20 G1'X11 | U1.5/8"X12 57 | 57 | 44
1BJ9-20 G1.1/4"X11 | U1.5/8"X12 57 | 57 | 44
1BJ9-24 G1.1/2"X11 | U1.7/8"X12 57 | 57 | 48
1BJ9-32 G2'X11 | U2.1/2"X12 66 66 | 65

- 148 -




Hydraulic Adapters

i
/

1BM

DU SMRZL60° ] HE SIS A i T 416 2w
A HISMESI60° P HES N A i T AL 6 He s
BSP MALE 60°SEAT DOUBLE
60°SEAT BONDED
SEAL/METRIC MALE
DOUBLE 60°SEAT BONDED SEAL

S1
R %40 THREADE R <) DIMENSIONS
PART NO. E F A B s1 L
1BM-02-12 | G1/8"X28 | M12x15 10 10 17 28
1BM-04-12 | G1/4"X19 | M12x15 12 10 19 30
1BM-04-14 | G1/4"X19 | M14x15 12 11 19 31
1BM-04-16 | GL/4"X19 | M16x1.5 12 12 22 34
1BM-04-18 | G1/4"X19 | M18x15 12 12 24 | 34
1BM-06-12 | G3/8"X19 | M12x1.5 135 | 10 22 | 325
1BM-06-14 | G3/8"X19 | M14x1.5 135 | 11 22 | 335
1BM-06-16 | G3/8'X19 | M16x1.5 135 | 12 22 | 345
1BM-06-18 | G3/8'X19 | M18x15 135 | 12 24 | 345
1BM-06-22 | G3/8"X19 | M22x1.5 135 | 14 27 | 395
1BM-08-14 | G1/2'X14 | M14x15 16 11 27 39
1BM-08-16 | G1/2'X14 | M16x15 16 12 27 40
1BM-08-18 | G1/2'X14 | M18x1.5 16 12 27 40
1BM-08-22 | G1/2'X14 | M22x15 16 14 27 42
1BM-10-22 | G5/8"X14 | M22x1.5 175 | 14 30 | 435
1BM-12-18 | G3/4'X14 | M18x1.5 185 | 12 32 | 425
1BM-12-22 | G3/4"X14 | M22x1.5 185 | 14 32 | 445
1BM-16-14 G1"X11 M14x1.5 205 | 11 41 46
1BM-16-22 G1'X11 M22x1.5 205 | 14 41 49

- 149 -



Hydraulic Adapters

1BO

SR AMREL60° P HE N A i T 1 £ 2R
I SAES MRS O T [l 42 R 41
BSP MALE 60 °SEAT BONDED SEAL
ISAE O-RING BOSS L-SERIES

s o
s/

e 124 THREADE U~} DIMENSIONS
PART NO. E F A B s1 L
1BO-04 G1/4"X19 | U7/16"X20 12 10 19 28
1BO-04-05 | GL/4"X19 | U1/2"X20 12 10 19 28
1BO-04-06 | G1/4"X19 | U9/16"X18 12 12 19 30
1BO-04-08 | GL/4"X19 | U3/4"X16 12 12 22 | 32
1BO-06 G3/8"X19 | U9/16"X18 135 | 12 22 | 335
1BO-06-04 | G3/8"'X19 | U7/16"X20 135 | 10 22 | 315
1BO-06-08 | G3/8'X19 | U3/4"X16 135 | 12 24 | 335
1BO-06-10 | G3/8"X19 | U7/8"X14 135 | 135 | 27 | 37
1BO-08 G1/2"X14 | US3/4"X16 16 12 27 | 38
1BO-08-06 | G1/2'X14 | U9/16"X18 16 12 27 | 38
1BO-08-10 | G1/2'X14 | U7/8"X14 16 | 135 | 27 | 395
1BO-08-12 | G1/2"X14 |U1.1/16"X12 16 16 32 | 42
1BO-10 G5/8"X14 | U7/8"X14 175 | 135 | 30 | 41
1BO-10-08 | G5/8"X14 | U7/8"X14 175 | 12 30 | 395
1BO-10-12 | G5/8"X14 |U1.1/16"X12 175 | 16 32 | 435
1BO-12 G3/4"X14 |U1.1/16"X12 185 | 16 32 | 445
1BO-12-08 | G3/4"X14 | U3/4"X16 185 | 12 32 | 405
1BO-12-10 | G3/4"X14 | U7/8"X14 185 | 135 | 32 | 42
1BO-12-16 | G3/4"X14 |U1.5/16"X12 185 | 17 41 | 475
1BO-16 G1'X11 |U1.5/16"X12 205 | 17 41 | 495
1BO-16-10 G1'X11 | U7/8'X14 205 | 135 | 41 | 46
1BO-16-12 G1'X11 |U1.1/16"X12 205 | 16 41 | 485
1BO-16-20 G1'X11 | UL.5/8"X12 205 | 18 50 | 55.5
1BO-20 | G1.1/4"X11 | U1.5/8"X12 205 | 18 50 | 555
1BO-20-16 | G1.1/4"X11 | U1.5/16"X12 205 | 17 50 | 54.5
1BO-24 | G1.1/2"X11 | U1.7/8"X12 23 | 185 | 55 | 585

- 150 -




Hydraulic Adapters

- 1BW
_—
YL HMRSL60° N AHESL /S A
i [ 2H 5 3085 B IR
% BSP MALE 60°SEAT
BONDED SEAL/BUTT-
WELD TUBE
s1
foE 240 THREADE |#T4M% TUBE R~ DIMENSIONS
PART NO. E 0.Dp A B s1 L
1BW-04-10 | G1/4"X19 10 12 7 19 25
1BW-06-14 | G3/8"X19 14 135 8 22 | 295
1BW-08-18 | G1/2"X14 18 16 10 27 36
1BW-12-22 | G3/4"X14 22 185 | 10 32 | 385
1BW-12-28 | G3/4"X14 28 185 | 12 32 | 405
1BW-16-28 | G1"X11 28 205 | 12 41 | 445
1BW-16-30 | G1"X11 30 205 | 12 41 | 445
1BW-20-34 |G1.1/4"X11 34 205 | 14 50 | 51.5
1BW-20-36 |G1.1/4"X11 36 205 | 14 50 | 51.5
1BW-20-42 |G1.1/4"X11 42 205 | 16 50 | 53.5
1BW-24-36 |G1.1/2"X11 36 23 14 55 54
1BW-24-42 |G1.1/4"X11 42 23 16 55 56
1BW-24-50 |G1.1/2"X11 50 23 16 55 56
S1
2WB
JRPE 198 N IREL60° Mk
% = BUTT-WELD TUBE/BSP FEMALE 60°CONE
c
=) ¥4 THREADE | % 74M% TUBE U~} DIMENSIONS
PART NO. E 0.Dp C S1
2WB-10-04 | G1/4"X19 10 55 19
2WB-14-06 | G3/8"X19 14 6.5 22
2WB-18-08 | G1/2"X14 18 8 27
2WB-22-08 | G1/2"X14 22 8 27
2WB-22-12 | G3/4"X14 22 115 32
2WB-28-16 | G1'X11 28 115 41
2WB-34-20 |G1.1/4"X11 34 12 50
2WB-42-20 |G1.1/4"X11 42 12 50
2WB-50-24 |G1.1/2"X11 50 13 55

- 151 -




Hydraulic Adapters

iy 1B-WD

| SR AMRZT60° P HESI N A i T AL £ s
» 7 I9EE MR SO e

BSP MALE 60°SEAT BONDED SEAL
/BSP MALE CAPTIVE SEAL

R 124 THREADE '~} DIMENSIONS
PART NO. E F A B s1 L
1B-04WD | G1/4"X19 | G1/4"X19 12 12 19 32
1B-04-06WD | G1/4"X19 | G3/8"X19 12 | 135 | 22 | 36
1B-04-08WD | G1/4"X19 | G1/2"X14 12 16 27 | 41
1B-06WD | G3/8'X19 | G3/8"X19 135 | 135 | 22 | 355
1B-06-08WD | G3/8"X19 | G1/2"X14 135 | 16 27 | 425
1B-08WD | G1/2"X14 | G1/2'X14 16 16 27 | 45
1B-08-12WD | G1/2"X14 | G3/4"X14 16 | 185 | 32 | 485
1B-12WD | G3/4"X14 | G3/4"X14 185 | 185 | 32 | 49
1B-12-16WD | G3/4"X14 | G1'X11 185 | 205 | 41 | 55
1B-16WD G1'X11 | G1'X11 205 | 205 | 41 | 57
1B-16-20WD | G1"X11 |G1.1/4"X11 205 | 205 | 50 | 59
1B-20WD | G1.1/4"X11|G1.1/4"X11 205 | 205 | 50 | 59

-152 -



Hydraulic Adapters

A >
N \ T 2 B\]
| Y HMEEI60° P HE N F i T 4L

|7 /%%% - A BE S R B INCH L 74° N HE

BSP MALE DOUBLE FOR

J 60°SEAT BONDED SEAL/JIC

S1 c FEMALE 74 °SEAT
fRE 124 THREADE R~} DIMENSIONS

PART NO. E F A C s1 S2
2BJ-02-04 | G1/8"X28 | U7/16"X20 10 | 85 14 17
2BJ-02-06 | G1/8"X28 | U9/16"X18 10 10 14 19
2BJ-04 G1/4"X19 | U7/16"X20 12 | 85 19 17
2BJ-04-05 | G1/4"X19 | U1/2"X20 12 | 95 19 19
2BJ-04-06 | G1/4"X19 | U9/16"X18 12 10 19 19
2BJ-04-08 | G1/4"X19 | U3/4"X16 12 11 19 24
2BJ-06 G3/8"X19 | U9/16"X18 135 | 10 22 19
2BJ-06-08 | G3/8'X19 | U3/4"X16 135 | 11 22 24
2BJ-06-10 | G3/8'X19 | U7/8"X14 135 | 11 22 27
2BJ-08 G1/2'X14 | U3/4"X16 16 11 27 24
2BJ-08-06 | G1/2"X14 | U9/16"X18 16 10 27 19
2BJ-08-10 | G1/2"X14 | U7/8'X14 16 11 27 27
2BJ-10 G5/8"X14 | U7/8"X14 175 | 11 30 27
2BJ-12 G3/4"X14 |U1.1/16"X12 185 | 135 | 32 32
2BJ-12-08 | G3/4"X14 | U3/4"X16 185 | 11 32 24
2BJ-12-10 | G3/4"X14 | U7/8"X14 185 | 11 32 27
2BJ-12-16 | G3/4"X14 |U1.5/16"X12 185 | 145 | 32 41
2BJ-16 GI1'X11 |U1.5/16"X12 205 | 145 | 41 41
2BJ-16-20 G1'X11 |U1.5/8"X12 205 | 155 | 41 50
2BJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 155 | 50 50
2BJ-20-24 | G1.1/4"X11 | U1.7/8"X12 205 | 185 | 50 55
2BJ-24 G1.1/2"X11 | U1.7/8"X12 23 | 185 | 55 55
2BJ-32 G2'X11 | U2.1/2"X12 255 | 245 | 70 75

- 153 -




Hydraulic Adapters

S
A 2
F 2BJ-WD

J SAMRAUR S 4

=z FKHIJIC AR LLT4 ° P HE

BSP MALE CAPTIVE

C SEAL/ JIC FEMALE

74°SEAT
= 124 THREADE U~} DIMENSIONS

PART NO. E F A C S1 S2
2BJ-02-04WD| G1/8"X28 | U7/16"X20 10 85 14 17
2BJ-04-05WD| G1/4"X19 U1/2"X20 12 9.5 19 19
2BJ-04-06WD| G1/4"X19 | U9/16"X18 12 10 19 19
2BJ-04-08WD| G1/4"X19 U3/4"X16 12 11 19 24
2BJ-04WD | G1/4"X19 | U7/16"X20 12 85 19 17
2BJ-06-08WD| G3/8"X19 U3/4"X16 135 11 22 24
2BJ-06WD | G3/8"X19 | U9/16"X18 135 10 22 19
2BJ-08-06WD| G1/2"X14 | U9/16"X18 16 10 27 19
2BJ-08-10WD| G1/2"X14 U7/8"X14 16 11 27 27
2BJ-08WD | G1/2"X14 U3/4"X16 16 11 27 24
2BJ-12-16WD| G3/4"X14 |U1.5/16"X12 185 | 145 32 41
2BJ-12WD | G3/4"X14 |U1.1/16"X12 185 | 135 32 32
2BJ-16WD G1"X11 |U1.5/16"X12 205 | 145 41 41
2BJ-20-16WD | G1.1/4"X11| U1.5/16"X12 205 | 145 50 41
2BJ-20WD |G1.1/4"X11| U1.5/8"X12 205 | 155 50 50
2BJ-24WD | G1.1/2"X11| U1.7/8"X12 23 18.5 55 55

- 154 -




Hydraulic Adapters

2TB

| |
iz s, ) - S MR LU PIROL0° 1
J j BSPT MALE/BSP FEMALE
E Si 60°CONE
e 1240 THREADE R~} DIMENSIONS
PART NO. E F A C s1 S2
2TB-02 ZG1/8"'X28 | G1/8"X28 10 | 55 12 14
2TB-02-04 | ZG1/8"X28 | G1/4"X19 10 | 55 14 19
2TB-04 ZGL/4"X19 | G1/4"X19 14 | 55 17 19
2TB-04-06 | ZGl/4"X19 | G3/8"X19 14 | 65 17 22
2TB-04-08 | ZGL/4"X19 | G1/2"X14 14 8 19 27
27B-06 ZG3/8"X19 | G3/8"X19 14 | 65 | 19 22
2TB-06-08 | ZG3/8'X19 | G1/2"X14 14 8 22 27
27B-08 ZG1/2'X14 | G1/2"X14 19 8 22 27
2TB-08-06 ZG1/2'X14 | G3/8"X19 19 | 65 22 24
2TB-08-12 | ZG1/2'X14 | G3/4"X14 19 | 115 | 27 32
2TB-12 ZG3/4"X14 | G3/4"X14 195 | 115 | 30 32
2TB-12-16 | ZG3/4"X14 G1"X11 195 | 115 | 32 41
27B-16 ZG1"X11 G1'X11 24 | 115 | 36 41
2TB-16-20 ZG1"'X11 | GL.1/4"X11 24 12 41 50
2TB-20 ZG1.1/4"X11 | G1.1/4"X11 25 12 46 50
2TB-24 ZG1.1/2"X11 | G1.1/2"X11 25 13 50 55
27B-32 ZG2"X11 G2"X11 29 16 70 70

- 155 -




Hydraulic Adapters

N el

A S1

21B4

A5°YLHEE SMRLUIE W IRS60° 41
45°BSPT MALE/BSP FEMALE
60°CONE

fRE 1240 THREADE

R ~} DIMENSIONS

PART NO. E F

A C S1 S2

2TB4-02 ZG1/8"X28 G1/8"X28

20 55 11 14

2TB4-04 ZG1/4"X19 G1/4"X19

22 5.5 14 19

2TB4-06 ZG3/8"X19 G3/8"X19

22 6.5 17 22

2TB4-08 ZG1/2"X14 Gl/2"X14

27 8 22 27

2TB4-12 ZG3/4"X14 G3/4"X14

33 115 27 32

2TB4-16 ZG1"X11 G1"X11

37 115 33 41

2NB4-20 ZG1.1/4"X11 | G1.1/4"X11

40 12 44 50

2NB4-24 ZG1.1/2"X11 | G1.1/2"X11

47 13 53 55

s
=

21B9

Q0°FLHER SMREY/ T N IRSL60°4 M
90°BSPT MALE/BSP FEMALE

| —
60°CONE
A S1
e 24 THREADE J\  ~F DIMENSIONS
PART NO. E F A C s1 S2

2TB9-02 ZG1/8"X28 G1/8"X28

23 55 11 14

2TB9-04 ZG1/4"X19 G1/4"X19

29 55 14 19

2TB9-06 ZG3/8"X19 G3/8"X19

30 6.5 17 22

2TB9-08 ZG1/2"X14 G1/2"X14

37 8 22 27

2TB9-12 ZG3/4"X14 G3/4"X14

40 115 27 32

2TB9-16 ZG1"X11 G1"X11

49 115 33 41

2NB9-20 ZG1.1/4"X11 | G1.1/4"X11

57 12 44 50

2NB9-24 ZG1.1/2"X11 | G1.1/2"X11

57 13 48 55

- 156 -




Hydraulic Adapters

S
2
T
2NB
|
Yz, A - B SR 5 PIIREG0° i
J NPT MALE/BSP FEMALE 60 °CONE
E S1
e B84, THREADE R <} DIMENSIONS
PART NO. E F A C S1 S2
2NB-02 Z1/8"X27 G1/8"X28 10 55 12 14
2NB-02-04 Z1/8"X27 G1/4"X19 10 55 14 19
2NB-04 Z1/4"X18 G1/4"X19 14 55 17 19
2NB-04-06 Z1/4"X18 G3/8"X19 14 6.5 17 22
2NB-04-08 Z71/4"X18 G1/2"X14 14 8 19 27
2NB-06 Z3/8"X18 G3/8"X19 14 6.5 19 22
2NB-06-08 Z3/8"X18 G1/2"X14 14 8 22 27
2NB-08 Z1/2"X14 G1/2"X14 19 8 22 27
2NB-08-06 Z1/2"X14 G3/8"X19 19 6.5 22 24
2NB-08-12 Z1/2"X14 G3/4"X14 19 115 27 32
2NB-12 Z3/4"X14 G3/4"X14 195 | 115 30 32
2NB-12-16 Z3/4"X14 G1"X11 195 | 115 32 41
2NB-16 Z1"X11.5 G1"X11 24 11.5 36 41
2NB-16-20 Z1"X11.5 G1.1/4"X11 24 12 41 50
2NB-20 71.1/4"X11.5 | G1.1/4"X11 25 12 46 50
2NB-24 71.1/2"X11.5 | G1.1/2"X11 25 13 50 55
2NB-32 Z2"X11.5 G2"X11 29 16 70 70

- 157 -




Hydraulic Adapters

(I -

2NB4

A5 A HER FMELL T IR L60° 4 M
45°NPT MALE/BSP FEMALE

A st 60°CONE
fo 1240 THREADE R~ DIMENSIONS
PART NO. E F A C s1 S2
2NB4-02 Z1/8"X27 G1/8"X28 20 | 55 11 14
2NB4-04 Z1/4"X18 G1/4"X19 22 | 55 14 19
2NB4-04-06 | Z1/4"X18 G3/8"X19 22 | 65 17 22
2NB4-06 Z3/8"X18 G3/8"X19 22 | 65 | 17 22
2NB4-06-04 | Z3/8'X18 G1/4"X19 22 | 55 17 19
2NB4-06-08 | Z3/8"X18 G1/2"X14 25 8 19 27
2NB4-08 Z1/2"X14 G1/2"X14 27 8 22 27
2NB4-08-06 | Z1/2"X14 G3/8"X19 27 | 65 22 22
2NB4-12 Z3/4"X14 G3/4"X14 33 | 115 | 27 32
2NB4-12-08 | Z3/4"X14 G1/2"X14 33 8 27 27
2NB4-12-16 | Z3/4"X14 G1"X11 37 | 115 | 33 41
2NB4-16 Z1"X11.5 G1'X11 37 | 115 | 33 41
2NB4-16-12 | Z1"X11.5 G3/4"X14 37 | 115 | 33 32
2NB4-20 | Z1.1/4"X115 | G1.1/4"X11 40 12 44 50
2NB4-24 | Z1.1/2"X115 | G1.1/2"X11 47 13 53 55
2NB4-32 Z2"X11.5 G2"X11 55 16 65 70

- 158 -




Hydraulic Adapters

AgL_I

2]

il

B

[

L

2NB9

Q0° AT HEE SMRSUTLE W IRLL60°FMfE
90°NPT MALE/BSP FEMALE

60°CONE
A S1

= 1240 THREADE U~} DIMENSIONS
PART NO. E F A C s1 S2
2NB9-02 Z1/8"X27 G1/8"X28 23 | 55 | 11 14
2NB9-04 Z1/4"X18 G1/4"X19 29 | 55 | 14 19
2NB9-04-06 | Z1/4"X18 G3/8"X19 30 | 65 | 17 22
2NB9-06 Z3/8"X18 G3/8"X19 30 | 65 | 17 22
2NB9-06-04 | Z3/8"X18 G1/4"X19 30 | 55 | 17 19
2NB9-06-08 | Z3/8'X18 G1/2"X14 33 8 19 27
2NB9-08 Z1/2"X14 G1/2"X14 37 8 22 27
2NB9-08-06 | Z1/2"X14 G3/8"X19 37 | 65 | 22 22
2NB9-12 Z3/4"X14 G3/4"X14 40 | 115 | 27 | 32
2NB9-12-08 | Z3/4"X14 G1/2"X14 40 8 27 27
2NB9-12-16 | Z3/4"X14 G1'X11 49 | 115 | 33 41
2NB9-16 Z1'X11.5 G1'X11 49 | 115 | 33 41
2NB9-16-12 | Z1"X115 G3/4"X14 49 | 115 | 33 | 32
2NB9-20 | Z1.1/4"X11.5 | G1.1/4"X11 57 12 44 | 50
2NB9-24 | Z1.1/2"X11.5 | G1.1/2"X11 57 | 13 48 55
2NB9-32 Z2"X11.5 G2'X11 66 16 65 70

- 159 -




Hydraulic Adapters

S1

4BN-WD

FEEIMREUL A

ESNPAVER SR

7
BSP MALE CAPTIVE SEAL HOLLOW
HEX PLUG
s
e I#4 THREADE U~} DIMENSIONS
PART NO. E A d D s1 H L
4BN-04WD | G1/4"X19 12 | 163 | 19 6 | 12 | 173
4BN-06WD | G3/8"X19 12 | 187 | 22 8 | 12 | 173
4BN-08WD | G1/2'X14 14 | 237 | 27 | 10 | 12 | 193
4BN-12WD | G3/4"X14 16 29 32 12 | 12 | 213
4BN-16WD | G1"X11 16 | 355 | 40 | 14 | 16 | 228
A —
A SRS B
BSP MALE CAPTIVE SEAL PLUG
H
foe 22 THREADE JU st DIMENSIONS
PART NO. E A d s1 H
4B-0AWD | G1/4"X19 12 | 163 | 19 | 12
4B-06WD | G3/8"X19 12 | 187 | 22 | 12
4B-08WD | G1/2"X14 14 | 237 | 27 | 12
4B-12WD | G3/4"X14 16 29 32 | 12
4B-16WD G1"X11 16 | 355 | 41 | 16

- 160 -



Hydraulic Adapters

L
] 5B
| A HMRE60° N HEEL S A i
P T 2H 5 5 B 198 IR AT
7 BSP MALE DOUBLE FOR
J 60 °SEAT BONDED
SEAL/BSP FEMALE
s

e 240 THREADE R </ DIMENSIONS
PART NO. E F A s1 L
5B-02-04 G1/8"X28 | G1/4"X19 10 19 28
5B-04-02 Gl/A"X19 | G1/8'X28 12 19 30

5B-04 G1/4"X19 | GL/4"X19 12 19 30
5B-04-06 G1/4"X19 | G3/8"X19 12 22 32
5B-06-04 G3/8"X19 | G1/4"X19 13.5 22 335

5B-06 G3/8"X19 | G3/8"X19 13.5 22 335
5B-06-08 G3/8"X19 | G1/2"X14 13.5 27 335
5B-08-06 G1/2"X14 | G3/8"X19 16 27 36

5B-08 Gl/2'X14 | G1/2"X14 16 27 36
5B-08-10 Gl/2'X14 | Gb/8"X14 16 30 42
5B-08-12 Gl/2'X14 | G3/4"X14 16 32 40
5B-10-08 G5/8"X14 | G1/2"X14 17.5 30 44
5B-12-08 G3/4"X14 | G1/2"X14 18.5 32 43

5B-12 G3/4"X14 | G3/4"X14 18.5 32 425
5B-12-16 G3/4"X14 G1"X11 18.5 41 525
5B-16-12 G1'X11 | G3/4"X14 20.5 41 54.5

5B-16 G1"X11 G1"X11 20.5 41 54.5
5B-16-20 G1'X11 | GL.1/4"X11 20.5 50 37.5
5B-20-16 | GL.1/4"X11| G1"X11 20.5 50 57.5

5B-20 G1.1/4"X11 | G1.1/4"X11 20.5 50 56.5
5B-20-24 | G1.1/4"X11 | G1.1/2"X11 20.5 55 57.5

5B-24 G1.1/2"X11 | G1.1/2"X11 23 55 60
5B-32-24 G2'X11 | GL.1/2"X11 23 70 60

5B-32 G2'X11 G2'X11 25.5 70 62.5

- 161 -




Hydraulic Adapters

,L_I

5B9

N
Q0°JL AT HMIE LT 60° PN 4/ B AL
K 90°BSP MALE 60°SEAT/BSP FEMALE
A S1

e 1240 THREADE U <) DIMENSIONS
PART NO. E F A B s1
5B9-02 G1/8"X28 | G1/4"X19 22 17 14
5B9-04 GL/4"X19 | G1/4"X19 27 21 17
5B9-06 G3/8"X19 | G3/8"X19 32 27 22
5B9-08 Gl/2"X14 | G1/2"X14 35 30 27
5B9-12 G3/4"X14 | G3/4"X14 40 32 33
5B9-16 G1"X11 G1"X11 49 38 41

- 162 -



Hydraulic Adapters

S1

A(ﬁ7[,_\

S5BN

S FMRELL60° P HE BN i 1 2
R B SEHIATHEE A IRSC BSP

Z 4 MALE DOUBLE FOR 60 °EAT

\IL BONEDE SEAL/NPT FEMALE
e 40  THREADE U~/ DIMENSIONS
PART NO. E F A s1 L
5BN-04 Gl/4"X19 | Z1/4"X18 12 19 30
5BN-06 G3/8"X19 | Z3/8"X18 13.5 22 335
5BN-08 Gl/2'X14 | Z1/2"X14 16 27 36
5BN-12 G3/4"X14 | Z3/4"X14 18.5 32 425
5BN-16 G1"X11 Z1'X11.5 205 41 54.5
5BN-20 | G1.1/4"X11 |Z1.1/4"X11.5 205 50 57.5
5BN-24 | G1.1/2"X11 |Z1.1/2"X11.5 23 55 60
5BN-32 G2'X11 Z2"X11.5 255 70 62.5
L
o 5BT
/
B HMREC60 P HE N A7 i 1 2
B B B N IRAL
BSP MALE DOUBLE FOR
22775 60°EAT BONEDE SEAL/BSPT
FEMALE
F
o 240  THREADE R~/ DIMENSIONS

PART NO. E F A s1 L
5BT-04 Gl/4"X19 | ZG1/4"X19 12 19 30
5BT-06 G3/8"X19 | ZG3/8"X19 13.5 22 335
5BT-08 Gl/2'X14 | ZG1/2"X14 16 27 36
5BT-12 G3/4"X14 | ZG3/4"X14 18.5 32 425
5BT-16 G1"X11 ZG1"X11 205 41 54.5
5BT-20 G1.1/4"X11 | ZG1.1/4"X11 205 50 57.5
5BT-24 G1.1/2"X11 | ZG1.1/2"X11 23 55 60
5BT-32 G2'X11 ZG2"X11 255 70 62.5

- 163 -




Hydraulic Adapters

S1
A //_
. 5B-WD
|| S SR SR I A SR
Z BSP MALE CAPTIVE SEAL/BSP
FEMALE

= 124 THREADE U~} DIMENSIONS
PART NO. E F A s1 L
5B-02-04WD | G1/8"X28 | G1/4"X19 10 19 28
5B-02-06WD | G1/8"X28 | G3/8"X19 10 22 30
5B-04-02WD | G1/4"X19 | G1/8"X28 12 19 30
5B-04-06WD | G1/4"X19 | G3/8"X19 12 22 32
5B-04-08WD | G1/4"X19 | G1/2"X14 12 27 32
5B-06-02WD | G3/8"'X19 | G1/8"X28 13.5 22 335
5B-06-04WD | G3/8"X19 | G1/4"X19 13.5 22 335
5B-06-08WD | G3/8"X19 | G1/2"X14 13.5 27 335
5B-08-04WD | G1/2'X14 | G1/4"X19 16 22 36
5B-08-06WD | G1/2"X14 | G3/8"X19 16 27 36
5B-08-12WD | G1/2'X14 | G3/4"X14 16 32 40
5B-12-08WD | G3/4"X14 | G1/2"X14 18.5 32 425
5B-12-16WD | G3/4"X14 G1"X11 18.5 41 525
5B-12-20WD | G3/4"X14 | G1.1/4"X11 18.5 50 52.5
5B-16-12WD | G1'X11 | G3/4"X14 20.5 41 54.5
5B-16-20WD | G1'X11 | GL.1/4"X11 20.5 50 56.5
5B-20-16WD | G1.1/4"X11 | G1"X11 20.5 50 56.5
5B-20-24WD | G1.1/4"X11 | G1.1/2"X11 20.5 55 57.5
5B-20-32WD | G1.1/4"X11 |  G2"X11 20.5 70 57.5
5B-24-16WD | G1.1/2"X11 | G1"X11 23 55 60
5B-24-20WD | G1.1/2"X11 | G1.1/4"X11 23 55 60
5B-24-32WD | G1.1/2"X11 | G2"X11 23 70 60

- 164 -




Hydraulic Adapters

S1

A
oGB
Y FMRATO MY Pl /T P IREL
2 ) BSP MALE O-RING/BSP FEMALE
R 240  THREADE R~ DIMENSIONS
PART NO. E F A S1 L
5GB-04 GLA4"X19 | G1/4"X19 12 19 30
5GB-04-06 | G1/4"X19 | G3/8"X19 12 22 32
5GB-06 G3/8'X19 | G3/8"X19 135 22 335
5GB-06-08 | G3/8"X19 | G1/2'X14 135 27 335
5GB-08 G1/2'X14 | G1/2"X14 16 27 36
5GB-08-12 | G3/4"X14 | G3/4"X14 16 32 40
5GB-12 G3/4"X14 | G3/4"X14 185 32 425
5GB-12-16 | G3/4"X14 G1"X11 18.5 41 52.5
5GB-16-12 G1'X11 | G3/4"X14 205 41 33
5GB-16 G1"X11 G1"X11 205 41 545
S1 S2
| /1B
SEHEE P SRSUSE WIREL60 S
G BSPT FEMALE/BSP FEMALE
60°CONE
E c
= 240  THREADE JU <+ DIMENSIONS
PART NO. E F C S1 S2
7TB-02-04 | ZG1/8"X28 | G1/4"X19 55 17 19
7TB-04 ZG1/4"X19 | G1/4"X19 55 19 19
7TB-04-06 | ZG1/4"X19 | G3/8"X19 6.5 22 22
7TB-06 ZG3/8"X19 | G3/8"X19 6.5 22 22
7TB-06-08 | ZG3/8'X19 | G1/2"X14 8 27 27
77B-08-06 | ZG1/2'X14 | G3/8"X19 6.5 27 22
77TB-08 ZG1/2"X14 | G1/2"X14 8 27 27
7TB-12 ZG3/4"X14 | G3/4"X14 115 | 32 32
7TB-16 ZG1'X11 | G1"X11 115 | 41 41

- 165 -



Hydraulic Adapters

/B

T IR
77777 BSP FEMALE
si/

=) #24. THREADE '~} DIMENSIONS
PART NO. E F L st
7B-02 G1/8"X28 | G1/8"X28 22 14
7B-04 GL/A"X19 | GI1/4"X19 24 19
7B-06 G3/8"X19 | G3/8"X19 26 22
7B-08 G1/2'X14 | G1/2"X14 32 27
7B-10 G5/8"X14 | GB5/8"X14 36 30
7B-12 G3/4"X14 | G3/4"X14 36 32
7B-16 G1"X11 G1"X11 40 4
7B-20 GL.1/4"X11 | G1.1/4"X11 44 50
7B-24 GL.1/2"X11 | G1.1/2"X11 45 55
7B-32 G2"X11 G2"X11 54 70

- 166 -




Hydraulic Adapters

X/

/B9

b A

90°uu e

PWIREL

90°BSP FEMALE

A S1
foe 124 THREADE JU <} DIMENSIONS
PART NO. E A B s1
7B9-02 G1/8"X28 17 17 14
7B9-04 G1/4"X19 21 21 17
7B9-06 G3/8"X19 24 24 22
7B9-08 G1/2"X14 27 27 26
7B9-12 G3/4"X14 33 33 34
7B9-16 G1"X11 38 38 41
7B9-20 G1.1/4"X11 45 45 54
7B9-24 G1.1/2"X11 47 47 56
7B9-32 G2'X11 60 60 68
v, A G B
N
\ L N IRSL =
4 BSP FEMALE TEE
Al \w
R 1240 THREADE '~/ DIMENSIONS
PART NO. E A s1
GB-02 G1/8"X28 17 14
GB-04 G1/4"X19 21 17
GB-06 G3/8"X19 24 22
GB-08 G1/2"X14 27 26
GB-12 G3/4"X14 33 34
GB-16 G1"X11 38 41
GB-20 G1.1/4"X11 45 54
GB-24 G1.1/2"X11 a7 56
GB-32 G2"X11 60 68

- 167 -




Hydraulic Adapters

<. E Y

7 | 2

AB

R&Z
| | ST M6 =i
\ BSP MALE 60°SEAT TEE
A \& B

fro 240 THREADE R ~F DIMENSIONS
PART NO. E F G A B C S1
AB-02 G1/8"X28 G1/8"X28 G1/8"X28 24 24 24 11
AB-04 G1/4"X19 G1/4"X19 G1/4"X19 27 27 27 14
AB-06 G3/8"X19 G3/8"X19 G3/8"X19 28 28 28 17
AB-08 G1/2"X14 G1/2"X14 G1/2"X14 33 33 33 22
AB-10 G5/8"X14 Gb5/8"X14 G5/8"X14 33 33 33 22
AB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 40 40 27
AB-16 G1"X11 G1"X11 G1"X11 49 49 49 33
AB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 57 57 57 44

B S2
2
BB
% SO HMBLL60° P HE/
| | SO PIBLTAME 5 30 5
\ BSP MALE 60°SEAT/
A \&A BSP FEMALE 60°CONE BRANCH
TEE

5 $240 THREADE JU I DIMENSIONS
PART NO. E F A C S1 S2
BB-02 G1/8"X28 G1/8"X28 24 55 11 14
BB-04 G1/4"X19 G1/4"X19 27 55 14 19
BB-06 G3/8"X19 G1/4"X19 28 6.5 17 22
BB-08 G1/2"X14 G1/2"X14 33 8 22 27
BB-12 G3/4"X14 G3/4"X14 40 11.5 27 32
BB-16 G1"X11 G1"X11 49 11.5 33 41
BB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50

- 168 -




Hydraulic Adapters

60°

< E
© CB
7 s I SMRLL60° P/
S A RSO MIE T3 =0

\ — BSP MALE 60°SEAT/

\_ BSP FEMALE 60°CONE RUN TEE
= 240 THREADE R~/ DIMENSIONS
PART NO. E F A C s1 s2
CB-02 G1/8"'X28 | G1/8"X28 24 | 55 11 14
CB-04 G1/4"X19 | GL/4"X19 27 | 55 14 19
CB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 22
CB-08 G1/2'X14 | G1/2"X14 33 8 22 27
CB-12 G3/4"X14 | G3/4"X14 40 | 115 | 27 32
CB-16 G1"X11 G1"X11 49 | 115 | 33 41
CB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 | 50

i/ DB
c c

L

\s1

aae

TUE NIRZUIME =38
BSP FEMALE 60°CONE TEE

e 124 THREADE U~} DIMENSIONS
PART NO. E F C s1 S2
DB-02 G1/8"X28 | G1/8"X28 55 | 11 14
DB-04 Gl/4"X19 | G1/4"X19 55 | 14 19
DB-06 G3/8"'X19 | G1/4"X19 65 | 17 22
DB-08 Gl/2'X14 | G1/2'X14 8 22 | 27
DB-12 G3/4"X14 | G3/4"X14 115 | 27 | 32
DB-16 G1"X11 G1"X11 115 | 33 | 41
DB-20 G1.1/4"X11 | G1.1/4"X11 12 | 44 | 50

- 169 -




Hydraulic Adapters

N o

60°

ey

7 s

[]

Sk

.

EB

S N IRL60° 5 M/
SUE AMRAI60° N HE Y L =3
BSP FEMALE 60°CONE/

\_ JX\ BSP MALE 60° BRANCH
o TEE
S2
(%] 24 THREADE R </ DIMENSIONS
PART NO. E F A C s1 s2
EB-02 G1/8"X28 | G1/8"X28 24 | 55 | 11 14
EB-04 G1/4"X19 | G1/4"X19 27 | 55 | 14 19
EB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 22
EB-08 G1/2'X14 | G1/2"X14 33 8 2 | 27
EB-12 G3/4"X14 | G3/4"X14 4 | 115 | 27 | 32
EB-16 G1'X11 G1"X11 49 | 115 | 33 | 4
EB-20 G1.1/4"X11 | G1.1/4"X11 57 12 | 44 | 50
e/
]/ ——
SR FB
<,
i % YL N IRLL60°F M/
I YL AMREI60° N HE ) 3 =l
BSP FEMALE
—:4,5 ’ 60°CONE/ BSP MALE
J g A 60°BRANCH TEE
(%2 124 THREADE R~} DIMENSIONS
PART NO. E F A C S S2
FB-02 G1/8"X28 | G1/8"X28 24 | 55 | 11 14
FB-04 G1/4"X19 | GL/4"X19 27 | 55 | 14 19
FB-06 G3/8"X19 | G1/4"X19 28 | 65 | 17 22
FB-08 G1/2'X14 | G1/2"X14 33 8 22 | 27
FB-12 G3/4"X14 | G3/4"X14 40 | 115 | 27 | 32
FB-16 G1"X11 G1"X11 49 | 115 | 33 | 41
FB-20 G1.1/4"X11 | G1.1/4"X11 57 | 12 | 44 | 50

-170 -




Hydraulic Adapters

E
ABBG-0OG
S2
. - S SMBL60° P HEE A 18
| L O [ AT 1 i 52 =3
; lb_% | BSP MALE 60°SEAT/BSP
A S o-Rl\l/IrﬁéEADJUSTABLE STUD END
RUN TEE
K= 124 THREADE R < DIMENSIONS
PART NO. E F G A B | st ] s
ABBG-040G | GL/4"X19 | GLA'X19 | G1/4"X19 27 | 245 | 14 | 19
ABBG-04-04- GUA'X19 | GLA4'X19 | G3/8"X19 28 | 265 | 17 | 19
CRABBG-060G | G3/8"X19 | G3/8"'X19 | G3/8"X19 28 | 275 | 17 | 22
ABBG-06-06- G3/8'X19 | G3/8'X19 | GL/2'X19 33 | 31 | 2 | 2
“CRBBG-080G | GL2'X14 | GL2'X14 | GL/2'X14 33 | 345 | 22 | 27
ABBG-120G | G3/4"X14 | G3/4"X14 | G3/4"X14 33 | 40 | 24 | 32
ABBG-160G | GI'X11 | GI'X1l | GI1°X11 4 | 46 | 33 | 4
F
= ABGB-0OG
7
. YL HMIRLLB0° P HEIE R A1
| | BRSO 1Y 8] mT ] [m) A g 43 S =3
BSP MALE 60°SEAT/BSP MALEO-
\ RING ADJUSTABLE STUD END
A \st, BRANCH TEE
= 1240 THREADE U~} DIMENSIONS
PART NO. E F G Al B | st =
ABGB-040G | GL4"™X19 | GLA'X19 | GL/4"X19 27 318 | 14 | 19
ABGB-06-04- GUA™X19 | GL4'X19 | G3/8"X19 28 | 335 | 17 | 19
O RABGB-060G | G3/8'X19 | G3/8'X19 | G3/8"X19 28 | 368 | 17 | 22
ABGB-08-06- G3/8'X19 | G3/8'X19 | G1/2'X19 33 | 395 | 22 | 2
"ORBGB-080G | GL2'X14 | GL2'X14 | G1/2'X14 33 | 432 | 22 | 27
ABGB-12-08- G3/4"X14 | GL2'X14 | G3/4"X14 33 | 465 | 24 | 27
T RBGB-120G | G3/4"X14 | G3/4'X14 | G3/4"X14 33 | 493 | 24 | 32
ABGB-160G | GI'X11 | GI'X1l | G1'X11 4 | 53 | 33 | a

-171 -



Hydraulic Adapters

A B
Gz
£/

s1

1T

SLHEE SRS

BSPT MALE

o 124 THREADE R~ DIMENSIONS
PART NO. E F A B s1 L
1T-02 ZG1/8"X28 | ZG1/8"X28 10 10 12 26
1T-02-04 ZG1/8"X28 | ZG1/4"X19 10 14 14 30
1T-02-06 ZG1/8"X28 | ZG3/8"X19 10 14 17 30
1T-04 ZG1/4"X19 | ZG1/4"X19 14 14 14 34
1T-04-06 ZG1/4"X19 | ZG3/8"X19 14 14 17 34
17-04-08 ZG1/4"X19 | ZG1/2"X14 14 19 22 415
1T-06 ZG3/8"X19 | ZG3/8"X19 14 14 17 34
1T-06-08 ZG3/8"X19 | ZG1/2"X14 14 19 22 41
1T-08 ZG1/2"X14 | ZG1/2"X14 19 19 22 46
17-08-12 ZG1/2"X14 | ZG3/4"X14 19 | 195 | 27 47
1T-12 ZG3/4"X14 | ZG3/4"X14 195 | 195 | 27 48
17-12-16 ZG3/4"X14 | ZG1"X11 195 | 24 36 53
1T-16 ZG1'X11 | ZG1'X11 24 24 36 58
17-16-20 ZG1"X11 |ZG1.1/4"X11 24 25 46 62
1T-20 ZG1.1/4"X11| 2G1.1/4"X11 25 25 46 63
1T-20-24 | ZG1.1/4"X11| ZG1.1/2"X11 25 25 50 65
1T-24 ZG1.1/2"X11| ZG1.1/2"X11 25 25 50 65
1T-24-32  |ZGL.1/2"X11| ZG2"'X11 25 29 70 72
17-32 ZG2"'X11 | ZzG2"'X11 29 29 70 75

- 172 -




Hydraulic Adapters

F
i 1T4
AB° AR HMRAL
45°BSPT MALE
A S1
e 124 THREADE U~} DIMENSIONS
PART NO. E F A B s1
1T4-02 ZG1/8"X28 | ZG1/8"X28 19 21 | 11
1T4-04 ZG1/4"X19 | ZG1/4"X19 22 27 | 14
1T4-06 ZG3/8"X19 | ZG3/8"X19 22 29 | 17
1T4-08 ZG1/2'X14 | ZG1/2"X14 21 | 37 22
1T4-12 ZG3/4"X14 | ZG3/4"X14 33 | 43 | 27
1T4-16 ZG1'X11 | ZG1'X11 37 | 47 | 33
1T4-20 | ZG1.1/4"X11| ZG1.1/4"X11 4 | 56 | 44
1T4-24 | ZG1.1/2"X11| ZG1.1/2"X11 47 | 57 53
1T4-32 ZG2'X11 | ZG2'X11 55 63 | 65
F
5/ 179
| 90° JEHEE HMIRAL
N) 90°BSPT MALE
A S1
R 24 THREADE R~ DIMENSIONS
PART NO. E F A B s1
1T9-02 ZG1/8"X28 | ZG1/8'X28 22 22 | 11
1T9-04 ZG1/4"X19 | ZG1/4"X19 29 27 | 14
1T9-06 ZG3/8"X19 | ZG3/8"X19 30 29 | 17
1T9-08 ZG1/2"X14 | ZG1/2"X14 37 | 37 22
1T9-12 ZG3/4"X14 | ZG3/4"X14 4 | 40 | 27
1T9-16 ZG1'X11 | ZG1'X11 49 | 49 33
1T9-20 | ZG1.1/4"X11| ZG1.1/4"X11 57 | 57 | 44
1T9-24 | ZG1.1/2"X11| ZG1.1/2"X11 57 | 57 | 48
1T9-32 ZG2'X11 | ZzG2'X11 66 66 | 65

- 173 -




Hydraulic Adapters

A
4T
PR SMIRLU
BSPT MALE PLUG
S1 \ E

fRE 124 THREADE R I DIMENSIONS
PART NO. E A s1 L

4T-02 ZG1/8"X28 10 12 16

4T-04 ZG1/4"X19 14 17 20

4T-06 ZG3/8"X19 14 19 21

4T-08 ZG1/2"X14 19 22 27

4T-12 ZG3/4"X14 19.5 30 29

4T-16 ZG1"X11 24 36 36

4T-20 ZG1.1/4"X11 25 46 38

4T-24 ZG1.1/2"X11 25 50 41

4T-32 ZG2"'X11 29 65 46

E
S1
—~ 4TN
e
JHERE SMRSUN N 4k
BSPT MALE HOLLOW HEX
PLUG
L

=) %4 THREADE JU <} DIMENSIONS
PART NO. E s1

4TN-02 ZG1/8"X28 8 5

4TN-04 ZG1/4"X19 10

4TN-06 ZG3/8"X19 12 8

4TN-08 ZG1/2"X14 15 10

4TN-12 ZG3/4"X14 18 12

4TN-16 ZG1"X11 20 17

4TN-20 | ZGl.1/4"X11 22 22

- 174 -




Hydraulic Adapters

S

1

A /-
7

| |

ST

SEHEE MRS R N IRLL

J ) BSPT MALE/BSPT FEMALE

: \e

R 40  THREADE R~ DIMENSIONS
PART NO. E F A s1 L
5T-02 ZG1/8'X28 | ZG1/8"X28 10 14 25
5T-02-04 | ZG1/8"X28 | ZG1/4"X19 10 19 28
5T-04-02 | ZG1/4"X19 | ZG1/8"X28 14 17 20
5T-04 ZG1/4"X19 | ZG1/4"X19 14 19 32
5T-04-06 | ZG1/4"X19 | ZG3/8"X19 14 22 34
5T-06-02 | ZG3/8'X19 | ZG1/8"X28 14 19 21
5T-06-04 | ZG3/8'X19 | ZG1/4"X19 14 19 21
5T-06-06 | ZG3/8"X19 | ZG3/8"X19 14 24 34
5T-06-08 | ZG3/8"X19 | ZG1/2"X14 14 30 40
5T-08-02 | ZG1/2'X14 | ZG3/4"X14 19 24 27
5T-08-04 | ZG1/2"X14 | ZG1/4"X19 19 24 27
5T-08-06 | ZG1/2'X14 | ZG3/8"X19 19 24 27
5T-08-12 | ZG1/2'X14 | ZG3/4"X14 19 36 49
5T-12-04 | ZG3/4"X14 | ZG1/4"X19 195 27 29
5T-12-06 | ZG3/4"X14 | ZG3/8"X19 195 27 29
5T-12-08 | ZG3/4"X14 | ZG1/2"X14 19.5 30 29
5T-12-16 | ZG3/4"X14 | ZG1"X11 195 4 54
5T-12-20 | ZG3/4"X14 | ZG1.1/4"X11 195 50 56
5T-16-06 ZG1'X11 | ZG3/8"X19 24 36 34
5T-16-08 ZG1'X11 | ZG1/2"X14 24 36 34
5T-16-12 ZG1"X11 | ZG3/4"X14 24 36 34
5T-16-16 ZG1'X11 | ZG1'X11 24 M 58
5T-20-12 | ZG1.1/4"X11| ZG3/4"X14 25 46 38
5T-20-16 |ZG1.1/4"X11| ZG1"X11 25 46 38
5T-24-16 |ZG1.1/2"X11| ZG1"X11 25 50 42
5T-24-20 |ZG1.1/2"X11| ZG1.1/4"X11 25 50 42
5T-32-16 ZG2'X11 | ZG1'X11 29 65 47
5T-32-20 ZG2"'X11 | ZG1.1/4"X11 29 65 a7
5T-32-24 ZG2"X11 | ZG1.1/2"X11 29 65 47

- 175 -




Hydraulic Adapters

F

: 519
Q0 YL SMBLUTEHERT WIBAL
)</ 90°BSPT MALE/BSPT FEMALE
A S1

o 124 THREADE R~ DIMENSIONS
PART NO. E F A B s1
579-02 ZG1/8"X28 | ZG1/8"X28 30 23 17
5T9-04 ZG1/4"X19 | ZG1/4"X19 33 25 19
5T9-06 ZG3/8"X19 | ZG3/8"X19 37 25 22
5T9-08 ZG1/2"X14 | ZG1/2"X14 43 | 315 | 27
5T9-12 ZG3/4"X14 | ZG3/4"X14 52 37 33
5T9-16 ZG1"'X11 | ZG1"'X11 59 43 44
579-20 | ZG1.1/4"X11| ZG1.1/4"X11 61 50 50
5T9-24 | ZG1.1/2"X11| ZG1.1/2"X11 65 55 65

- 176 -



Hydraulic Adapters

A B
— /T
TEHER RS
BSPT FEMALE
S1
=) 124 THREADE JU <} DIMENSIONS
PART NO. E F B s1 L
7T-02 ZG1/8"X28 | ZG1/8"X28 8 8 14 22
7T-04-02 | ZGL/4"X19 | ZG1/8"X28 10 8 19 26
7T-04 ZG1/4"X19 | ZG1/4"X19 10 10 19 28
7T-06-04 | ZG3/8"X19 | ZG1/4"X19 10 8 19 26
7T-06 ZG3/8"X19 | ZG3/8"X19 11 11 19 28
7T-08-04 | ZG1/2'X14 | ZG1/4"X19 14 10 27 | 34
7T-08 ZG1/2"'X14 | ZG1/2"X14 14 14 27 | 38
7T-12 ZG3/4"X14 | ZG3/4"X14 155 | 155 | 36 | 42
7T-16 ZG1'X11 | ZG1"X11 17 17 41 | 50
7T-20 ZG1.1/4"X11| ZG1.1/4"X11 19 19 50 | 55
7T-24 ZG1.1/2"X11| ZG1.1/2"X11 19 19 55 | 55
7T-32 ZG2'X11 | zG2'X11 21 21 | 70 60

- 177 -




Hydraulic Adapters

- 7T9

90° HEHEE NIRLL
90°BSPT FEMALE
A s1
R 40 THREADE R~ DIMENSIONS
PART NO. E F A B Sl
7T9-02 ZG1/8"X28 | ZG1/8"X28 17 17 14
77T9-02-04 | ZG1/8"X28 | ZG1/4"X19 21 21 | 17
779-04 ZG1/4"X19 | ZG1/4"X19 21 21 | 17
7T9-06 ZG3/8"X19 | ZG3/8"X19 24 24 | 22
779-08 ZG1/2"X14 | ZG1/2"X14 27 27 | 26
77T9-12 ZG3/4"X14 | ZG3/4"X14 33 | 33 | 34
779-16 ZG1'X11 | ZG1'X11 38 | 38 41
779-20 | ZG1.1/4"X11| ZG1.1/4"X11 45 | 45 | 54
779-24 | ZG1.1/2"X11| ZG1.1/2"X11 47 | 47 | 56
7T9-32 ZG2"'X11 | ZG2'X11 60 | 60 | 68
E GT
27z /%
\ YU PR
1 BSPT FEMALE TEE
A \S1

R %40 THREADE R~ DIMENSIONS
PART NO. E A s1
GT-02 ZG1/8"X28 17 14
GT-04 ZG1/4"X19 21 17
GT-06 ZG3/8"X19 24 22
GT-08 ZG1/2"X14 27 26
GT-12 ZG3/4"X14 33 34
GT-16 ZG1"X11 38 41
GT-20 ZG1.1/4"X11 45 54
GT-24 ZG1.1/2"X11 47 56
GT-32 ZG2'X11 60 68

- 178 -



Hydraulic Adapters

LT

S$1
SR NIRSUY
BSPT FEMALE CROSS

A

R 1240 THREADE '~/ DIMENSIONS
PART NO. E A s1

ZT-02 ZG1/8"X28 17 14

ZT-04 ZG1/4"X19 21 17

ZT-06 ZG3/8"X19 24 22

ZT-08 ZG1/2"X14 27 26

zT-12 ZG3/4"X14 33 34

ZT-16 ZG1"X11 38 41

ZT-20 ZG1.1/4"X11 45 54

L
A S1
5GT
| g LY MRSLO T B SRS RS
% BSP MALE O-RING/BSPT FEMALE

R 240 THREADE U s DIMENSIONS
PART NO. E F A s1 L

5GT-02 G1/8"X28 | ZG1/8"X28 9 14 24

5GT-04 GLl/4"X19 | ZG1/4"X19 12 19 30

5GT-06 G3/8"X19 | ZG3/8"X19 13.5 22 335
5GT-08-06 | G1/2'X14 | ZG3/8"X19 16 27 36

5GT-08 G1/2'X14 | ZG1/2"X14 16 27 36

5GT-12 G3/4"X14 | ZG3/4"X14 18.5 36 49

5GT-16 G1"X11 ZG1"X11 20.5 41 55

- 179 -



Hydraulic Adapters

e

S1

S A HEE SMRLL

1IN

NPT MALE

re 247 THREADE R <+ DIMENSIONS
PART NO. E F A B s1 L
1N-02 Z1/8"X27 Z1/8"X27 10 | 10 | 12 26
1N-02-04 Z1/8"X27 Z1/4"X18 10 | 14 | 14 30
1N-02-06 Z1/8"X27 73/8"X18 10 | 14 | 17 30
1N-04 Z1/4"X18 Z1/4"X18 14 | 14 | 14 34
1N-04-06 71/4"X18 Z3/8"X18 14 | 14 | 17 34
1N-04-08 Z1/4"X18 Z1/2"X14 14 | 19 | 22 415
1N-06 Z3/8"X18 Z3/8"X18 14 | 14 | 17 34
1N-06-08 Z3/8"X18 Z1/2"X14 14 | 19 | 22 a1
1N-08 Z1/2"X14 Z1/2"X14 19 | 19 | 22 46
1N-08-12 Z1/2"X14 Z3/4"X14 19 | 195 | 27 47
IN-12 Z3/4"X14 Z3/4"X14 195 | 195 | 27 48
IN-12-16 Z3/4"X14 Z1"X11.5 195 | 24 | 36 53
IN-16 Z1"X11.5 Z1"X11.5 24 | 24 | 36 58
1N-16-20 Z1"X11.5 | Z1.1/4"X11.5 24 | 25 | 46 62
IN-20 71.1/4"X11.5 |Z1.1/4"X11.5 25 | 25 | 46 63
IN-20-24 | Z1.1/4"X11.5 |Z1.1/2"X11.5 25 | 25 | 50 65
IN-24 Z1.1/2"X11.5 |Z1.1/2"X11.5 25 | 25 | 50 65
IN-24-32  |Z1.1/2"X115 | Z2"X11.5 25 | 29 | 70 72
IN-32 Z2"X11.5 Z2"X11.5 29 | 29 | 70 75

- 180 -




Hydraulic Adapters

E
1N4
A5° S il HE R SMRAL
A 45°NPT MALE
S1
= 240 THREADE J' st DIMENSIONS
PART NO. E F A B s1
1N4-02 Z1/8"X27 Z1/8"X27 19 21 | 11
1N4-04 Z1/4"X18 Z1/4"X18 22 27 | 14
1N4-06 Z3/8"X18 Z3/8"X18 22 29 | 17
1N4-08 Z1/2"X14 Z1/2"X14 27 37 22
1N4-12 Z3/4"X14 Z3/4"X14 33 43 27
1N4-16 Z1'X11.5 Z1"'X11.5 37 a7 33
IN4-20 | Z1.1/4"X11.5 | Z1.1/4"X11.5 40 | 56 44
IN4-24 | Z1.1/2"X11.5 |Z1.1/2"X11.5 47 57 53
1N4-32 Z2"X11.5 Z2"X11.5 55 63 65
1N9
90° K il A HEE S MRLL
90°NPT MALE
= 140  THREADE '~/ DIMENSIONS
PART NO. E F A B s1
1N9-02 Z1/8"X27 Z1/8"X27 22 22 11
1N9-04 Z1/4"X18 Z1/4"X18 29 27 14
1N9-06 Z3/8"X18 Z3/8"X18 30 29 17
1N9-08 Z1/2"X14 Z1/2"X14 37 37 22
1N9-12 Z3/4"X14 Z3/4"X14 40 40 27
1N9-16 Z1'X11.5 Z1'X115 49 49 33
IN9-20 | Z1.1/4"X11.5 |Z1.1/4"X11.5 57 57 44
IN9-24 | Z1.1/2"X11.5 |Z1.1/2"X11.5 57 57 48
1N9-32 Z2"X11.5 Z2"X11.5 66 66 65

-181 -




Hydraulic Adapters

E
£
S1
A4 4NN
SR ATHEE SMESCA N A K
NPT MALE HOLLOW HEX PLUG
L

e 24 THREADE R~} DIMENSIONS
PART NO. E L s1

4NN-02 Z1/8"X27 8 5

4NN-04 Z1/4"X18 10

4NN-06 Z3/8"X18 12 8

4NN-08 Z1/2"X14 15 10

4NN-12 Z3/4"X14 18 12

4NN-16 Z1'X115 20 17

L
A
S A MRS Sk
NPT MALE PLUG
S1 E

e I#4  THREADE U~} DIMENSIONS
PART NO. E A S1 L
4N-02 Z1/8"X27 10 12 16
4N-04 Z1/4"X18 14 17 20
4N-06 Z3/8"X18 14 19 21
4N-08 Z1/2"X14 19 22 27
4N-12 Z3/4"X14 19.5 30 29
4N-16 Z1'X11.5 24 36 36
4N-20 Z1.1/4"X11.5 25 46 38
4N-24 Z1.1/2"X11.5 25 50 41
4N-32 Z2"X11.5 29 65 46

-182 -



Hydraulic Adapters

A P
[ ]/
SN
) | S AT HE T SR SUATHERE A IR
NPT MALE/NPT FEMALE
</ :

e 140  THREADE R <) DIMENSIONS
PART NO. E F A s1 L

5N-02 Z1/8"X27 Z1/8"X27 10 14 25
5N-02-04 Z1/8"X27 Z1/4"X18 10 19 28
5N-04-02 Z1/4"X18 Z1/8"X27 14 17 20

5N-04 Z1/4"X18 Z1/4"X18 14 19 32
5N-04-06 Z1/4"X18 Z3/8"X18 14 22 34
5N-06-02 Z3/8"X18 Z1/8"X28 14 19 21
5N-06-04 Z3/8"X18 Z1/4"X18 14 19 21
5N-06-06 Z3/8"X18 Z3/8"X18 14 24 34
5N-06-08 Z3/8"X18 Z1/2"X14 14 30 40
5N-08-02 Z1/2"X14 Z3/4"X14 19 24 27
5N-08-04 Z1/2"X14 Z1/4"X18 19 24 27
5N-08-06 Z1/2"X14 Z3/8"X18 19 24 27
5N-08-12 Z1/2"X14 Z3/4"X14 19 36 49
5N-12-04 Z3/4"X14 Z1/4"X18 19.5 27 29
5N-12-06 Z3/4"X14 Z3/8"X18 19.5 27 29
5N-12-08 Z3/4"X14 Z1/2"X14 19.5 30 29
5N-12-16 Z3/4"X14 Z1'X11.5 19.5 41 54
5N-12-20 Z3/4"X14 | Z1.1/4"X11.5 19.5 50 56
5N-16-06 Z1'X11.5 Z3/8"X18 24 36 34
5N-16-08 Z1'X11.5 Z1/2"X14 24 36 34
5N-16-12 Z1'X11.5 Z3/4"X14 24 36 34
5N-16-16 Z1'X11.5 Z1"'X11.5 24 41 58
5N-20-12 | Z1.1/4"X11.5 | Z3/4"X14 25 46 38
5N-20-16 | Z1.1/4"X11.5 | Z1"X11.5 25 46 38
5N-24-16 | Z1.1/2"X11.5 | Z1"X115 25 50 42
5N-24-20 | Z1.1/2"X115 |Z1.1/4"X11.5 25 50 42
5N-32-16 Z2"X11.5 Z1'X11.5 29 65 a7
5N-32-20 Z2'X115 | Z1.1/4"X11.5 29 65 a7
5N-32-24 Z2'X115 | Z1.1/2"X11.5 29 65 47

- 183 -




Hydraulic Adapters

E

SN4

A5° S A1 HEE SRS AT HE S A RS

45°NPT MALE/NPT FEMALE

o 1240 THREADE R~} DIMENSIONS
PART NO. E A B s1
5N4-02 Z1/8"X27 22 17 17
5N4-04 Z1/4"X18 25 20 19
5N4-06 Z3/8"X18 27 19 22
5N4-08 Z1/2"X14 33 28 27
5N4-12 Z3/4"X14 37 30 33
5N4-16 Z1'X11.5 40 | 375 | 44
5N4-20 Z71.1/4"X11.5 a7 30 50
5N4-24 | Z1.1/2"X11.5 55 36 65

R

) 5N9

></ 90° & il A1 HE & S MRS/ AT HEE IR

o 90°NPT MALE/NPT FEMALE

A S1

e %4 THREADE R~} DIMENSIONS
PART NO. E F A B s1
5N9-02 Z1/8"X27 Z1/8"X27 22 17 14
5N9-04-02 Z1/4"X18 Z1/8"X27 27 21 17
5N9-04 Z1/4"X18 Z1/4"X18 27 21 17
5N9-04-06 Z1/4"X18 Z3/8"X18 32 27 22
5N9-06 Z3/8"X18 Z3/8"X18 32 27 22
5N9-08 Z1/2"X14 Z1/2"X14 35 30 27
5N9-12-08 Z3/4"X14 Z1/2"X14 40 32 33
5N9-12 Z3/4"X14 Z3/4"X14 40 32 33
5N9-16 Z1'X11.5 Z1'X11.5 49 38 41
5N9-20  |Z1.1/4"X11.5 |Z1.1/4"X11.5 61 | 432 | 50
5N9-24  |Z1.1/2"X115 |Z1.1/2"X11.5 65 | 52.8 | 65
5N9-32 Z2"X11.5 Z2"X11.5 65 62 65

- 184 -




Hydraulic Adapters

A B
/N
SR AT HEE A IR
NPT FEMALE
S1

o 1240 THREADE R~ DIMENSIONS
PART NO. E F B S1 L
7N-02 Z1/8"X27 Z1/8"X27 8 8 14 22
7N-04-02 Z1/4"X18 Z1/8"X27 10 8 19 26
7N-04 Z1/4"X18 Z1/4"X18 10 10 19 28
7N-06-04 Z3/8"X18 Z1/4"X18 10 8 19 26
7N-06 Z3/8"X18 Z3/8"X18 11 11 19 28
7N-08-04 Z1/2"X14 Z1/4"X18 14 10 27 34
7N-08 Z1/2"X14 Z1/2"X14 14 14 27 38
7N-12 Z3/4"X14 Z3/4"X14 155 | 155 | 36 42
7N-16 Z1"X11.5 Z1'X11.5 17 17 41 50
7N-20 Z1.1/4"X11.5 |Z1.1/4"X11.5 19 19 50 55
7N-24 Z1.1/2"X11.5 |Z1.1/2"X11.5 19 19 55 55
7N-32 Z2"X11.5 Z2"X11.5 21 21 70 60

-185 -




Hydraulic Adapters

) /N9

90° Kl A7 HEE N IREL

90°NPT FEMALE

A s1
R 40  THREADE R~ DIMENSIONS
PART NO. E F A S1
7N9-02 71/8"X27 Z1/8"X27 17 14
7N9-02-04 Z1/8"X27 Z1/4"X18 21 17
7N9-04 71/4"X18 Z1/4"X18 21 17
7N9-06 Z3/8"X18 Z3/8"X18 24 22
7N9-08 Z1/2"X14 Z1/2"X14 27 26
7N9-12 Z3/4"X14 Z3/4"X14 33 34
7N9-16 Z1"'X11.5 Z1"X11.5 38 M
7N9-20 | Z1.1/4"X11.5 |Z1.1/4"X11.5 45 54
7N9-24  |Z1.1/2'X11.5 |Z1.1/2"X11.5 47 56
7N9-32 72"X11.5 Z2'X11.5 60 68
S1
—
ON-CAP
/E
4 SR HE S N IRS0OH Sk
) ’ NPT FEMALE PLUG
= #240 THREADE JU st DIMENSIONS

PART NO. E A s1
9N-02CAP | Z1/8"X27 175 17
ON-04CAP | Z1/4"X18 23 19
9N-06CAP | Z3/8"X18 24 24
ON-08CAP | Z1/2"X14 28 30
9N-12CAP | Z3/4"X14 28 36
ON-16CAP | Z1"X115 34 46
9N-20CAP | Z1.1/4"X11.5 37 55
9N-24CAP | Z1.1/2'X11.5 37 65
9N-32CAP | Z2'X11.5 40.5 75

- 186 -




Hydraulic Adapters

B
a 1NO
| | S I SAESME S O I A e P SR
NN NPT MALE/SAE O-RING BOSS
e
S1
e 1240 THREADE R <) DIMENSIONS
PART NO. E F A B s1 L
10N-04 U7/16"X20 | Z1/4"X18 10 14 19 30
10N-04-06 | U9/16"X18 | Z1/4"X18 12 14 22 32
10N-06-04 | U7/16"X20 | Z3/8"X18 10 14 19 30
10N-06 U9/16"X18 | Z3/8"X18 12 14 22 34
10N-06-08 | U3/4"X16 | Z3/8"X18 12 14 27 36
10N-08 U3/4"X16 | Z1/2"X14 12 19 27 41
10N-08-10 | U7/8'X14 | Z1/2"X14 135 | 19 30 | 425
10N-08-12 |U1.1/16"X12| Z1/2"X14 16 19 32 45
10ON-12-10 | U7/8'X14 | Z3/4"X14 135 | 195 | 30 43
1ON-12 | U1.1/16"X12| Z3/4"X14 16 | 195 | 32 | 455
1ON-16 | U1.5/16"X12| Z1"X115 16 24 41 52
10N-20-16 |U1.5/16"X12|Z1.1/4"X11.5 16 25 46 54
10N-20 | U1.5/8"X12 |Z1.1/4"X11.5 18 25 50 60
10N-24 | U1.7/8"X12 | Z1.1/2"X11.5 185 | 25 55 | 60.5

- 187 -




Hydraulic Adapters

S1

<

2NU

A SMELZEHINPSM A B2 4060 &b

Y NPT MALE/NPSM FEMALE
2 60°CONE
E F
=/ .

= I#4 THREADE U~} DIMENSIONS
PART NO. E F A C s1 S2
2NU-02 Z1/8"X27 71/8"X27 10 | 55 | 12 14
2NU-02-04 Z1/8"X27 71/4"X18 10 | 55 | 12 19
2NU-04-02 Z1/4"X18 71/8"X27 14 | 55 | 14 14
2NU-04 Z1/4"X18 71/4"X18 14 | 55 | 14 19
2NU-04-06 Z1/4"X18 Z3/8"X18 14 | 65 | 17 22
2NU-04-08 Z1/4"X18 Z1/2"X14 14 8 19 27
2NU-06 73/8"X18 Z3/8"X18 14 | 65 | 19 22
2NU-06-04 73/8"X18 71/4"X18 14 | 55 | 19 19
2NU-06-08 Z3/8"X18 Z1/2"X14 14 8 19 27
2NU-08 Z1/2"X14 Z1/2"X14 19 8 22 | 27
2NU-08-04 Z1/2"X14 71/4"X18 19 | 55 | 22 | 19
2NU-08-06 Z1/2"X14 Z3/8"X18 19 | 65 | 22 | 22
2NU-12 Z3/4"X14 Z3/4"X14 195 | 115 | 27 | 32
2NU-12-06 Z3/4"X14 73/8"X18 195 | 65 | 27 | 22
2NU-12-08 Z3/4"X14 Z1/2"X14 19.5 8 21 | 27
2NU-12-16 Z3/4"X14 Z1"X11.5 195 [ 115 | 36 | 4
2NU-16-12 Z1"'X11.5 Z3/4"X14 24 | 115 | 36 | 32
2NU-16 Z1"'X11.5 Z1"X11.5 24 | 115 | 36 | 4
2NU-16-20 Z1"'X11.5 Z1.1/4"X11.5 24 | 12 41 | 50
2NU-20-16 | Z1.1/4"X11.5 Z1'X11.5 25 | 115 | 46 | 41
2NU-20 Z1.1/4"X115 | Z1.1/4"X11.5 25 | 12 46 | 50
2NU-20-24 | Z1.1/4"X11.5 | Z1.1/2"X11.5 25 | 13 41 | 55
2NU-24-20 | Z1.1/2"X11.5 | Z1.1/4"X11.5 25 | 12 46 | 50
2NU-24 Z1.1/2'X115 | Z1.1/2"X11.5 25 | 13 50 | 55
2NU-32 Z2"X11.5 Z2"X11.5 29 | 16 65 | 70




Hydraulic Adapters

i 2NU4

A5 A 4E R AMZ S ZE HINPSM P R S60° 4 M
45°NPT MALE/NPSM FEMALE 60°CONE

s 240  THREADE R~ DIMENSIONS
PART NO. E F A C SL | s2
2NU4-02 Z1/8"X27 Z1/8"X27 17 | 55 | 11 | 14
2NU4-04 Z1/4"X18 Z1/4"X18 22 | 55 | 14 | 19
2NU4-04-06 | Z1/4"X18 73/8"X18 22 | 65 | 17 22
2NU4-06 73/8"X18 Z3/8"X18 22 | 65 | 17 22
2NU4-06-04 | Z3/8"X18 Z1/4"X18 22 | 55 | 17 19
2NU4-06-08 | Z3/8"X18 Z1/2"X14 25 8 19 27
2NU4-08 Z1/2"X14 Z1/2"X14 27 8 22 | 27
2NU4-08-06 | Z1/2"X14 Z3/8"X18 27 | 65 | 22 | 22
2NU4-08-12 | Z1/2"X14 Z3/4"X14 33 | 115 | 27 | 32
2NU4-12 Z3/4"X14 Z3/4"X14 33 | 115 | 27 | 32
2NU4-12-08 |  Z3/4"X14 Z1/2"X14 33 8 271 | 27
2NU4-12-16 | Z3/4"X14 Z1"X11.5 37 | 115 | 33 | 4
2NU4-16 Z1"'X11.5 Z1"X11.5 37 | 115 | 33 | 4
2NU4-16-12 |  Z1"X11.5 Z3/4"X14 37 | 115 | 33 | 32
2NU4-20 | Z1.1/4"X115 | Z1.1/4"X115 4 | 12 | 4 | 50
2NU4-24 | Z1.1/2"X115 | Z1.1/2'X115 47 | 13 | 50 | 55
2NU4-32 Z2"X11.5 Z2"X11.5 55 | 16 65 | 70

- 189 -




Hydraulic Adapters

Y

J

\st

Q0° AT HE B FMESU/ZE HINPSM N B2 41 60° 1Mk
90°NPT MALE/NPSM FEMALE 60°CONE

2NU9

A
rE 24, THREADE R~} DIMENSIONS
PART NO. E F A C st | s2
2NU9-02 71/8"X27 Z1/8"X27 21 | 55 | 11 | 14
2NU9-02-04 | Z1/8"'X27 Z1/4"X18 21 | 55 | 11 | 19
2NU9-04-02 | Z1/4"X18 Z1/8"X27 29 | 55 | 14 | 14
2NU9-04 Z1/4"X18 Z1/4"X18 29 | 55 | 14 | 19
2NU9-04-06 | Z1/4"X18 73/8"X18 30 | 65 | 17 22
2NU9-06 73/8"X18 73/8"X18 30 | 65 | 17 22
2NU9-06-04 | Z3/8"X18 Z1/4"X18 30 | 55 | 17 | 19
2NU9-06-08 | Z3/8"X18 Z1/2"X14 33 8 19 | 27
2NU9-08 Z1/2"X14 Z1/2"X14 37 8 22 | 27

2NU9-08-06 | Z1/2"X14 73/8"X18 37 | 65 | 22 | 22

2NU9-08-12 | Z1/2"X14 Z3/4"X14 43 | 115 | 27 | 32
2NU9-12 Z3/4"X14 Z3/4"X14 43 | 115 | 27 | 32

2NU9-12-08 | Z3/4"X14 Z1/2"X14 43 8 27 | 27

2NU9-12-16 | Z3/4"X14 Z1"X11.5 52 | 115 | 33 | 41
2NU9-16 Z1"X11.5 Z1"X11.5 52 | 115 | 33 | 41

2NU9-16-12 | Z1"X11.5 Z3/4"X14 52 | 115 | 33 | 32

2NU9-20-16 |Z1.1/4"X115 | Z1"X115 50 | 115 | 44 | 41
2NU9-20 |Z1.1/4"X11.5 |Z1.1/4"X11.5 50 | 12 | 44 | 50
2NU9-24  |Z1.1/2"X115 |Z1.1/2"X11.5 61 | 13 | 50 | 55
2NU9-32 Z2"X11.5 Z2'X11.5 66 | 16 | 65 | 70

- 190 -




Hydraulic Adapters

s1
A /_
5GN
F
| L IR O B ) A HE R P
% /] BSP MALE O-RING/NPT
FEMALE

fo 140 THREADE JU <} DIMENSIONS
PART NO. E F A s1 L
5GN-02 | G1/8'X28 | Z1/8"X27 9 17 24
5GN-02-04 | G1/8"X28 | Z1/4"X18 9 19 27
5GN-04-02 | G1/4"X19 | Z1/8"X27 12 19 30
5GN-04 | GL/4"X19 | Z1/4"X18 12 19 30
5GN-04-06 | G1/4"X19 | Z3/8'X18 12 22 32
5GN-06-04 | G3/8'X19 | Z1/4"X18 135 22 335
5GN-06 | G3/8'X19 | Z3/8'X18 13.5 22 335
5GN-08-04 | G1/2'X14 | Z1/4"X18 16 27 36
5GN-08-06 | G1/2"X14 | Z3/8"X18 16 27 36
5GN-08 | G1/2'X14 | Z1/2"X14 16 30 42
5GN-12 | G3/4"X14 | Z3/4"X14 185 36 485
5GN-16 G1'X11 | Zz1'X115 20.5 41 54.5
5GN-20 | G1.1/4"X11|Z1.1/4"X11.5 20.5 50 57.5
5GN-24  [G1.1/2"X11| Z1.1/2"X11.5 23 60 60

-191 -



Hydraulic Adapters

S1
A /_
S5HN
F
| L~ A IIMB S R R HE S R
/ METRIC MALE L-SERIES/NPT FEMALE
e W R~} DIMENSIONS

PART NO. E THREADFE A S L
5HN-10-02 M10x1 71/8"X27 8.5 14 23
5HN-12-02 M12x1.5 21/8"X27 11 17 26
5HN-12-04 M12x1.5 Z1/4"X18 11 19 29
5HN-14-04 M14x1.5 Z1/4"X18 11 19 29
5HN-16-06 M16x1.5 Z3/8"X18 11 22 31
5HN-16-08 M16x1.5 Z1/2"X14 11 30 37
5HN-18-06 M18x1.5 Z3/8"X18 11 24 31
5HN-18-08 M18x1.5 Z1/2"X14 11 30 37
5HN-22-08 M22x1.5 Z1/2"X14 12 30 38
5HN-27-12 M27x2 Z3/4"X14 13 36 43

S1

A /_
SMN

| " NS 2 B R A P 4R
7 N METRIC MALE WITH BONDED SEAL/NPT
FEMALE
] HREL R~ DIMENSIONS
PART NO. | TEHREADEF A S1 L
5MN-12-02 | M12x1.5] Z1/8"X27 10 19 30
5MN-14-04 | M14x1.5] Z1/4"X18 11 19 31
5MN-16-06 | M16x1.5/ Z3/8"X18 12 22 34
5MN-18-06 | M18x1.5/ Z3/8"X18 12 24 34
5MN-22-06 | M22x1.5| Z3/8"X18 14 27 36
5MN-22-08 | M22x1.5] Z1/2"X14 14 30 43

-192 -



Hydraulic Adapters

L
S1
A [
/
5NO
e SEHIAT 4L S MBLU S I SAE IR AL
NPT MALE/SAE FEMALE
. 7
] 1240 THREADE ' I DIMENSIONS

PART NO. E F A s1 L
5NO-02-04 | Z1/8"X27 | U7/16"X20 10 17 25
5NO-02-05 | Z1/8"X27 U1/2"X20 10 17 25
5NO-04 71/4"X18 | U7/16"X20 14 17 29
5NO-04-06 | Z1/4"X18 | U9/16"X18 14 19 32
5NO-04-08 | Z1/4"X18 U3/4"X16 14 27 34
5NO-06-04 | Z3/8"X18 | U7/16"X20 14 19 20
5NO-06 Z3/8"X18 | U9/16"X18 14 19 32
5NO-06-08 | Z3/8"X18 U3/4"X16 14 24 34
5NO-08-06 | Z1/2"'X14 | U9/16"X18 19 24 27
5NO-08 Z1/2"X14 U3/4"X16 19 27 39
5NO-08-10 | Z1/2"X14 U7/8"X14 19 30 45
5NO-12-08 | Z3/4"X14 U3/4"X16 19.5 30 30
5NO-12-10 | Z3/4"X14 U7/8"X14 19.5 30 30
5NO-12 Z3/4"X14 | U1.1/16"X12 19.5 36 49
5NO-16-12 | Z1"X11.5 |U1.1/16"X12 24 36 35
5NO-16 Z1'X11.5 |U1.5/16"X12 24 41 58
5NO-20 | Z1.1/4"X11.5 | U1.5/8"X12 25 50 62

- 193 -



Hydraulic Adapters

L
s1
T 50N
/4
. FEHISAESMRELLOM [l i R 511
| - S WA B A R
o SAE O-RING BOSS L-
i SERIES/ NPT
FEMALE

e 1240 THREADE R~ DIMENSIONS
PART NO. E F A s1 L
50N-04-02 | U7/16"X20 | Z1/8"X27 10 17 25

50N-04 U7/16"X20 | Z1/4"X18 10 19 28
50N-04-06 | U7/16"X20 | Z3/8"X18 10 24 30
50N-05-02 | U1/2"X20 | Z1/8"X27 10 17 25
50N-06-04 | U9/16"X18 | Z1/4"X18 12 19 30
50N-08-04 | U3/4"X16 | Z1/4"X18 12 22 32
50N-08-06 | U3/4"X16 | Z3/8"X18 12 22 32

50N-08 U3/4"X16 | Z1/2"X14 12 30 38
50N-08-12 | U3/4"X16 | Z3/4"X14 12 36 42
50N-10-08 | U7/8'X14 | Z1/2"X14 13.5 30 39
50N-10-06 | U7/8"X14 | Z3/8'X18 13.5 27 33
50N-10-12 | U7/8"X14 | Z3/4"X14 135 36 43
50N-12-08 |U1.1/16"X12| Z1/2"X14 16 32 40

50N-12  [UL1.1/16"X12| Z3/4"X14 16 36 46
50N-12-16 |U1.1/16"X12| Z1"X11.5 16 41 50
50N-16-12 |U1.5/16"X12| Z3/4"X14 17 41 51

50N-16  [U1.5/16"X12| Z1"X11.5 17 41 51
50N-20-16 | U1.5/8'X12 | Z1"X115 18 50 54

50N-20 | U1.5/8"X12 |Z1.1/4"X11.5 18 50 54
50N-24-16 | U1.7/8'X12 | Z1"X115 18.5 55 56
50N-24-20 | U1.7/8'X12 | Z1.1/4"X11.5 185 55 56

50N-24 | U1.7/8"X12 | Z1.1/2"X11.5 185 60 56

50N-32 | UL1.1/2"X12 | Z2"X11.5 22 70 59

- 194 -




Hydraulic Adapters

.

S1

. 5TN

ju | Vs S SR B AHE PIIBLL

£/ £ BSPT MALE/NPT FEMALE
e %40  THREADE U <) DIMENSIONS
PART NO. E F A s1 L
5TN-02 | ZG1/8"X28| Z1/8'X27 10 17 25
5TN-04-02 | ZG1/4"X19| Z1/8"X27 14 14 20
5TN-04 | ZG1/4"X19| Z1/4"X18 14 19 32
5TN-06-04 | ZG3/8"X19| Z1/4"X18 14 19 20
5TN-06 | ZG3/8"X19| Z3/8"X18 14 24 34
5TN-08-06 | ZG1/2"X14| Z3/8"X18 19 24 27
5TN-08 ZG1/2"X14| Z1/2"X14 19 30 45
5TN-12-08 | ZG3/4"X14| Z1/2"X14 19.5 32 29
5TN-12 | ZG3/4"X14| Z3/4"X14 19.5 36 49
5TN-16-12 | ZG1"X11 | Z3/4"X14 19.5 36 31
5TN-16 ZG1"'X11 | Z1"X11.5 24 a1 58

E

ZN
Tliﬁ S P D
NPT FEMALE CROSS
A

e 124 THREADE R~} DIMENSIONS
PART NO. E A s1
ZN-04 71/4"X18 21 17
ZN-06 Z3/8"X18 24 22
ZN-08 Z1/2"X14 27 26
ZN-12 Z3/4"X14 33 34
ZN-16 Z1"'X11.5 38 41
ZN-20 Z1.1/4"X11.5 45 54

-195 -




Hydraulic Adapters

S1

S2

/NU

- A PR HINPSM P BC60 it
NPT FEMALE/NPSM FEMALE
c\F 60°CONE
o 240 THREADE R~ DIMENSIONS
PART NO. E F A Cc S1 S2
7NU-02 Z1/8"X27 Z1/8"X27 10 5.5 17 14
7NU-04-02 Z71/4"X18 Z1/8"X27 14 5.5 19 14
7NU-04 Z71/4"X18 Z71/4"X18 14 55 19 19
7NU-04-06 71/4"X18 Z3/8"X18 14 6.5 19 22
7NU-06 Z3/8"X18 Z3/8"X18 14 6.5 22 22
7NU-06-08 Z3/8"X18 Z1/2"X14 14 8 22 27
7NU-08-06 Z1/2"X14 Z3/8"X18 19 6.5 30 22
7NU-08 Z71/2"X14 Z71/2"X14 19 8 30 27
7NU-12 Z3/4"X14 Z3/4"X14 195 | 115 36 32
7NU-16 Z1"X11.5 Z1"X11.5 24 115 41 41
7NU-20 Z71.1/4"X11.5 | Z1.1/4"X11.5 25 12 50 50
7NU-24 Z1.1/2"X11.5 | Z1.1/2"X11.5 25 13 60 55
7NU-32 Z2"X11.5 Z2"X11.5 29 16 70 70

- 196 -




Hydraulic Adapters

i\J AN
|

| ’ SEHATHEE SRS =38
NPT MALE TEE

|

A \S1

o i24 THREADE K~} DIMENSIONS
PART NO. E A st
AN-02 z1/8"X27 24 11
AN-04 Z1/4"X18 27 14
AN-06 73/8"X18 28 17
AN-08 Z1/2"X14 33 22
AN-12 Z3/4"X14 40 27
AN-16 Z1"X11.5 49 33
AN-20  |Z1.1/4"X11.5 57 44

E
Ve o
\ ATHERE I8 = )8
NPT FEMALE TEE
\st

A
e 1240 THREADE X <F DIMENSIONS
PART NO. E A s1
GN-02 71/8"X27 17 14
GN-04 Z1/4"X18 21 17
GN-06 73/8"X18 24 22
GN-08 Z1/2"X14 27 26
GN-12 73/4"X14 33 34
GN-16 Z1"X11.5 38 41
GN-20 71.1/4"X11.5 45 54
GN-24 Z1.1/2"X11.5 47 56
GN-32 Z2"X11.5 60 68

- 197 -




Hydraulic Adapters

ik JN

SR AT HE R P IRSUATHE R MRS S =l
NPT FEMALE/NPT MALE BRANCH

TEE
A A

R EZ R <} DIMENSIONS
PART NO. E THREADEF A B s1

JN-02 Z1/8"X27 | z1/8"X27 17 17 14

JN-04 Z1/4"X18 | Z1/4"X18 21 21 17

JN-06 Z3/8"X18 | Z3/8"X18 24 24 22

JN-08 Z1/2"X14 | Z1/2"X14 27 27 26

IN-12 Z3/4"X14 | Z3/4"X14 33 33 34

IN-16 Z1"X11.5 | Z1"X11.5 38 38 41

E - HN
S AT HE S PYIRSUATHE S MRS S =l
NPT FEMALE/NPT MALE RUN TEE

A B

= IR R s} DIMENSIONS
PART NO. E THREADEF A B S1

HN-02 Z1/8"X27 | Z1/8"X27 17 17 14

HN-04 Z1/4"X18 | Z1/4"X18 21 21 17

HN-06 Z3/8"X18 | Z3/8"X18 24 24 22

HN-08 Z1/2"X14 | Z1/2"X14 27 27 26

HN-12 Z3/4"X14 | Z3/4"X14 33 33 34

HN-16 Z1"X11.5 | Z1"'X11.5 38 38 41

- 198 -



Hydraulic Adapters

A B
1J
S /// % %ﬁ%ﬂmc%éﬁ;’é&om HNMHE
7 JIC MALE 74° CONE
st/

fo 240 THREADE U~} DIMENSIONS
PART NO. E F A B S1 L

1J-02 U5/16"X24 U5/16"X24 11.5 115 12 29

1J-04 U7/16"X20 U7/16"X20 14 14 14 34
1J-04-05 U7/16"X20 U1/2"X20 14 14 14 34
1J-04-06 U7/16"X20 U9/16"X18 14 14 17 34
1J-04-08 U7/16"X20 U3/4"X16 14 16.7 22 39

1J-05 U1/2"Xx20 U1/2"X20 14 14 14 34
1J-05-06 U1/2"X20 U9/16"X18 14 14 17 35
1J-05-08 U1/2"X20 U3/4"X16 14 16.7 22 39
1J-05-10 U1/2"X20 uU7/8"X14 14 19.5 24 42

1J-06 U9/16"X18 U9/16"X18 14 14 17 355
1J-06-08 U9/16"X18 U3/4"X16 14 16.7 22 38
1J-06-10 U9/16"X18 U7/8"X14 14 19.5 24 42
1J-06-12 U9/16"X18 U1.1/16"X12 14 22 30 46

1J-08 U3/4"X16 U3/4"X16 16.7 16.7 22 42
1J-08-10 U3/4"X16 U7/8"X14 16.7 19.5 24 44
1J-08-12 U3/4"X16 U1.1/16"X12 16.7 22 30 49
1J-08-16 U3/4"X16 U1.5/16"X12 16.7 23 36 51

1J-10 U7/8"X14 uU7/8"X14 19.5 19.5 24 475
1J-10-12 U7/8"X14 U1.1/16"X12 195 22 30 52
1J-10-16 U7/8"X14 U1.5/16"X12 195 23 36 535

1J-12 U1.1/16"X12 U1.1/16"X12 22 22 30 55
1J-12-16 U1.1/16"X12 U1.5/16"X12 22 23 36 56

1J-16 U1.5/16"X12 U1.5/16"X12 23 23 36 57
1J-16-20 U1.5/16"X12 U1.5/8"X12 23 245 46 60

1J-20 U1.5/8"X12 U1.5/8"X12 245 245 46 61.5
1J-20-24 U1.5/8"X12 Ul1l.7/8"X12 245 275 50 66.5
1J-20-32 U1.5/8"X12 U2.1/2"X12 24.5 34 70 75.5

1J-24 U1.7/8"X12 U1.7/8"X12 275 275 50 69.5
1J-24-32 Ul1.7/8"X12 U2.1/2"X12 275 34 70 78.5

1J-32 U2.1/2"X12 U2.1/2"X12 34 34 70 85

- 199 -




Hydraulic Adapters

1J4

A45° K| JICHMRLLTA° M E

45°JIC MALE 74° CONE
(1%=s 240 THREADE U st DIMENSIONS
PART NO. E A B s1
1J4-04 U7/16"X20 20 20 | 11
1J4-05 U1/2"X20 22 22 | 14
1J4-06 U9/16"X18 22 22 | 14
1J4-08 U3/4"X16 25 | 25 | 19
1J4-10 u7/8'X14 27 271 | 22
1J4-12 U1.1/16"X12 33 | 33 | 27
1J4-16 U1.5/16"X12 37 | 37 33
1J4-20 U1.5/8"X12 4 | 40 | 44
1J4-24 U1.7/8"X12 47 | 47 | 53
1J4-32 U2.1/2"X12 55 | 55 65

6743 DY

ot
|

1J9

90° K Hil| JICHMRLL 7 4° Mk

90°JIC MALE 74° CONE
—
A s1
= 24 THREADE JU <} DIMENSIONS
PART NO. E A B s1
1J9-04 U7/16"X20 U7/16"X20 22 | 22 11
1J9-05 U1/2"X20 U1/2"X20 29 271 | 14
1J9-06 U9/16"X18 U9/16"X18 29 271 | 14
1J9-08 U3/4"X16 U3/4"X16 33 | 33 | 19
1J9-10 U7/8"X14 u7/8"X14 37 | 37 22
1J9-12 UL.1/16"X12 | U1.1/16"X12 4 | 40 | 27
1J9-16 U1.5/16"X12 | U1.5/16"X12 49 | 49 33
1J9-20 U1.5/8"X12 | U1.5/8"X12 57 | 57 44
1J9-24 UL.7/8"X12 | U1.7/8"X12 57 | 57 48
1J9-32 U2.1/2"X12 | U2.1/2"X12 66 | 66 65

- 200 -




Hydraulic Adapters

S1

-

S2

W\%/@%

2J

L JCHMELLT4 *h1fEl
JICHIELL74° Py
JIC MALE 74°CONE/
JIC FEMALE 74°SEAT

o 184 THREADE R~ DIMENSIONS
PART NO. E F A C s1 S2
23-04 U7/16"X20 U7/16"X20 14 | 85 14 17
23-04-05 U7/16"X20 U1/2"X20 14 | 95 14 19
23-04-06 U7/16"X20 U9/16"X18 14 10 17 19
23-04-08 U7/16"X20 U3/4"X16 14 11 22 24
2J-05 U1/2"X20 U1/2"X20 14 | 95 14 19
2J-05-06 U1/2"X20 U9/16"X18 14 10 17 19
23-05-08 U1/2"X20 U3/4"X16 14 11 22 24
23-06 U9/16"X18 U9/16"X18 14 10 17 19
23-06-08 U9/16"X18 U3/4"X16 14 11 22 24
23-06-10 U9/16"X18 u7/8"x14 14 11 22 27
23-08 U3/4"X16 U3/4"X16 167 | 11 22 24
23-08-10 U3/4"X16 U7/8"X14 167 | 11 22 27
23-08-12 U3/4"X16 U1.1/16"X12 16.7 | 135 | 30 32
23-10 U7/8"X14 U7/8"X14 195 | 11 22 27
2J-10-08 u7/8"x14 U3/4"X16 195 | 11 22 24
23-10-12 u7/8"x14 U1.1/16"X12 195 | 135 | 30 32
23-12 U1.1/16"X12 | U1.1/16"X12 22 | 135 | 30 32
23-12-10 U1.1/16"X12 U7/8"X14 22 11 30 27
23-12-16 U1.1/16"X12 | U1.5/16"X12 22 | 145 | 36 41
23-16 U1.5/16"X12 | U1.5/16"X12 23 | 145 | 36 41
2J-16-20 U1.5/16"X12 | U1.5/8"X12 23 | 155 | 41 50
23-20 U1.5/8"X12 U1.5/8"X12 245 | 155 | 46 50
23-20-24 U1.5/8"X12 U1.7/8"X12 245 | 185 | 46 55
23-24 U1.7/8"X12 U1.7/8"X12 275 | 185 | 50 55
23-24-32 U1.7/8"X12 U2.1/2"X12 275 | 245 | 65 75
23-32 U2.1/2"X12 U2.1/2"X12 34 | 245 | 65 75

- 201 -




Hydraulic Adapters

2J4

45° K JICHMELL T 4° 41
JICHIRLL74° Py 4

45°J1C MALE 74°CONE/

JIC FEMALE 74°SEAT

o 240 THREADE R I DIMENSIONS
PART NO. E F A C s1 S2
234-04 U7/16"X20 U7/16"X20 20 | 85 | 11 17
2J4-05 U1/2"X20 U1/2"X20 22 | 95 | 14 19
2J4-06 U9/16"X18 U9/16"X18 2 | 10 | 14 19
2J4-08 U3/4"X16 U3/4"X16 25 | 11 19 24
2J4-10 U7/8"X14 u7/8"X14 27 | 11 22 27
234-12 UL.1/16"X12 | U1.1/16"X12 33 | 135 | 27 | 32
2J4-16 UL.5/16"X12 | U1.5/16"X12 37 | 145 | 33 | 4
234-20 U1.5/8"X12 U1.5/8"X12 40 | 155 | 44 | 50
2J4-24 U1.7/8"X12 U1.7/8"X12 47 | 185 | 53 | 55
2J4-32 U2.1/2"X12 U2.1/2"X12 55 | 245 | 65 | 75

- 202 -




Hydraulic Adapters

2J9

90° | JICHMERL T4 H Mk
JICHBRST74° N 4

90°JIC MALE 74°CONE/

JIC FEMALE 74°SEAT

o 24 THREADE R~} DIMENSIONS
PART NO. E F A C st | s2
2J9-04 U7/16"X20 U7/16"X20 22 | 85 | 11 | 17
2J9-05 U1/2"X20 U1/2"X20 29 | 95 | 14 | 19
2J9-06 U9/16"X18 U9/16"X18 29 | 10 | 14 | 19
2J9-06-08 U9/16"X18 U3/4"X16 33 | 11 | 19 | 24
2J9-08-06 U3/4"X16 U9/16"X18 33 | 10 | 19 | 19
2J9-08 U3/4"X16 U3/4"X16 33 | 11 | 19 | 24
2J9-08-10 U3/4"X16 U7/8"X14 37 | 11 22 | 27
2J9-10 U7/8"X14 U7/8"X14 37 | 11 22 | 27
2J9-10-08 U7/8"X14 U3/4"X16 37 | 11 22 | 24
2J9-10-12 U7/8"X14 | U1.1/16"X12 40 | 135 | 27 | 32
2J4-12 UL1/16"X12 | U1.1/16"X12 40 | 135 | 27 | 32
2J4-12-10 | U1.1/16"X12 U7/8"X14 40 | 11 27 | 27
2J4-12-16 | UL.1/16"X12 | U1.5/16"X12 49 | 145 | 33 | 41
2J9-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 | 41
2J9-16-20 | UL.5/16"X12 | U1.5/8"X12 57 | 155 | 44 | 50
2J9-20-16 U15/8"X12 | U1.5/16"X12 57 | 145 | 44 | 41
2J9-20 UL5/8"X12 | U1.5/8"X12 57 | 155 | 44 | 50
2J9-20-24 UL5/8"X12 | U1.7/8"X12 57 | 185 | 48 | 55
2J9-24-20 UL7/8"X12 | U1.5/8"X12 57 | 155 | 48 | 50
2J9-24 UL7/8"X12 | UL.7/8"X12 57 | 185 | 48 | 55
2J9-32 U2.1/2'X12 | U2.1/2"X12 66 | 245 | 65 | 75

- 203 -




Hydraulic Adapters

S1

o

3J

EHIIICHIRLIT74 ° N HE
JIC FEMALE 74°SEAT

C d

= 14 THREADE JU <} DIMENSIONS
PART NO. E F C d s1 S2
33-04 U7/16"X20 U7/16"X20 85 | 85 | 17 17
3J-05 U1/2"X20 U1/2"X20 95 | 95 | 19 19
3J-06 U9/16"X18 U9/16"X18 10 10 | 19 19
3J-06-08 U9/16"X18 U3/4"X16 10 11 | 19 24
33-08 U3/4"X16 U3/4"X16 11 11 24 24
33-10 U7/8"X14 U7/8"X14 11 11 27 27
33-12 UL1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 32
3J-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 41
3J-20 U1.5/8"X12 U1.5/8"X12 155 | 155 | 50 50
33-24 U1.7/8"X12 U1.7/8"X12 185 | 185 | 55 55

3J4

A5° | JIC B L 74° N 4
45°JIC FEMALE 74°SEAT

o 240  THREADE R~/ DIMENSIONS
PART NO. E F C d S1 | s2
3J4-04 U7/16"X20 U7/16"X20 85 | 85 | 17 | 17
3J4-05 U1/2"X20 U1/2"X20 95 | 95 | 19 | 19
3J4-06 U9/16"X18 U9/16"X18 10 | 10 | 19 | 19
3J4-06-08 U9/16"X18 U3/4"X16 10 | 11 | 19 24
3J4-08 U3/4"X16 U3/4"X16 11 | 11 | 24 | 24
3J4-10 u7/8"X14 U7/8"X14 11 | 11 | 27 | 27
3J4-12 UL.1/16"X12 | U1.1/16"X12 135 | 135 | 32 | 32
3J4-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 | &
3J4-20 U15/8"'X12 | U1.5/8"X12 155 | 155 | 50 | 50
3J4-24 UL7/8"'X12 | UL.7/8"X12 185 | 185 | 55 | 55

- 204 -




Hydraulic Adapters

c 3J9
S
4 90° K| JIC A RRLL74° N HE
90°JIC FEMALE 74°SEAT
s1

= #22r THREADE U s} DIMENSIONS

PART NO. E F C d s1 S2

339-04 U7/16"X20 U7/16"X20 85 | 85 | 17 17

339-05 U1/2"X20 U1/2"X20 95 | 95 | 19 19

3J9-06 U9/16"X18 U9/16"X18 10 10 | 19 19

3J9-06-08 U9/16"X18 U3/4"X16 10 11 | 19 24

339-08 U3/4"X16 U3/4"X16 11 11 | 24 | 24

339-10 u7/8"X14 u7/8"X14 11 11 | 27 | 27

339-12 UL.1/16"X12 | U1.1/16"X12 135 | 135 | 32 | 32

339-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 4 | 41

339-20 U1.5/8"X12 U1.5/8"X12 155 | 155 | 50 | 50

339-24 U1.7/8"X12 U1.7/8"X12 185 | 185 | 55 | 55

L
A
4]
, KHINCHMRITA4°IMEH
WA % JIC MALE 74°CONE PLUG
s1

e 1240 THREADE ' <F DIMENSIONS
PART NO. E A s1 L
43-04 U7/16"X20 14 14 20
43-05 U1/2"X20 14 14 20
43-06 U9/16"X18 14 17 20
43-08 U3/4"X16 16.7 22 25
43-10 u7/8"X14 19.5 24 28
43-12 U1.1/16"X12 22 30 31
43-16 U1.5/16"X12 23 36 34
43-20 U1.5/8"X12 245 46 38
43-24 U1.7/8"X12 275 50 44
43-32 U2.1/2"X12 34 65 52

- 205 -




Hydraulic Adapters

S1

W.

\}

oJ

LA INICHMELL/ZEHIICHIRSL
JIC MALE/JIC FEMALE

C|
RE 124 THREADE R~ DIMENSIONS
PART NO. E F A C s1
5J-06-04 U9/16"X18 U7/16"X20 14 10 19
5J-08-04 U3/4"X16 U7/16"X20 14 11 24
5J-10-04 U7/8"X14 U7/16"X20 14 12 27
5J-12-04 U1.1/16"X12 U7/16"X20 14 13 32
5J-08-05 U3/4"X16 U1/2"X20 14 11 24
5J-10-05 u7/8"x14 U1/2"X20 14 12 27
5J-12-05 U1.1/16"X12 U1/2"X20 14 13 32
5J-08-06 U3/4"X16 U9/16"X18 14 11 24
5J-10-06 U7/8"X14 U9/16"X18 14 12 27
5J-12-06 U1.1/16"X12 U9/16"X18 14 13 32
5J-16-06 U1.5/16"X12 U9/16"X18 14 14 38
5J-12-08 U1.1/16"X12 U3/4"X16 16.7 | 13 32
5J-16-08 U1.5/16"X12 U3/4"X16 167 | 14 38
5J-20-08 U1.5/8"X12 U3/4"X16 167 | 15 50
5J-16-10 U1.5/16"X12 U7/8"X14 195 | 14 38
5J-20-10 U1.5/8"X12 u7/8"x14 195 | 15 50
5J-24-10 U1.7/8"X12 u7/8"x14 195 | 19 55
5J-16-12 U1.5/16"X12 | U1.1/16"X12 22 14 38
5J-20-12 U1.5/8"X12 | U1.1/16"X12 22 15 50
53-24-12 U1.7/8"X12 | U1.1/16"X12 22 19 55
5J-20-16 U1.5/8"X12 | U1.5/16"X12 23 15 50
5J-24-16 U1.7/8'X12 | U1.5/16"X12 23 19 55
53-24-20 U1.7/8"X12 U1.5/8"X12 245 | 19 55

- 206 -




Hydraulic Adapters

N 6\]

M IICHMRLLT74° H M B Sk

R % JIC MALE 74°CONE BULKHEAD
S1
e 140  THREADE R <) DIMENSIONS
PART NO. E A B S1 L
6J-04 U7/16"X20 14 325 17 53
6J-06 U9/16"X18 14 325 22 54
6J-08 U3/4"X16 16.7 36.5 24 61.5
6J-10 u7/8"X14 19.5 40 30 69.5
6J-12 U1.1/16"X12 22 445 36 78
6J-16 U1.5/16"X12 23 445 41 80
6J-20 U1.5/8"X12 24.5 457 50 84
6J-24 U1.7/8"X12 275 46 55 89
6J-32 u2.1/2"X12 34 53.1 70 105

6J4

45° | IICHMRLLT7 4 HINfE ot b 223k
45°JIC MALE 74°CONE BULKHEAD

v s

re #2240 THREADE R <+ DIMENSIONS
PART NO. E A B s1
6J4-04 U7/16"X20 22 | 39 | 14
6J4-06 U9/16"X18 22 | 425 | 14
6J4-08 U3/4"X16 25 | 493 | 19
6J4-10 U7/8"X14 27 | 55 | 22
6J4-12 U1.1/16"X12 33 | 62 | 27
6J4-16 U1.5/16"X12 37 | 65 | 33
6J4-20 U1.5/8"X12 40 | 673 | 44

- 207 -




Hydraulic Adapters

<>J||

=
e
=

6J9

90° 3 Hl| JICHMEBELL74° HMHET B 4%k
90°JIC MALE 74°CONE BULKHEAD

e I#4 THREADE JU <} DIMENSIONS
PART NO. E A B s1
6J9-04 U7/16"X20 29 | 404 | 14
6J9-06 U9/16"X18 29 46 | 14
6J9-08 U3/4"X16 33 | 535 | 19
6J9-10 U7/8"X14 37 | 607 | 22
6J9-12 U1.1/16"X12 40 | 678 | 27
6J9-16 U1.5/16"X12 49 71 33
6J9-20 U1.5/8"X12 57 | 792 | 44
S1
FHIIICHIRE
% JIC LOCK NUT
L
foe 24 THREADE JU st DIMENSIONS
PART NO. E L s1
8J-04 U7/16"X20 7 17
8J-06 U9/16"X18 7 19
8J-08 U3/4"X16 8 24
8J-10 U7/8"X14 9 30
8J-12 U1.1/16"X12 10.5 36
8J-16 U1.5/16"X12 10.5 41
8J-20 U1.5/8"X12 10.5 50
8J-24 U1.7/8"X12 10.5 55
83-32 U2.1/2"X12 10.5 70

- 208 -




Hydraulic Adapters

9J

SEHIIIC N BRLL74° N HEYE Sk
JIC FEMALE 74°SEAT PLUG

e 140  THREADE R <) DIMENSIONS
PART NO. E F s1

9J-04 U7/16"X20 U7/16"X20 9 17

9J-06 U9/16"X18 U9/16"X18 10 19

9J-08 U3/4"X16 U3/4"X16 11 24

9J-10 U7/8"X14 u7/8"x14 12 27

9J-12 UL1.1/16"X12 | U1.1/16"X12 13 32

9J-16 U1.5/16"X12 | U1.5/16"X12 14 38

9J-20 U1.5/8"X12 U1.5/8"X12 15 50

9J-24 U1.7/8"X12 U1.7/8"X12 19 55

9J-32 U2.1/2"X12 U2.1/2"X12 24 75

S1
9J-CAP
JICT4° WHELUH: Sk
7 JIC 74°FEMALE PLUG
L

B 1240  THREADE R <) DIMENSIONS
PART NO. E s1 L
9J-04CAP U7/16"X20 14 15
9J-06CAP U9/16"X18 17 16
9J-08CAP U3/4"X16 22 19
9J-10CAP u7/8"x14 27 215
9J-12CAP | U1.1/16"X12 32 23
9J-16CAP | UL.5/16"X12 38 26

- 209 -




Hydraulic Adapters

TGS

1JT

JICHMELLT A HINEITEHERT FMRESL
JIC MALE 74°CONE/BSPT MALE

fRE 1240 THREADE J\ < DIMENSIONS
PART NO. E F A B s1 L
1JT-04-02 U7/16"X20 | ZG1/8"X28 14 10 14 30
1JT-04 U7/16"X20 | ZG1/4"X19 14 14 14 34
1JT-04-06 U7/16"X20 | ZG3/8"X19 14 14 19 34
1JT-04-08 U7/16"X20 | ZGl/2"X14 14 19 22 | 415
1JT-05-04 U1/2"X20 ZG1/4"X19 14 14 14 34
1JT-05-06 U1/2"X20 ZG3/8"X19 14 14 19 34
1JT-05-08 U1/2"X20 ZG1/2"X14 14 19 22 | 415
1JT-06-04 U9/16"X18 | ZG1/4"X19 14 14 17 34
1J7-06 U9/16"X18 | ZG3/8"X19 14 14 19 34
1JT-06-08 U9/16"X18 | ZG1/2"X14 14 19 22 41
1JT-08-04 U3/4"X16 ZG1/4"X19 167 | 14 22 39
1JT-08-06 U3/4"X16 ZG3/8"X19 167 | 14 22 38
1J7-08 U3/4"X16 ZG1/2"X14 167 | 19 22 44
1JT-08-12 U3/4"X16 ZG3/4"X14 167 | 195 | 30 46
1JT-10-06 U7/8"X14 ZG3/8"X19 195 | 14 24 42
1JT-10-08 u7/8"x14 ZG1/2"X14 195 | 19 24 47
1JT-10-12 u7/8"x14 ZG3/4"X14 195 | 195 | 30 48
1JT-12-08 U1.1/16"X12 | ZG1/2"X14 22 19 30 50
13T-12 U1.1/16"X12 | ZG3/4"X14 22 | 195 | 30 50
1JT-12-16 U1.1/16"X12 ZG1"X11 22 24 36 57
1JT-12-20 U1.1/16"X12 | ZG1.1/4"X11 22 25 46 60
1JT-16-12 U1.5/16"X12 | ZG3/4"X14 23 | 195 | 36 53
1J7-16 U1.5/16"X12 ZG1"X11 23 24 36 58
1JT-16-20 U1.5/16"X12 | ZG1.1/4"X11 23 25 46 61
1JT-16-24 U1.5/16"X12 | ZG1.1/2"X11 23 25 50 64
1JT-20-16 U1.5/8"X12 ZG1"X11 245 | 24 46 62
1J7-20 U1.5/8'X12 | ZG1.1/4"X11 245 | 25 46 63
1JT-24 U1.7/8"X12 | ZG1.1/2"X11 275 | 25 50 69
1JT-24-32 U1.7/8"X12 ZG2"X11 275 | 29 70 74
1JT-32 U2.1/2"X12 ZG2"X11 34 29 70 81

- 210 -




Hydraulic Adapters

1JT4

45°JICHIMB LT 4° FNHEITEHERS HMRLL
45°JIC MALE 74°CONE/BSPT MALE

A \ S1

= 124 THREADE R~ DIMENSIONS
PART NO. E F A B s1
1JT4-04-02 U7/16"X20 | ZG1/8"X28 20 20 11
1J74-04 U7/16"X20 | ZG1/4"X19 22 22 14
1JT4-04-06 U7/16"X20 | ZG3/8"X19 22 22 17
1JT4-04-08 U7/16"X20 | ZG1/2"X14 27 27 22
1JT4-05-04 U1/2"X20 ZG1/4"X19 22 22 14
1JT4-06-04 U9/16"X18 | ZG1/4"X19 22 22 14
1JT4-06 U9/16"X18 | ZG3/8"X19 22 22 17
1JT4-06-08 U9/16"X18 | ZG1/2"X14 27 27 22
1JT4-08-04 U3/4"X16 ZG1/4"X19 25 25 19
1JT4-08-06 U3/4"X16 ZG3/8"X19 25 25 19
1JT4-08 U3/4"X16 ZG1/2"X14 27 27 22
1JT4-08-12 U3/4"X16 ZG3/4"X14 33 33 27
1JT4-10-08 U7/8"X14 ZG1/2"X14 27 27 22
1JT4-10-12 u7/8"x14 ZG3/4"X14 33 33 27
1JT4-12-08 | UL1.1/16"X12 | ZG1/2"X14 33 33 27
1JT4-12 U1.1/16"X12 | ZG3/4"X14 33 33 27
1JT4-12-16 | U1.1/16"X12 ZG1"X11 37 37 33
1JT4-16-12 | UL1.5/16"X12 | ZG3/4"X14 37 37 33
1JT4-16 U1.5/16"X12 ZG1"X11 37 37 33
1JT4-16-20 | UL.5/16"X12 | ZG1.1/4"X11 40 40 44
1JT4-20-16 U1.5/8"X12 ZG1"X11 40 40 44
1JT4-20 U1.5/8"X12 | ZG1.1/4"X11 40 40 44
1JT4-20-24 U1.7/8'X12 | ZG1.1/2"X11 47 47 53
1J74-24 U1.7/8'X12 | ZG1.1/2"X11 47 47 53
1JT4-32 U2.1/2"X12 ZG2"X11 55 55 65

-211 -




Hydraulic Adapters

P
1JT9
’ 90°JICHMRLLT A HMHE/JEHERE SMREL
\” ) 90°JIC MALE 74°CONE/BSPT MALE
A S
=) 1220 THREADE R~} DIMENSIONS
PART NO. E F A B s1
1JT9-04-02 U7/16"X20 | ZG1/8"X28 22 | 22 11
1JT9-04 U7/16"X20 | ZGL/4"X19 29 | 27 14
1JT9-04-06 U7/16"X20 | ZG3/8"X19 29 | 30 | 17
1JT9-05-02 U1/2"X20 | ZG1/8"X28 29 | 27 14
1JT9-05-04 U1/2"X20 | ZG1/4"X19 29 | 27 14
1JT9-05-06 U1/2"X20 | ZG3/8"X19 29 | 30 | 17
1JT9-06 U9/16"X18 | ZG3/8"X19 2 | 22 17
1JT9-06-04 U9/16"X18 | ZG1/4"X19 29 | 27 14
1JT9-06-08 U9/16"X18 | ZG1/2"X14 37 | 37 22
1JT9-08-04 U3/4"X16 | ZG1/4"X19 33 | 33 19
1JT9-08-06 U3/4"X16 | ZG3/8"X19 33 | 33 19
1JT9-08 U3/4"X16 | ZG1/2"'X14 37 | 37 22
1JT9-08-12 U3/4"X16 | ZG3/4"X14 40 | 40 27
1JT9-10-06 u7/8"x14 | ZG3/8"X19 37 | 37 22
1JT9-10-08 U7/8'X14 | ZGl/2"X14 37 | 37 22
1JT9-10-12 U7/8'X14 | ZG3/4"X14 40 | 40 27
1JT9-12-08 | UL.1/16"X12 | ZG1/2"X14 40 | 40 27
1JT9-12 U1.1/16"X12 | ZG3/4"X14 40 | 40 27
1JT9-12-16 | U1.1/16"X12 ZG1"X11 49 | 49 33
1JT9-16-12 | UL5/16"X12 | ZG3/4"X14 49 | 49 33
1JT9-16 U1.5/16"X12 ZG1"X11 49 | 49 33
1JT9-16-20 | UL.5/16"X12 | ZG1.1/4"X11 57 | 57 44
1JT9-16-24 | UL5/16"X12 | ZG1.1/2"X11 57 | 57 48
1JT9-20-16 | U1.5/8"X12 ZG1"X11 57 | 57 44
1JT9-20 U15/8"X12 | ZG1.1/4"X11 57 | 57 44
1JT9-20-24 | UL7/8"X12 | ZG1l.1/2"X11 57 | 57 48
1JT9-24 U1.7/8"X12 | ZG1.1/2"X11 57 | 57 48
1JT9-24-20 | UL7/8'X12 | ZG1.1/4"X11 57 | 57 48
1JT9-32-24 | U2.1/2"X12 | ZGLl.1/2"X11 66 | 66 65
1JT9-32 U2.1/2"X12 ZG2"'X11 66 | 66 65

-212 -




Hydraulic Adapters

4 - 1JN

| JICHMELLT A HINEIAT HEFT FMIRESL
JIC MALE 74°CONE/NPT MALE

fRE 1240 THREADE J\ < DIMENSIONS
PART NO. E F A B s1 L
1JN-04-02 U7/16"X20 Z1/8"X27 14 10 14 30
1JN-04 U7/16"X20 Z1/4"X18 14 14 14 34
1JN-04-06 U7/16"X20 Z3/8"X18 14 14 19 34
1JN-04-08 U7/16"X20 Z1/2"X14 14 19 22 | 415
1JN-05-04 U1/2"X20 Z1/4"X18 14 14 14 34
1JN-05-06 U1/2"X20 Z3/8"X18 14 14 19 34
1JN-05-08 U1/2"X20 Z1/2"X14 14 19 22 | 415
1JN-06-04 U9/16"X18 Z1/4"X18 14 14 17 34
1JN-06 U9/16"X18 Z3/8"X18 14 14 19 34
1JN-06-08 U9/16"X18 Z1/2"X14 14 19 22 41
1JN-08-04 U3/4"X16 Z1/4"X18 167 | 14 22 39
1JN-08-06 U3/4"X16 Z3/8"X18 167 | 14 22 38
1JN-08 U3/4"X16 Z1/2"X14 16.7 | 19 22 44
1JN-08-12 U3/4"X16 Z3/4"X14 16.7 | 195 | 30 46
1JN-10-06 u7/8"x14 Z3/8"X18 195 | 14 24 42
1JN-10-08 u7/8"x14 Z1/2"X14 195 | 19 24 47
1JN-10-12 u7/8"x14 Z3/4"X14 195 | 195 | 30 48
1JN-12-08 | UL1/16"X12 | Z1/2"X14 22 19 30 50
1JN-12 UL.1/16"X12 | Z3/4"X14 22 | 195 | 30 50
1JN-12-16 | UL.1/16"X12 | Z1"X11.5 22 24 36 57
1JN-12-20 | U1.1/16"X12 |Z1.1/4"X11.5 22 25 46 60
1JN-16-12 | UL.5/16"X12 | Z3/4"X14 23 | 195 | 36 53
1JN-16 U1.5/16"X12 | Z1"X11.5 23 24 36 58
1JN-16-20 | UL1.5/16"X12 |Z1.1/4"X11.5 23 25 46 61
1JN-16-24 | UL.5/16"X12 |Z1.1/2"X11.5 23 25 50 64
1JN-20-16 U1.5/8"X12 Z1"X11.5 245 | 24 46 62
1JN-20 U1.5/8"X12 |Z1.1/4"X11.5 245 | 25 46 63
1JN-24 U1.7/8"X12 |Z1.1/2"X11.5 275 | 25 50 69
1JN-24-32 U1.7/8"X12 72"X11.5 275 | 29 70 74
1JN-32 U2.1/2"X12 72"X11.5 34 29 70 81

-213 -




Hydraulic Adapters

1JN4

45°JICHMB LT 4° FNHEIAT HERS HMZLL
45°JIC MALE 74°CONE/NPT MALE

A \ S1

= 220 THREADE U s/ DIMENSIONS
PART NO. E F A B s1
1JN4-04-02 U7/16"X20 Z1/8"X27 20 20 11
1IN4-04 U7/16"X20 Z1/4"X18 22 | 22 14
1JN4-04-06 U7/16"X20 Z3/8"X18 22 | 22 17
1JN4-04-08 U7/16"X20 Z1/2"X14 27 | 27 22
1JN4-05-04 U1/2"X20 Z1/4"X18 22 22 14
1JN4-06-04 U9/16"X18 Z1/4"X18 22 | 22 14
1JN4-06 U9/16"X18 Z3/8"X18 22 | 22 17
1JN4-06-08 U9/16"X18 Z1/2"X14 27 | 27 22
1JN4-08-04 U3/4"X16 Z1/4"X18 25 25 19
1JN4-08-06 U3/4"X16 Z3/8"X18 25 25 19
1JN4-08 U3/4"X16 Z1/2"X14 271 | 27 22
1JN4-08-12 U3/4"X16 Z3/4"X14 33 | 33 27
1JN4-10-08 u7/8"X14 Z1/2"X14 27 | 27 22
1JN4-10-12 U7/8"X14 Z3/4"X14 33 | 33 27
1JN4-12-08 | UL1.1/16"X12 | Z1/2"X14 33 | 33 27
1JN4-12 U1.1/16"X12 | Z3/4"X14 33 | 33 27
1JN4-12-16 | UL1.1/16"X12 | Z1"X11.5 37 | 37 33
1JN4-16-12 | UL.5/16"X12 | Z3/4"X14 37 | 37 33
1IN4-16 U1.5/16"X12 | Z1"X11.5 37 | 37 33
1JN4-16-20 | UL.5/16"X12 |Z1.1/4"X11.5 40 | 40 44
1JN4-20-16 | U1.5/8"X12 Z1"X11.5 40 | 40 44
1JN4-20 U1.5/8"X12 |Z1.1/4"X11.5 40 | 40 44
1JN4-20-24 | UL7/8"X12 |Z1.1/2"X11.5 a1 | 47 53
1IN4-24 UL.7/8"X12 |Z1.1/2"X11.5 47 | 47 53
1JN4-32 U2.1/2"X12 Z2"X11.5 55 | 55 65

- 214 -




Hydraulic Adapters

P
1JN9
’ 90°JICHMRLLT A HMHENATHER SR
\” ) 90°JIC MALE 74°CONE/NPT MALE
A S
=) 1220 THREADE R~} DIMENSIONS
PART NO. E F A B s1
1JN9-04-02 U7/16"X20 Z1/8"X27 22 |22 11
1JN9-04 U7/16"X20 Z1/4"X18 29 | 27 | 14
1JN9-04-06 U7/16"X20 Z3/8"X18 29 | 30 | 17
1JN9-05-02 U1/2"X20 Z1/8"X27 29 | 27 | 14
1JN9-05-04 U1/2"X20 71/4"X18 20 | 27 | 14
1JN9-05-06 U1/2"X20 73/8"X18 29 | 30 | 17
1JN9-06 U9/16"X18 73/8"X18 22 | 22 | 17
1JN9-06-04 U9/16"X18 Z1/4"X18 20 | 27 | 14
1JN9-06-08 U9/16"X18 Z1/2"X14 37 | 37 22
1JN9-08-04 U3/4"X16 Z1/4"X18 33 | 33 | 19
1JN9-08-06 U3/4"X16 73/8"X18 33 | 33 | 19
1JN9-08 U3/4"X16 Z1/2"X14 37 | 37 22
1JN9-08-12 U3/4"X16 Z3/4"X14 4 | 40 | 27
1JN9-10-06 u7/8"X14 Z3/8"X18 37 | 37 22
1JN9-10-08 u7/8"X14 Z1/2"X14 37 | 37 22
1JN9-10-12 u7/8"X14 Z3/4"X14 40 | 40 | 27
1IN9-12-08 | UL.1/16"X12 | Z1/2"X14 4 | 40 | 27
1IN9-12 UL.1/16"X12 | Z3/4"X14 4 | 40 | 27
1IN9-12-16 | UL.1/16"X12 | Z1"X11.5 49 | 49 | 33
1JN9-16-12 | UL5/16"X12 | Z3/4"X14 49 | 49 | 33
1JN9-16 U15/16"X12 | Z1"X11.5 49 | 49 | 33
1JN9-16-20 | UL5/16"X12 |Z1.1/4"X115 57 | 57 | 44
1IN9-16-24 | UL5/16"X12 |Z1.1/2"X115 57 | 57 | 48
1JN9-20-16 | U1.5/8"X12 Z1"'X11.5 57 | 57 | 44
1JN9-20 UL5/8"X12 |Z1.1/4"X11.5 57 | 57 | 44
1JN9-20-24 | UL.7/8'X12 |Z1.1/2"X115 57 | 57 | 48
1IN9-24 U1.7/8"X12 |Z1.1/2"X115 57 | 57 | 48
1IN9-24-20 | UL7/8'X12 |Z1.1/4"X115 57 | 57 | 48
1IN9-32-24 | U2.1/2"X12 |Z1.1/2"X115 66 | 66 | 65
1JN9-32 U2.1/2"X12 Z2"X11.5 66 | 66 | 65

- 215 -




Hydraulic Adapters

1JIN9-L

90°JICHMERLLT A HMIEINKATHEE FMELL
90°JIC MALE 74°CONE/LONG NPT

MALE
] I#4 THREADE R~} DIMENSIONS
PART NO. E F A B s1
1IN9-04-02L | U7/16"X20 Z1/8"X27 22 30 | 11
1IN9-04L U7/16"X20 Z1/4"X18 29 | 401 | 14
1JN9-05-02L U1/2"X20 Z1/8"X27 20 | 31 14
1IN9-05-04L U1/2"X20 Z1/4"X18 29 | 401 | 14
1JN9-06-04L | U9/16"X18 Z1/4"X18 29 | 401 | 14
1JN9-06-08L | U9/16"X18 Z1/2"X14 37 | 551 | 22
1JN9-08-06L U3/4"X16 Z3/8"X18 33 | 462 | 19
1JN9-08L U3/4"X16 Z1/2"X14 37 | 551 | 22
1JN9-10-08L u7/8"X14 Z1/2"X14 37 | 551 | 22
1JN9-12-08L | UL.1/16"X12 | Z1/2"X14 40 | 569 | 27
1IN9-12L | UL.1/16"X12 | Z3/4"X14 40 | 62 27
1IN9-16-12L | UL.5/16"X12 | Z3/4"X14 49 | 699 | 33
1IN9-16L | U1.5/16"X12 | Z1"X11.5 49 | 765 | 33
1JN9-20L U15/8"X12 |Z1.1/4"X11.5 57 | 937 | 44
1IN9-24L U1.7/8"X12 |Z1.1/2"X115 57 |104.1 | 48
1IN9-32L U2.1/2"X12 Z2"'X11.5 66 |122.2 | 65

- 216 -




Hydraulic Adapters

Y
| 1JIN9-LL
90°JICHMRLLT A HMHEIFF KA HEE SMEREL
<> 1 90°JIC MALE 74°CONE/LONGGER NPT
MALE
\ Y
A S1
=) 124  THREADE U~} DIMENSIONS

PART NO. E F A B S1
1IN9-04-02LL |  U7/16"X20 Z1/8"X27 22 | 396 | 11
1IN9-04LL U7/16"X20 Z1/4"X18 29 | 526 | 14
1IN9-05-04LL | U1/2"X20 Z1/4"X18 29 | 526 | 14
1JN9-06-04LL | U9/16"X18 Z1/4"X18 29 | 526 | 14
1JN9-06LL U9/16"X18 Z3/8"X18 30 | 615 | 17
1JN9-08-06LL |  U3/4"X16 Z3/8"X18 33 | 615 | 19
1JN9-10-08LL |  U7/8"X14 Z1/2"X14 37 | 729 | 22
1INO-12LL | UL.1/16"X12 | Z3/4"X14 40 | 833 | 27
1IN9-16LL | UL.5/16"'X12 | Z1"X11.5 49 |1029 | 33
1IN9-20LL | UL5/8"X12 |Z1.1/4"X11.5 57 | 127 | 44
1IN9-24LL | UL.7/8'X12 |Z1.1/2"X11.5 57 | 141 | 48
1INO-32LL | U2.1/2"X12 Z2"X11.5 66 |168.4 | 65

- 217 -




Hydraulic Adapters

2JB

FHICHMBELLT4°H1E
58 Y URSL60° 41 E

JIC MALE 74°CONE/
BSP FEMALE 60°CONE

o i£4r THREADE R~} DIMENSIONS
PART NO. E F A c s1 )
2JB-04 U7/16"X20 | G1/4"X19 14 | 55 | 14 19
2JB-04-06 U7/16"X20 | G3/8"X19 14 | 65 | 17 22
2JB-04-08 U7/16"X20 | G1/2"X14 14 8 22 | 27
2JB-06 U9/16"X18 | G3/8"X19 14 | 65 | 17 22
2JB-06-08 U9/16"X18 | G1/2"X14 14 8 22 | 27
2JB-06-10 U9/16"X18 | Gb/8"X14 14 | 105 | 22 | 30
2JB-08 U3/4"X16 | G1/2"X14 16.7 8 22 | 27
2JB-08-06 U3/4"X16 | G3/8"X19 167 | 65 | 22 | 22
2JB-08-10 U3/4"X16 | Gb/8"X14 16,7 | 105 | 22 | 30
2JB-10 U7/8"X16 | G5/8"X14 195 | 105 | 22 | 30
2JB-12 UL.1/16"X12 | G3/4"X14 22 | 115 | 30 | 32
2JB-12-08 | UL.1/16"X12 | G1/2"X14 22 8 30 | 27
2JB-12-10 | U1.1/16"X12 | G5/8"X14 22 | 105 | 30 | 30
2JB-12-16 | UL.1/16"X12 | G1"X11 22 | 115 | 32 | 41
2JB-16 UL5/16"X12 | G1"X11 23 | 115 | 36 | 41
2JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 | 12 41 | 50
2JB-20 UL5/8"X12 | G1.1/4"X11 245 | 12 | 46 | 50
2JB-20-24 | UL5/8'X12 | G1.1/2"X11 245 | 13 | 46 | 55
2JB-24 UL7/8'X12 | G1.1/2"X11 275 | 13 50 | 55
2JB-32 U2.1/2"X12 G2'X11 34 | 16 70 | 70

-218 -




Hydraulic Adapters

W %
S1

1JG

LHIIICHMRL T4 M
JLE HMESLOR
JIC MALE

74°CONE/ BSP
MALE O-RING

o i24; THREADE R I DIMENSIONS
PART NO. E F A B | st L
1JG-04-02 | U7/16"X20 | G1/8"X28 14 9 | 14 | 29
13G-04 U7/16"X20 | G1/4"X19 14 | 12 | 19 | 33
1JG-04-06 | U7/16"X20 | G3/8"X19 14 | 1385 | 22 | 35
1JG-04-08 | U7/16"X20 | G1/2"X14 14 | 16 | 27 | 39
13G-05-04 UL/2'X20 | G1/4"X19 14 | 12 | 19 | 33
13G-05-06 UL/2"X20 | GB3/8"X19 14 | 135 | 22 | 35
13G-05-08 UL1/2"X20 | Gl/2"X14 14 | 16 | 27 | 39
1JG-06-04 | U9/16"X18 | GL/4"X19 14 | 12 | 19 |
13G-06 U9/16"X18 | G3/8"X19 14 | 135 | 22 | 35
1JG-06-08 | U9/16'X18 | GL/2"X14 14 | 16 | 27 | 39
13G-08-04 U3/4"X16 | G1/4"X19 167 | 12 | 22 | 37
13G-08-06 U3/4"X16 | G3/8"X19 167 | 135 | 22 | 385
1JG-08 U3/4"X16 | GL/2"X14 167 | 16 | 27 | 41
1JG-08-12 U3/4"X16 | G3/4"X14 167 | 185 | 32 | 46
13G-10-06 U7/8"X14 | G3/8"X19 195 | 135 | 24 | 42
1JG-10-08 U7/8"X14 | Gl/2"X14 195 | 16 | 27 | 45
13G-10-12 U7/8"X14 | G3/4"X14 195 | 185 | 32 | 49
1JG-12-08 | UL.1/16"X12 | G1/2"X14 2 | 16 | 30 | 47
1JG-12 UL.1/16"X12 | GB3/4"X14 22 | 185 | 32 | 51
1JG-12-16 | UL.1/16"X12 | G1"X11 22 | 205 | 19 | 54
13G-12-20 | UL.1/16"X12 | G1.1/4"X11 22 | 205 | 50 | 56
1JG-16-12 | UL5/16"X12 | G3/4"X14 23 | 185 | 36 | 52
13G-16 UL5/16"X12 |  G1"X11 23 | 205 | 41 | 55
1JG-16-20 | U1.5/16"X12 | G1.1/4"X11 23 | 205 | 50 | 57
1JG-20-16 | UL5/8"X12 | G1"X1l 245 | 205 | 46 | 58
13G-20 UL1.5/8"X12 | G1.1/4"X11 245 | 205 | 50 | 58
1JG-24-16 | UL7/8"X12 | G1"X11 275 | 205 | 50 | 61
1JG-24-20 | UL7/8"X12 | GL.1/4"X11 275 | 205 | 50 | 61
13G-24 UL.7/8"X12 | GL.1/2"X11 275 | 23 | 55 | 67

- 219 -




Hydraulic Adapters

S2

A \ﬂ

N

1JG4-0G6G

45° Ll JICHMERLL T 4° H1NfE/
G MRS O R [E
45°J1C MALE 74°CONE/
BSP MALE O-RING

e 24 THREADE L ~f DIMENSIONS
PART NO. E F A| B | st | s
1JG4-040G | U7/16"X20 | GL/4"X19 2 | 28 | 14 | 19
1JG4-05- UL2'X20 | GL/A4"™X19 2 | 28 | 14 | 19
1364-06- U9/16"X18 | G1/4"X19 2 | 28 | 17 | 19
“13G4-060G | U9/16"X18 | G3/8"X19 2 | 32 | 17 | 2
1JG4-08- U3/4"X16 | G3/8"X19 5 | 32 | 19 | 22
713G4-080G | U3/4"X16 | Gl/2'X14 27 | 36 | 22 | 27
1JG4-10- U7/8'X14 | GL/2'X14 27 | 38 | 22 | 27
"19G4-100G | U7/8'X14 | G5/8"X14 27 | 38 | 22 | =0
1JG4-12- UL1/16"X12 | G5/8"X14 33 | 385| 27 | 20
13G4-12- ULL/16'X12 | G1"X11 37 | 4 | 33| 4
"139G4-120G | UL1/16"X12 | G3/4"X14 33 | 4 | 27 | 32
1JG4-16- UL5/16"X12 | G3/4"X14 37 | 44 | 33 | 32
T3G4-160G | UL5/16"X12 | G1'X11 37 | a4 | 33 | a1
1JG4-200G | U15/8"X12 | G1.1/4"X11 40 | 475 | 44 | s0
1JG4-240G | UL.7/8"X12 | G1.1/2"X11 47 | 515 | 53 | 55

- 220 -




Hydraulic Adapters

T

S2

AU

1JG9-0G

90° K il JICHIMERLL 7 4°H1NfE/
Y HMRSLO R [
90°JIC MALE 74°CONE/
BSP MALE O-RING

A S1

= 124 THREADE R~ DIMENSIONS

PART NO. E F Al B | sL | s
1JG9-04- U7/16'X20 | G1/8"X28 2 |22 11 | 14
1369.04- U7/16"X20 | G3/8"X19 30 [368 | 17 | 22
“99G9-040G | U7/16"X20 | GL/4"X19 20 | 313 | 14 | 19
1JG9-05- UL/2'X20 | GL/4"X19 20 | 318 | 14 | 19
13G9.05- UL/2'X20 | G3/8"X19 30 | 358 17 | 22
13GS.-05- UL2'X20 | GL/2'X14 37 | 432 22 | 27
7369.06- U9/16"X18 | GL/4"X19 20 | 313 | 14 | 19
169-06- U9/16"X18 | G1/2"X14 37 | 432 22 | 27
“9G0-060G | U9/16"X18 | G3/8"X19 30 | 358 | 17 | 2
1JG9-08- U3/4'X16 | GL/4"X19 33 | 335 | 19 | 19
13G9.08- U3/4"X16 | G3/8"X19 33 368 | 19 | 22
719G0-080G | U3/4"X16 | GL/2'X14 37 | 432 22 | 27
1JG9-08- U3/4"X16 | G3/4"X14 40 | 493 | 27 | =
1369 10- U7/8'X16 | G3/8"X19 37 [ 302 22 | 2
13G9-10- U7/8"X16 | Gl/2"X14 37 | 432 22 | 27
1369.10- U7/8"X16 | G3/4"X14 40 | 4903 ] 27 | =
T39G0-120G | UL.L/16"X12 | G3/4"X14 40 | 493 | 27 | 32
13G9-12- UL1/16'X12 | G1/2'X14 40 | 465 | 27 | 27
1369 12- UL116"X12 | G1'X11 49 | 53 | 33 | 41
13C0-160G | UL5/16'X12 | G1'X11 49 | 53 | 33 | 41
1JG9-16- UL5/16"X12 | G3/4"X14 49 | 53 | 33 | =
1569 16- UL.5/16"X12 | GL.1/4"X11 57 | 58 | 44 | 50
“13C9-200G | UL5/8"X12 | G1.1/4"X11 57 | 58 | 44 | 50
13G9-20- UL5/8"X12 | G1'X11 57 | 58 | 44 | 41
13GS.-24- UL7/8"X12 | G1"X11 57 | e3 | 48 | 41
13G9-24- UL7/8"X12 | GL.U/4"X11 57 | 63 | 48 | 50
“3G0-240G | UL7/8"X12 | GL/2'X11 57 | &3 | 48 | 5

-221 -




Hydraulic Adapters

L
A B
5 1JF
) i FEHIIICHMRLT4° M HEIORFSHMERLL
//‘ JIC MALE 74°CONE/ORFS MALE
s

e 240  THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
1JF-04 U7/16"X20 | U9/16"X18 14 | 12 | 17 32
1JF-05-04 U1/2"X20 | U9/16"X18 14 | 12 | 17 32
1JF-05-06 U1/2'X20 | U11/16"X16 14 | 14 | 19 | 34
1JF-06-04 | U9/16"X18 | U9/16"X18 14 | 12 | 17 32
1JF-08-06 U3/4"X16 | U11/16"X16 167 | 14 | 19 | 37
1JF-08 U3/4"X16 | U13/16"X16 16.7 | 15 22 | 40
1JF-10-08 U7/8"X16 | U13/16"X16 195 | 15 24 | 43
1JF-10 U7/8"X16 U1"X14 195 | 165 | 27 | 46
1JF-12-10 | UL.1/16"X12 | U1"X14 22 | 165 | 30 | 49
1JF-12 U1.1/16"X12 | U1.3/16"X12 2 | 17 32 | 50
1JF-16-12 | U1.5/16"X12 | U1.3/16"X12 23 | 17 36 | 51
1JF-16 U1.5/16"X12 | U1.7/16"X12 23 | 185 | 41 | 54
1JF-20-16 | U1.5/8"X12 | U1.7/16"X12 245 | 185 | 46 | 56
1JF-20 U1.5/8"X12 | U1.11/16"X12 245 | 195 | 46 | 57
1JF-24-20 | UL.7/8"X12 |U1.11/16"X12 275 | 195 | 50 | 64

- 222 -




Hydraulic Adapters

L
s/

1JH

JICHMELL T4 HNHEI
H SRS O Y Bl 25 &
JIC MALE 74°CONE/
METRIC MALE END O-RING

fRE 124 THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
1JH-04-10 U7/16"X20 M10x1 14 11 14 31
1JH-04-12 U7/16"X20 | M12x1.5 14 1 17 31
1JH-04-14 U7/16"X20 | M14x1.5 14 11 19 32
1JH-05-10 U1/2"X20 M10x1 14 11 14 31
1JH-05-12 U1/2"X20 | M12x1.5 14 1 17 31
1JH-05-14 U1/2°X20 | M14x1.5 14 11 19 31
1JH-06-14 U9/16"X18 | M14x1.5 14 11 19 32
1JH-06-16 U9/16"X18 | M16x1.5 14 11 22 33
1JH-06-18 U9/16"X18 | M18x1.5 14 1 24 33
1JH-08-14 U3/4"X16 | M14x1.5 167 | 11 22 36
1JH-08-16 U3/4'X16 | M16x1.5 167 | 11 22 36
1JH-08-18 U3/4'X16 | M18x1.5 167 | 11 24 36
1JH-08-22 U3/4"X16 | M22x1.5 16.7 | 12 27 37
1JH-10-16 U7/8"X14 | M16x1.5 135 | 11 24 33
1JH-10-18 u7/8"X14 | M18x1.5 135 | 11 24 33
1JH-10-22 u7/8"X14 | M22x1.5 135 | 12 27 33
1JH-12-22 | U1.1/16"X12 | M22x1.5 16 12 30 38
1JH-12-27 | U1.1/16"X12 | M27x2 16 13 32 39
1JH-16-27 | U15/16"X12 | M27x2 16 13 36 40

-223 -




Hydraulic Adapters

N|»

N

A \ 81

1JH4-0G

45° il JICHMRSL74° 4k
NS MR SCRT P ) A iy
45°JIC MALE 74°CONE/METRIC
MALE ADJUSTABLE STUD
END

(N7
PART NO.

124 THREADE

R ~} DIMENSIONS

E F

A B S1 S2

1JH4-04-100G

U7/16"X20 M10x1

20 235 11 14

1JH4-04-120G

U7/16"X20 M12x1.5

22 275 14 17

1JH4-04-140G

U7/16"X20 M14x1.5

22 28.3 14 19

1JH4-05-120G

U1/2"X20 M12x1.5

22 28.3 14 17

1JH4-05-140G

U1/2"X20 M14x1.5

22 28.3 14 19

1JH4-06-140G

U9/16"X18 M14x1.5

22 28.3 14 19

1JH4-06-160G

U9/16"X18 M16x1.5

22 29 17 22

1JH4-08-160G

U3/4"X16 M16x1.5

25 30 19 22

1JH4-08-180G

U3/4"X16 M18x1.5

25 31 19 24

1JH4-10-160G

u7/8"X14 M16x1.5

27 31 22 22

1JH4-10-180G

U7/8"X14 M18x1.5

27 32 22 24

1JH4-10-220G

U7/8"X14 M22x1.5

33 33 27 27

1JH4-12-220G

Ul.1/16"X12 | M22x1.5

33 34.5 27 27

1JH4-12-270G

U1.1/16"X12 M27x2

33 395 27 32

1JH4-16-270G

U1.5/16"X12 M27x2

37 41 33 32

- 224 -




Hydraulic Adapters

-
s2 3 1JH9-OG
> ’ 90°%: 1 JICHMRL T4 514t/
NI MBS R

\J 90°JIC MALE 74°CONE/METRIC
MALE ADJUSTABLE STUD
A S END

foe 240 THREADE JU <} DIMENSIONS
PART NO. E F A B S1 S2
1JH9-04-100G| U7/16"X20 M10x1 22 275 11 14
1JH9-04-120G| U7/16"X20 M12x1.5 29 30.3 14 17
1JH9-04-140G| U7/16"X20 M14x1.5 29 32 14 19
1JH9-05-120G| U1/2"X20 M12x1.5 29 32 14 17
1JH9-05-140G| U1/2"X20 M14x1.5 29 32 14 19
1JH9-06-140G| U9/16"X18 M14x1.5 29 32 14 19
1JH9-06-160G| U9/16"X18 M16x1.5 30 34.8 17 22
1JH9-08-160G| U3/4"X16 M16x1.5 33 38 19 22
1JH9-08-180G| U3/4"X16 M18x1.5 33 38 19 24
1JH9-10-160G| U7/8"X14 M16x1.5 37 38 22 22
1JH9-10-180G| U7/8"X14 M18x1.5 37 39.5 22 24
1JH9-10-220G| U7/8"X14 M22x1.5 40 425 27 27
1JH9-12-220G| U1.1/16"X12 M22x1.5 40 44 27 27
1JH9-12-270G| U1.1/16"X12 M27x2 40 48.5 27 32
1JH9-16-270G| U1.5/16"X12 M27x2 49 41 33 32

- 225 -




Hydraulic Adapters

%y

|

W(//////L}»
_/

1JM

JICHMZRLLT74° HMHE N Il FMIRSL
60° PN HEBR 7S A i 1] 2 & B 4
JIC MALE 74°CONE/METRIC MALE

DOUBLE

USE FOR 60°SEAT OR BONDED

s1
SEAL
e I#40  THREADE U~} DIMENSIONS
PART NO. E F A B s1 L
1JM-04-12 | U7/16"X20 | M12x15 14 | 10 17 32
1JM-04-14 | U7/16"X20 | M14x15 14 | 11 19 33
1JM-05-12 U1/2"X20 | M12x1.5 14 | 10 17 32
1JM-05-14 U1/2"X20 | M14x1.5 14 | 11 19 33
1JM-06-12 | U9/16"X18 | M12x1.5 14 | 10 17 32
1JM-06-14 | U9/16"X18 | M14x1.5 14 | 11 19 33
1JM-06-16 | U9/16"X18 | M16x1.5 14 | 12 22 | 35
1JM-06-18 | U9/16"X18 | M18x15 14 | 12 24 | 50
1JM-08-16 U3/4"X16 | M16x1.5 16.7 | 12 22 | 38
1JM-08-18 U3/4"X16 | M18x1.5 16.7 | 12 24 | 38
1JM-08-22 U3/4"X16 | M22x1.5 16.7 | 14 27 | 41
1JM-10-22 U7/8"X16 | M22x1.5 195 | 14 27 | 44
1JM-12-22 | UL1/16"X12 | M22x1.5 22 | 14 30 | 48

- 226 -




Hydraulic Adapters

i B 1JM-WD
—= |
JICHNREL74° HhEL
@ o A AMBSUR R £
% JIC MALE 74°CONE/
_ . H METRIC MALE CAPTIVE SEAL
e I#40  THREADE R~} DIMENSIONS
PART NO. E F A B D H s1 L
1JM-04-12W0  U7/16"X20 | M12x1.5 14 10 | 142 | 12 17 32
1JM-05-14WD  U1/2"X20 | M14x1.5 14 11 | 163 | 12 19 33
1JM-06-14WD  U9/16"X18 | M14x1.5 14 11 | 163 | 12 19 33
1JM-06-18WD  U9/16"X18 | M18x1.5 14 12 | 207 | 12 24 | 365
1JM-08-18WD  U3/4"X16 | M18x1.5 167 | 12 | 207 | 1.2 24 | 39
1JM-08-22WD  U3/4"X16 | M22x1.5 16.7 | 14 | 241 | 12 27 | 435
1JM-10-18WD0  U7/8'X16 | M18x1.5 195 | 12 | 207 | 12 24 | 415
1JM-10-22WD0  U7/8'X16 | M22x1.5 195 | 14 | 241 | 12 27 46
1JM-12-22W0 U1.1/16"X12 | M22x1.5 22 | 14 | 241 | 12 30 49

- 227 -



Hydraulic Adapters

L
A B
N 1JO
L IICHMRELLTAHMHE
G SAESMRET O MY FE
JIC MALE
% 74°CONE/ SAE O-
RING BOSS
S1

foe 240 THREADE U~} DIMENSIONS
PART NO. E F A B S1 L

1J0O-04 U7/16"X20 U7/16"X20 14 10 14 31
1J0O-04-05 U7/16"X20 U1/2"X20 14 10 17 30
1J0-04-06 U7/16"X20 U9/16"X18 14 12 17 32
1J0O-04-08 U7/16"X20 U3/4"X16 14 12 24 35

1JO-05 U1/2"X20 U1/2"X20 14 10 17 30
1J0O-05-04 U1/2"x20 U7/16"X20 14 10 14 30
1JO-05-06 U1/2"x20 U9/16"X18 14 12 17 32
1J0O-05-08 U1/2"X20 U3/4"X16 14 12 24 35

1JO-06 U9/16"X18 U9/16"X18 14 12 17 33
1J0-06-04 U9/16"X18 U7/16"X20 14 10 17 31
1J0O-06-05 U9/16"X18 U1/2"X20 14 10 17 30
1J0O-06-08 U9/16"X18 U3/4"X16 14 12 24 35
1J0O-06-10 U9/16"X18 uU7/8"X14 14 135 27 36
1J0O-06-12 U9/16"X18 U1.1/16"X12 14 16 32 39

1J0O-08 U3/4"X16 U3/4"X16 16.7 12 24 37
1J0O-08-04 U3/4"X16 U7/16"X20 16.7 10 22 35
1J0O-08-06 U3/4"X16 U9/16"X18 16.7 12 22 37
1J0O-08-10 U3/4"X16 uU7/8"X14 16.7 135 27 39
1J0O-08-12 U3/4"X16 U1.1/16"X12 16.7 16 32 42

1JO-10 uU7/8"X14 U7/8"X14 195 135 27 41.5
1JO-10-08 U7/8"X14 U3/4"X16 19.5 12 24 40
1JO-10-12 U7/8"X14 U1.1/16"X12 19.5 16 32 45

1J0O-12 U1.1/16"X12 U1.1/16"X12 22 16 32 47
1J0O-12-08 U1.1/16"X12 U3/4"X16 22 12 30 43
1J0-12-10 U1.1/16"X12 U7/8"X14 22 135 30 45
1J0O-12-16 U1.1/16"X12 U1.5/16"X12 22 17 41 50

1JO-16 U1.5/16"X12 U1.5/16"X12 23 17 41 51
1J0O-16-12 U1.5/16"X12 U1.1/16"X12 23 16 36 50
1JO-16-20 U1.5/16"X12 U1.5/8"X12 23 18 50 55

1JO-20 U1.5/8"X12 U1.5/8"X12 24.5 18 50 56

-228 -




Hydraulic Adapters

BT
5 124 THREADE R I DIMENSIONS
PART NO. E F A B s1 L
1JO-16-20 | U1.5/16"X12 | UL1.5/8"X12 23 18 50 55
1J0-20-16 | U1.5/8'X12 | UL1.5/16"X12 245 | 17 46 55
1J0-20-24 | U1.5/8"X12 U1.7/8"X12 245 | 185 | 55 59
1JO-24 U1.7/8"X12 U1.7/8"X12 275 | 185 | 55 62
1J0-24-20 | U1.7/8"X12 U1.5/8"X12 275 | 18 50 59
1J0-24-32 | U1.7/8"X12 U2.1/2"X12 275 | 22 70 | 675
1J0O-32 U2.1/2"X12 U2.1/2"X12 34 22 70 74
L
- i 1JO-L
A
ISR INCHMRELTA S HE/
SAESMZRALHF O]
b l/%% LONG JIC MALE
J 74°CONE/ SAE O-
RING BOSS
S1
R 124 THREADE JU <} DIMENSIONS

PART NO. E F A B s1 L
1JO-04L U7/16"X20 U7/16"X20 35 10 14 51
1JO-05L U1/2"X20 U1/2"X20 37 10 17 53
1JO-06L U9/16"X18 U9/16"X18 39 12 17 57
1JO-08L U3/4"X16 U3/4"X16 48 | 12 24 69
1JO-10L U7/8"X14 U7/8"X14 53 | 135 | 27 75
1JO-12L UL1.1/16"X12 | U1.1/16"X12 63 16 32 88
1JO-16L U1.5/16"X12 | U1.5/16"X12 72 17 41 | 100
1J0O-20L U1.5/8"X12 U1.5/8"X12 881 | 18 50 | 120

- 229 -




Hydraulic Adapters

S2

A \s1

1J0O4-0G

45°JICHMERLL T4 H Mk

SAE/MERSH OZ ]

45°JI1C MALE 74°CONE/

SAE O-RING BOSS

e 184 THREADE R~ DIMENSIONS
PART NO. E F A] B | st | s
1J04-040G | U7/16'X20 | U7/16"X20 20 | 24 | 11 | 17
1J04-04- U7/16'X20 | U9/16"X18 2 | 275 | 14 | 19
1304.04- U7/16"X20 U3/4"X16 25 | 325 | 19 | 24
"1384-050G | UL2"X20 UL/2"X20 2 |27 | 14 | 17
1J04-05- U1/2"X20 U7/16"X20 2 | 267 | 14 | 17
“1304-060G | U96'X18 | U9/16"X18 22 | 28 | 14 | 19
1J04-06- U9/16"X18 | U7/16"X20 2 | 26 | 14 | 17
1364-06- U9/16"X18 U1/2"X20 2 | 26 | 14 | 17
1304.06- U9/16"X18 U3/4"X16 25 | 325 | 19 | 24
1304.06- U9/16"X18 U7/8"X14 27 | 385 | 22 | 27
71304-080G |  U3/4"X16 U3/4"X16 25 | 325 | 19 | 24
1J04-08- U3/4"X16 U9/16"X18 25 | 28 | 19 | 19
1304-08- U3/4"X16 U7/8"X14 27 | 387 | 22 | 27
1304-08- U3/4"X16 | UL1/16"X12 33 | 439 | 27 | 32
*1304-100G | u7/g"X14 U7/8"X14 27 | 387 | 22 | 27
1J04-10- U7/8"X14 U3/4"X16 27 | 33 | 22 | 27
1304-10- U7/8'X14 | UL.1/16"X12 33 | 439 | 27 | 32
193964-120G | UL1/16'X12 | UL1/16'X12 33 | 435 | 27 | 32
1J04-12- ULL16'X12 | U7/8"X14 338 | 42 | 27 | 27
1304-12- ULL/16'X12 | UL5/16"X12 37 | 455 | 33 | 41
"1304-160G | UL5/16"X12 | UL.5/16"X12 37 | 455 | 33 | 41
1J04-16-120G | UL5/16"X12 | UL.1/16"X12 37 | 45 | 33 | 32
1J04-16- UL5/16'X12 | UL5/8"X12 4 | 47 | a4 | s0
“1304-200G | UL5/8X12 | UL5/8"X12 40 | 485 | 44 | =0
1J04-20- UL5/8'X12 | UL7/8"X12 47 | s0 | 53 | 55
“130a-240G | ur7/ex12 | UL7/8"X12 47 | 50 | 53 | 55
1J04-320G | UL7/8"X12 | U2.1/2'X12 55 | 54 | 65 | 70

- 230 -




Hydraulic Adapters

.
B 1J0O9-0G
9. %. 1
=
- 90°JICHMERL 7 4°H1ME/

SAESMERLH OR8]

U y) 90°JIC MALE 74°CONE/

SAE O-RING BOSS

A S1
s, 22 THREADE ] ~F DIMENSIONS

PART NO. E F A ] B | st | 2
1J09-040G | U7/16'X20 | U7/16"X20 2 (272 | 11 | 17
1J09-04- U7/16'X20 | U9/16"X18 20 [318 | 14 | 19
1309.05- U1/2"X20 U7/16"X20 20 | 30 | 14 | 17
“1369-050G | UL/2"X20 U1/2"X20 20 | 20 | 14 | 17
1J09-05- U1/2"X20 U9/16"X18 20 [318 | 14 | 19
71309-060G | U916"X18 | U9/16"X18 20 | 318 | 14 | 19
1J09-06- U9/16"X18 | U7/16"X20 20 | 30 | 14 | 17
1309.06- U9/16"X18 U1/2"X20 20 [209 | 14 | 17
1309.06- U9/16"X18 U3/4"X16 33 | 368 | 19 | 24
1309.08- U3/4"X16 U7/16"X20 33 | 33 | 19 | 17
71369-080G |  U3/4"X16 U3/4"X16 33 | 368 | 19 | 24
1J09-08- U3/4"X16 U9/16"X18 33 335 | 19 | 19
7305-08- U3/4"X16 U7/8"X14 37 | 44 | 2 | 27
1305-08- U3/4"X16 | UL1/16"X12 4 | 51 | 27 | =2
380-100G | u7/8"X14 U7/8"X14 37 | 44 | 2 | 27
1J09-10- U7/8"X14 U3/4"X16 37 | 40 | 22 | 27
1309-10- U7/8'X14 | UL1/16°X12 4 | s1 | 27 | =
989-120G | UL1/16"X12 | UL1/16'X12 4 | s1 | 27 | =
1J09-12- ULL16'X12 | U7/8"X14 a0 | 47 | 27 | 27
1309-12- ULL/16°X12 | UL5/16"X12 49 | 545 | 33 | 41
T369-160G | UL5/16'X12 | UL5/16'X12 49 | 545 | 33 | 41
1J09-16-120G | UL5/16"X12 | UL.1/16°X12 49 | 545 | 33 | 32
1J09-16- UL5/16'X12 | UL5/8"X12 57 | 59 | 44 | 50
“1309-200G | UlsE'X12 | UL5E'X12 57 | 59 | 44 | 50
1J09-20- UL5/8"X12 | UL7/8"X12 57 | 63 | 48 | 55
“1369-240G | UL7/8"X12 | UL7/8"X12 57 | 63 | 48 | 55
1J09-320G | UL7/8"X12 | U2.1/2'X12 6 | 76 | 65 | 70

- 231 -




Hydraulic Adapters

e =

7
y

1JO9-0OG/L

90°ZEHil| JICHMERSLT4° M/
K SAEAMELCHT O ]
90°JIC MALE 74°CONE/
LONG SAE O-RING

BOSS
A S1
R 14 THREADE JU <} DIMENSIONS
PART NO. E F A B s1 S2
1J09-040G/L| U7/16"X20 U7/16"X20 22 4 | 11 17
1JO9-060G/L| U9/16"X18 U9/16"X18 29 | 528 | 14 19
1JO9-080G/L|  U3/4"X16 U3/4"X16 33 | 635 | 19 24
1J0O9-100G/L| U7/8"X14 u7/8"X14 37 | 734 | 22 27
1J09-120G/L| UL.1/16"X12 | U1.1/16"X12 40 | 848 | 27 32
1J09-160G/L| U1.5/16"X12 | U1.5/16"X12 49 | 945 | 33 41

-232 -




Hydraulic Adapters

L
A B
3 1BJ-WD
<\|\ = YL AMRLUIR BVE B IICHMRAL T 4° M E
- BSP MALE CAPTIVE SEAL/JIC MALE
H> 74°CONE
H
s1
B 1240 THREADE R~/ DIMENSIONS
PART NO. E F A B D H s1 L
1BJ-02-04WD| G1/8"X28 | U7/16"X20 10 14 | 117 | 07 14 | 315
1BJ-04WD | G1/4"X19 | U7/16"X20 12 14 | 163 | 12 19 34
1BJ-06-04WD| G3/8"X19 | U7/16"X20 135 | 14 | 187 | 1.2 22 36
1BJ-08-04WD| G1/2"X14 | U7/16"X20 16 14 | 237 | 12 27 43
1BJ-04-05WD| G1/4"X19 | U1/2"X20 12 14 | 163 | 12 19 34
1BJ-06-05WD| G3/8"X19 | U1/2"X20 135 | 14 | 187 | 1.2 22 36
1BJ-02-06WD| G1/8"X28 | U9/16"X18 10 | 14 | 117 | 07 17 | 315
1BJ-04-06WD| G1/4"X19 | U9/16"X18 12 | 14 | 163 | 12 19 34
1BJ-06WD | G3/8"'X19 | U9/16"X18 135 | 14 | 187 | 1.2 22 36
1BJ-08-06WD| G1/2"X14 | U9/16"X18 16 14 | 237 | 12 27 43
1BJ-04-08WD| G1/4"X19 | U3/4"X16 12 | 167 | 163 | 1.2 22 37
1BJ-06-08WD| G3/8'X19 | U3/4"X16 135 | 167 | 187 | 1.2 22 39
1BJ-08WD | G1/2'X14 | U3/4"X16 16 | 167 | 237 | 12 27 | 455
1BJ-08-10WD| G1/2"X14 | U7/8"X16 16 | 195 | 237 | 12 27 49
1BJ-12-10WD| G3/4"X14 | U7/8"X16 185 | 195 | 29 | 1.2 32 50
1BJ-08-12WD| G1/2"X14 |U1.1/16"X12 16 22 | 237 | 12 30 | 505
1BJ-12WD | G3/4"X14 |U1.1/16"X12 185 | 22 29 | 12 32 | 525
1BJ-16-12WD|  G1'X11 |U1.1/16"X12 205 | 22 | 355 | 16 41 | 585
1BJ-12-16WD| G3/4"X14 |U1.5/16"X12 185 | 23 29 | 12 36 | 555
1BJ-16WD G1'X11 |U1.5/16"X12 205 | 23 | 355 | 16 41 | 595
1BJ-20-16WD| G1.1/4"X11 |U1.5/16"X12 205 | 23 | 456 | 16 50 | 615
1BJ-16-20WD |  G1"X11 | U1.5/8"X12 205 | 245 | 355 | 1.6 46 61
1BJ-20WD | G1.1/4"X11 | U1.5/8"X12 205 | 245 | 456 | 1.6 50 63
1BJ-24-20WD| G1.1/2"X11 | U1.5/8"X12 23 | 245 | 505 | 16 55 65
1BJ-20-24WD| G1.1/4"X11 | U1.7/8"X12 205 | 275 | 456 | 1.6 50 66
1BJ-24WD | GL.1/2"X11 | UL.7/8"X12 23 | 275 | 505 | 16 55 | 685

- 233 -



Hydraulic Adapters

S1

——h

S2

| |
i

2TJ

FHE AMBLIIIC N RS 74° N HE

BSPT MALE/JIC FEMALE 74°SEAT

R B4 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
2TJ-02-04 ZG1/8"X28 | U7/16"X20 10 | 85 14 17
2TJ-04 ZG1/4"X19 | U7/16"X20 14 | 85 17 17
2TJ-04-05 ZG1/4"X19 U1/2"X20 14 | 95 17 19
2TJ-04-06 ZG1/4"X19 | U9/16"X18 14 10 17 19
2TJ-06-05 ZG3/8"X19 U1/2"X20 14 | 95 17 19
2TJ-06 ZG3/8"X19 | U9/16"X18 14 10 17 19
2TJ-06-08 ZG3/8"X19 U3/4"X16 14 11 19 24
2TJ-08 ZG1/2"X14 U3/4"X16 19 11 22 24
2TJ-08-10 ZG1/2"X14 u7/8"X14 19 11 22 27
2TJ-08-12 ZG1/2"X14 | U1.1/16"X12 19 | 135 | 27 32
2TJ-12 ZG3/4"X14 | U1.1/16"X12 195 | 135 | 30 32
2TJ-12-16 ZG3/4"X14 | UL.5/16"X12 195 | 145 | 36 41
2TJ-16 ZG1"X11 | U1.5/16"X12 24 | 145 | 36 41
2TJ-20 ZG1.1/4"X11| U1.5/8"X12 24 | 155 | 46 50
2TJ-24 ZG1.1/2"X11| U1.7/8"X12 25 | 185 | 50 55

- 234 -




Hydraulic Adapters

S1

——

T

S2

e

NPT MALE/JIC FEMALE 74°SEAT

2NJ

T/ HME S/ JIC P B L 74° Py 4

R B4 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
2NJ-02-04 Z1/8"X27 U7/16"X20 10 | 85 14 17
2NJ-02-05 Z1/8"X27 U1/2"X20 10 | 95 14 19
2NJ-04 Z1/4"X18 U7/16"X20 14 | 85 17 17
2NJ-04-05 Z1/4"X18 U1/2"X20 14 | 95 17 19
2NJ-04-06 Z1/4"X18 U9/16"X18 14 10 17 19
2NJ-04-08 Z1/4"X18 U3/4"X16 14 11 19 24
2NJ-06 Z3/8"X18 U9/16"X18 14 10 17 19
2NJ-06-08 Z3/8"X18 U3/4"X16 14 11 19 24
2NJ-06-10 Z3/8"X18 u7/8"x14 14 11 22 27
2NJ-08 Z1/2"X14 U3/4"X16 19 11 22 24
2NJ-08-06 Z1/2"X14 U9/16"X18 19 10 22 19
2NJ-08-10 Z1/2"X14 u7/8"x14 19 11 22 27
2NJ-08-12 Z1/2"X14 | U1.1/16"X12 19 | 135 | 27 32
2NJ-12 Z3/4"X14 | UL1.1/16"X12 195 | 135 | 30 32
2NJ-12-08 Z3/4"X14 U3/4"X16 195 | 11 27 24
2NJ-12-10 Z3/4"X14 u7/8"X14 195 | 11 27 27
2NJ-12-16 Z3/4"X14 | UL1.5/16"X12 195 | 145 | 36 41
2NJ-16 Z1"X115 | U1.5/16"X12 24 | 145 | 36 41
2NJ-16-12 Z1"X115 | U1.1/16"X12 24 | 135 | 36 32
2NJ-16-20 Z1"X11.5 U1.5/8"X12 24 | 155 | 46 50
2NJ-20  [Z1.1/4"X11.5 | U1.5/8"X12 24 | 155 | 46 50
2NJ-20-24 [Z1.1/4"X11.5 | U1.7/8"X12 24 | 185 | 46 55
2NJ-24-20 [Z1.1/2"X11.5 | U1.5/8"X12 25 | 155 | 50 50
2NJ-24  |Z1.1/2"X115 | U1.7/8"X12 25 | 185 | 50 55

- 235 -




Hydraulic Adapters

i

S1

i .

2GJ

P AME L ORI B /IIC N HELL 74 HETH
BSP MALE O-RING/JIC FEMALE

74°CONE
c
= 1240 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
2GJ-04 GL/A4"X19 | U7/16"X20 12 | 85 | 19 17
2GJ-04-05 | Gl/4"X19 | U1/2"X20 12 | 95 | 19 19
2GJ-04-06 | Gl/4"X19 | U9/16"X18 12 10 19 19
2GJ-06 G3/8"'X19 | U9/16"X18 135 | 10 22 19
2GJ-06-08 | G3/8"X19 U3/4"X16 135 | 11 22 24
2GJ-08 G1/2"X14 | U3/4"X16 16 11 27 24
2GJ-08-06 | Gl/2'X14 | U9/16"X18 16 10 27 19
2GJ-08-10 | G1/2"X14 | U7/8"X16 16 11 27 27
2GJ-12 G3/4"X14 | U1.1/16"X12 185 | 135 | 32 32
2GJ-12-08 | G3/4"X14 | U3/4"X16 185 | 11 32 24
2GJ-12-10 | G3/4"X14 | U7/8"X16 185 | 11 32 27
2GJ-12-16 | G3/4"X14 | U1.5/16"X12 185 | 145 | 32 41
2GJ-16 G1"X11 | U1.5/16"X12 205 | 145 | 41 41
2GJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 155 | 50 50
2GJ-24 G1.1/2"X11 | U1.7/8"X12 23 | 185 | 55 55

- 236 -




HydraulicAdapters

S1

S2

i

20J

S HISAESMRSUH O/
JIC 1y U 40 74° 1 4
SAE O-RING BOSS/

JiC FEMALE
T4°SEAT
C
o 1240 THREADE R~} DIMENSIONS
PART NO. E F A C s1 S2
20J-04 U7/16"X20 | U7/16"X20 10 | 85 14 17
20J-05 U1/2"X20 | U1/2"X20 10 | 95 17 19
20J-06 U9/16"X18 | U9/16"X18 12 10 17 19
20J-08 U3/4"X16 | U3/4"X16 12 11 22 24
20J-10 u7/8'x14 | U7/8"X14 135 | 11 27 27
20J-12 U1.1/16"X12 |U1.1/16"X12 16 | 135 | 32 32
20J-16 U1.5/16"X12 |U1.5/16"X12 17 | 145 | 41 41
20J-20 U1.5/8"X12 | U1.5/8"X12 18 | 155 | 50 50
S1
5= 2WJ
]
) PRI BIICBECTA 1 e
% = BUTT-WELD TUBE/JIC FEMALE
74 °SEAT
C
RE ¥4 THREADE | &7 H{£TUBE O.D. R~} DIMENSIONS
PART NO. E D C s1
2WJ-10-04 U7/16"X20 1lo 8.5 17
2WJ-12-05 U1/2"X20 12 9.5 19
2WJ-14-04 U7/16"X20 14 8.5 17
2WJ-14-06 U9/16"X18 14 10 19
2WJ-18-08 U3/4"X16 18 11 24
2WJ-20-10 u7/8"X14 20 11 27
2WJ-22-12 | U1.1/16"X12 22 13.5 32
2WJ-28-16 | U1.5/16"X12 28 14.5 41
2WJ-34-20 | U1.5/8"X12 34 15.5 50

- 237 -




Hydraulic Adapters

5JB

S JICHMRLLTAHMHE/ S N BRLL
JIC MALE 74°CONE/BSP FEMALE

o 24, THREADE R~} DIMENSIONS
PART NO. E F A s1 L
5JB-04 U7/16"X20 | G1/4"X19 14 19 32
5JB-04-02 | U7/16"X20 | G1/8"X28 14 14 29
5JB-04-06 | U7/16"X20 | G3/8"X19 14 22 34
5JB-06 U9/16"X18 | G3/8"X19 14 22 34
5JB-06-08 | U9/16"X18 | G1/2"X14 14 27 34
5JB-08 U3/4"X16 | G1/2"X14 16.7 27 37
5JB-08-10 U3/4"X16 | G5/8"X14 16.7 30 43
5JB-10-12 u7/8'x16 | G3/4"X14 195 32 44
5JB-12 UL.1/16"X12 | GB3/4"X14 22 36 52
5JB-12-16 | U1.1/16"X12 | G1"X11 22 41 56
5JB-16 U15/16"X12 | GI1"X11 23 41 57
5JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 50 59
5JB-20 UL5/8"X12 | G1.1/4"X11 245 50 61
5JB-24 UL7/8'X12 | GL.1/2"X11 275 55 65
5JB-32 U2.1/2"X12 G2"X11 34 70 71

- 238 -




Hydraulic Adapters

L

B 5JT

- S 5 DICHMELLTA S A PR
4 JIC MALE 74°CONE/BSPT FEMALE

] I#4 THREADE R~} DIMENSIONS
PART NO. E F A S1 L
5JT-04-02 U7/16"X20 ZG1/8"X28 14 17 29
5JT-04 u7/16"X20 Z2G1/4"X19 14 19 32
5JT-06-04 U9/16"X18 ZG1/4"X19 14 19 32
5JT-06 U9/16"X18 ZG3/8"X19 14 22 34
5JT-08-06 U3/4"X16 Z2G3/8"X19 16.7 22 37
5JT-08 U3/4"X16 Z2G1/2"X14 16.7 30 43
5JT-10-08 u7/8"X14 ZG1/2"X14 19.5 30 36
5JT-12 Ul1l.1/16"X12 ZG3/4"X14 22 36 52
5JT-16 U1.5/16"X12 ZG1"X11 23 41 57

- 239 -



Hydraulic Adapters

L
S1
4
z 5JN
L+ S IIICH MR AT A S A B 5 PR
4 JIC MALE 74°CONE/NPT FEMALE

R 1240 THREADE <) DIMENSIONS
PART NO. E F A S1 L
5JN-04-02 u7/16"X20 21/8"X27 14 17 29
5JN-04 U7/16"X20 Z1/4"X18 14 19 32
5JN-05-04 U1/2"X20 Z1/4"X18 14 19 32
5JN-06-04 U9/16"X18 Z1/4"X18 14 19 32
5JN-06 U9/16"X18 Z3/8"X18 14 22 34
5JN-06-08 U9/16"X18 Z1/2"X14 14 30 40
5JN-08-06 U3/4"X16 Z3/8"X18 16.7 22 37
5JN-08 U3/4"X16 Z1/2"X14 16.7 30 43
5JN-08-12 u3/4"X16 Z3/4"X14 16.7 36 47
5JN-10-08 U7/8"X14 Z1/2"X14 19.5 30 46
5JN-10-12 u7/8"X14 Z3/4"X14 19.5 36 50
5JN-12-08 U1.1/16"X12 Z1/2"X14 22 30 48
5JN-12 U1.1/16"X12 Z3/4"X14 22 36 52
5JN-16-12 U1.5/16"X12 Z3/4"X14 23 36 53
5JN-16 U1.5/16"X12 Z1"X11.5 23 41 57
5JN-20 U1.5/8"X12 Z1.1/4"X11.5 24.5 50 61
5JN-24 U1.7/8"X12 Z1.1/2"X11.5 275 60 65
5JN-32 U2.1/2"X12 Z2"X11.5 34 70 71

- 240 -




Hydraulic Adapters

7l

5JN9

90° 2 Hil| JICHMBLL T 4° FMNE AR HEE B ST
90°JIC MALE 74°CONE/NPT FEMALE
= 124 THREADE N < DIMENSIONS
PART NO. E F A B S1
5JN9-04-02 U7/16"X20 Z1/8"X27 27 21 17
5JN9-04 U7/16"X20 Z1/4"X18 27 21 17
5JN9-06-04 U9/16"X18 Z1/4"X18 32 27 22
5JN9-06 U9/16"X18 Z3/8"X18 32 27 22
5JN9-08-04 U3/4"X16 Z1/4"X18 35 30 27
5JN9-08 U3/4"X16 Z1/2"X14 35 30 27
5JN9-12-08 U1.1/16"X12 Z1/2"X14 35 30 27
5JN9-12 U1.1/16"X12 Z3/4"X14 40 32 33
5JN9-12-16 U1.1/16"X12 Z1"X11.5 38 49 41
5JN9-16-12 U1.5/16"X12 Z3/4"X14 49 38 41
5JN9-16 U1.5/16"X12 Z1"X11.5 49 38 41

- 241 -



Hydraulic Adapters

A B
— S 6NJ
W| 7 %% FEHINPTHMESL/ZE B I CHMERESLSMIEL IR F
J NPT MALE/JIC MALE 74°CONE
E St BULKHEAD
R 240  THREADE R I DIMENSIONS
PART NO. E F A B s1 L
6NJ-02-04 Z1/8"X27 U7/16"X20 10 | 325 | 14 | 485
B6NJ-04 Z1/4"X18 U7/16"X20 14 | 325 | 14 | 525
6NJ-04-06 71/4"X18 U9/16"X18 14 | 325 | 17 | 525
6NJ-06 Z3/8"X18 U9/16"X18 14 | 325 | 17 | 525
6NJ-08 Z1/2"X14 U3/4"X16 19 | 365 | 22 | 64
6NJ-08-10 Z1/2"X14 U7/8"X14 19 40 | 22 67
B6NJ-12 Z3/4"X14 | U1.1/16"X12 19.5 | 445 | 27 73
6NJ-16 Z1'X115 | U1.5/16"X12 24 | 445 | 36 | 795
6NJ-20  |Z1.1/4"X11.5 | UL1.5/8"X12 25 | 457 | 46 | 84
6NJ-24  |Z1.1/2"X11.5 | UL1.7/8"X12 25 46 | 50 | 88
4
/NJ
E
BN
N A A SR SUIIC N IR ST 4° i
NPT FEMALE/JIC FEMALE 74°SEAT
c
=2 24 THREADE JU <} DIMENSIONS
PART NO. E F C s1 S2
7NJ-04 71/4"X18 U7/16"X20 85 19 17
7NJ-04-06 Z1/4"X18 U9/16"X18 10 19 19
7NJ-06 Z3/8"X18 U9/16"X18 10 24 | 19
7NJ-06-08 Z3/8"X18 U3/4"X16 11 24 | 24
7NJ-08 Z1/2"X14 U3/4"X16 11 30 | 24
7NJ-08-10 Z1/2"X14 U7/8"X14 11 30 | 27
7NJ-08-12 Z1/2'X14 | U1.1/16"X12 13.5 30 | 32
7NJ-12 Z3/4"X14 | U1.1/16"X12 135 36 | 32
7NJ-16 Z1'X115 | U1.5/16"X12 14.5 a1 | 4
7NJ-20  [Z1.1/4"X115 | U1.5/8"X12 15.5 50 | 50
7NJ-24  |Z1.1/2"X11.5 | UL.7/8"X12 18.5 60 | 55

- 242 -




Hydraulic Adapters

S1 AJ
7 7 2N
FEHIINCHMRELT 4° M =18
JIC MALE 74°CONE TEE
A C
R BREL J{ <) DIMENSIONS
PART NO. E THREFADE G A B C S1
AJ-04 U7/16"X20 U7/16"X20 U7/16"X20 24 24 24 11
AJ-04-06-04 U7/16"X20 U9/16"X18 U7/16"X20 27 27 27 14
AJ-05 U1/2"X20 U1/2"X20 U1/2"X20 27 27 27 14
AJ-06-04-06 U9/16"X18 U7/16"X20 U9/16"X18 27 27 27 14
AJ-06 U9/16"X18 U9/16"X18 U9/16"X18 27 27 27 14
AJ-08 U3/4"X16 U3/4"X16 U3/4"X16 30 30 30 19
AJ-08-06-08 U3/4"X16 U9/16"X18 U3/4"X16 30 30 30 19
AJ-10 u7/8"x14 u7/8"x14 u7/8"x14 33 33 33 22
AJ-12 U1.1/16"X12 | UL.1/16"X12 | U1.1/16"X12 40 40 40 27
AJ-16 U1.5/16"X12 | U1.5/16"X12 | U1.5/16"X12 49 49 49 33
AJ-16-12-16 | U1.5/16"X12 | U1.1/16"X12 | U1.5/16"X12 49 49 49 33
AJ-20 U1.5/8"X12 U1.5/8"X12 U1.5/8"X12 57 57 57 44
(F\
S
— BJ
;
ges S IICHMBLTA M SH1IIC
WIRSLT4° N HESr X =38 JIC
— MALE 74° CONE/
JIC FEMALE BRANCH TEE
A A
= 124 THREADE ' ~ DIMENSIONS
PART NO. E F A C s1 S2
BJ-04 U7/16"X20 U7/16"X20 24 | 85 11 17
BJ-05 U1/2"X20 U1/2"X20 27 | 95 14 19
BJ-06 U9/16"X18 U9/16"X18 27 10 14 19
BJ-08 U3/4"X16 U3/4"X16 30 11 19 24
BJ-10 u7/8"x14 u7/8"x14 33 11 22 27
BJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 32
BJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 41
BJ-20 U1.5/8"X12 U1.5/8"X12 57 | 155 | 44 50

- 243 -




Hydraulic Adapters

E
4
s CJ
. | = EHIICHRETA
| FEHIINCHIRLT74° I HET S =il
JIC MALE 74° CONE/
A o S JIC FEMALE 74°SEAT RUN TEE
S
2
R 140  THREADE R~ DIMENSIONS
PART NO. E F A C s1 S2
CJ-04 U7/16"X20 U7/16"X20 24 | 85 | 11 17
CJ-05 U1/2"X20 U1/2"X20 27 | 95 | 14 19
CJ-06 U9/16"X18 U9/16"X18 27 | 10 14 19
CJ-08 U3/4"X16 U3/4"X16 30 | 11 19 24
CJ-10 u7/8"X14 u7/8"X14 33 | 11 22 27
CJ-12 UL.1/16"X12 | U1.1/16"X12 40 | 135 | 27 | 32
CJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 41
CJ-20 U1.5/8"X12 U1.5/8"X12 57 | 155 | 44 | 50
m
i/ —— DJ
C C
.\Z
| Ml IIC N IREL74° Py HE =18
E\g JIC FEMALE 74°SEAT TEE

% S1

e 124 THREADE JU <} DIMENSIONS
PART NO. E F C S S2

DJ-04 U7/16"X20 U7/16"X20 85 | 11 17
DJ-05 U1/2"X20 U1/2"X20 95 | 11 19
DJ-06 U9/16"X18 U9/16"X18 10 14 19
DJ-08 U3/4"X16 U3/4"X16 11 19 24
DJ-10 u7/8"X14 u7/8"X14 11 22 27
DJ-12 U1.1/16"X12 | U1.1/16"X12 135 | 27 32
DJ-16 U1.5/16"X12 | U1.5/16"X12 145 | 33 41
DJ-20 U1.5/8"X12 U1.5/8"X12 155 | 44 | 50




Hydraulic Adapters

=
™

E

_C C_
|, 2; seiacadeaa
‘ [ ‘ L INCHMELL74° 4y S =38
%Jf Eg JIC FEMALE 74°  SEAT/
; - JIC MALE 74°CONE BRANCH TEE
e I#40 THREADE R <} DIMENSIONS
PART NO. E F A C S1 S2
EJ-04 U7/16"X20 U7/16"X20 24 8.5 11 17
EJ-05 U1/2"X20 U1/2"X20 27 9.5 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 11 19 24
EJ-10 U7/8"X14 U7/8"X14 33 11 22 27
EJ-12 U1.1/16"X12 U1.1/16"X12 40 135 27 32
EJ-16 U1.5/16"X12 U1.5/16"X12 49 14.5 33 41
EJ-20 U1.5/8"X12 U1.5/8"X12 57 155 44 50
E
R F
iy J
i |
\Z IE FHIICHIRL74° N HEN SE61J1IC
Tl g SMEETA NS =3 JIC
A S1 FEMALE 74° SEAT/
JIC MALE 74°CONE BRANCH TEE
o 184 THREADE R~ DIMENSIONS
PART NO. E F A C S1 S2
EJ-04 U7/16"X20 U7/16"X20 24 8.5 11 17
EJ-05 U1/2"x20 U1/2"x20 27 9.5 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 11 19 24
EJ-10 U7/8"X14 U7/8"X14 33 11 22 27
EJ-12 U1.1/16"X12 U1.1/16"X12 40 13.5 27 32
EJ-16 U1.5/16"X12 U1.5/16"X12 49 14.5 33 41
EJ-20 U1.5/8"X12 U1.5/8"X12 57 155 44 50




Hydraulic Adapters

i AINJ
) st
0 o SR JICHMRELL74° 5
| 71 4 5 SNBSS F = 5
4 — D JIC MALE 74°CONE/
. . NPT MALE BRANCH TEE

e 124  THREADE R~} DIMENSIONS

PART NO. E F A B S1

AJINJ-04 U7/16"X20 Z1/4"X18 27 27 14
AJINJ-04-02-04 U7/16"X20 Z1/8"X27 24 24 11
AJNJ-05-02-05 U1/2"X20 Z1/8"X27 27 27 14
AJNJ-05-04-05 U1/2"X20 Z71/4"X18 27 27 14

AJINJ-06 U9/16"X18 Z3/8"X18 28 28 17
AJNJ-06-04-06 U9/16"X18 Z1/4"X18 27 27 14

AJINJ-08 U3/4"X16 Z1/2"X14 33 33 22
AJNJ-08-06-08 U3/4"X16 Z3/8"X18 30 30 19
AJNJ-10-08-10 u7/8"X14 Z1/2"X14 33 33 22
AJNJ-10-12-10 uU7/8"X14 Z3/4"X14 40 40 27

AINJ-12 U1.1/16"X12 Z3/4"X14 40 40 27

AINJ-16 U1.5/16"X12 Z1"X11.5 49 49 33

AJINJ-20 Ul1.5/8"X12 |Z1.1/4"X11.5 57 57 44

- 246 -




Hydraulic Adapters

m

A :Sl B

AJIN

KA IICHMR L T4° HhHE/
it EIMRG E X = 0E
JIC MALE 74°CONE/
NPT MALE RUN TEE

e 40 THREADE R s} DIMENSIONS
PART NO. E F A B S1
AJIN-04 U7/16"X20 Z1/4"X18 27 27 14

AJIN-04-04-02| U7/16"X20 Z1/8"X27 24 24 11
AJIN-05-05-02 U1/2"X20 Z1/8"X27 27 27 14
AJIN-05-05-04 U1/2"X20 Z1/4"X18 27 27 14
AJIN-06 U9/16"X18 Z3/8"X18 28 28 17
AJIN-06-06-04| U9/16"X18 Z1/4"X18 27 27 14
AJIN-08 U3/4"X16 Z1/2"X14 33 33 22
AJJIN-08-08-06 U3/4"X16 Z3/8"X18 30 30 19
AJJIN-10-10-08 U7/8"X14 Z1/2"X14 33 33 22
AJIN-10-10-12 uU7/8"X14 Z3/4"X14 40 40 27
AJIN-12 U1.1/16"X12 Z23/4"X14 40 40 27
AJIN-16 U1.5/16"X12 Z1"X11.5 49 49 33
AJIN-20 U1.5/8"X12 |Z1.1/4"X11.5 57 57 44

- 247 -




Hydraulic Adapters

E
5 AJJ6J
p
%4, 72 . . o e
M INCHMRLL T4 HMEE T Bk T 50 =T
¥ I JIC MALE 74°CONE BULKHEAD RUN
—T TEE
A B
R 40 THREADE R~} DIMENSIONS
PART NO. E A B s1
AJI6JI-04 U7/16"X20 24 | 404 | 11
AJJ6J-06 U9/16"X18 27 46 14
AJJ6J-08 U3/4"X16 30 | 535 | 19
AJJ6J-10 U7/8"X14 33 | 607 | 22
AJI6JI-12 U1.1/16"X12 40 | 678 | 27
AJJ6J-16 U1.5/16"X12 49 71 | 33
AJI6J-20 U1.5/8"X12 57 | 792 | 44
E
71D
. AJ6JJ
y 1
2zl SHIICHMRLTA SRR 5 3 =
1l Il JIC MALE 74°CONE BULKHEAD BRANCH
— TEE
A A
R 24 THREADE R~ DIMENSIONS
PART NO. E A B S
AJBJIJ-04 U7/16"X20 24 | 404 | 11
AJBJIJI-06 U9/16"X18 27 46 14
AJBJJ-08 U3/4"X16 30 | 535 | 19
AJ6JI-10 U7/8"X14 33 | 607 | 22
AJBJII-12 U1.1/16"X12 40 | 678 | 27
AJBJIJI-16 U1.5/16"X12 49 71 | 33

- 248 -



Hydraulic Adapters

g KJNJ
S1
Z2 Zp S| JICHMB LT A 1]
N B A4 YIRS S =i
JIC MALE 74°CONE/
A A NPT FEMALE BRANCH TEE
e I#40  THREADE R~} DIMENSIONS
PART NO. E F A B S1
KJINJ-04 U7/16"X20 Z1/4"X18 30 224 19
KJINJ-04-02-04 U7/16"X20 Z1/8"X27 28 16.8 17
KJINJ-05-02-05 u1/2"X20 21/8"X27 28 16.8 17
KJINJ-05-04-05 U1/2"x20 Z1/4"X18 30 22.4 19
KJINJ-06 U9/16"X18 Z3/8"X18 33 25.9 22
KJINJ-06-04-06 U9/16"X18 Z1/4"X18 30 22.4 19
KJINJ-08 U3/4"X16 Z1/2"X14 40 31.2 27
KJINJ-08-06-08 U3/4"X16 Z3/8"X18 40 25.9 27
KJNJ-10-08-10 u7/8"X14 Z1/2"X14 40 31.2 27
KJINJ-12 Ul1l.1/16"X12 Z3/4"X14 49 345 33
KJINJ-16 U1.5/16"X12 Z1"X11.5 57 41.1 44

- 249 -



Hydraulic Adapters

E

f————

=

S1

/%lF

LJIN

e SEHIIICHMELLTA S i/
ATHEE IR E S =l
JIC MALE 74°CONE/
A B NPT FEMALE RUN TEE
(1%=s 240 THREADE ' I DIMENSIONS

PART NO. E F A B s1
LJIN-04 U7/16"X20 71/4"X18 30 | 251 | 19
LJIN-04-04-02 | U7/16"X20 71/8"X27 28 | 168 | 17
LJIN-06 U9/16"X18 Z3/8"X18 33 | 268 | 22
LJIN-06-06-04 | U9/16"X18 71/4"X18 30 | 225 | 19
LJIN-08 U3/4"X16 Z1/2"X14 40 33 | 27
LJIN-08-08-06 |  U3/4"X16 73/8"X18 40 | 259 | 27
LJIN-10-10-08 |  U7/8"X14 Z1/2"X14 40 | 312 | 27
LIIN-12 UL.1/16"X12 | Z3/4"X14 49 39 | 33
LJIN-16 U15/16"X12 | Z1"X11.5 57 | 439 | 27
LJIN-20 UL.5/8"X12 |Z1.1/4"X11.5 57 | 433 | 44

- 250 -




Hydraulic Adapters

s

S2
%/ﬁ:

AJOJ-0OG

L INCHMRALLT4° 51

@& SAESMRLUH OB [l 79 52 =i
) u/ JIC MALE 74°CONE/
Jt SAE O-RING BOSS BRANCH TEE
A S1p
foe 1240  THREADE R~ DIMENSIONS

PART NO. E F A B s1 S2
AJOJ-040G | U7/16'X20 | U7/16"X20 24 | 272 | 11 17
AJOJ-050G U1/2"X20 U1/2"X20 27 | 29 | 14 17
AJOJ-05-04-050G| U1/2"X20 | U7/16"X20 27 | 30 | 14 | 17
AJOJ-060G | U9/16"X18 | U9/16"X18 27 | 318 | 14 | 19
AJOJ-06-04-060G| U9/16"X18 | U7/16"X20 27 | 30 14 | 17
AJOJ-06-05-060G| U9/16"X18 | UL/2"X20 27 | 30 | 14 | 17
AJOJ-080G U3/4"X16 U3/4"X16 30 | 368 | 19 24
AJOJ-08-06-080G| U3/4"X16 | U9/16"X18 30 | 335 | 19 19
AJOJ-100G u7/8"X14 U7/8"X14 33 | 44 22 | 27
AJOJ-10-08-100G| U7/8"X14 U3/4"X16 33 | 40 22 | 24
AJOJ-120G | U1.1/16"'X12 |U1.1/16"X12 33 | 51 24 | 32
AJOJ-12-08-120G| UL.1/16"X12 | U3/4"X16 33 | 4 24 | 24
AJOJ-12-10-120G| U1.1/16"X12 | U7/8"X14 33 | 49 | 24 | 27
AJOJ-160G | U1.5/16"X12 |U1.5/16"X12 49 | 545 | 33 | 41
AJOJ-20-16-200G| U1.5/8"X12 |UL1.5/16"X12 57 | 595 | 44 | 41
AJOJ-200G | UL5/8"X12 | UL.5/8"X12 57 | 59 44 | 50

- 251 -



Hydraulic Adapters

7
)

z8

2B

=T

AJJO-0OG

R JICHMESL 744 ME
SAEAMZLH O B 3257 =@
JIC MALE 74°CONE/

SAE O-RING BOSS RUN

S TEE
2
A B

5 24 THREADE JU <} DIMENSIONS

PART NO. E F A B s1 S2

AJJO-040G | U7/16"X20 | U7/16"X20 24 | 272 | 11 17

AJJO-050G U1/2"X20 U1/2"X20 27 | 29 14 17
AJJO-05-05-040G| U1/2"X20 | U7/16"X20 27 | 30 14 17

AJJO-060G | U9/16"X18 | U9/16"X18 27 | 318 | 14 19
AJJO-06-06-040G| U9/16"X18 | U7/16"X20 27 | 301 | 14 17
AJJO-06-06-050G U9/16"X18 | U1/2"X20 27 | 30 14 17
AJJO-06-06-080G| U9/16"X18 | U3/4"X16 30 | 375 | 19 24

AJJO-080G U3/4"X16 U3/4"X16 30 | 368 | 19 24
AJJO-08-08-060G| U3/4"X16 | U9/16"X18 30 | 335 | 19 19
AJJO-08-08-100G| U3/4"X16 u7/8"X14 33 44 22 27

AJJO-100G u7/8'X14 U7/8"X14 33 | 44 22 27
AJJO-10-10-080G U7/8"X14 U3/4"X16 33 | 395 | 22 24

AJJO-120G | U1.1/16"X12 |U1.1/16"X12 33 | 51 24 32
AJJO-12-12-080G| U1.1/16"X12 | U3/4"X16 33 | 43 24 24
AJJO-12-12-100G| U1.1/16"X12 | U7/8"X14 33 49 24 27

AJJO-160G | U1.5/16"X12 |U1.5/16"X12 49 | 545 | 33 41

AJJO-200G | U1.5/8"X12 | U1.5/8"X12 57 | 59 44 50

- 252 -




Hydraulic Adapters

S2

¥

7D

%

;S‘l A

AJGJI-OG

JICHMELLT4°HME/
JEEHMELLORI B 4y 7 =il
JIC MALE 74°CONE/
BSP MALE O-RING BRANCH TEE

A
R I#4  THREADE R~} DIMENSIONS
PART NO. E F Al B | st | s
AJGJ-04-02- U7/16'X20 | G1/8"X28 24 | 262 | 11 | 14
T AJGI-040G | U7/16'X20 | GL/A4"X19 27 | 318 | 14 | 19
AJGJ-05-02- UL2'X20 | G1/8"X28 27 | 20 | 14 | 19

UoUG
AJGJ-05-04-

U1/2"X20 G1/4"X19

27 31.8 14 19

UoUG
AJGJI-06-04-

U9/16"X18 G1/4"X19

27 31 14 19

UoUG
AJGJ-060G

U9/16"X18 G3/8"X19

28 36.8 17 22

AJGJ-08-06- U3/4"X16 | G3/8"X19 30 37 19 22
" AJGJ-080G U3/4"X16 | G1/2"X14 33 | 432 | 22 27
AJGJ-10-08- U7/8'X16 | G1/2"X14 33 | 435 | 22 27
" A3ci-1206 | uruiexi2 | G34ax14 33 51 24 32
AJGJ-160G | U1.5/16"X12 | G1"'X11 49 53 33 41
. E _
za AJJG-0OG
in
2
— / JICHMBE G741 el %
HMRSLORE 3= 5 =i JIC
/ lbqh H_[ MALE 74°CONE/
—T BSP MALE O-RING RUN TEE
A St—s
R B4 THREADE R~ DIMENSIONS

PART NO. E F A B S1 S2
AJJG-040G | U7/16"X20 | G1/4"X19 27 | 319 | 14 19
AJIG-05-05- U1/2"X20 | G1/4"X19 27 | 313 | 14 19
P AJIG-060G | Uoe'x18 | G3/8™x19 28 | 368 | 17 22
AJIG-06-06- U9/16"X18 | G1/4"X19 27 | 313 | 14 19

THOG
AJJIG-08-08-

U3/4"X16 G3/8"X19

30 36.8 19 22

UoUG
AJJIG-080G

U3/4"X16 Gl/2"X14

33 43.2 22 27

AJJG-10-10- U7/8"X16 G1/2"X14 33 44 22 27
UC.UAK.;]“JG-12OG U1.1/16"X12 | G3/4"X14 33 49.5 24 32
AJJG-160G | U1.5/16"X12 G1"X11 49 53 33 41

- 253 -



Hydraulic Adapters

747 ]

)
Py ¥

—HU

4
T

'y S

AJIH-OG

SN INCHMRLLTAHME A 5h
SREECAT Y [ kR FE 3 =8 JIC
MALE 74°CONE/METRIC MALE
ADJUSTABLE STUD END

B

fro 24 THREADE R~} DIMENSIONS

PART NO. E F A B st | s2
AJJIH-04-04- U7/16"X20 | M10x1 24 | 265 | 11 | 14
AJIH.04-04- U7/16"X20 | M12x15 27 | 325 | 14 | 17
A33H-05-05- U1/2'X20 | M12x15 27 | 32 | 14 | 17
A33H.05-05- U1/2'X20 | M14x15 27 | 32 | 14 | 19
AJIH.06-06- U9/16"X18 | M14x1.5 27 | 32 | 14 | 19
AJIF-06-06- U9/16"X18 | M16x1.5 28 | 348 | 17 | 22
AJJH-08-08- U3/4"X16 | M16x15 30 36 | 19 | 22
AJJH-08-08- U3/4"X16 | M18x15 30 37 | 19 | 24
AJIH-10-10- U7/8'X14 | M18x15 33 | 395 | 22 | 24
AJIH-10-10- U7/8'X14 | M22x15 33 | 402 | 22 | 27
AI-12-12- U1.1/16"X12 | M22x15 33 | 44 | 24 | 27
AJI-12-12- UL1/16"X12 | M27x2 40 | 485 | 27 | 32
AJIH-16-16- U15/16"X12 | M27x2 49 | 52 | 33 | 32

270G

- 254 -




Hydraulic Adapters

L
NB500
JIC A5
JIC METRIC SLEEVE
e I#4. THREADE | #T4M% TUBE R~} DIMENSIONS

PART NO. O.Dm D L
NB500-06 | U7/16"X20 6 9.7 104
NB500-08 | U1/2"X20 8 113 11.2
NB500-10 | U9/16"X18 10 127 12.7
NB500-12 | U3/4"X16 12 17.3 14.2
NB500-14 | U7/8"X16 14 20.2 16.8
NB500-15 | U7/8'X16 15 20.2 16.8
NB500-16 | U7/8'X16 16 20.2 16.8
NB500-18 | U1.1/16"X12 18 24.7 17.3
NB500-20A | U1.1/16"X12 20 24.7 17.3
NB500-20 | U1.3/16"X12 20 27.8 193
NB500-22 | U1.3/16"X12 22 27.8 193
NB500-25 | U1.5/16"X12 25 31 19.8
NB500-28 | UL1.5/8"X12 28 38.9 23.1
NB500-30 | U1.5/8"X12 30 38.9 23.1
NB500-32 | UL1.5/8"X12 32 38.9 23.1
NB500-35 | UL1.7/8"X12 35 45.3 28.4
NB500-38 | UL1.7/8"X12 38 45.3 28.4
NB500-50 | U2.1/2"X12 50 61.2 30.2

- 255 -




Hydraulic Adapters

L
JICH I E R &
% JICINCH SLEEVE
foE ##40 THREADE | #74Mt TUBE X~} DIMENSIONS
PART NO. 0.Di:n D L
NB300-04 | U7/16"X20 1/4" 9.5 10.5
NB300-06 | U9/16"X18 3/8" 12.5 13
NB300-08 U3/4"X16 1/2" 17 14
NB300-10 U7/8"X16 5/8" 20 17
NB300-12 | U1.1/16"X12 3/4" 245 175
NB300-16 | U1.5/16"X12 1" 31 20
NB300-20 | U1.5/8"X12 1.1/4" 39 235
S1
7 FEHIINCY LB Ig R
JIC FLARE TUBE END NUT
2222
= 240 THREADE R~ DIMENSIONS

PART NO. E S

00TSUM- U7/16"X20 17

UANB

00TSUM- U9/16"X18 19

UBNB

00TSUM- U3/4"X16 24

UBNB

00TSUM- U7/8"X16 27

1UNB

00TSUM- U1.1/16"X12 32

1ZNB

00TSUM- U1.5/16"X12 38

1O0NB

00TSUM- U1.5/8"X12 50

ZUNB

00TSUM- U1.7/8"X12 55

24NB

- 256 -




Hydraulic Adapters

A
1F
7, S ORFSHMELT O ] 1 i #
7 < ORFS MALE O-RING
S1

e 124 THREADE U~} DIMENSIONS
PART NO. E F A B s1 L

1F-04 U9/16"X18 U9/16"X18 12 | 12 17 30
1F-04-06 U9/16"X18 U11/16"X16 12 | 14 19 32
1F-04-08 U9/16"X18 U13/16"X16 12 | 15 22 36

1F-06 U11/16"X16 | U11/16"X16 14 | 14 19 34
1F-06-08 U11/16"X16 | U13/16"X16 14 | 15 22 38
1F-06-10 U11/16"X16 U1"X14 14 | 165 | 27 39.5

1F-08 U13/16"X16 | U13/16"X16 15 | 15 22 39
1F-08-10 U13/16"X16 u1"X14 15 | 165 | 27 405
1F-08-12 U13/16"X16 | U1.3/16"X12 15 | 17 32 41

1F-10 u1"X14 u1"X14 165 | 165 | 27 42
1F-10-12 U1"X14 U1.3/16"X12 165 | 17 32 425

1F-12 U1.3/16"X12 | U1.3/16"X12 17 | 17 32 43
1F-12-16 U1.3/16"X12 | U1.7/16"X12 17 | 185 | 4 475
1F-12-20 U1.3/16"X12 | U1.11/16"X12 17 | 195 | 46 50

1F-16 U1.7/16"X12 | U1.7/16"X12 185 | 185 | 41 49
1F-16-20 UL.7/16"X12 | U1.11/16"X12 185 | 195 | 46 51.5

1F-20 U1.11/16"X12 | U1.11/16"X12 195 | 195 | 46 52.5

1F-24 U2"X12 U2"X12 235 | 235 | 55 64

- 257 -




Hydraulic Adapters

1F4

45°ZE | ORFSHMZR L O Y &~ [ %5 &
45°0RFS MALE O-RING

N\
X

A s1

) #2240 THREADE R sF DIMENSIONS
PART NO. E F A B s1
1F4-04 U9/16"X18 U9/16"X18 2 | 2 | 14
1F4-04-06 | U9/16"X18 | U11/16"X16 25 | 25 | 19
1F4-06 U11/16"X16 | U11/16"X16 25 | 25 | 19
1F4-06-08 | U11/16"X16 | U13/16"X16 21 | 271 | 22
1F4-08 U13/16"X16 | U13/16"X16 21 | 271 | 22
1F4-08-12 | U13/16"X16 | U1.3/16"X12 37 | 37 | 33
1F4-10 U1"X14 U1"X14 33 | 33 | 27
1F4-12 U1.3/16"X12 | U1.3/16"X12 37 | 37 | 33
1F4-16 UL.7/16"X12 | UL.7/16"X12 40 | 40 | 44
1F4-20 U1.11/16"X12 | U1.11/16"X12 40 | 40 | 44
1F4-24 U2"X12 U2"X12 47 | 47 | =3

F
7
1F9
- p
k 90°% | ORFSHMERLL O 74 [ ~F 1 %
—— 90°ORFS MALE O-RING

#24. THREADE R < DIMENSIONS
(e} E F A B s1
"IFo-04 | uoe"x18 U9/16"X18 29 | 27 | 14
1F9-04-06 | U9/16"X18 | U11/16"X16 30 | 29 | 17
1F9-06 U11/16"X16 | U11/16"X16 30 | 29 | 17
1F9-06-08 | U11/16"X16 | U13/16"X16 37 | 37 | 22
1F9-08 U13/16"X16 | U13/16"X16 37 | 37 | 2
1F9-08-12 | U13/16"X16 | U1.3/16"X12 40 | 52 | 27
1F9-10 U1"X14 U1"X14 20 | 43 | 27
1F9-12 UL1.3/16"X12 | U1.3/16"X12 40 | 471 | 27
1F9-16 UL.7/16"X12 | UL.7/16"X12 45 | 55 | 33
1F9-20 U1.11/16"X12 | U1.11/16"X12 57 | 55 | 44
1F9-24 U2"X12 U2'X12 57 | 57 | 48

- 258 -




Hydraulic Adapters

S1 S2
L 2F
]
% l/% ] ?ﬁdowsﬁbiﬁ%éﬁzoiﬂ%?ﬁuﬁé}ﬁ/owswmi%i
ORFS MALE O-RING/ORFS FEMALE
C

e 1240 THREADE U~} DIMENSIONS
PART NO. E F A C S1 | s2

2F-04 U9/16"X18 U9/16"X18 12 | 10 17 19
2F-04-06 U9/16"X18 | U11/16"X16 12 | 11 17 22
2F-04-08 U9/16"X18 | U13/16"X16 12 | 12 19 24
2F-06-04 U11/16"X16 | U11/16"X16 14 | 10 | 19 19

2F-06 U11/16"X16 | U11/16"X16 14 | 11 19 22
2F-06-08 U11/16"X16 | U13/16"X16 14 | 12 19 24
2F-06-10 U11/16"X16 U1"X14 14 | 135 | 24 | 32
2F-08-06 U13/16"X16 | U11/16"X16 15 | 11 22 | 22

2F-08 U13/16"X16 | U13/16"X16 15 | 12 22 | 24
2F-08-10 U13/16"X16 u1"X14 15 | 135 | 24 | 32
2F-08-12 U13/16"X16 | U1.3/16"X12 15 | 135 | 30 | 36
2F-10-08 U1"X14 U13/16"X16 165 | 12 27 | 24

2F-10 U1"X14 U1"X14 165 | 135 | 27 | 32
2F-10-12 U1"X14 U1.3/16"X12 165 | 135 | 30 | 36
2F-10-16 U1"X14 U1.7/16"X12 165 | 145 | 36 | 41
2F-12-08 UL.3/16"X12 | U13/16"X16 17 | 12 32 | 24
2F-12-10 U1.3/16"X12 U1"X14 17 | 1385 | 32 | 32

2F-12 UL.3/16"X12 | U1.3/16"X12 17 | 135 | 32 | 36
2F-12-16 U1.3/16"X12 | U1.7/16"X12 17 | 145 | 36 | 41
2F-16-12 U1.7/16"X12 | U1.3/16"X12 185 | 135 | 41 | 36

2F-16 UL7/16"X12 | U1.7/16"X12 185 | 145 | 41 | 4
2F-16-20 UL.7/16"X12 | U1.11/16"X12 185 | 155 | 41 | 50
2F-20-16 | U1.11/16"X12 | U1.7/16"X12 195 | 145 | 46 | 41

2F-20 U1.11/16"X12 | U1.11/16"X12 195 | 155 | 46 | 50

- 259 -




Hydraulic Adapters

2F4

7 45° £ H|ORFSAMZAL O
2 e~ 71 %5 3 /ORF S N BREL
45°0ORFS MALE
O-RING/ORFS FEMALE

A S1
Re I#4  THREADE U~} DIMENSIONS
PART NO. E F A C s1 S2
2F4-04 U9/16"X18 U9/16"X18 22 10 14 19
2F4-06 U11/16"X16 | U11/16"X16 22 11 17 22
2F4-08 U13/16"X16 | U13/16"X16 27 12 22 24
2F4-10 U1"x14 U1"x14 33 | 135 | 27 32
2F4-12 U1.3/16"X12 | U1.3/16"X12 37 | 135 | 33 36
2F4-16 U1.7/16"X12 | U1.7/16"X12 40 | 145 | 44 41
2F4-20 U1.11/16"X12 | U1.11/16"X12 40 | 155 | 44 50

F
IR R )
)
10 2F9
7z 90° £ HIORFSAMELSLOY
[ P8 V-1 2 S ORF S P B4

k 90°ORFS MALE

 S— O-RING/ORFS FEMALE

A S1
e 1240 THREADE JU  <f DIMENSIONS
PART NO. E F A C s1 S2
2F9-04 U9/16"X18 U9/16"X18 29 10 14 19
2F9-06 U11/16"X16 | U11/16"X16 30 11 17 22
2F9-08 U13/16"X16 | U13/16"X16 37 12 22 24
2F9-10 U1"x14 U1'x14 40 | 135 | 27 32
2F9-12 U1.3/16"X12 | U1.3/16"X12 40 | 135 | 27 36
2F9-16 UL.7/16"X12 | U1.7/16"X12 45 | 145 | 33 41
2F9-20 U1.11/16"X12 | U1.11/16"X12 57 | 155 | 44 50




Hydraulic Adapters

S1

S1

v b

3F

FHORFSIRLL
ORFS FEMALE

fro 240 THREADE JU <} DIMENSIONS
PART NO. E F C s1
3F-04 U9/16"X18 U9/16"X18 10 19
3F-06 U11/16"X16 | U11/16"X16 11 22
3F-08 U13/16"X16 | U13/16"X16 12 24
3F-10 U1"x14 U1"x14 135 32
3F-12 U1.3/16"X12 | U1.3/16"X12 13.5 36
3F-16 U1.7/16"X12 | U1.7/16"X12 14.5 41
3F-20 U1.11/16"X12 | U1.11/16"X12 15.5 50
L
A
B 4F
% ) i ORFSHMZRELORY fe| - it 1 Sk
ORFS MALE O-RING PLUG
s1
e 124 THREADE JU <} DIMENSIONS
PART NO. E A s1 L
4F-04 U9/16"X18 12 19 18
4F-06 U11/16"X16 14 22 22
4F-08 U13/16"X16 15 27 24
4F-10 U1"X14 16.5 30 26
4F-12 U1.3/16"X12 17 36 27
4F-16 U1.7/16"X12 18.5 41 30
4F-20 U1.11/16"X12 19.5 50 36

- 261 -




Hydraulic Adapters

|

F
s/

oF

S ORFSHMERALOMY Pil~F- T & i A 3k
ORFS MALE O-RING BULKHEAD

R 240 THREADE R <] DIMENSIONS
PART NO. E A B s1 L
6F-04 U9/16"X18 12 | 315 | 19 495
6F-06 U11/16"X16 14 34 22 56
6F-08 U13/16"X16 15 | 365 | 27 61
6F-10 U1"x14 16.5 | 40.6 | 30 67
6F-12 U1.3/16"X12 17 | 417 | 36 70
6F-16 U1.7/16"X12 185 | 422 | 41 72
6F-20 U1.11/16"X12 195 | 422 | 50 79
6F4
2%
45°3 H|ORFSSMELIOM F T Il kit it Sk
45°0ORFS MALE O-RING BULKHEAD
A s1
e 124 THREADE JU <} DIMENSIONS
PART NO. E A B s1
6F4-04 U9/16"X18 22 | 424 | 14
6F4-06 U11/16"X16 22 | 485 | 17
6F4-08 U13/16"X16 27 51 22
6F4-10 U1"X14 33 56.6 27
6F4-12 U1.3/16"X12 37 | 607 | 33
6F4-16 U1.7/16"X12 40 | 652 | 44

- 262 -



Hydraulic Adapters

E
B N R et S
90°3% | ORFSHMERLL O &l °F- i & dah i A%k
\ 90°ORFS MALE O-RING BULKHEAD
J
A S1
B 14 THREADE JU <} DIMENSIONS
PART NO. E A B s1
6F9-04 U9/16"X18 29 47 | 14
6F9-06 U11/16"X16 30 52 17
6F9-08 U13/16"X16 37 | 555 | 22
6F9-10 U1"X14 40 | 63 27
6F9-12 U1.3/16"X12 4 | 672 | 27
6F9-16 U1.7/16"X12 45 | 712 | 33

- 263 -



Hydraulic Adapters

Sl

—

8F

FH|ORFSH B}
7 ORFS LOCK NUT
L

e I#4  THREADE R~} DIMENSIONS
PART NO. E A S1

8F-04 U9/16"X18 7 19

8F-06 U11/16"X16 8 22

8F-08 U13/16"X16 9 27

8F-10 uU1"X14 10.4 30

8F-12 U1.3/16"X12 10.4 36

8F-16 U1.7/16"X12 10.4 41

8F-20 U1.11/16"X12 10.4 50

8F-24 u2"x12 10.4 60

S1
OF
FEHIORFS IRk
O 7 ORFS FEMALE PLUG
C

] 1240 THREADE X <F DIMENSIONS
PART NO. E C S1

9F-04 U9/16"X18 11 19

9F-06 U11/16"X16 10 22

9F-08 U13/16"X16 11 27

9F-10 uUl"X14 135 30

9F-12 U1.3/16"X12 13 36

9F-16 U1.7/16"X12 15 41

9F-20 U1.11/16"X12 175 50

- 264 -




Hydraulic Adapters

L
A
gy 1FN
!
| | S| ORFSHMERELLORY el -1
Y Y. AT HEE SMRSL
\\ ORFS MALE O-
St F RING/ NPT
MALE
e 1240  THREADE R <) DIMENSIONS
PART NO. E F A B s1 L
1FN-04-02 U9/16"X18 Z1/8"X27 10 10 17 26
1FN-04 U9/16"X18 Z1/4"X18 10 14 17 30
1FN-04-06 U9/16"X18 Z3/8"X18 10 14 17 30
1FN-06-04 U11/16"X16 Z1/4"X18 11 14 19 31
1FN-06 U11/16"X16 Z3/8"X18 11 14 19 31
1FN-06-08 U11/16"X16 Z1/2"X14 11 19 22 38
1FN-08-04 U13/16"X16 Z1/4"X18 12 14 22 34
1FN-08-06 U13/16"X16 Z3/8"X18 12 14 22 34
1FN-08 U13/16"X16 Z1/2"X14 12 19 22 39
1FN-08-12 U13/16"X16 Z3/4"X14 12 | 195 | 27 40
1FN-10-08 U1"X14 Z1/2"X14 135 | 19 27 41
1FN-10-12 U1"X14 Z3/4"X14 135 | 195 | 27 42
1FN-12-08 | U1.3/16"X12 Z1/2"X14 135 | 19 32 41
1FN-12 U1.3/16"X12 Z3/4"X14 135 | 195 | 32 42
1FN-12-16 | U1.3/16"X12 Z1'X11.5 135 | 24 36 48
1FN-16-12 | U1.7/16"X12 Z3/4"X14 145 | 195 | 41 46
1FN-16 U1.7/16"X12 Z1'X11.5 145 | 24 41 51
1FN-16-20 | UL.7/16"X12 | Z1.1/4"X11.5 145 | 25 46 53
1FN-20-16 | U1.11/16"X12 | Z1"X11.5 155 | 24 46 53
1FN-20 U1.11/16"X12 | Z1.1/4"X11.5 155 | 25 46 54
1FN-20-24 | U1.11/16"X12 | Z1.1/2"X11.5 155 | 25 50 57

- 265 -




Hydraulic Adapters

F
N 1FN4
%
45° | ORFSHMERELLO R |V [f 25 F4/
ATHERE SRS
45°0RFS MALE O-
A St RING/ NPT
MALE

=) 14 THREADE JU <} DIMENSIONS

PART NO. E F A B S1
1FN4-04-02 U9/16"X18 Z1/8"X27 22 22 14

1FN4-04 U9/16"X18 Z1/4"X18 22 22 14
1FN4-04-06 U9/16"X18 Z3/8"X18 22 22 17
1FN4-06-04 U11/16"X16 Z1/4"X18 25 25 19

1FN4-06 U11/16"X16 Z3/8"X18 25 25 19
1FN4-06-08 U11/16"X16 Z1/2"X14 27 27 22
1FN4-08-06 U13/16"X16 Z3/8"X18 27 27 22

1FN4-08 U13/16"X16 Z1/2"X14 27 27 22
1FN4-10-08 uUl1l"X14 Z1/2"X14 33 33 27

1FN4-12 U1.3/16"X12 Z3/4"X14 37 37 33

1FN4-16 U1.7/16"X12 Z1"X11.5 40 40 44

1FN4-20 U1.11/16"X12 | Z1.1/4"X11.5 40 40 44

- 266 -




Hydraulic Adapters

F Sy
1FN9
Z .
90° % | ORFSAMZRELLO Y Pl ~1- [f 5 F4/
3{/ A S B
90°ORFS MALE O-
A Sil RING/NPT
MALE
e 140 THREADE R <} DIMENSIONS

PART NO. E F A B S1
1FN9-04-02 U9/16"X18 71/8"X27 29 27 14
1FN9-04 U9/16"X18 Z1/4"X18 29 27 14
1FN9-06-04 U11/16"X16 Z1/4"X18 33 33 19
1FN9-06 U11/16"X16 Z3/8"X18 33 33 19
1FN9-06-08 U11/16"X16 Z1/2"X14 37 37 22
1FN9-08-06 U13/16"X16 Z3/8"X18 37 37 22
1FN9-08 U13/16"X16 Z1/2"X14 37 37 22
1FN9-08-12 U13/16"X16 Z3/4"X14 40 40 27
1FN9-10-08 uUl"X14 Z1/2"X14 40 40 27
1FN9-10-12 U1"x14 Z3/4"X14 40 40 27
1FN9-12-08 U1.3/16"X12 Z1/2"X14 40 40 27
1FN9-12 U1.3/16"X12 Z3/4"X14 40 40 27
1FN9-12-16 U1.3/16"X12 Z1"X11.5 45 45 33
1FN9-16-12 U1.7/16"X12 Z3/4"X14 45 45 33
1FN9-16 U1.7/16"X12 Z1"X11.5 45 45 33
1FN9-20-16 U1.11/16"X12 Z1"X11.5 57 57 44
1FN9-20 U1.11/16"X12 | Z1.1/4"X11.5 57 57 44

- 267 -




Hydraulic Adapters

1FH

?\‘%%UORFS%@%@‘(O?&?ﬁ%ﬁ/&%ﬂ%éﬁ%
28

ORFS MALE O-RING/METRIC MALE O-
RING

B
S1

T, i24; THREADE R~} DIMENSIONS
PART NO. E F A B st L
1FH-04-10 | U9/16"X18 M10x1 12 | 11 | 17 | 29
1FH-04-12 | U9/16"X18 | M12x1.5 12 | 11 | 17 | 29
1FH-06-12 | UL1/16"X16 | M12x1.5 14 | 11 | 19 | 31
1FH-06-14 | ULL/16'X16 | M14x15 14 | 11 | 19 | 31
1FH-06-16 | UL1/16"X16 | M16x1.5 14 | 11 | 22 | 33
1FH-08-16 | U13/16"X16 | M16x1.5 15 | 11 | 22 | 34
1FH-08-18 | U13/16'X16 | M18x1.5 15 | 11 | 24 | 34
1FH-08-22 | U13/16'X16 | M22x1.5 15 | 12 | 27 | 36
1FH-10-22 U1"X14 M22x1.5 165 | 12 | 27 | 37
1FH-12-22 | UL3/16"X12 | M22x1.5 17 | 12 | 32 | 38
1FH-12-27 | UL3/16"X12 | M27x2 17 | 13 | 32 | 39

- 268 -




Hydraulic Adapters

S2

A \S1

1FH4-0G

45° K| ORFSHMRLLO R el V-1 2 4/
SRS [
45°0RFS MALE O-RING/

METRIC MALE ADJUSTABLE
STUD END

= 24 THREADE R~ DIMENSIONS
PART NO. E F A B s1
1FH4-04- U9/16"X18 | M14x1.5 22 | 295 | 14
1FH4-06- U11/16"X16 | M14x15 25 | 33 | 19
1FHA4-06- U11/16"X16 | M16x1.5 25 | 335 | 19
1PHIZ-08- U13/16"X16 | M16x1.5 27 | 335 | 22
1PHA.08- U13/16"X16 | M18x1.5 27 | 36 | 22
1FHA 10 U1"X14 M22x1.5 33 [385 | 27
1Frd-12 U1.3/16"X12 | M22x1.5 37 | 395 | 33
TFR4-12- U1.3/16"X12 M27x2 37 | 40 | 33

270G
E
8 1FH9-0OG
% 90°2 | ORFSHMERLL O[] 1 i % 4/
DN MRECRT 3 [ A i
3{) 90°ORFS MALE O-RING/
A <1 METRIC MALE ADJUSTABLE
STUD END

=2 124 THREADE JR <} DIMENSIONS
PART NO. E F A B s1
1FH9-04- U9/16"X18 | M12x1.5 29 32 | 14
1FFIS.06- U11/16"X16 | M14x15 33 | 355 | 19
1FHS.06- U11/16"X16 | M16x1.5 33 | 38 | 19
1PHS.08- U13/16"X16 | M16x1.5 37 | 405 | 22
1PHS 08- U13/16"X16 | M18x1.5 37 | 43 | 22
1FHS-08- U13/16"X16 | M22x1.5 40 | 445 | 27
1FHS 10- U1"X14 M22x1.5 40 | 48 27
1FAS-12- U1.3/16"X12 M27x2 40 | 50 27

270G

- 269 -




Hydraulic Adapters

-
o

1FO

K| ORFSHMERELLOZ el - 1 2
ESPA A HOU
ORFS MALE O-RING/
SAE O-RING BOSS S-SERIES

B W4 THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
1FO-04 U9/16"X18 | U7/16"X20 12 10 | 17 28
1FO-04-05 | U9/16"X18 | U1/2"X20 12 | 10 17 28
1F0-04-06 | U9/16"X18 | U9/16"X18 12 12 17 30
1FO-04-08 | U9/16"X18 | U3/4"X16 12 | 12 22 32
1F0-06-04 | U11/16"X16 | U7/16"X20 14 10 | 19 30
1F0-06-05 | U11/16"X16 | U1/2"X20 14 10 19 30
1FO-06 U11/16"X16 | U9/16"X18 14 | 12 19 32
1FO-06-08 | U11/16"X16 | U3/4"X16 14 12 2 | 34
1F0-06-10 | U11/16"X16 | U7/8"X14 14 | 135 | 27 | 37
1FO-08-06 | U13/16"X16 | U9/16"X18 15 12 2 | 35
1FO-08 U13/16"X16 | U3/4"X16 15 12 2 | 3B
1FO-08-10 | U13/16"X16 | U7/8"X14 15 | 135 | 27 | 38
1F0-08-12 | U13/16"X16 |U1.1/16"X12 15 16 32 | 40
1FO-10 U1"X14 U7/8"X14 165 | 135 | 27 | 39
1F0-10-08 U1"X14 U3/4"X16 165 | 12 27 | 38
1FO-10-12 U1"X14  |U1.1/16"X12 165 | 16 32 | 42
1FO-12-10 | U1.3/16"X12 | U7/8"X14 17 | 185 | 32 | 41
1FO-12 U1.3/16"X12 | U1.1/16"X12 17 16 32 | 42
1F0-12-16 | UL1.3/16"X12 | U1.5/16"X12 17 | 17 41 | 46
1FO-16-12 | UL.7/16"X12 |U1.1/16"X12 185 | 16 41 | 46
1FO-16 UL1.7/16"X12 | U1.5/16"X12 185 | 17 a1 | 47
1FO-16-20 | UL.7/16"X12 | U1.5/8"X12 185 | 18 50 | 53
1FO-20-16 | U1.11/16"X12|U1.5/16"X12 195 | 17 46 | 50
1FO-20 | U1.11/16"X12| U1.5/8"X12 195 | 18 50 | 54

- 270 -




Hydraulic Adapters

N

1FO4-0G

45°F 1| ORFSHMRSL O MY | - [ % 3/

7
S HISAESMEL T O
45°0ORFS MALE O-
A \ﬂ RING/ SAE O-RING
BOSS

e W40 THREADE X~} DIMENSIONS
PART NO. E F A B | st ]| s
1F04-040G | U9/16"X18 | U7/16"X20 2 | 2 | 14 | 17
1F0O4-04- U9/16"X18 | U9/16"X18 2 | 28 | 14 | 19
1FOZ-06- U11/16"X16 | U7/16"X20 25 273 | 19 | 17
“1F04-060G | U11/16"X16 | U9/16"X18 25 | 205 | 19 | 19
1F04-06- UL1/16"X16 | U3/4"X16 25 | 325 | 19 | 24
1FOZ-08- U13/16"X16 | U9/16"X18 27 | 308 | 22 | 19
"1F04-080G | U13/16"X16 | U3/4"X16 27 | 34 | 22 | 24
1F04-08- U13/16'X16 | U7/8"X14 27 | 305 | 22 | 27
1FO4-08- U13/16"X16 | UL.1/16"X12 33 | 44 | 27 | 32
1FO4-10- UL"X14 U3/4"X16 33 | 34 | 27 | 24
“1F4-100G | u1'x14 | u7sx14 33 | 415 | 27 | 27
1F04-10- UL"X14  |UL1/16"X12 33 | 44 | 27 | 32
1FOZ-12- UL3/16'X12 | U7/8"X14 37 | 4 | 33 | 27
T1F34-120G | U1.3/16"X12 | U1.1/16"X12 37 | 455 | 33 | 32
1FO4-12- UL.3/16"X12 | U1.5/16"X12 37 |479 | 33 | a1
1F04-16- UL.7/16"X12 | U1.1/16"X12 4 | 479 | 4 | 22
TF04-160G | UL.7/16"X12 | U1.5/16"X12 40 | 479 44 | @
1FO4-16- UL7/16"X12 | U1.5/8"X12 40 | 485 | 44 | s0
“1734-200G | UL.11/16"X12| UL.5/8"X12 4 | 488 | 44 | 50
1F04-20-240G U1.11/16"X12| U1.7/8"X12 47 | 51 | 53 | 55

-271 -




Hydraulic Adapters

E=

1FO9-0G

90° 3% | ORFSHMRLL O[] 1 [ # &/

- ‘ S HISAESMBLUHOL B
¥ 90°ORFS MALE O-
T\ RING/ SAE O-RING
A o BOSS

s 22 THREADE ] ~f DIMENSIONS
PART NO. E F A B | st ]| s
1F09-040G | U9/16"X18 | U7/16°X20 20 303 ]| 14 | 17
1F09-04- U9/16"X18 | U9/16"X18 20 | 32 | 14 | 19
1P09-06- U11/16"X16 | U7/16"X20 33 335 | 19 | 17
71709-060G | U11/16"X16 | U9/16"X18 33 [ 345 | 19 | 19
1F09-06- UL1/16"X16 | U3/4"X16 33 | 38 | 19 | 24
7F05-06-100d UL11/16"X16 | U7/8"X14 37 | 47 | 22 | 27
1F09-08- U13/16"X16 | U9/16"X18 37 | 37 | 22 | 19
“IF39-080G | U13/16"X16 | U3/4"X16 37 | 405 | 22 | 24
1F09-08- UL3/16'X16 | U7/8"X14 37 | 453 | 22 | 27
1F0O5-08- U13/16"X16 | UL.1/16"X12 4 | 52 | 27 | =2
1F0O8-10- UL"X14 | U3/4"X16 4 | 45 | 27 | 24
“1F39-100G | UL"X14 | U7/8'X14 4 | 508 | 27 | 27
1F09-10- UL'X14 | UL.1/16"X12 4 | 52 | 27 | =2
1F05-12- UL3/16"X12 | U7/8"X14 40 | 528 | 27 | 27
TF39-120G | U1.3/16"X12 | U1.1/16"X12 4 | 54 | 27 | =2
1F09-12- UL.3/16"X12 | U1.5/16"X12 45 | 555 | 33 | 41
1F05-16- UL.7/16°X12 | U1.1/16"X12 45 | 59 | 33 | 32
TF39-160G | U1.7/16"X12 | UL.5/16"X12 45 | 59 | 33 | 41
1F09-200G | UL.11/16"X12| UL5/8"X12 57 | 605 | 44 | 50
1F09-20-240d U1.11/16"X12| U1.7/8"X12 57 | 665 | 48 | 55

-272 -




Hydraulic Adapters

1FG

KA ORFSHMZRLL O el 1 ] % i/
HE SMRSO R [

. %/% ORFS MALE O-
J RING/ BSP MALE
O-RING
S1
R 1240 THREADE JU  <f DIMENSIONS
PART NO. E F A B S1 L
1FG-04-02 U9/16"X18 G1/8"X28 10 9 17 25
1FG-04 U9/16"X18 G1/4"X19 10 12 19 28
1FG-04-06 U9/16"X18 G3/8"X19 10 135 22 31
1FG-06 U11/16"X16 | G3/8"X19 11 135 22 32
1FG-06-04 U11/16"X16 | G1/4"X19 11 12 19 29
1FG-06-08 U11/16"X16 | G1/2"X14 11 16 27 36
1FG-08 U13/16"X16 | G1/2"X14 12 16 27 37
1FG-08-06 U13/16"X16 | G3/8"X19 12 135 22 33
1FG-08-12 U13/16"X16 | G3/4"X14 12 18.5 32 40
1FG-10-08 u1"X14 G1/2"X14 135 16 27 39
1FG-10-12 u1"X14 G3/4"X14 135 | 185 32 42
1FG-12-08 U1.3/16"X12 G1/2"X14 135 16 32 39
1FG-12 U1.3/16"X12 G3/4"X14 135 | 185 32 42
1FG-12-16 U1.3/16"X12 G1"X11 135 | 205 41 46
1FG-16-12 U1.7/16"X12 G3/4"X14 145 | 185 41 45
1FG-16 U1.7/16"X12 G1"X11 145 | 205 41 47
1FG-20 U1.11/16"X12| G1.1/4"X11 155 | 205 50 53
1FG-20-16 U1.11/16"X12 G1"X11 155 | 205 46 49

- 273 -




Hydraulic Adapters

S2

N

1FG4-0G

22 45°< | ORFSHMZRLL O [ 1 i % &/
L HMRESOR! [
45°0ORFS MALE O-
A \g RING/BSP MALE O-
RING
R 1240 THREADE U~/ DIMENSIONS
PART NO. E F A B s1 S2
1FG4-040G | U9/16"X18 | G1/4"X19 22 | 27 14 19
1FG4-04-020G| U9/16"X18 | G1/8"X28 22 | 248 | 14 14
1FG4-04-060G| U9/16"X18 | G3/8"X19 22 | 30 17 22
1FG4-060G | U11/16"X16 | G3/8"X19 25 | 31 19 22
1FG4-06-040G| U11/16"X16 | G1/4"X19 25 | 28 19 19
1FG4-06-080G| U11/16"X16 | G1/2"X14 27 | 36 22 27
1FG4-080G | U13/16"X16 | G1/2"X14 27 | 36 22 27
1FG4-08-060G| U13/16"X16 | G3/8"X19 27 | 32 22 22
1FG4-10-080G  U1'X14 G1/2"X14 33 | 375 | 27 27
1FG4-10-120G|  U1"X14 G3/4"X14 33 | 42 27 32
1FG4-120G | U1.3/16"X12 | G3/4"X14 37 | 425 | 33 32
1FG4-12-080G| U1.3/16"X12 | G1/2"X14 37 | 385 | 33 27
1FG4-12-160G| U1.3/16"X12 | G1"X11 37 | 44 33 41
1FG4-160G | UL.7/16"'X12 | G1"X11 40 | 445 | 44 41
1FG4-16-120G| U1.7/16"X12 | G3/4"X14 40 | 445 | 44 32
1FG4-200G | U1.11/16"X12| G1.1/4"X11 40 | 475 | 44 50

- 274 -




Hydraulic Adapters

.
2 = 1FG9-0G
1
y ‘ 90° 3 | ORFSHMEZLL O V- i 2% 1/
YO MBSO T
—\)j 90°0ORFS MALE O-
RING/ BSP MALE O-
A S1 RING

=) 1240 THREADE U sF DIMENSIONS
PART NO. E F A B S1 S2
1FG9-04-020G| U9/16"X18 G1/8"X28 29 29 14 14
1FG9-040G U9/16"X18 G1/4"X19 29 31.3 14 19
1FG9-04-060G, U9/16"X18 G3/8"X19 30 35.8 17 22
1FG9-06-040G| U11/16"X16 G1/4"X19 33 335 19 19
1FG9-060G U11/16"X16 G3/8"X19 33 36.8 19 22
1FG9-06-080G| U11/16"X16 G1/2"X14 37 43.2 22 27
1FG9-08-060G| U13/16"X16 G3/8"X19 37 39.5 22 22
1FG9-080G U13/16"X16 G1/2"X14 37 43.2 22 27
1FG9-10-080G U1"Xx14 G1/2"X14 40 46.5 27 27
1FG9-10-120G Ul"X14 G3/4"X14 40 49.3 27 32
1FG9-12-080G| U1.3/16"X12 G1/2"X14 40 475 27 27
1FG9-120G | U1.3/16"X12 G3/4"X14 40 52 27 32
1FG9-12-160G| U1.3/16"X12 G1"X11 45 53 33 41
1FG9-16-120G| U1.7/16"X12 G3/4"X14 45 56 33 32
1FG9-160G | U1.7/16"X12 G1"X11 45 56 33 41
1FG9-20-160G| U1.11/16"X12 G1"X11 57 60 44 41
1FG9-200G | U1.11/16"X12| G1.1/4"X11 57 60 44 50

- 275 -




Hydraulic Adapters

S1

LI

S2

s 8

20F

K| SAESMRLLOT 8| 5 R 51/
ORFS WIZZL

SAE O-RING BOSS S-
SERIES/ ORFS

FEMALE

C
= 124 THREADE JU <} DIMENSIONS
PART NO. E F A C s1 S2
20F-04 U7/16"X20 | U9/16"X18 10 | 10 14 19
20F-04-06 | U7/16"X20 | U11/16"X16 10 11 17 22
20F-06-04 | U9/16"X18 | U9/16"X18 12 | 10 17 19
20F-06 U9/16"X18 | U11/16"X16 12 11 17 22
20F-06-08 | U9/16"X18 | U13/16"X16 12 12 | 19 27
20F-08-06 U3/4"X16 | U11/16"X16 12 11 22 | 22
20F-08 U3/4"X16 | U13/16"X16 12 12 22 | 27
20F-10-08 U7/8'X14 | U13/16"X16 135 | 12 21 | 27
20F-10 u7/8"X14 U1"X14 135 | 135 | 27 | 3R
20F-12-10 |U1.1/16"X12| U1"X14 16 |135 | 32 | 32
20F-12 U1.1/16"X12 | U1.3/16"X12 16 | 135 | 32 | 36
20F-16-12 | U1.5/16"X12| U1.3/16"X12 17 | 135 | 41 | 36
20F-16 U1.5/16"X12| U1.7/16"X12 17 (145 | 41 | 4
20F-20-16 | U1.5/8"X12 | U1.7/16"X12 18 145 | 50 | 4
20F-20 U1.5/8"X12 | U1.11/16"X12 18 | 155 | 50 | 50

- 276 -




Hydraulic Adapters

E

7 S AFF6F
1

l—gv % /E_l S5 H|ORFSSMRLL O -
B

T Ak A 3 i
ORFS MALE O-RING
BULKHEAD RUN
TEE

R 1240 THREADE U~/ DIMENSIONS
PART NO. E A B s1
AFF6F-04 U9/16"X18 27 47 14
AFF6F-06 U11/16"X16 30 52 19
AFF6F-08 U13/16"X16 33 | 555 | 22
AFF6F-10 U1"x14 33 63 24
AFF6F-12 | U1.3/16"X12 40 | 672 | 27
AFF6F-16 | U1.7/16"X12 45 | 712 | 33
AFF6F-20 | U1.11/16"X12 57 | 755 | 44
E
a1 P

AF6FF

7 % #| ORFSAMELL O P 1

i A T Rk =
i# ORFS MALE O-RING
— T BULKHEAD BRANCH
TEE
A A
rae=s 124r THREADE R st DIMENSIONS
PART NO. E A B S1
AF6FF-04 U9/16"X18 27 47 14
AF6FF-06 U11/16"X16 30 52 19
AF6FF-08 U13/16"X16 33 55.5 22
AF6FF-10 uUl"X14 33 63 24
AF6FF-12 U1.3/16"X12 40 67.2 27
AF6FF-16 U1.7/16"X12 45 71.2 33
AF6FF-20 U1.11/16"X12 57 75.5 44

- 277 -



Hydraulic Adapters

JW%_

1

AFFG-0OG

K| ORFSHMRESLORY Fel V1 %/
U SMRSLOTY 8] 1= 3 =il
ORFS MALE O-RING/

\\g BSP MALE O-RING RUN TEE
A B
s 22 THREADE L ~f DIMENSIONS
PART NO. E F A B | st ]| =
AFFG-040G | U9/16'X18 | GL/4"X19 27 [ 313 | 14 | 19
AFFG-04-04- U9/16"X18 | G3/8"X19 28 | 355 | 17 | 22
AFFG-06-06- UL1/16"X16 | G1/4"X19 30 |335 | 19 | 19
T AFFG-060G | UL1/16'X16 | G3/8"X19 30 | 368 | 19 | 22
AFFG-08-08- UL3/16"X16 | G3/8"X19 33 395 | 22 | 2
"OAEFG-080G | U13/16"X16 | G1/2'X14 33 | 432 | 22 | 27
AFFG-10-10- UL'X14 | G3/4"X14 4 | 493 ] 27 | =
TUAFFG-120G | UL.3/16'X12 | G3ia"X14 40 | 535 | 27 | 32
AFFG-160G | UL7/16'X12 | G1"X11 45 | s6 | 33 | 41
F
% 52 AFG F'OG
V% % F | ORFSHME £ O [&] - [i % 4/
YL MBS ORI PB4y S =18
ORFS MALE O-RING/
\ BSP MALE O-RING RUN TEE
A \& A
e 1240 THREADE R <) DIMENSIONS
PART NO. E F A | B | st | s
AFGF-040G | U9/16'X18 | GL/4"X19 27 | 313 | 14 | 10
AFGF-04-06- U9/16"X18 | G3/8"X19 28 | 355 | 17 | 22
" AFGF-060G | UL1/16"X16 | G3/8"X19 30 [368 | 19 | 22
AFGF-08-06- UL3/16"X16 | G3/8"X19 33 395 | 22 | 2
"CUAEGF-080G | U13/16"X16 | G1/2'X14 33 | 432 | 22 | 27
AFGF-10-12- UL'X14 | G3/4"X14 40 | 493 | 27 | =
TUAFGF-120G | UL3/16'X12 | G3/4"X14 40 | 535 | 27 | =2
AFGF-160G | UL7/16"X12 | G1"X11 45 | s6 | 33 | 41

- 278 -




Hydraulic Adapters

i

AFOF-0OG

S| ORFSHMRELL O e - 1 '

. FISAESMESCIEO I Ay % =
\ g ORFS MALE O-RING/
\ﬂ SAE O-RING BOSS BRANCH TEE
A A
R 124 THREADE R~ DIMENSIONS
PART NO. E F A | B | st | s
AFOF-040G | U9/16'X18 | U7/16"X20 27 | 303 | 14 | 17
AFOF-04-06- U9/16"X18 | U9/16"X18 27 | 32 | 14 | 19
TTONFOF-060G | U11/16'X16 | U9/16°X18 30 [355 | 19 | 19
AFOF-06-08- | U11/16'X16 | U3/4"X16 30 | 38 | 19 | 24
PO NFOF-080G | U13/16'X16 | U3/4"X16 33 | 405 | 22 | 24
AFOF-08-10- | U13/16'X16 | U7/8"X14 33 | 453 | 22 | 27
AFOF-08-12- | UI13/16"X16 |UL.1/16"X12 33 | 54 | 24 | 22
“PUAFOF-100G | U1"X14 | U7/8"X14 40 | 508 | 27 | 27
AFOF-10-12- UL'X14  |UL1/16°X12 4 | 52 | 27 | =
T AFOF-120G | UL.3/16"X12 | U1.1/16"X12 40 | 553 | 27 | 22
AFOF-160G | U1.7/16"X12 | U1.5/16"X12 45 | 593 | 33 | 41
AFOF-200G | U1.11/16"X12 | U1.5/8"X12 57 | 605 | 44 | 50

- 279 -




Hydraulic Adapters

S2

e

AFFO-0OG

K il ORFSHMERE AL OTY el 1~ 1 7 4/
S| SAESMERLCH O [l 3= 3 — il
ORFS MALE O-RING/

SAE O-RING BOSS RUN TEE

e i24 THREADE ] ~f DIMENSIONS
PART NO. E F A ] B | st | s
AFFO-040G | U9/16"X18 | U7/16"X20 27 | 30 | 1 | 17
AFFO-04-04- U9/16"X18 | U9/16"X18 27 | 32 | 14 | 19
PP AFFO-060G | U11/16"X16 | U9/16"X18 30 [355 ] 19 | 19
AFFO-06-06- | UL1/16"X16 | U3/4"X16 30 | 38 | 19 | 24
AFFO-08-08- | UL3/16'X16 | U9/16"X18 33 375 | 22 | 19
POUNFFO-080G | U13/16'X16 | U3/4"X16 33 | 405 | 22 | 24
AFFO-08-08- | U13/16'X16 | U7/8"X14 33 | 453 | 22 | 27
AFFO-08-08- | U13/16'X16 |UL.1/16"X12 33 | 54 | 24 | 32
TUAFFO-100G | UL'X14 | U7/8'X14 4 | s08 | 27 | 27
AFFO-10-10- UL"X14 | UL1/16"X12 4 | 52 | 27 | =
TCAFFO-120G | UL.3/16"X12 | U1.1/16"X12 40 |553 | 27 | 32
AFFO-16-16- | UL.7/16"X12 | UL.1/16"X12 45 | 595 | 33 | 32
T AFFO-160G | UL.7/16"X12 | UL5/16"X12 45 | 503 | 33 | a1
AFFO-200G | U1.11/16"X12 | U1.5/8"X12 57 | 605 | 44 | 50

- 280 -




Hydraulic Adapters

— I

v
=

A \ﬂ B

AFFH-OG

K| ORFSHMERAL O [~V [ # Ef/
DI SMRECRT I AT b 35 =8
ORFS MALE O-RING/ METRIC
MALE ADJUSTABLE STUD END RUN TEE

o 240 THREADE O’ilEl O RING R~ DIMENSIONS
PART NO. E F Fit A B S1 | s2
AFFH-04-04- U9/16"X18 | M14x1.5 |11.3x2.4 27 |35 | 14 | 19
AFFH-06-06- U11/16"X16 | M16x1.5 |13.3x2.4 30 | 38 | 19 | 22
AFFH-08-08- U13/16"X16 | M22x1.5 |19.3x2.4 33 | 445 | 24 | 27
AFFR-10-10- U1"X14 | M22x1.5 |19.3x2.4 40 | 48 | 27 | 27
AFFR-12-12-  |UL3I6'X12| M27x2 | 235x3 40 | 50 | 27 | 32
270G
F
Ny AFHF-OG
s
7 % K| ORFSHMER AL O [l 1~ 1 4/
~ AR RS 53 = 08
ORFS MALE O-RING/ METRIC
A : MALE ADJUSTABLE STUD END BRANCH
A | \st, TEE
= R4 THREADE O%[E O RING R~ DIMENSIONS
PART NO. E F Fit A B st | s2
AFHF-04-14-040 5 U9/16"X18 | M14x15 |11.3x2.4 27 | 23 | 14 | 19
AFHF-06-16- U11/16"X16| M16x1.5 |13.3x2.4 30 | 27 | 19 | 22
AFHP-08-22- U13/16"X16| M22x15 |19.3x2.4 33 | 31 | 24 | 27
AFHP-10-22- U1'X14 | M22x15 |19.3x2.4 40 | 365 | 27 | 27
AFHE-12-27- UL3/16"X12| M27x2 | 23.5x3 40 | 405 | 27 | 32

120G

- 281 -




Hydraulic Adapters

1G

S SMRZLOM
BSP MALE O-RING

B 140  THREADE R~} DIMENSIONS
PART NO. E S1 L
1G-02 G1/8"x28 9 14 24
1G-04 G1/4"x19 12 19 30
1G-06 G3/8"x19 135 22 35
1G-08 G1/2"'x14 16 27 41
1G-12 G3/4"x14 185 32 47
1G-16 G1"'x11 20.5 41 53
1G-20 G1.1/4"x12 20.5 50 55
1G-24 G1.1/2"'x11 23 55 62
L
A
4G
G HMRSLO R B 1 Sk
BSP MALE O-RING PLUG

=2 24 THREADE J\  ~F DIMENSIONS
PART NO. E A Ss1 L
4G-04 G1/4"x19 12 19 18
4G-06 G3/8"x19 135 22 21
4G-08 G1/2'x14 16 27 25
4G-12 G3/4"'x14 18.5 32 28
4G-16 G1"'x11 20.5 41 32

- 282 -




Hydraulic Adapters

A B
1GT
)
Iy S MO P B AR
== BSP MALE O-RING/BSPT MALE
R A
fRE 124 THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
1GT-04-04 | GL/4"X19 | ZG1/4"X19 12 14 19 32
1GT-06-04 | G3/8"X19 | ZG1/4"X19 135 | 14 22 355
1GT-06-06 | G3/8"X19 | ZG3/8"X19 135 | 14 22 355
1GT-08-06 | G1/2'X14 | ZG3/8"X19 16 14 27 38
1GT-08-08 | G1/2'X14 | ZG1/2"X14 16 19 27 43
1GT-12-08 | G3/4'X14 | ZG1/2"X14 185 | 19 32 48
1GT-12-12 | G3/4"X14 | ZG3/4"X14 185 | 195 | 32 48
1GT-16-16 G1'X11 ZG1"X11 205 | 24 a1 55
1GT-20-20 | G1.1/4"X11 | ZG1.1/4"X11 205 | 25 50 62
1GT-24-24 | G1.1/2"X11 | ZG1.1/2"X11 23 25 55 65
1GT-32-32 G2"X11 ZG2"X11 255 | 29 70 72
L
A
4HN
S1
j\ NHIMBESUR RPN 7Nk
Z 2 METRIC MALE L-
SERIES HOLLOW
HEX PLUG
e I#4  THREADE U~} DIMENSIONS
PART NO. E A s1 L
4HN-10 M10x1 11 5 14
4HN-12 M12x1.5 11 6 14
4HN-14 M14x1.5 11 6 14
4HN-16 M16x1.5 11 8 135
4HN-18 M18x1.5 1 8 14.5
4HN-22 M22x1.5 12 10 15
4HN-27 M27x2 13 12 16

- 283 -




Hydraulic Adapters

1H

NHISMREUR R
METRIC MALE L-SERIES

B 124 THREADE R~ DIMENSIONS
PART NO. E A S1 L
1H-10 M10x1 11 14 28
1H-12 M12x1.5 1 17 28
1H-14 M14x1.5 11 19 28
1H-16 M16x1.5 11 22 30
1H-18 M18x1.5 11 24 30
1H-22 M22x1.5 12 27 33
1H-27 M27x2 13 32 35

4H

NHISMRSURE Rk
METRIC MALE L-SERIES PLUG

5 240 THREADE JU  <F DIMENSIONS
PART NO. E A s1 L
4H-10 M10x1 11 14 17
4H-12 M12x1.5 11 17 17
4H-14 M14x1.5 11 19 17
4H-16 M16x1.5 11 22 19
4H-18 M18x1.5 11 24 19
4H-22 M22x1.5 12 27 21
4H-27 M27x2 13 32 22

- 284 -




Hydraulic Adapters

N\

1M

I I HMRE60° A HE IS i i T 4 15 B B

) METRIC MALE DOUBLE FOR 60°

CONE SEAT BONDED SEAL

v

= 184 THREADE R~ DIMENSIONS
PART NO. E F A B s1 L
1M-12 M12x1.5 M12x1.5 10 10 17 30
1M-12-14 M12x1.5 M14x1.5 10 11 19 31
1M-14 M14x1.5 M14x1.5 11 11 19 32
1M-14-16 M14x1.5 M16x1.5 11 12 22 35
1M-16 M16x1.5 M16x1.5 12 12 22 36
1M-16-18 M16x1.5 M18x1.5 12 12 24 36
1M-18 M18x1.5 M18x1.5 12 12 24 36
1M-18-22 M18x1.5 M22x1.5 12 14 27 38
1M-22 M22x1.5 M22x1.5 14 14 27 42

- 285 -




Hydraulic Adapters

ONHRIAMRE60° YA BN A7 i T 4 2

4M

Bk

METRIC MALE DOUBLE FOR 60°
CONE SEAT BONDED SEAL PLUG

= 184 THREADE R~ DIMENSIONS
PART NO. E F A S1 L

4M-12 M12x1.5 M12x1.5 10 17 18

4M-14 M14x1.5 M14x1.5 11 19 19

4M-16 M16x1.5 M16x1.5 12 22 21

4M-18 M18x1.5 M18x1.5 12 24 21

4M-22 M22x1.5 M22x1.5 14 27 24

L
A
AMN-WD
S1
N IR PO 5 FA
4 METRIC MALE
CAPTIVE SEAL
. HOLLOW HEX PLUG
H

RE 22y THREADE N <} DIMENSIONS
PART NO. E A D H | st L
4MN-12WD M12x1.5 10 14.2 1.2 6 15
4MN-14WD M14x1.5 11 16.3 1.2 6 16
4MN-16WD M16x1.5 12 18.7 1.2 8 17
4MN-18WD M18x1.5 12 20.7 1.2 8 17
4MN-22WD M22x1.5 14 24.1 1.2 10 19

- 286 -



Hydraulic Adapters

L

S

B

10

L HISAESMRESUH O
SAE O-RING BOSS

e 1240 THREADE R <t DIMENSIONS
PART NO. E F A B s1 L
10-04 U7/16"X20 | U7/16"X20 10 10 14 26
10-04-06 U7/16"X20 | U9/16"X18 10 12 17 28
10-06 U9/16"X18 | U9/16"X18 12 12 17 30
10-06-08 U9/16"X18 U3/4"X16 12 12 22 31
10-08 U3/4"X16 U3/4"X16 12 12 22 31
10-08-12 U3/4"X16 | U1.1/16"X12 12 16 32 34
10-10 U7/8"X14 u7/8"X14 135 | 135 | 27 35
10-12 U1.1/16"X12 | U1.1/16"X12 16 16 32 41
10-16 U1.5/16"X12 | U1.5/16"X12 17 17 41 44
10-20 U1.5/8"X12 | U1.5/8"X12 18 18 50 | 485
10-24 UL.7/8"X12 | U1.7/8"X12 185 | 185 | 55 55
L
S
B
10T
KM SAESMERSH O Y Pl /el i FMR LT
. SAE O-RING BOSS/BSPT MALE
o 240 THREADE R~} DIMENSIONS
PART NO. E F A B s1 L
10T-04-04 | U7/16"X20 | ZG1/4"-19 10 14 14 30
10T-04-06 | U7/16"X20 | ZG3/8"-19 10 14 17 30
10T-06-06 | U9/16"X18 | ZG3/8"-19 12 14 17 33
107-06-08 | U9/16"X18 | ZG1/2"-14 12 19 22 38
10T-08-08 U3/a"xi6 | zG1/2"-14 12 19 22 | 385
10T-08-12 U3/a"X16 | zG3/4"-14 12 29 32 39
10T-12-12 | U1.1/16"X12 | ZG3/4"-14 16 29 32 53
107-16-16 | U1.5/16"X12 | ZG1™11 17 29 41 55
10T-20-20 | U1.5/8"X12 | ZG1.1/4"-11 18 29 50 58
10T-24-24 | UL.7/8'X12 | ZG1.1/2"-11 185 | 29 55 60

- 287 -




Hydraulic Adapters

s1 52
A
20U
SAESMZRL T OR8]/
FEHINPSM N ERZL60°4 Mk
%_% SAE O-RING BOSS /
. e NPSM FEMALE 60°CONE
e 240 THREADE R </ DIMENSIONS

PART NO. E F A C s1 S2
20U-04 U7/16"X20 | Z1/4"X18 10 | 55 14 19
20U-04-06 | U7/16"X20 | Z3/8"X18 10 | 65 17 22
20U-06 U9/16"X18 | Z3/8"X18 12 | 65 19 22
20U-06-08 | U9/16"X18 | Z1/2"X14 12 8 22 27
20U-08 U3/4"X16 | Z1/2"X14 12 8 22 27
20U-08-06 U3/4"X16 | Z3/8"X18 12 6.5 22 22
20U-10-08 u7/8"X14 | Z1/2"X14 135 8 27 27
20U-12-08 |UL.1/16"X12| Z1/2"X14 16 8 32 27
20U-12 UL.1/16"X12| Z3/4"X14 6 | 115 | 32 32
20U-12-16 |U1.1/16"X12| Z1"X11.5 16 | 115 | 36 41
20U-16 U1.5/16"X12| Z1"X11.5 17 | 115 | 41 41
20U-20 U1.5/8"X12 |Z1.1/4"X11.5 18 12 50 50
20U-24 U1.7/8"X12 |Z1.1/2"X11.5 185 | 13 55 55

- 288 -




Hydraulic Adapters

40

K SAESMRS T O R [l 1 5k
SAE O-RING BOSS PLUG

e I#4  THREADE U~} DIMENSIONS
PART NO. E A s1 L
40-04 U7/16"X20 10 14 16
40-05 U1/2"X20 10 17 16
40-06 U9/16"X18 12 17 18
40-08 U3/4"X16 12 22 20
40-10 u7/8"X14 13.5 27 23
40-12 U1.1/16"X12 16 32 26
40-16 U1.5/16"X12 17 41 28
40-20 U1.5/8"X12 18 50 32
40-24 U1.7/8"X12 18.5 55 35
40-32 U2.1/2"X12 22 70 40

L
A
s 40N
FEHISAESMRSUHT ORI A 75 ff1 1k
% SAE O-RING BOSS HOLLOW HEX
PLUG

(1%=s 240 THREADE JU <1 DIMENSIONS
PART NO. E A s1 L
40N-04 U7/16"X20 10 12
40N-05 U1/2"X20 10 12
40N-06 U9/16"X18 12 15
40N-08 U3/4"X16 12 8 15
40N-10 u7/8"X14 13.5 10 16.5
40N-12 U1.1/16"X12 16 14 20
40N-16 U1.5/16"X12 17 16 21
40N-20 U1.5/8"X12 18 19 22

- 289 -




Hydraulic Adapters

A A
@) 7% FHISAESMRLL90 *HhfE
/% SAE MALE 90°CONE
s1/
o 124 THREADE R~ DIMENSIONS
PART NO. E A s1 L
1P-04 U7/16"X20 13 14 32
1P-05 U1/2"X20 14 14 34
1P-06 U5/8"X18 16 17 38
1P-08 U3/4"X16 19 22 46
1P-10 U7/8"X14 225 24 52.5
1P-12 U1.1/16"X12 255 30 60.5
L
A
— 4P
F | SAESMERLI90° MR Sk
SAE MALE 90°CONE PLUG

e 124 THREADE JU <} DIMENSIONS
PART NO. E A s1 L
4P-04 U7/16"X20 13 14 19
4P-05 U1/2"X20 14 14 20
4P-06 U5/8"X18 16 17 22
4pP-08 U3/4"X16 19 22 27
4P-10 U7/8"X14 225 24 30
4p-12 U1.1/16"X12 255 30 35

- 290 -




Hydraulic Adapters

B
E
ARV TR\ ]
I\ ? F L
BRYIG LK
R
w W L-SERIES SPLIT FLANGE CLAMPS
e ot T e R~ DIMENSIONS
PART NO. | FLANGE BOL A B c D E
FL-08 SIZEjpn M8 Tx25 54 | 46 | 381 | 9 |175
FL-12 3/4" M10x30 651 | 52 | 476 | 11 | 222
FL-16 1" M10x30 69.8 | 59 | 524 | 11 | 26.2
FL-20 1.1/4" M10x30 794 | 73 | 887 | 11 | 302
FL-24 1.1/2" M12x35 937 | 83 | 69.8 | 135 | 35.7
FL-32 o M12x35 1016 | 97 | 77.8 | 135 | 429
FL-40 2.1/4" M12x40 114 | 108 | 89 | 135 | 50.8
FL-48 3 M16x50 135 | 130.6 | 106.4 | 167 | 62
B
E
ANV I/an\ ]
I/ ? I: S
\\ /NS S-SERIES SPLIT FLANGE CLAMPS
5 LR izt J__~} DIMENSIONS
PART NO. | FLANGE BOL A B c D E
FS-08 SIZEq /- M8Tx30 563 | 47 | 405 | 9 | 182
FS-12 3/4" M10x35 714 | 60 | 508 | 11 | 238
FS-16 1" M12x45 809 | 70 | 571 | 13 | 278
FS-20 1.1/4" M14x30 952 | 77 | 667 | 15 | 318
FS-24 1.1/2" M16x55 1127 95 | 795 | 17 | 365
FS-32 s M20x70 1333 | 114 | 968 | 21 | 445




Hydraulic Adapters

B
E H
N7 T
D 1 FL-W
5)i N\ L-SERIES WHOLE FLANGE CLAMPS
K5 LRI 2 JU I DIMENSIONS
PART NO. | FLANGE BOL A B C D E H
FL-osw | SIZE1pn Mg Tx25 54 | 46 | 381| 9 | 175 | 62
FL-12W 3/4" M10x30 651 | 52 | 476 | 11 | 222 | 62
FL-16W 1" M10x30 698 | 59 | 524 | 11 | 262 | 75
FL-20W 1.1/4" M10x30 794 | 73 | 887 | 11 | 302 | 75
FL-24W 1.1/2" M12x35 937 | 83 | 698 | 135 | 357 | 75
FL-32W o M12x35 1016 | 97 | 77.8 | 135 | 429 9
FL-40W 2.1/4" M12x40 114 | 108 | 89 | 135 | 50.8 9
FL-48W 3" M16x50 135 | 130.6 | 106.4 | 16.7 | 62 9
B
E H
JZaD\VIan\ T
SN I§ FS-W
T - B RYIEEARL 2 T
\NB/) NS/ S-SERIES WHOLE FLANGE CLAMPS
5 I WAk /'~ DIMENSIONS
PART NO. | FLANGE BOL A B C D E H
Fs-08w | SIZEqpn M8Tx30 563 | 47 | 405 | 9 |182 | 7.2
FS-12W 3/4" M10x35 714 | 60 | 508 | 11 | 238 | 82
FS-16W 1" M12x45 809 | 70 | 571 | 13 | 27.8 9
FS-20W 1.1/4" M14x30 952 | 77 | e67 | 15 | 318 | 98
FS-24W 1.1/2" M16x55 1127 | 95 | 795 | 17 | 365 | 12
FS-32W a M20x70 1333 | 114 | 968 | 21 | 445 | 12

-292 -



Hydraulic Adapters

1

2.

Z

1CFL

NHPRECRE AR RN
METRIC MALE BITE

TYPE/ L-SERIES

FLANGE
L1
5 B BEME | BT R < DIMENSIONS
PART NO. | THRE&DE FLANGE D TUBE L L1 di s1
1CFL-22-08 M22x1.5 T 0Dy 5 7 35 | 302 | 24
1CFL-26-12 M26x1.5 34" 18 7 46 | 381 | 20
1CFL-30-12 M30x2 314" 22 7 46 | 381 | 32
1CFL-36-16 M36x2 1" 28 82 | 50 | 444 | 41
1CFL-45-20 M45x2 1.1/4" 35 82 | 66 | 508 | 41
1CFL-52-24 M52x2 1.1/2" 42 82 | 70 | 603 | 46
/ﬂ L
; F 1DFL
| | AIBEC RS R BB
/ % METRIC MALE BITE
TYPE/ L-SERIES
FLANGE
L1
% HRAL WM | BTAME ]~} DIMENSIONS
PART NO. | THREA&DE FLANGE D TUBE L L1 di s1
1DFL-24-08 M24x1.5 T Y6 7 35 | 302 | 24
1DFL-24-12 M24x1.5 304" 20 7 46 | 381 | 27
1DFL-30-12 M30x2 304" 20 7 46 | 381 | 20
1DFL-36-12 M36x2 304" 25 7 46 | 381 | 20
1DFL-42-16 M42x2 1" 30 82 | 50 | 444 | 36
1DFL-36-20 M36x2 1.1/4" 25 82 | 66 | 508 | 41
1DFL-42-20 M42x2 1.1/4" 30 82 | 66 | 508 | 41
1DFL-52-20 M52x2 1.1/4" 38 82 | 66 | 508 | 46
1DFL-52-24 M52x2 1.1/2" 38 82 | 70 | 603 | 46

- 293 -




Hydraulic Adapters

dl
| 1CFL9
; 90° A RS R ER/E RIE=
«TIV 90°METRIC MALE BITE
Ny TYPE/ L-SERIES
FLANGE
S1
R BREL L) R R s DIMENSIONS
PART NO. THREADE FLANGE D TUBE L A di S1
1CFL9-22-08 M22x1.5 S “His 7 36 | 302 | 22
1CFL9-26-12 M26x1.5 314 18 7 42 | 381 | 27
1CFL9-30-12 M30x2 3/4 22 7 22 | 381 | 27
1CFL9-36-16 M36x2 1" 28 82 | 45 | 444 | 33
1CFL9-45-20 M45x2 1.1/4" 35 82 | 50 | 508 | 44
1CFL9-52-24 M52x2 1.1/2" 42 82 | 55 | 603 | 50
d1
H
f | 1DFL9
[ Q0° AR R EA/E RVVE=
“le 90°METRIC MALE BITE
| TYPE/ L-SERIES
FLANGE
S1
R IREL HEEE | ETAME JR___~I DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L A di S1
1DFL9-24-08 M24x1.5 o OD16 7 36 | 302 | 27
1DFL9-30-12 M30x2 314" 20 7 42 | 381 | 27
1DFL9-36-12 M36x2 34" 25 7 42 | 381 | 33
1DFL9-42-16 M42x2 1" 30 82 | 45 | 444 | 44
1DFL9-36-20 M36x2 1.1/4" 25 82 | 50 | 508 | 44
1DFL9-42-20 M42x2 1.1/4" 30 82 | 50 | 508 | 44
1DFL9-52-20 M52x2 1.1/4" 38 82 | 50 | 508 | 50
1DFL9-52-24 M52x2 1.1/2" 38 82 | 55 | 603 | 50

- 294 -




Hydraulic Adapters

1

2.

1DFS

NHPRECRESE RN
METRIC MALE BITE
TYPE/ S-SERIES

FLANGE
L1
e IRar L ) NG ]~ DIMENSIONS
PART NO. | THREADE FLANGE D TUBE L L1 d1 S1
1DFS-24-08 M24x1.5 TS ODy6 79 | 37 | 317 | 24
1DFS-24-12 M24x1.5 3/a" 16 89 | 51 | 413 | 30
1DFS-30-12 M30x2 3/a" 20 89 | 51 | 413 | 30
1DFS-36-12 M36x2 3/4 25 89 | 51 | 413 | 30
1DFS-36-16 M36x2 1 25 96 | 53 | 476 | 36
1DFS-42-16 M42x2 1" 30 96 | 53 | 476 | 36
1DFS-42-20 Md2x2 1.1/4" 30 104 | 70 | 54 | 41
1DFS-52-20 M52x2 1.1/4" 38 104 | 70 | 54 | 46
1DFS-52-24 M52x2 1.1/2" 38 127 | 80 | 635 | 46
| d1
i E 1DFS9
iz 90° A HIMRL R B/ E RINE=
| 90°METRIC MALE BITE
H \\; TYPE/ S-SERIES
FLANGE
s1
B IRA LR T MG R <) DIMENSIONS

PART NO. | THREADE FLANGE D TUBE L A d1 s1
1DFS9-24-08 |  M24xL5 T Y g 79 | 39 | 317 | 24
1DFS9-24-12 M24x1.5 3/a" 16 89 | 48 | 413 | 30
1DFS9-30-12 M30x2 3/4 20 89 | 48 | 413 | 30
1DFS9-36-12 M36x2 3/4 25 89 | 48 | 413 | 36
1DFS9-36-16 M36x2 1 25 96 | 60 | 476 | 41
1DFS9-42-16 M42x2 1" 30 96 | 60 | 476 | 41
1DFS9-42-20 M42x2 1.1/4" 30 104 | 68 | 54 | 46
1DFS9-52-20 M52x2 1.1/4" 38 104 | 68 | 54 | 46
1DFS9-52-24 M52x2 1.1/2" 38 127 | 76 | 635 | 46

- 295 -




Hydraulic Adapters

A e
1FFL
| S H|ORFSHMZRLLORY P& 1T
R RV 2
2 % ORFS MALE O-
RING/ L-SERIES
FLANGE
fRE WAL ) R s~} DIMENSIONS
PART NO. | THREADE | FLANGE | d1 A
1FFL-12 UL3/16'x12 | 3/ 7 | 381 | 17
1FFL-16 U1.7/16"x12 1" 82 | 444 | 185
1FFL-20 U1.11/16"x12 1.1/4" 82 | 50.8 | 195
di
( 90°F | ORFSHMRALLO 1Y P&l 1H]
u B R
1Y) 90°ORFS MALE O-
A st RING/ L-SERIES
FLANGE
fRE WAL PRl R ;' DIMENSIONS
PART NO. | THRE&DE FLANGE | di A B S
1FFL9-12 UL3/16'x12 | 3/ 7 | 381 | 43 | 541 | 217
1FFLO-16 U1.7/16"x12 1" 82 | 444 | 59 | 602 | 44
1FFL9-20 | U1.11/16"X12 1.1/4" 82 | 508 | 59 | 665 | 44
A |
1FFS
| | ORFSHMER SO P&l -1
B RV
;// % ORFS MALE O-
RING/ S-SERIES
FLANGE
o WAL =] R ~}  DIMENSIONS
PART NO. | THREA&DE FLANGE | d1 A
1FFS-12 UL3/6'X12 | B4 89 | 413 | 17
1FFS-16 U1.7/16"X12 1" 06 | 476 | 185
1FFS-20 U1.11/16"x12 1.1/4" 104 | 54 | 195

- 296 -




Hydraulic Adapters

{ d1
[
: 1FFS9
- 90° % | ORFSAMRELSL O Pl - Ifi]
BHE RN
iy 90°0ORFS MALE O-
RING/ S-SERIES
A \st FLANGE
e IR LR R~ DIMENSIONS
PART NO. | THREADE FLANGE | d1 A B S
1FFS9-12 | UL3/16'x12 | . 34" 89 | 413 | 40 | 541 | 27
1FFS9-16 | UL.7/16'x12 1" 96 | 476 | 49 | 602 | 33
1FFS9-20 | UL.11/16"x12 1.1/4" 104 | 54 | 57 | 665 | 44
b
A
o 1JFL
2 /' SBIIICHNRLATA I 712
%f JIC MALE 74°CONE/L-SERIES
FLANGE
= WELL ) N <} DIMENSIONS
PART NO. | THREADE | FLANGE | . | A
1JFL-08 Us/ax1e | e 7 | 302 | 167
1JFL-08-12 U3/4"X16 314" 7 | 381 | 167
1JFL-10-08 U7/8"X14 172" 7 | 302 | 195
1JFL-10-12 U7/8"X14 34" 7 | 381 | 195
1JFL-12:08 | UL1/16'X12 12" 7 | 302 | 22
LIFL-12 UL.1/16"X12 314" 7 | 381 22
1JFL-12-16 | ULL/16'X12 1" 82 | 444 | 22
1JFL-16-12 | UL5/16"X12 314" 7 | 381 23
1IFL-16 UL5/16"X12 1 82 | 444 | 23
1JFL-16-20 | UL.5/16"X12 1.1/4" 82 | 508 | 23
1JFL-20-16 | UL5/8"X12 1" 82 | 444 | 245
1IFL-20 UL5/8"X12 114" 82 | 508 | 245
1JFL-20-24 | UL5/8"X12 112" 82 | 603 | 245
1JFL-24-20 | UL7/8"X12 1.1/4" 82 | 508 | 275
1IFL-24 UL.7/8"X12 1.1/2" 82 | 603 | 275
1JFL-24-32 | UL7/8"'X12 o 98 | 714 | 275
1IFL-32 U2.1/2"X12 2" 98 | 714 | 34

- 297 -




Hydraulic Adapters

45°JIC MALE 74°CONE/L-ERIES

1JFLA4

A5°F | IICHMEL T4 FMHEN R R Bk

A \g FLANGE
fRE IBL ) R s DIMENSIONS
PART NO. | THREADE FLANGE [ d1 A B S
1JFL4-08 usiax16 | e 7 [ 302 25 | 37 | 1%9
1JFL4-10-08 u7/8"X14 /2" 7 | 302 | 27 37 22
1JFL4-10-12 u7/8"X14 3/4" 7 | 381 | 33 | 401 | 27
1JFL4-12 U1.1/16"X12 3/4" 7 | 381 | 33 | 401 | 27
1JFL4-12-16 | U1.1/16"X12 1" 82 | 444 | 37 47 33
1JFL4-16 U1.5/16"X12 1" 82 | 444 | 37 47 33
1JFL4-16-12 | U1.5/16"X12 34" 7 | 381 37 42 33
1JFL4-16-20 | U1.5/16"X12 1.1/4" 82 | 508 | 40 | 518 | 44
1JFL4-20 U1.5/8"X12 1.1/4" 82 | 508 | 40 | 518 | 44
1JFL4-20-16 | U1.5/8"X12 1" 82 | 444 | 40 51 44
1JFL4-20-24 | U1.5/8"X12 1.1/2" 82 | 603 | 47 | 605 | 53
1JFL4-24-20 | U1.7/8"X12 1.1/4" 82 | 508 | 47 54 53
1JFL4-24 U1.7/8"X12 1.1/2" 82 | 603 | 47 | 605 | 53
1JFL4-32 U2.1/2"X12 2" 98 | 714 | 55 | 762 | 65

- 298 -




Hydraulic Adapters

di

— 1JFL9

‘ 90° % | JICHMELL7A° Ik 1% 2 A1) 1F 22
/ _A{ Y 90°JIC MALE 74°CONE/L-ERIES

A o1 FLANGE
R A LT R~} DIMENSIONS
PART NO. | THREADE FLANGE [ d1 A B S
1JFL9-08 uziaxie | e 7 | 302 | 33 | 44 | 1%
1JFL9-10-08 U7/8"X14 12" 7 | 302 37 | 44 | 22
1JFL9-10-12 U7/8"X14 304" 7 | 381 | 43 | 541 | 27
1JFL9-12 U1.1/16"X12 304" 7 | 381 | 40 | 401 | 27
1JFL9-12-16 | UL1/16"X12 1" 82 | 444 | 49 | 602 | 33
1JFL9-16 U1.5/16"X12 1" 82 | 444 | 49 | 602 | 33
1JFL9-16-12 | UL5/16"X12 3/ 7 | 381 | 49 | 58 | 33
1JFL9-16-20 | UL.5/16"X12 14 82 | 508 | 57 | 665 | 44
1JFL9-20 U1.5/8"X12 114" 82 | 508 | 57 | 665 | 44
1JFLO-20-16 | UL5/8"X12 1" 82 | 444 | 57 | 65 | 44
1JFL9-20-24 | UL5/8"X12 1.1/2 82 | 603 | 57 | 793 | 48
1JFL9-24-20 | UL7/8"X12 114 82 | 508 | 57 | 755 | 48
1JFL9-24 UL.7/8"X12 11/2' 82 | 603 | 57 | 793 | 48
1JFL9-32 U2.1/2"X12 2" 98 | 714 | e6 | 108 | 65

- 299 -




Hydraulic Adapters

A
- 1JFS
o /' S IIICH M7 A I T R
I%; JIC MALE 74°CONE/S-ERIES
FLANGE

o BRLL 2 A 2 R < DIMENSIONS
PART NO. | THREA&DE FLANGE | d1 A
1JFS-08 usiaxie | e 79 | 317 | 167
1JFS-10-08 U7/8"X14 12" 79 | 317 | 195
1JFS-10-12 U7/8"X14 314" 89 | 413 | 22
1IFS-12 UL.1/16"X12 34" 89 | 413 | 22
1JFS-12-16 | UL1/16"X12 1" 89 | 413 | 22
1JFS-16 UL5/16"X12 1" 96 | 476 | 23
1JFS-16-12 | UL5/16"X12 34" 96 | 476 | 23
1JFS-16-20 | ULS5/16"X12 1.1/4" 96 | 476 | 23
1JFS-20 UL.5/8"X12 1.1/4" 104 | 54 | 245
1JFS20-16 | UL5/8"X12 1" 104 | 54 | 245
1JFS-20-24 | UL5/8"X12 1.1/2" 104 | 54 | 245
1JFS24-20 | UL7/8"X12 1.1/4" 127 | 635 | 275
1JFS-24 UL.7/8"X12 1.1/2" 127 | 635 | 275

- 300 -




Hydraulic Adapters

A \ S1

1JFS4

45° LI JICHMRLL7A° HMEEHE R F)1E 2

45°JIC MALE 74°CONE/S-ERIES

FLANGE
e (008 A R~} DIMENSIONS
PART NO. | THREADE FLANGE | di A B S
1JFS4-08 uz/axie | e 79 | 317 | 25 | 38 [ 179
1JFS4-10-08 u7/8"x14 /2" 79 | 317 | 27 39 22
1JFS4-10-12 u7/8"x14 3/4" 89 | 413 | 27 |401 | 22
1JFS4-12 U1.1/16"X12 3/4" 89 | 413 | 33 | 401 | 27
1JFS4-12-16 | U1.1/16"X12 1" 89 | 413 | 37 47 33
1JFS4-16 U1.5/16"X12 1" 96 | 476 | 37 47 33
1JFS4-16-12 | U1.5/16"X12 314" 96 | 476 | 37 45 33
1JFS4-16-20 | U1.5/16"X12 1.1/4" 96 | 476 | 40 52 44
1JFS4-20 U1.5/8"X12 1.1/4" 104 | 54 40 52 44
1JFS4-20-16 | U1.5/8"X12 1" 104 | 54 40 52 44
1JFS4-20-24 | U1.5/8"X12 1.1/2" 104 | 54 40 | 605 | 44
1JFS4-24 U1.7/8"X12 1.1/2" 127 | 635 | 47 | 275 | 53

- 301 -




Hydraulic Adapters

di

i

1JFS9

90° | JICHMBLL74° HMHEIEE R 51752

90°JIC MALE 74°CONE/S-ERIES

A st FLANGE
a1 BRLL 2 T 2 R s~ DIMENSIONS
PART NO. | THREADE FLANGE | d1 A B S
1JFS9-08 usiax16 | s 79 | 317 | 33 | 4 |1l
1JFS9-10-08 |  U7/8"X14 12" 79 317 | 37 | 46 | 22
1JFS9-10-12 |  U7/8"X14 34" 89 | 413 | 37 |541 | 22
1JFS9-12 UL.1/16"X12 34" 89 | 413 | 40 | 541 | 27
1JFS9-12-16 | UL.1/16"X12 1 89 | 413 | 49 | e02 | 33
1JFS9-16 UL5/16"X12 1" 96 | 476 | 49 | 602 | 33
1JFS9-16-12 | ULS5/16"X12 34" 96 | 476 | 49 | 57 | 33
1JFS9-16-20 | UL5/16"X12 1.1/4" 96 | 476 | 57 | 665 | 44
1JFS9-20 UL5/8"X12 1.1/4" 104 | 54 | 57 | 665 | 44
1JFS9-20-16 | UL.5/8"X12 1" 104 | 54 | 57 | e5 | 44
1JFS9-20-24 | UL.5/8"X12 1.1/2" 104 | 54 | 57 | 793 | 44
1JFS9-24 UL7/8"X12 112" 127 | 635 | 57 | 793 | 48

- 302 -




Hydraulic Adapters

Y

1FLW

B RYNE IR
L-SERIES FLANGE/BUTT-WELD

TUBE
e 2L T DXt R~ DIMENSIONS
PART NO. | FLANGE | d1 D
1FLW-08-16X4 S'ZE1/2" 16x2 7 | 302 | 16
1FLW-08- 12" 20x2.5 7 [ 302 | 20
(IFCW-12-25x3 34" 25x3 7 | 381 25
1FLW-16-25X3 1" 25x3 82 | 444 | 25
1FLW-16-28X3 1" 28x3 82 | 444 | 28
1FLW-16-30X4 1" 30x4 82 | 444 | 30
1FLW-16-38X8 1" 38x5 82 | 444 | 38
1FLW-20-25X9 114 25x3 82 | 508 | 25
1FLW-20-30X{ 114 30x4 82 | 508 | 30
1FLW-20-38X§ 114’ 38x5 82 | 508 | 38
1FLW-20-42Xq 114 42x6 82 | 508 | 42
1FLW-24-38X4  1.1/2' 38x4 82 | 603 | 38
1FLW-24-42X4  1.1/2' 42x6 82 | 603 | 42
1FLW-24-45X9  1.1/2' 45%5 82 | 603 | 45
1FLW-24-50Xq  1.1/2' 50x6 82 | 603 | 50
1FLW-32-55X8 2" 55%5 98 | 714 | 55
1FLW-32-60X8 2" 60x8 98 | 714 | 60
1FLW-40-65Xq  2.1/2' 65x6
1FLW-40- 2.1/2 70x7.5
"TFL\W-48-806 3" 80x6
1FLW-48-90X8 3" 90x8

- 303 -




Hydraulic Adapters

!

1FSW

HRINELINRRE
S-SERIES FLANGE/BUTT-WELD

TUBE
=] S A2 g D DIMENSIONS
PART NO. | FLANGE | d1 D
1FSW-08- SIZEyjp- 16x2 79 | 317 | 16
ToXZ
1FSW-08- 1/2" 20x2.5 7.9 31.7 20
IZOXZ.0
1FSW-12- 3/4" 16x2 8.9 41.3 16
ToXZ
1FSW-12- 3/4" 20x2.5 89 | 413 | 20
ZUXZ5
1FSW-12- 3/4" 25x4 8.9 41.3 25
ZOX4
1FSW-16- 1" 25x3 9.6 47.6 25
ZOXR3
1FSW-16- 1" 30x4 9.6 47.6 30
3UXG
1FSW-16- 1" 38%5 96 | 476 | 38
3BXS
1FSW-20- 1.1/4" 25x3 104 | 54 25
75X3
1FSW-20- 1.1/4" 30x4 10.4 54 30
3UXG
1FSW-20- 1.1/4" 38x5 104 | 54 38
3BXS
1FSW-20- 1.1/4" 42x6 10.4 54 42
47ZX0
1FSW-24- 1.1/2" 38x5 12.7 63.5 38
38XD
1FSW-24- 1.1/2" 45x2.5 12.7 63.5 45
I5X6.5
1FSW-24- 1.1/2" 48x8 12.7 63.5 48
48X8
1FSW-24- 1.1/2" 50x8 12.7 63.5 50
S5UX8
1FSW-32- 2" 60x8 12.7 71.4 60
BUXS
1FSW-32- 2" 60x10 12.7 71.4 60
60X10

- 304 -




4FL
4%” 2 R4 Bk

I L-SERIES FLANGE PLUG

e V2% N s} DIMENSIONS
PART NO. | FLANGE D | a1 | L
4FL-08 SIZEq/p 302 | 24 7 16
4FL-12 3/4" 381 | 315 | 7 17
4FL-16 1 444 | 38 | 82 | 17
4FL-20 1.1/4" 508 | 43 | 82 | 17
4FL-24 1.1/2" 603 | 50 | 82 | 19
4FL-32 2 714 | 62 | 98 | 19
4FL-40 2.1/4" 841 | 74 | 98 | 40
4FL-48 3 1016 | 9 | 98 | 45
L
|
4FS
4%7 EF DRI N
I S-SERIES FLANGE PLUG

e = N s} DIMENSIONS
PART NO. | FLANGE D | d | L
4FS-08 SIZEyjp- 3.7 | 24 | 79 | 18
4FS-12 3/4" 413 | 32 | 89 | 18
4FS-16 1 476 | 38 | 96 | 18
4FS-20 1.1/4" 54 | 44 | 104 | 18
4FS-24 1.1/2" 635 | 51 | 127 | 20
4FS-32 2 794 | 67 | 127 | 30

- 305 -




4FL-M

AL L=k
L-SERIES FLANGE PLUG

e V2% N s} DIMENSIONS
PART NO. | FLANGE D d1 | L
4FL-08M | SIZEqpr 302 | 24 7 16
4FL-12M 3/4" 381 | 315 | 7 17
4FL-16M 1" 444 | 38 | 82 | 17
4FL-20M 1.1/4" 508 | 43 | 82 | 17
4FL-24M 1.1/2" 603 | 50 | 82 | 19
4FL-32M 2 714 | 62 | 98 | 19
4FL-40M 2.1/4" 841 | 74 | 98 | 40
4FL-48M 3 1016 | 9 | 98 | 45
L
|
A4FS-M
HARHP Lk
S-SERIES FLANGE PLUG
o5 V2L R~ DIMENSIONS
PART NO. | FLANGE D d1 | L
4Fs-08m | SIZEqpn 317 | 24 | 79 | 18
4FS-12M 3/4" 43| 32 | 89 | 18
4FS-16M 1" 476 | 38 | 96 | 18
4FS-20M 1.1/4" 54 | 44 | 104 | 18
4FS-24M 1.1/2" 635 | 51 | 127 | 20
4FS-32M 2 794 | 67 | 127 | 30




